Top Landing Pages

Mar 1, 2014 - Mar 31, 2014



Explorer

Summary



		Acquisit	on			Behavior			Conversions	Goal 1: Mobile IDB	Access	
Lan	ding Page	Visits		% New Visits	New Visits	Bounce Rate	Pages / Visit	Avg. Visit Duration	Mobile IDB Access (Goal 1 Conversion Rate)	Mobile IDB Access (Goal 1 Completions)		ile IDB s (Goal 1 e)
			4,808 of Total: (34,808)	35.19% Site Avg: 35.17% (0.05%)	12,249 % of Total: 100.05% (12,243)	44.32% Site Avg: 44.32% (0.00%)	2.98 Site Avg: 2.98 (0.00%)	00:04:38 Site Avg: 00:04:38 (0.00%)	15.65% Site Avg: 15.65% (0.00%)	5,447 % of Total: 100.00% (5,447)	%	60.00 of Total % (\$0.00
1.	/default.asp	20,605	(59.20%)	31.10%	6,409 (52.32%)	41.36%	3.00	00:05:04	17.93%	3,695 (67.84%)	\$0.00	(0.00%
2.	/default_idb.asp	1,301	(3.74%)	13.37%	174 (1.42%)	20.91%	2.62	00:03:11	63.72%	829 (15.22%)	\$0.00	(0.00%
3.	/default_ursus.asp	857	(2.46%)	7.00%	60 (0.49%)	54.38%	2.54	00:04:09	12.25%	105 (1.93%)	\$0.00	(0.00%
4.	/about/hours.htm	828	(2.38%)	38.04%	315 (2.57%)	0.36%	2.26	00:00:39	0.97%	8 (0.15%)	\$0.00	(0.00%
5.	/ejournals/default.asp	530	(1.52%)	13.58%	72 (0.59%)	57.92%	3.97	00:10:19	6.04%	32 (0.59%)	\$0.00	(0.00%
6.	/default_res.htm	301	(0.86%)	5.65%	17 (0.14%)	68.11%	1.93	00:02:12	5.32%	16 (0.29%)	\$0.00	(0.00%
7.	/govdoc/newcensus.htm	237	(0.68%)	86.50%	205 (1.67%)	54.01%	1.95	00:01:26	0.00%	0 (0.00%)	\$0.00	(0.00%
8.	/yearbooks/default.asp	235	(0.68%)	60.85%	143 (1.17%)	15.32%	7.35	00:13:22	0.00%	0 (0.00%)	\$0.00	(0.00%
9.	/indexesdb/Indexes.asp	224	(0.64%)	20.09%	45 (0.37%)	34.82%	2.19	00:02:06	100.00%	224 (4.11%)	\$0.00	(0.00%
10.	/indexesdb/indexes.asp	163	(0.47%)	30.67%	50 (0.41%)	50.92%	2.46	00:01:38	100.00%	163 (2.99%)	\$0.00	(0.00%
11.	/advanced	158	(0.45%)	52.53%	83 (0.68%)	17.09%	5.24	00:08:26	0.00%	0 (0.00%)	\$0.00	(0.00%
12.	/townreport/default.asp	133	(0.38%)	56.39%	75 (0.61%)	24.06%	3.47	00:04:45	0.75%	1 (0.02%)	\$0.00	(0.00%
13.	/default_ejournals.asp	130	(0.37%)	22.31%	29 (0.24%)	66.15%	2.02	00:02:38	7.69%	10 (0.18%)	\$0.00	(0.00%
14.	/indexesdb/Indexes.asp?search= A⦥=SZ	124	(0.36%)	26.61%	33 (0.27%)	76.61%	1.45	00:01:43	100.00%	124 (2.28%)	\$0.00	(0.00%
15.	/theses/default.asp	118	(0.34%)	77.12%	91 (0.74%)	63.56%	2.15	00:02:43	0.00%	0 (0.00%)	\$0.00	(0.00%
16.	/science/scifinder.htm	116	(0.33%)	29.31%	34 (0.28%)	82.76%	1.25	00:01:04	0.00%	0 (0.00%)	\$0.00	(0.00%
17.	/ill/lending.htm	115	(0.33%)	13.91%	16 (0.13%)	80.00%	1.24	00:02:38	0.00%	0 (0.00%)	\$0.00	(0.00%
18.	/townreport/holdings.htm	102	(0.29%)	71.57%	73 (0.60%)	37.25%	2.69	00:03:55	0.00%	0 (0.00%)	\$0.00	(0.00%
19.	/speccoll/default.asp	88	(0.25%)	60.23%	53 (0.43%)	22.73%	4.83	00:05:38	0.00%	0 (0.00%)	\$0.00	(0.00%
20.	/circ/OakesRoom.htm	75	(0.22%)	41.33%	31 (0.25%)	89.33%	1.21	00:00:27	0.00%	0 (0.00%)	\$0.00	(0.00%
21.	/class/Wallace/LBR200/default.ht m	69	(0.20%)	23.19%	16 (0.13%)	62.32%	2.26	00:04:06	1.45%	1 (0.02%)	\$0.00	(0.00%
22.	/general/scholarly_popular.htm	68	(0.20%)	77.94%	53 (0.43%)	92.65%	1.22	00:00:47	1.47%	1 (0.02%)	\$0.00	(0.00%

23.	/ill/default.asp	63	(0.18%)	28.57%	18	(0.15%)	79.37%	1.37	00:01:10	1.59%	1 (0.02%	\$0.00	(0.00%
24.	/speccoll/FindingAids/GreatNorth ernPaper.htm	63	(0.18%)	79.37%	50	(0.41%)	82.54%	1.37	00:01:00	0.00%	0 (0.00%	\$0.00	(0.00%
25.	/indexesdb/Indexes.asp?search= A⦥=NS	59	(0.17%)	13.56%	8	(0.07%)	79.66%	1.47	00:00:35	100.00%	59 (1.08%)	\$0.00	(0.00%
26.	/patents/searchstep1.htm	55	(0.16%)	100.00%	55	(0.45%)	87.27%	1.15	00:00:43	0.00%	0 (0.00%	\$0.00	(0.00%
27.	/science/compsci.htm	55	(0.16%)	94.55%	52	(0.42%)	81.82%	1.69	00:01:31	0.00%	0 (0.00%	\$0.00	(0.00%
28.	/techserv/default.htm	54	(0.16%)	94.44%	51	(0.42%)	1.85%	2.67	00:01:58	7.41%	4 (0.07%	\$0.00	(0.00%
29.	/indexesdb/Indexes.asp?search= A⦥=DH	53	(0.15%)	13.21%	7	(0.06%)	64.15%	2.09	00:01:49	100.00%	53 (0.97%	\$0.00	(0.00%
30.	/techserv/Cataloging/processing.h tm	51	(0.15%)	88.24%	45	(0.37%)	96.08%	1.06	00:00:08	0.00%	0 (0.00%	\$0.00	(0.00%
31.	/climate/default.asp	48	(0.14%)	2.08%	1	(0.01%)	97.92%	1.02	00:00:01	0.00%	0 (0.00%	\$0.00	(0.00%
32.	/services.htm	46	(0.13%)	10.87%	5	(0.04%)	19.57%	2.89	00:01:53	0.00%	0 (0.00%	\$0.00	(0.00%
33.	/theses/index.htm	44	(0.13%)	88.64%	39	(0.32%)	61.36%	1.73	00:00:52	0.00%	0 (0.00%	\$0.00	(0.00%
34.	/librarynews/default.asp	42	(0.12%)	45.24%	19	(0.16%)	80.95%	1.29	00:00:04	0.00%	0 (0.00%	\$0.00	(0.00%
35.	/displays/HumansClimate.htm	41	(0.12%)	34.15%	14	(0.11%)	65.85%	2.61	00:04:38	0.00%	0 (0.00%	\$0.00	(0.00%
36.	/science/standardsdefinition.htm	41	(0.12%)	92.68%	38	(0.31%)	80.49%	1.27	00:01:21	0.00%	0 (0.00%	\$0.00	(0.00%
37.	/techserv/Cataloging/mlc4pamphl ets.htm	39	(0.11%)	23.08%	9	(0.07%)	94.87%	1.05	00:00:27	0.00%	0 (0.00%)	\$0.00	(0.00%
38.	/contacts.htm	37	(0.11%)	59.46%	22	(0.18%)	40.54%	3.11	00:02:27	0.00%	0 (0.00%	\$0.00	(0.00%
39.	/onesearch.htm	37	(0.11%)	2.70%	1	(0.01%)	67.57%	1.86	00:02:15	5.41%	2 (0.04%)	\$0.00	(0.00%
40.	/indexesdb/Indexes.asp?search= A⦥=AD	36	(0.10%)	8.33%	3	(0.02%)	55.56%	2.53	00:02:18	100.00%	36 (0.66%)	\$0.00	(0.00%
41.	/speccoll/FindingAids/ParsonsFa milyPapers.htm	35	(0.10%)	94.29%	33	(0.27%)	88.57%	1.11	00:00:34	0.00%	0 (0.00%)	\$0.00	(0.00%
42.	/indexesdb/Indexes.asp?search= A⦥=HN	33	(0.09%)	6.06%	2	(0.02%)	54.55%	2.58	00:05:01	100.00%	33 (0.61%)	\$0.00	(0.00%
43.	/patents/pre-1976.htm	32	(0.09%)	81.25%	26	(0.21%)	65.62%	1.53	00:01:21	0.00%	0 (0.00%	\$0.00	(0.00%
44.	/science/gisjournals.htm	32	(0.09%)	90.62%	29	(0.24%)	68.75%	1.56	00:01:16	0.00%	0 (0.00%	\$0.00	(0.00%
45.	/techserv/procedurestop.htm	32	(0.09%)	46.88%	15	(0.12%)	31.25%	2.62	00:02:13	0.00%	0 (0.00%	\$0.00	(0.00%
46.	/science/foodsci.htm	30	(0.09%)	96.67%	29	(0.24%)	83.33%	1.33	00:00:45	0.00%	0 (0.00%	\$0.00	(0.00%
47.	/science/paper.htm	30	(0.09%)	100.00%	30	(0.24%)	83.33%	1.30	00:01:13	0.00%	0 (0.00%	\$0.00	(0.00%
48.	/about/employment.htm	29	(0.08%)	65.52%	19	(0.16%)	79.31%	1.52	00:03:36	3.45%	1 (0.02%	\$0.00	(0.00%
49.	/arts/BritishLiterature.htm	29	(0.08%)	24.14%	7	(0.06%)	55.17%	2.86	00:09:16	0.00%	0 (0.00%	\$0.00	(0.00%
50.	/default_portals.asp	29	(0.08%)	3.45%	1	(0.01%)	31.03%	5.21	00:09:16	13.79%	4 (0.07%	\$0.00	(0.00%
51.	/speccoll/FindingAids/Hamlinfamil yinventory.htm	29	(0.08%)	68.97%	20	(0.16%)	96.55%	1.07	00:00:11	0.00%	0 (0.00%	\$0.00	(0.00%
52.	/circ/default.asp	28	(0.08%)	57.14%	16	(0.13%)	67.86%	2.04	00:00:45	0.00%	0 (0.00%)		(0.00%
53.	/speccoll/ursus.htm	28	(0.08%)	50.00%	14	(0.11%)	64.29%	2.29	00:05:37	14.29%	4 (0.07%)	\$0.00	(0.00%
54.	/techserv/Cataloging/RDAchecklis t.htm	27	(0.08%)	88.89%		(0.20%)	62.96%	2.15	00:04:22	3.70%	1 (0.02%)		(0.00%
55.	/mobile/default.asp	26	(0.07%)	11.54%	3	(0.02%)	84.62%	1.23	00:03:23	0.00%	0 (0.00%)	\$0.00	(0.00%
56.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=IEEE+xplore &go.x=0&go.y=0	26	(0.07%)	26.92%	7	(0.06%)	88.46%	1.15	00:01:34	0.00%	0 (0.00%)	\$0.00	(0.00%
57.	/speccoll/FindingAids/Deasy_ha.h tm	26	(0.07%)	0.00%	0	(0.00%)	96.15%	1.04	00:00:31	0.00%	0 (0.00%)	\$0.00	(0.00%
58.	/speccoll/FindingAids/Dow.htm	25	(0.07%)	64.00%	16	(0.13%)	76.00%	1.40	00:02:53	0.00%	0 (0.00%	\$0.00	(0.00%
59.	/research.htm	24	(0.07%)	16.67%	4	(0.03%)	16.67%	13.96	00:17:54	20.83%	5 (0.09%	\$0.00	(0.00%
60.	/social/crisisreports.htm	24	(0.07%)	95.83%	23	(0.19%)	91.67%	1.62	00:02:02	0.00%	0 (0.00%	\$0.00	(0.00%
61.	/speccoll/FindingAids/CentralMain ePowerCorecords.htm	24	(0.07%)	83.33%	20	(0.16%)	87.50%	1.21	00:01:45	0.00%	0 (0.00%	\$0.00	(0.00%
62.	/patents/tmfaq.htm	23	(0.07%)	100.00%	23	(0.19%)	95.65%	1.17	00:00:02	0.00%	0 (0.00%	\$0.00	(0.00%

6	3.	/general/research3.htm	22	(0.06%)	100.00%	22	(0.18%)	81.82%	1.32	00:00:48	0.00%	0	(0.00%)	\$0.00	(0.00%
6	64.	/speccoll/FindingAids/EMGH.htm	21	(0.06%)	71.43%	15	(0.12%)	71.43%	1.33	00:02:06	0.00%	0	(0.00%)	\$0.00	(0.00%
6	65.	/speccoll/FindingAids/UMaineSop hOwlsEagles.htm	20	(0.06%)	60.00%	12	(0.10%)	85.00%	1.60	00:00:13	0.00%	0	(0.00%)	\$0.00	(0.00%
6	86.	/speccoll/Guides/francoamerican. htm	20	(0.06%)	80.00%	16	(0.13%)	85.00%	1.15	00:00:56	0.00%	0	(0.00%)	\$0.00	(0.00%
6	67.	/techserv/default.asp	20	(0.06%)	10.00%	2	(0.02%)	5.00%	2.45	00:00:16	0.00%	0	(0.00%)	\$0.00	(0.00%
6	8.	/refchat.htm	19	(0.05%)	36.84%	7	(0.06%)	57.89%	1.79	00:01:44	0.00%	0	(0.00%)	\$0.00	(0.00%
6	89.	/speccoll/FindingAids/MaineCentr alRR.htm	19	(0.05%)	89.47%	17	(0.14%)	84.21%	1.32	00:00:58	0.00%	0	(0.00%)	\$0.00	(0.00%
7	70.	/speccoll/FindingAids/MaineState Grange.htm	18	(0.05%)	83.33%	15	(0.12%)	83.33%	1.39	00:01:29	0.00%	0	(0.00%)	\$0.00	(0.00%
7	71.	/speccoll/Guides/nativeamerican. htm	18	(0.05%)	94.44%	17	(0.14%)	83.33%	1.17	00:00:39	0.00%	0	(0.00%)	\$0.00	(0.00%
7	72.	/yearbooks/eighties.htm	18	(0.05%)	55.56%	10	(0.08%)	38.89%	2.50	00:07:44	0.00%	0	(0.00%)	\$0.00	(0.00%
7	73.	/science/patents.htm	17	(0.05%)	82.35%	14	(0.11%)	58.82%	1.47	00:02:58	5.88%	1	(0.02%)	\$0.00	(0.00%
7	74.	/social/education_curriculum.htm	17	(0.05%)	58.82%	10	(0.08%)	52.94%	1.94	00:02:44	0.00%	0	(0.00%)	\$0.00	(0.00%
7	75.	/speccoll/FindingAids/DiamondMa tchCrecords.htm	17	(0.05%)	88.24%	15	(0.12%)	88.24%	1.12	00:00:02	0.00%	0	(0.00%)	\$0.00	(0.00%
7	76.	/speccoll/findingaids/gibbons.htm	17	(0.05%)	94.12%	16	(0.13%)	88.24%	1.12	00:01:34	0.00%	0	(0.00%)	\$0.00	(0.00%
7	77.	/speccoll/FindingAids/JohnsonMa rc.htm	17	(0.05%)	82.35%	14	(0.11%)	88.24%	1.82	00:01:05	0.00%	0	(0.00%)	\$0.00	(0.00%
7	78.	/staff/bonnet.htm	17	(0.05%)	70.59%	12	(0.10%)	82.35%	1.71	00:00:13	0.00%	0	(0.00%)	\$0.00	(0.00%
7	79.	/townreport/holdings2.htm	17	(0.05%)	11.76%	2	(0.02%)	23.53%	2.76	00:08:29	0.00%	0	(0.00%)	\$0.00	(0.00%
8	30.	/class/lewis/soc371.htm	16	(0.05%)	0.00%	0	(0.00%)	56.25%	3.31	00:09:25	0.00%	0	(0.00%)	\$0.00	(0.00%
8	31.	/class/Lewis/swk440.htm	16	(0.05%)	12.50%	2	(0.02%)	93.75%	1.12	00:01:23	0.00%	0	(0.00%)	\$0.00	(0.00%
8	32.	/patents/historical.htm	16	(0.05%)	100.00%	16	(0.13%)	62.50%	1.81	00:00:41	0.00%	0	(0.00%)	\$0.00	(0.00%
8	33.	/speccoll/FindingAids/Kingstep.ht m	16	(0.05%)	100.00%	16	(0.13%)	81.25%	1.38	00:00:31	0.00%	0	(0.00%)	\$0.00	(0.00%
8	34.	/yearbooks/seventies.htm	16	(0.05%)	68.75%	11	(0.09%)	50.00%	3.50	00:06:25	0.00%	0	(0.00%)	\$0.00	(0.00%
8	35.	/patents/default.asp	15	(0.04%)	73.33%	11	(0.09%)	60.00%	2.33	00:04:12	0.00%	0	(0.00%)	\$0.00	(0.00%
8	36.	/speccoll/manu-j-p.htm	15	(0.04%)	80.00%	12	(0.10%)	66.67%	1.67	00:00:39	0.00%	0	(0.00%)	\$0.00	(0.00%
8	37.	/theses/about.htm	15	(0.04%)	93.33%	14	(0.11%)	66.67%	1.87	00:00:45	0.00%	0	(0.00%)	\$0.00	(0.00%
8	38.	/class/Wallace/LBR200/default.as p	14	(0.04%)	7.14%	1	(0.01%)	28.57%	3.14	00:04:10	0.00%	0	(0.00%)	\$0.00	(0.00%
8	39.	/class/Wallace/LBR200/h6.htm	14	(0.04%)	0.00%	0	(0.00%)	71.43%	2.00	00:03:25	7.14%	1	(0.02%)	\$0.00	(0.00%
9	90.	/speccoll/FindingAids/BaxterCann ingCorecords.htm	14	(0.04%)	100.00%	14	(0.11%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
9	91.	/colldev/contacts.htm	13	(0.04%)	61.54%	8	(0.07%)	38.46%	2.38	00:00:54	7.69%	1	(0.02%)	\$0.00	(0.00%
9	92.	/colldev/trials.htm	13	(0.04%)	46.15%	6	(0.05%)	69.23%	3.31	00:09:28	15.38%	2	(0.04%)	\$0.00	(0.00%
9	93.	/forester/default.asp	13	(0.04%)	84.62%	11	(0.09%)	76.92%	1.77	00:02:02	0.00%	0	(0.00%)	\$0.00	(0.00%
9	94.	/general/citations.htm	13	(0.04%)	76.92%	10	(0.08%)	61.54%	1.62	00:00:25	0.00%	0	(0.00%)	\$0.00	(0.00%
9	95.	/reserves/default.htm	13	(0.04%)	38.46%	5	(0.04%)	15.38%	3.08	00:01:35	0.00%	0	(0.00%)	\$0.00	(0.00%
9	96.	/speccoll/FindingAids/Davismey.h tm	13	(0.04%)	84.62%	11	(0.09%)	92.31%	1.08	00:00:27	0.00%	0	(0.00%)	\$0.00	(0.00%
9	97.	/speccoll/FindingAids/EckstormF H.htm	13	(0.04%)	61.54%	8	(0.07%)	76.92%	1.38	00:01:22	0.00%	0	(0.00%)	\$0.00	(0.00%
9	98.	/speccoll/FindingAids/GardnerRec ords.htm	13	(0.04%)	92.31%	12	(0.10%)	92.31%	1.08	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
9	99.	/speccoll/FindingAids/Peircefamily inventory.htm	13	(0.04%)	76.92%	10	(0.08%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
10	00.	/speccoll/FindingAids/PhiKappaP hi.htm	13	(0.04%)	61.54%	8	(0.07%)	92.31%	1.08	00:00:09	0.00%	0	(0.00%)	\$0.00	(0.00%
10)1.	/speccoll/findingaids/schrump2.ht m	13	(0.04%)	100.00%	13	(0.11%)	84.62%	1.23	00:00:11	0.00%	0	(0.00%)	\$0.00	(0.00%
10	าว	/about/flooralphabat.htm	12	/n n20/\	33 330/	1	(0.020/ \	25 UU0/	2 67	00.01.00	0.00%	0	(0.000/)	¢0 00	(0.000/

	102.	/abouvilooralphabet.htm	12	(0.03%)	33.33%	4	(0.03%)	25.00%	3.07	00.01.00	0.00%	U	(0.00%)	φυ.υυ	(0.00%
	103.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=web+of+sci ence&go.x=0&go.y=0	12	(0.03%)	33.33%	4	(0.03%)	83.33%	1.42	00:01:33	0.00%	0	(0.00%)	\$0.00	(0.00%
	104.	/speccoll/FindingAids/Internationa IBrotherhoodPapermakers.htm	12	(0.03%)	83.33%	10	(0.08%)	75.00%	1.33	00:00:41	0.00%	0	(0.00%)	\$0.00	(0.00%
	105.	/speccoll/FindingAids/JaneMaryC. htm	12	(0.03%)	91.67%	11	(0.09%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
	106.	/speccoll/newspapers.htm	12	(0.03%)	66.67%	8	(0.07%)	25.00%	3.17	00:00:40	0.00%	0	(0.00%)	\$0.00	(0.00%
	107.	/general/eric.htm	11	(0.03%)	100.00%	11	(0.09%)	90.91%	1.09	00:00:03	0.00%	0	(0.00%)	\$0.00	(0.00%
	108.	/science/environ.htm	11	(0.03%)	90.91%	10	(0.08%)	63.64%	1.45	00:00:59	0.00%	0	(0.00%)	\$0.00	(0.00%
	109.	/science/math.htm	11	(0.03%)	81.82%	9	(0.07%)	45.45%	1.55	00:01:49	0.00%	0	(0.00%)	\$0.00	(0.00%
	110.	/science/ocean.htm	11	(0.03%)	9.09%	1	(0.01%)	90.91%	1.18	00:00:45	0.00%	0	(0.00%)	\$0.00	(0.00%
	111.	/speccoll/FindingAids/ArnoldWalte rLinventory.htm	11	(0.03%)	100.00%	11	(0.09%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
	112.	/speccoll/FindingAids/Leavitt.htm	11	(0.03%)	72.73%	8	(0.07%)	81.82%	1.27	00:00:26	0.00%	0	(0.00%)	\$0.00	(0.00%
	113.	/speccoll/FindingAids/TalbotWhitti er.htm	11	(0.03%)	90.91%	10	(0.08%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
	114.	/speccoll/findingaids/wigginsjr.htm	11	(0.03%)	100.00%	11	(0.09%)	90.91%	1.09	00:00:16	0.00%	0	(0.00%)	\$0.00	(0.00%
	115.	/speccoll/newspapers_location.ht m	11	(0.03%)	100.00%	11	(0.09%)	81.82%	1.64	00:00:37	0.00%	0	(0.00%)	\$0.00	(0.00%
	116.	/staff/lewis.htm	11	(0.03%)	63.64%	7	(0.06%)	72.73%	2.73	00:03:10	0.00%	0	(0.00%)	\$0.00	(0.00%
	117.	/staff/libx_guide.htm	11	(0.03%)	36.36%	4	(0.03%)	81.82%	1.36	00:00:30	0.00%	0	(0.00%)	\$0.00	(0.00%
	118.	/staff/wallace.htm	11	(0.03%)	36.36%	4	(0.03%)	63.64%	1.91	00:03:24	0.00%	0	(0.00%)	\$0.00	(0.00%
	119.	/techserv/Cataloging/Kirtas/Split_ Pages.htm	11	(0.03%)	63.64%	7	(0.06%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
	120.	/techserv/LHR_MSCCserials.htm	11	(0.03%)	36.36%	4	(0.03%)	72.73%	1.45	00:00:50	0.00%	0	(0.00%)	\$0.00	(0.00%
	121.	/canstudies/default.asp	10	(0.03%)	20.00%	2	(0.02%)	10.00%	5.00	00:05:22	20.00%	2	(0.04%)	\$0.00	(0.00%
	122.	/patents/default.htm	10	(0.03%)	40.00%	4	(0.03%)	80.00%	1.90	00:00:59	0.00%	0	(0.00%)	\$0.00	(0.00%
	123.	/scitechbus/mednursing.htm	10	(0.03%)	100.00%	10	(0.08%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
	124.	/speccoll/allnewspapers.htm	10	(0.03%)	80.00%	8	(0.07%)	80.00%	1.20	00:00:37	0.00%	0	(0.00%)	\$0.00	(0.00%
	125.	/staff/crosser.htm	10	(0.03%)	20.00%	2	(0.02%)	90.00%	1.20	00:02:49	0.00%	0	(0.00%)	\$0.00	(0.00%
	126.	/techserv/Cataloging/Download_C opy.htm	10	(0.03%)	70.00%	7	(0.06%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
	127.	/townreport/current_high.htm	10	(0.03%)	80.00%	8	(0.07%)	90.00%	1.20	00:00:09	0.00%	0	(0.00%)	\$0.00	(0.00%
	128.	/general/jstor.htm	9	(0.03%)	66.67%	6	(0.05%)	55.56%	3.22	00:00:51	33.33%	3	(0.06%)	\$0.00	(0.00%
	129.	/patents/websearch.htm	9	(0.03%)	100.00%	9	(0.07%)	77.78%	1.78	00:05:42	0.00%	0	(0.00%)	\$0.00	(0.00%
	130.	/resources.htm	9	(0.03%)	44.44%	4	(0.03%)	44.44%	3.56	00:01:09	11.11%	1	(0.02%)	\$0.00	(0.00%
-	131.	/science/anvet.htm	9	(0.03%)	100.00%	9	(0.07%)	100.00%	1.00	00:00:00	0.00%		(0.00%)		(0.00%
	132.	/science/cinahl.htm		(0.03%)	22.22%		(0.02%)	22.22%	3.44	00:01:56	22.22%		(0.04%)		(0.00%
	133.	/scitechbus/patents.htm	9	(0.03%)	55.56%	5	(0.04%)	66.67%	1.56	00:00:51	0.00%	0	(0.00%)	\$0.00	(0.00%
	134.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=autism&go.x =0&go.y=0	9	(0.03%)	66.67%	6	(0.05%)	33.33%	4.44	00:05:49	0.00%	0	(0.00%)	\$0.00	(0.00%
	135.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=classics+of+ western+philosophy&go.x=0&go.y =0	9	(0.03%)	11.11%	1	(0.01%)	88.89%	1.11	00:00:08	0.00%	0	(0.00%)	\$0.00	(0.00%
	136.	/speccoll/FindingAids/Chamberlai nFamily.htm	9	(0.03%)	88.89%	8	(0.07%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
	137.	/speccoll/FindingAids/DuttonFamil y.htm	9	(0.03%)	100.00%	9	(0.07%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
	138.	/speccoll/FindingAids/GodfreyJE. htm	9	(0.03%)	55.56%	5	(0.04%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
	139.	/speccoll/FindingAids/Josselyn.ht m	9	(0.03%)	88.89%	8	(0.07%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
	140.	/speccoll/FindingAids/Little.htm	9	(0.03%)	77.78%	7	(0.06%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%

141	/speccoll/FindingAids/PaysonLoui se.htm	9 (0.03%)	88.89%	8 (0.07%)	88.89%	1.11	00:01:05	0.00%	0 (0.00%)	\$0.00 (0.00%
142	/speccoll/FindingAids/RailroadSurveyBooks.htm	9 (0.03%)	33.33%	3 (0.02%)	88.89%	1.11	00:00:06	0.00%	0 (0.00%)	\$0.00 (0.00%
143	/speccoll/FindingAids/Stetsonfam.	9 (0.03%)	66.67%	6 (0.05%)	77.78%	1.89	00:03:05	0.00%	0 (0.00%)	\$0.00 (0.00%
144	/speccoll/FindingAids/UMaineAllM aineWomen.htm	9 (0.03%)	33.33%	3 (0.02%)	88.89%	1.11	00:00:01	0.00%	0 (0.00%)	\$0.00 (0.00%
145	/speccoll/FindingAids/UMaineClu bs.htm	9 (0.03%)	88.89%	8 (0.07%)	88.89%	1.22	00:00:15	0.00%	0 (0.00%)	\$0.00 (0.00%
146	/staff/hollinger.htm	9 (0.03%)	44.44%	4 (0.03%)	66.67%	1.44	00:00:08	0.00%	0 (0.00%)	\$0.00 (0.00%
147	/techserv/Epson_labels.htm	9 (0.03%)	100.00%	9 (0.07%)	77.78%	1.33	00:00:55	0.00%	0 (0.00%)	\$0.00 (0.00%
148	<u> </u>	9 (0.03%)	44.44%	4 (0.03%)	33.33%	6.33	00:17:26	0.00%	0 (0.00%)	\$0.00 (0.00%
149	•	8 (0.02%)	12.50%	1 (0.01%)	12.50%	21.75	00:38:11	25.00%	2 (0.04%)	\$0.00 (0.00%
150		8 (0.02%)	12.50%	1 (0.01%)	12.50%	3.38	00:06:15	12.50%	1 (0.02%)	\$0.00 (0.00%
151		8 (0.02%)	25.00%	2 (0.02%)	50.00%	2.12	00:01:39	12.50%	1 (0.02%)	\$0.00 (0.00%
152		8 (0.02%)	37.50%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
152		8 (0.02%)	75.00%	6 (0.05%)	87.50%	1.12	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
153		8 (0.02%)	50.00%	4 (0.03%)	37.50%	3.75	00:07:50	0.00%	0 (0.00%)	\$0.00 (0.00%
154		8 (0.02%)	75.00%	6 (0.05%)	62.50%	1.38	00:07:50	0.00%	0 (0.00%)	\$0.00 (0.00%
156		8 (0.02%)	87.50%	7 (0.06%)	100.00%	1.38	00:00:09	0.00%	0 (0.00%)	\$0.00 (0.00%
	· · · · · · · · · · · · · · · · · · ·	, ,		, ,						,
157	•	8 (0.02%)	100.00% 75.00%	8 (0.07%) 6 (0.05%)	87.50% 62.50%	3.00	00:00:09	0.00%	0 (0.00%) 1 (0.02%)	\$0.00 (0.00% \$0.00 (0.00%
158		8 (0.02%) 8 (0.02%)	100.00%	6 (0.05%) 8 (0.07%)	62.50%	1.75	00:04:02	0.00%	0 (0.00%)	\$0.00 (0.00%
	/sneccoll/FindingAids/Passamagu	, ,		` '					,	
160	oddyPhotographs.htm	8 (0.02%)	62.50%	5 (0.04%)	87.50%	1.50	00:02:15	0.00%	0 (0.00%)	\$0.00 (0.00%
161	/speccoll/FindingAids/SeedCatalo gs1930s.htm	8 (0.02%)	100.00%	8 (0.07%)	87.50%	1.12	00:00:04	0.00%	0 (0.00%)	\$0.00 (0.00%
162	/speccoll/FindingAids/SpeckFrank .htm	8 (0.02%)	87.50%	7 (0.06%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
163	/speccoll/FindingAids/TaylorPaul. htm	8 (0.02%)	75.00%	6 (0.05%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
164	/speccoll/FindingAids/WeinerMarli .htm	8 (0.02%)	100.00%	8 (0.07%)	87.50%	1.12	00:00:58	0.00%	0 (0.00%)	\$0.00 (0.00%
165	/speccoll/manu-a-d.1.htm	8 (0.02%)	62.50%	5 (0.04%)	37.50%	2.25	00:01:46	0.00%	0 (0.00%)	\$0.00 (0.00%
166	/staff/rumery.htm	8 (0.02%)	37.50%	3 (0.02%)	75.00%	1.62	00:00:06	0.00%	0 (0.00%)	\$0.00 (0.00%
167	/techserv/lhr_msccserials.htm	8 (0.02%)	75.00%	6 (0.05%)	87.50%	1.12	00:02:36	0.00%	0 (0.00%)	\$0.00 (0.00%
168	/virtualref/newspapers.htm	8 (0.02%)	87.50%	7 (0.06%)	87.50%	1.62	00:00:53	0.00%	0 (0.00%)	\$0.00 (0.00%
169	/women/wgsfall13.htm	8 (0.02%)	87.50%	7 (0.06%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
170	/circ/location_classrooms_group_ study.htm	7 (0.02%)	57.14%	4 (0.03%)	85.71%	1.14	00:00:02	0.00%	0 (0.00%)	\$0.00 (0.00%
171	/general/cited_jstor.htm	7 (0.02%)	100.00%	7 (0.06%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
172	/science/bmmb.htm	7 (0.02%)	57.14%	4 (0.03%)	71.43%	1.43	00:00:52	0.00%	0 (0.00%)	\$0.00 (0.00%
173	/science/engtech.htm	7 (0.02%)	85.71%	6 (0.05%)	71.43%	1.29	00:02:04	0.00%	0 (0.00%)	\$0.00 (0.00%
174	/speccoll/FindingAids/BrickerH.ht m	7 (0.02%)	100.00%	7 (0.06%)	85.71%	1.29	00:02:39	0.00%	0 (0.00%)	\$0.00 (0.00%
175	/speccoll/FindingAids/CoeFam.ht m	7 (0.02%)	85.71%	6 (0.05%)	85.71%	1.57	00:01:38	0.00%	0 (0.00%)	\$0.00 (0.00%
176	/speccoll/FindingAids/SmithWalter B.htm	7 (0.02%)	85.71%	6 (0.05%)	85.71%	1.43	00:04:27	0.00%	0 (0.00%)	\$0.00 (0.00%
177	/speccoll/FindingAids/Sprinchorn.	7 (0.02%)	100.00%	7 (0.06%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
178	/speccoll/FindingAids/Stahl.htm	7 (0.02%)	85.71%	6 (0.05%)	85.71%	1.71	00:00:36	0.00%	0 (0.00%)	\$0.00 (0.00%
179	/speccoll/manulist.htm	7 (0.02%)	71.43%	5 (0.04%)	14.29%	4.43	00:10:51	0.00%	0 (0.00%)	\$0.00 (0.00%

180.	/speccoll/scstaff.htm	7 (0	.02%) 28.57%	2 (0.02%)	42.86%	2.43	00:07:53	0.00%	0 (0.00%)	\$0.00 (0.00%
181.	/staff/johnson.htm	7 (0	.02%) 42.86%	3 (0.02%)	71.43%	1.29	00:00:02	0.00%	0 (0.00%)	\$0.00 (0.00%
182.	/circ/group_study_rooms.htm	6 (0	.02%) 83.33%	5 (0.04%)	83.33%	3.17	00:01:19	0.00%	0 (0.00%)	\$0.00 (0.00%
183.	/colldev/ebooksfaq.htm	6 (0	.02%) 83.33%	5 (0.04%)	83.33%	1.17	00:00:22	0.00%	0 (0.00%)	\$0.00 (0.00%
184.	/ejournals/fulltext.htm	6 (0	.02%) 33.33%	2 (0.02%)	66.67%	2.50	00:03:04	16.67%	1 (0.02%)	\$0.00 (0.00%
185.	/general/cited_your_article.htm	6 (0	.02%) 0.00%	0 (0.00%)	0.00%	9.00	00:23:30	33.33%	2 (0.04%)	\$0.00 (0.00%
186.	/general/grants.htm	6 (0	.02%) 50.00%	3 (0.02%)	66.67%	2.00	00:04:35	0.00%	0 (0.00%)	\$0.00 (0.00%
187.	/general/sportdiscus.htm	6 (0	.02%) 100.00%	6 (0.05%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
188.	/science/agri.htm	6 (0	.02%) 100.00%	6 (0.05%)	66.67%	2.83	00:00:37	0.00%	0 (0.00%)	\$0.00 (0.00%
189.	/science/mecheng.htm	6 (0	.02%) 100.00%	6 (0.05%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
190.	/search?s.q=	6 (0	.02%) 100.00%	6 (0.05%)	83.33%	1.50	00:00:12	0.00%	0 (0.00%)	\$0.00 (0.00%
191.	/speccoll/FindingAids/BoothBrosr ecords.htm	6 (0	.02%) 100.00%	6 (0.05%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
192.	/speccoll/FindingAids/D'Arcy.htm	6 (0	.02%) 66.67%	4 (0.03%)	66.67%	1.83	00:00:26	0.00%	0 (0.00%)	\$0.00 (0.00%
193.	/speccoll/FindingAids/Delanofa.ht m	6 (0	.02%) 100.00%	6 (0.05%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
194.	/speccoll/FindingAids/GrahamPap ers.htm	6 (0	.02%) 66.67%	4 (0.03%)	66.67%	2.50	00:07:20	0.00%	0 (0.00%)	\$0.00 (0.00%
195.	/speccoll/FindingAids/Haystack.ht m	6 (0	.02%) 100.00%	6 (0.05%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
196.	/speccoll/FindingAids/MaineSlate Corecords.htm	6 (0	.02%) 100.00%	6 (0.05%)	83.33%	1.33	00:04:44	0.00%	0 (0.00%)	\$0.00 (0.00%
197.	/speccoll/FindingAids/McCrillisWH .htm	6 (0	.02%) 66.67%	4 (0.03%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
198.	/speccoll/FindingAids/OnawaHou serecords.htm	6 (0	.02%) 100.00%	6 (0.05%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
199.	/speccoll/FindingAids/PalmerRalp hcollection.htm	6 (0	.02%) 100.00%	6 (0.05%)	66.67%	1.33	00:04:02	0.00%	0 (0.00%)	\$0.00 (0.00%
200.	/speccoll/FindingAids/SiebertFran k.htm	6 (0	.02%) 100.00%	6 (0.05%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
201.	/speccoll/findingaids/turnerfa.htm	6 (0	.02%) 50.00%	3 (0.02%)	83.33%	1.83	00:00:24	0.00%	0 (0.00%)	\$0.00 (0.00%
202.	/speccoll/manu-e-i.htm	6 (0	.02%) 100.00%	6 (0.05%)	83.33%	1.33	00:00:08	0.00%	0 (0.00%)	\$0.00 (0.00%
203.	/speccoll/manu-r-y.htm	6 (0	.02%) 66.67%	4 (0.03%)	33.33%	4.00	00:05:08	0.00%	0 (0.00%)	\$0.00 (0.00%
204.	/staff/rollins.htm	6 (0	.02%) 100.00%	6 (0.05%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
205.	/techserv/Serials/Processing/clai ms.htm	6 (0	.02%) 100.00%	6 (0.05%)	83.33%	2.67	00:05:06	0.00%	0 (0.00%)	\$0.00 (0.00%
206.	/techserv/urlchecking.htm	6 (0	.02%) 83.33%	5 (0.04%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
207.	/yearbooks/Forties.htm	6 (0	.02%) 33.33%	2 (0.02%)	16.67%	9.00	00:14:15	0.00%	0 (0.00%)	\$0.00 (0.00%
208.	/yearbooks/Nineties.htm	6 (0	.02%) 16.67%	1 (0.01%)	16.67%	7.17	00:29:30	0.00%	0 (0.00%)	\$0.00 (0.00%
209.	/about/accessibility.htm	5 (0	.01%) 100.00%	5 (0.04%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
210.	/about/floorplan2.htm	5 (0	.01%) 60.00%	3 (0.02%)	60.00%	4.00	00:02:40	0.00%	0 (0.00%)	\$0.00 (0.00%
211.	/about/info_commons.htm	5 (0	.01%) 60.00%	3 (0.02%)	80.00%	1.40	00:00:09	0.00%	0 (0.00%)	\$0.00 (0.00%
212.	/canstudies/news.htm	5 (0	.01%) 100.00%	5 (0.04%)	60.00%	4.60	00:06:39	20.00%	1 (0.02%)	\$0.00 (0.00%
213.	/class/Crosser/chf423.htm	5 (0	.01%) 80.00%	4 (0.03%)	60.00%	2.80	00:05:29	0.00%	0 (0.00%)	\$0.00 (0.00%
214.	/class/Crosser/erl517.htm	5 (0	.01%) 0.00%	0 (0.00%)	80.00%	1.20	00:01:39	0.00%	0 (0.00%)	\$0.00 (0.00%
215.	/class/Curtis/nfa117bmb.htm	5 (0	.01%) 80.00%	4 (0.03%)	80.00%	1.80	00:00:09	0.00%	0 (0.00%)	\$0.00 (0.00%
216.	/class/default.asp		.01%) 20.00%	1 (0.01%)	0.00%	3.40	00:00:40	0.00%	0 (0.00%)	\$0.00 (0.00%
217.	/class/lewis/pos369.htm		.01%) 40.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
218.	/dc/Prism_migration.htm	5 (0	.01%) 60.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
219.	/general/appendproxyIP.htm	5 (0	.01%) 60.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
220.	/general/psycinfo.htm	5 (0	.01%) 80.00%	4 (0.03%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
221.	/general/research2.htm	5 (0	.01%) 0.00%	0 (0.00%)	60.00%	1.40	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%

222.	/geoscan/gislinks.htm	5	(0.01%)	100.00%	5 (0.04%)	80.00%	1.20	00:00:11	0.00%	0 (0.00%)	\$0.00 (0.00%
223.	/mrc/equipment.htm	5	(0.01%)	40.00%	2 (0.02%)	60.00%	3.20	00:01:37	0.00%	0 (0.00%)	\$0.00 (0.00%
224.	/science/botany.htm	5	(0.01%)	100.00%	5 (0.04%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
225.	/science/entomology.htm	5	(0.01%)	100.00%	5 (0.04%)	80.00%	1.20	00:01:29	0.00%	0 (0.00%)	\$0.00 (0.00%
226.	/science/geol.htm	5	(0.01%)	60.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
227.	/science/materials.htm	5	(0.01%)	100.00%	5 (0.04%)	80.00%	1.40	00:00:26	0.00%	0 (0.00%)	\$0.00 (0.00%
228.	/science/waterresources.htm	5	(0.01%)	100.00%	5 (0.04%)	80.00%	2.40	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
229.	/scitechbus/default.asp	5	(0.01%)	40.00%	2 (0.02%)	20.00%	22.60	00:24:23	40.00%	2 (0.04%)	\$0.00 (0.00%
230.	/scitechbus/mathematics.htm	5	(0.01%)	80.00%	4 (0.03%)	60.00%	2.00	00:01:10	0.00%	0 (0.00%)	\$0.00 (0.00%
231.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=electromagn etically+induced+transparency++ &go.x=0&go.y=0	5	(0.01%)	40.00%	2 (0.02%)	80.00%	1.20	00:00:08	0.00%	0 (0.00%)	\$0.00 (0.00%
232.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=IEEE+XPLO RE&go.x=0&go.y=0	5	(0.01%)	20.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
233.	/social/business_law6a.htm	5	(0.01%)	100.00%	5 (0.04%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
234.	/social/Imcjack.htm	5	(0.01%)	100.00%	5 (0.04%)	80.00%	1.20	00:00:08	0.00%	0 (0.00%)	\$0.00 (0.00%
235.	/speccoll/FindingAids/ChandlerFa m.htm	5	(0.01%)	100.00%	5 (0.04%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
236.	/speccoll/FindingAids/Hamlincy.ht m	5	(0.01%)	80.00%	4 (0.03%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
237.	/SpecColl/FindingAids/Hamlinfami lyinventory.htm	5	(0.01%)	100.00%	5 (0.04%)	60.00%	1.40	00:04:11	0.00%	0 (0.00%)	\$0.00 (0.00%
238.	/speccoll/FindingAids/Mccormic.ht m	5	(0.01%)	80.00%	4 (0.03%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
239.	/speccoll/FindingAids/MerriamKen dall.htm	5	(0.01%)	100.00%	5 (0.04%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
240.	/speccoll/FindingAids/PatchEdith. htm	5	(0.01%)	60.00%	3 (0.02%)	80.00%	1.20	00:05:12	0.00%	0 (0.00%)	\$0.00 (0.00%
241.	/speccoll/FindingAids/PenobscotC hemicalFibreCorecords.htm	5	(0.01%)	100.00%	5 (0.04%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
242.	/speccoll/FindingAids/ResearchS ponsoredPrograms.htm	5	(0.01%)	60.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
243.	/speccoll/FindingAids/StarbirdEdw inPhotographs.htm	5	(0.01%)	100.00%	5 (0.04%)	80.00%	1.40	00:00:20	0.00%	0 (0.00%)	\$0.00 (0.00%
244.	/speccoll/FindingAids/WebberFa mily.htm	5	(0.01%)	80.00%	4 (0.03%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
245.	/staff/newonlinesource_cc.htm	5	(0.01%)	40.00%	2 (0.02%)	60.00%	1.80	00:01:25	0.00%	0 (0.00%)	\$0.00 (0.00%
246.	/techserv/Cataloging/LMC_Graphi c_Novels.htm	5	(0.01%)	100.00%	5 (0.04%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
247.	/techserv/Cataloging/Themed_Jo urnals.htm	5	(0.01%)	80.00%	4 (0.03%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
248.	/techserv/Cataloging/UMITheses. htm	5	(0.01%)	100.00%	5 (0.04%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
249.	/techserv/Cataloging/Virtual_Book plates.htm	5	(0.01%)	100.00%	5 (0.04%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
250.	/techserv/techservweb.htm	5	(0.01%)	0.00%	0 (0.00%)	80.00%	2.00	00:00:04	0.00%	0 (0.00%)	\$0.00 (0.00%
251.	/yearbooks/nineteenhundreds.htm	5	(0.01%)	20.00%	1 (0.01%)	40.00%	13.80	00:09:58	0.00%	0 (0.00%)	\$0.00 (0.00%
252.	/class/Crosser/erl317.htm	4	(0.01%)	25.00%	1 (0.01%)	50.00%	3.00	00:03:52	0.00%	0 (0.00%)	\$0.00 (0.00%
253.	/class/lewis/wgs101.htm	4	(0.01%)	25.00%	1 (0.01%)	75.00%	1.25	00:00:24	0.00%	0 (0.00%)	\$0.00 (0.00%
254.	/cohen/Collection_Description/10 6_02_03_03_03.htm	4	(0.01%)	100.00%	4 (0.03%)	75.00%	1.50	00:00:30	0.00%	0 (0.00%)	\$0.00 (0.00%
255.	/colldev/about.htm	4	(0.01%)	0.00%	0 (0.00%)	50.00%	3.75	00:29:51	0.00%	0 (0.00%)	\$0.00 (0.00%
256.	/colldev/ebooks/hathimaine.htm	4	(0.01%)	50.00%	2 (0.02%)	75.00%	1.25	00:01:46	0.00%	0 (0.00%)	\$0.00 (0.00%
257.	/general/HowDoI.htm	4	(0.01%)	0.00%	0 (0.00%)	25.00%	5.50	00:22:01	25.00%	1 (0.02%)	\$0.00 (0.00%
258.	/general/scholarships.htm	4	(0.01%)	100.00%	4 (0.03%)	25.00%	2.00	00:03:58	0.00%	0 (0.00%)	\$0.00 (0.00%

259.	/geoscan/previous.htm	4	(0.01%)	100.00%	4	(0.03%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
260.	/govdoc/default.asp	4	(0.01%)	100.00%	4	(0.03%)	75.00%	1.25	00:00:09	0.00%	0	(0.00%)	\$0.00	(0.00%
261.	/mrc/policy.htm	4	(0.01%)	25.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
262.	/patents/copies.htm	4	(0.01%)	100.00%	4	(0.03%)	75.00%	1.50	00:00:19	0.00%	0	(0.00%)	\$0.00	(0.00%
263.	/science/amphib.htm	4	(0.01%)	100.00%	4	(0.03%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
264.	/science/civileng.htm	4	(0.01%)	100.00%	4	(0.03%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
265.	/science/nursing.htm	4	(0.01%)	75.00%	3	(0.02%)	50.00%	1.75	00:01:28	0.00%	0	(0.00%)	\$0.00	(0.00%
266.	/science/ornitho.htm	4	(0.01%)	100.00%	4	(0.03%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
267.	/science/standard.htm	4	(0.01%)	100.00%	4	(0.03%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
268.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=cq+research er&go.x=0&go.y=0	4	(0.01%)	25.00%	1	(0.01%)	50.00%	1.50	00:00:57	0.00%	0	(0.00%)	\$0.00	(0.00%
269.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=fun+home& go.x=0&go.y=0	4	(0.01%)	50.00%	2	(0.02%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
270.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=honors+thes is&go.x=0&go.y=0	4	(0.01%)	50.00%	2	(0.02%)	50.00%	1.75	00:00:20	0.00%	0	(0.00%)	\$0.00	(0.00%
271.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=jak/stat&go. x=0&go.y=0	4	(0.01%)	25.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
272.	&go.y=0	4	(0.01%)	75.00%	3	(0.02%)	25.00%	3.25	00:01:16	0.00%	0	(0.00%)	\$0.00	(0.00%
273.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=performing+ sex&go.x=0&go.y=0	4	(0.01%)	50.00%	2	(0.02%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
274.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=psychinfo&g o.x=-643&go.y=-217	4	(0.01%)	50.00%	2	(0.02%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
275.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=puzzle&go.x =0&go.y=0	4	(0.01%)	100.00%	4	(0.03%)	50.00%	3.25	00:01:25	0.00%	0	(0.00%)	\$0.00	(0.00%
276.	/social/Imcmainenativeam.htm	4	(0.01%)	100.00%	4	(0.03%)	75.00%	1.50	00:00:04	0.00%	0	(0.00%)	\$0.00	(0.00%
277.	/social/sustainability.htm	4	(0.01%)	75.00%	3	(0.02%)	25.00%	2.50	00:01:05	0.00%	0	(0.00%)	\$0.00	(0.00%
278.	/speccoll/FindingAids/Amesfamilyi nventory.htm	4	(0.01%)	100.00%	4	(0.03%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
279.	/speccoll/FindingAids/BartlettStanl ey.htm	4	(0.01%)	75.00%	3	(0.02%)	75.00%	1.25	00:06:45	0.00%	0	(0.00%)	\$0.00	(0.00%
280.	/speccoll/FindingAids/Battick.htm		(0.01%)	75.00%	3	(0.02%)	75.00%	1.75	00:00:32	0.00%	0	, ,		(0.00%
281.	·	4	(0.01%)	100.00%	4	(0.03%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
282.	/speccoll/FindingAids/BissonTA.ht m	4	(0.01%)	100.00%	4	(0.03%)	50.00%	1.50	00:00:43	0.00%	0	(0.00%)	\$0.00	(0.00%
283.	/speccoll/FindingAids/Bradford.ht m	4	(0.01%)	100.00%	4	(0.03%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
284.	/speccoll/FindingAids/BubarBenja min.htm	4	(0.01%)	25.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
285.	/speccoll/FindingAids/GeaganBillp apers.htm	4	(0.01%)	100.00%	4	(0.03%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
286.	/speccoll/FindingAids/MacKenzie Maude.htm	4	(0.01%)	100.00%	4	(0.03%)	75.00%	1.25	00:03:19	0.00%	0	(0.00%)	\$0.00	(0.00%
287.	/speccoll/FindingAids/MaineDairy mensAssocrecords.htm	4	(0.01%)	100.00%	4	(0.03%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
288.	/speccoll/FindingAids/MaineFedof Women.htm	4	(0.01%)	50.00%	2	(0.02%)	75.00%	2.00	00:01:10	25.00%	1	(0.02%)	\$0.00	(0.00%
289.	/speccoll/FindingAids/MaineSADr ecords.htm	4	(0.01%)	75.00%	3	(0.02%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
290.	/speccoll/FindingAids/MillerCharle ypapers.htm	4	(0.01%)	100.00%	4	(0.03%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
291.	/speccoll/FindingAids/PenobscotL umberinginventory.htm	4	(0.01%)	50.00%	2	(0.02%)	75.00%	1.25	00:06:21	0.00%	0	(0.00%)	\$0.00	(0.00%
292.	/speccoll/FindingAids/PikeJames. htm	4	(0.01%)	75.00%	3	(0.02%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%

2	293.	/speccoll/FindingAids/ThoreauFell owship.htm	4	(0.01%)	100.00%	4	(0.03%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
:	294.	/speccoll/FindingAids/Vickerym.ht m	4	(0.01%)	100.00%	4	(0.03%)	75.00%	1.25	00:05:39	0.00%	0	(0.00%)	\$0.00	(0.00%
2	295.	/speccoll/FindingAids/Wilson1.ht m	4	(0.01%)	100.00%	4	(0.03%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
	296.	/speccoll/manucol.htm	4	(0.01%)	50.00%	2	(0.02%)	25.00%	4.75	00:07:54	0.00%	0	(0.00%)	\$0.00	(0.00%
- :	297.	/staff/beattie.htm	4	(0.01%)	50.00%	2	(0.02%)	25.00%	2.50	00:02:07	0.00%	0	(0.00%)	\$0.00	(0.00%
:	298.	/staff/bird.htm	4	(0.01%)	25.00%	1	(0.01%)	50.00%	2.75	00:06:18	0.00%	0	(0.00%)	\$0.00	(0.00%
:	299.	/staff/butterfield.htm	4	(0.01%)	75.00%	3	(0.02%)	50.00%	2.25	00:01:56	0.00%	0	(0.00%)	\$0.00	(0.00%
;	300.	/staff/expression_issues.htm	4	(0.01%)	100.00%	4	(0.03%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
;	301.	/techserv/Atiz/BookDrive_EditorPr o.htm	4	(0.01%)	100.00%	4	(0.03%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
;	302.	/techserv/Cataloging/Prestamps.h tm	4	(0.01%)	75.00%	3	(0.02%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
;	303.	/techserv/Cataloging/Scores.htm	4	(0.01%)	75.00%	3	(0.02%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
;	304.	/techserv/Cataloging/Withdrawals. htm	4	(0.01%)	100.00%	4	(0.03%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
;	305.	/virtualref/samesexmarriage13.ht m	4	(0.01%)	100.00%	4	(0.03%)	50.00%	1.75	00:01:19	0.00%	0	(0.00%)	\$0.00	(0.00%
;	306.	/women/womsummer13.htm	4	(0.01%)	100.00%	4	(0.03%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
	307.	/yearbooks/sixties.htm	4	(0.01%)	75.00%	3	(0.02%)	75.00%	1.25	00:06:10	0.00%	0	(0.00%)	\$0.00	(0.00%
;	308.	/about/QRcode.htm	3	(0.01%)	66.67%	2	(0.02%)	33.33%	1.67	00:00:10	0.00%	0	(0.00%)	\$0.00	(0.00%
,	309.	/circ/photocopy.htm	3	(0.01%)	66.67%	2	(0.02%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
;	310.	/class/JOHNSON/CHF200F13.ht m	3	(0.01%)	0.00%	0	(0.00%)	33.33%	2.00	00:00:18	0.00%	0	(0.00%)	\$0.00	(0.00%
;	311.	/class/Wallace/MET355/default.as p	3	(0.01%)	33.33%	1	(0.01%)	66.67%	1.33	00:00:30	0.00%	0	(0.00%)	\$0.00	(0.00%
;	312.	/climate/clcams.htm	3	(0.01%)	100.00%	3	(0.02%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
;	313.	/cohen/Collection_Description/10 6_03_03_13.htm	3	(0.01%)	100.00%	3	(0.02%)	66.67%	1.67	00:00:20	0.00%	0	(0.00%)	\$0.00	(0.00%
;	314.	/colldev/generalDBs.htm	3	(0.01%)	0.00%	0	(0.00%)	33.33%	1.67	00:00:29	0.00%	0	(0.00%)	\$0.00	(0.00%
;	315.	/colldev/newacq.htm	3	(0.01%)	0.00%	0	(0.00%)	66.67%	2.00	00:05:26	0.00%	0	(0.00%)	\$0.00	(0.00%
;	316.	/colldev/recbook_cc.htm	3	(0.01%)	33.33%	1	(0.01%)	33.33%	4.00	00:03:15	0.00%	0	(0.00%)	\$0.00	(0.00%
;	317.	/ejournals/default.asp?Biology=	3	(0.01%)	100.00%	3	(0.02%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
;	318.	/general/print_sources.htm	3	(0.01%)	100.00%	3	(0.02%)	66.67%	2.00	00:00:20	0.00%	0	(0.00%)	\$0.00	(0.00%
;	319.	/general/troubleshooting.htm	3	(0.01%)	100.00%	3	(0.02%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
;	320.	/govdoc/2005_business_census.h tm	3	(0.01%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
;	321.	/govdoc/default.htm	3	(0.01%)	66.67%	2	(0.02%)	66.67%	2.00	00:01:15	0.00%	0	(0.00%)	\$0.00	(0.00%
;	322.	/ill/illfaq.htm	3	(0.01%)	66.67%	2	(0.02%)	0.00%	3.67	00:01:19	0.00%	0	(0.00%)	\$0.00	(0.00%
;	323.	/science/aquatic.htm	3	(0.01%)	66.67%	2	(0.02%)	66.67%	9.00	00:33:09	33.33%	1	(0.02%)	\$0.00	(0.00%
;	324.	/science/eleceng.htm	3	(0.01%)	66.67%	2	(0.02%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
;	325.	/science/forestry.htm	3	(0.01%)	100.00%	3	(0.02%)	66.67%	1.67	00:03:34	0.00%	0	(0.00%)	\$0.00	(0.00%
;	326.	/science/gis.htm	3	(0.01%)	100.00%	3	(0.02%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
;	327.	/scitechbus/accounting.htm	3	(0.01%)	100.00%	3	(0.02%)	33.33%	2.00	00:00:11	0.00%	0	(0.00%)	\$0.00	(0.00%
;	328.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=another+jar +of+tiny+stars&go.x=0&go.y=0	3	(0.01%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
;	329.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=bruce+pratt &go.x=0&go.y=0	3	(0.01%)	100.00%	3	(0.02%)	0.00%	2.33	00:01:38	0.00%	0	(0.00%)	\$0.00	(0.00%
;	330.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Community, +Violence+and+Peace+&go.x=0& go.y=0	3	(0.01%)	0.00%	0	(0.00%)	33.33%	4.33	00:11:47	0.00%	0	(0.00%)	\$0.00	(0.00%
		/acarah 2a fi fff - Cantant Tima Navi													

331.	spaper+Article,t&s.q=elements+of +culture&go.x=0&go.y=0	3	(0.01%)	0.00%	0 (0.00%)	66.67%	2.00	00:00:41	0.00%	0 (0.00%)	\$0.00 (0.00%
332.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Forestry+an d+the+end+of+innocence&go.x=0 &go.y=0	3	(0.01%)	0.00%	0 (0.00%)	33.33%	6.00	00:18:01	0.00%	0 (0.00%)	\$0.00 (0.00%
333.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=google+sch olar&go.x=0&go.y=0	3	(0.01%)	100.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
334.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=hearts+in+at lantis&go.x=0&go.y=0	3	(0.01%)	33.33%	1 (0.01%)	66.67%	1.33	00:00:06	0.00%	0 (0.00%)	\$0.00 (0.00%
335.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=journal+of+a nimal+science&go.x=0&go.y=0	3	(0.01%)	33.33%	1 (0.01%)	66.67%	2.33	00:01:30	0.00%	0 (0.00%)	\$0.00 (0.00%
336.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=le+travailleu r&go.x=0&go.y=0	3	(0.01%)	33.33%	1 (0.01%)	33.33%	6.00	00:12:02	0.00%	0 (0.00%)	\$0.00 (0.00%
337.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.g=Literacy+as +Multidimensional+-+Locating+Inf ormation+and+Reading-Compreh ension&go.x=0&go.y=0	3	(0.01%)	33.33%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
338.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=northern+wo odlands&go.x=0&go.y=0	3	(0.01%)	100.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
339.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=nursing&go. x=0&go.y=0	3	(0.01%)	66.67%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
340.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=recycling&g o.x=0&go.y=0	3	(0.01%)	100.00%	3 (0.02%)	66.67%	2.00	00:00:05	0.00%	0 (0.00%)	\$0.00 (0.00%
341.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=stability+mo ored&go.x=0&go.y=0	3	(0.01%)	0.00%	0 (0.00%)	66.67%	2.67	00:02:36	0.00%	0 (0.00%)	\$0.00 (0.00%
342.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=stable+isoto pe+ecology&go.x=0&go.y=0	3	(0.01%)	0.00%	0 (0.00%)	33.33%	4.67	00:11:32	0.00%	0 (0.00%)	\$0.00 (0.00%
343.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=total+immer sion&go.x=0&go.y=0	3	(0.01%)	33.33%	1 (0.01%)	66.67%	1.67	00:10:06	0.00%	0 (0.00%)	\$0.00 (0.00%
344.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=water+wave +mechanics&go.x=0&go.y=0	3	(0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
345.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=women+and +education+in+sub-saharan+afric a&go.x=0&go.y=0	3	(0.01%)	33.33%	1 (0.01%)	0.00%	3.67	00:01:19	0.00%	0 (0.00%)	\$0.00 (0.00%
346.	/search?s.q=a+history+of+english +words+hughes	3	(0.01%)	33.33%	1 (0.01%)	0.00%	4.33	00:18:21	0.00%	0 (0.00%)	\$0.00 (0.00%
347.	/search?s.q=Introduction+to+Prog ramming+and+Object-Oriented+D esign+Using+Jav	3	(0.01%)	100.00%	3 (0.02%)	0.00%	2.33	00:00:06	0.00%	0 (0.00%)	\$0.00 (0.00%
348.	/social/education_psychology.htm	3	(0.01%)	33.33%	1 (0.01%)	66.67%	1.33	00:00:17	0.00%	0 (0.00%)	\$0.00 (0.00%
349.	/social/mainelaw.htm	3	(0.01%)	66.67%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
350.	/social/wabanaki.htm	3	(0.01%)	33.33%	1 (0.01%)	33.33%	2.67	00:03:29	0.00%	0 (0.00%)	\$0.00 (0.00%
351.	/speccoll/FindingAids/Androscogg ininventory.htm	3	(0.01%)	100.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
352.	/speccoll/FindingAids/BarrowsFa mily.htm	3	(0.01%)	100.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
353.	/speccoll/FindingAids/BartlettRalp hS.htm	3	(0.01%)	100.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
354.	/speccoll/FindingAids/Bennett.htm	3	(0.01%)	100.00%	3 (0.02%)	66.67%	4.00	00:08:04	0.00%	0 (0.00%)	\$0.00 (0.00%
355.	/speccoll/FindingAids/Campingin Maine.htm	3	(0.01%)	100.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
356.	/speccoll/FindingAids/ChaseMary Ellen.htm	3	(0.01%)	100.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
357.	/speccoll/FindingAids/CronkCoryd oninventory.htm	3	(0.01%)	100.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
358.	/speccoll/FindingAids/DevereuxFa mily.htm	3	(0.01%)	100.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%

359.	/speccoll/FindingAids/EarlyMainel mages.htm	3	(0.01%)	100.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
360.	/speccoll/FindingAids/EdwardsLle wellynpapers.htm	3	(0.01%)	66.67%	2 (0.02%)	66.67%	1.33	00:07:04	0.00%	0 (0.00%)	\$0.00 (0.00%
361.	/speccoll/FindingAids/FullerFranci s.htm	3	(0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
362.	/speccoll/FindingAids/Goodwin.ht m	3	(0.01%)	100.00%	3 (0.02%)	66.67%	4.33	00:02:02	0.00%	0 (0.00%)	\$0.00 (0.00%
363.	/speccoll/FindingAids/GossTorrey papers.htm	3	(0.01%)	33.33%	1 (0.01%)	66.67%	1.33	00:04:04	0.00%	0 (0.00%)	\$0.00 (0.00%
364.	/speccoll/FindingAids/Greenwoo.h	3	(0.01%)	100.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
365.	/speccoll/FindingAids/HartgenVin	3	(0.01%)	100.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
366.	/speccoll/FindingAids/HathawayW .htm	3	(0.01%)	66.67%	2 (0.02%)	66.67%	1.33	00:00:51	0.00%	0 (0.00%)	\$0.00 (0.00%
367.	/speccoll/FindingAids/HeplerPaul Rpapers.htm	3	(0.01%)	100.00%	3 (0.02%)	66.67%	1.67	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%
368.	/speccoll/FindingAids/JohnstonFa milyPapers.htm	3	(0.01%)	100.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
369.	/speccoll/FindingAids/LubecSardi ne.htm	3	(0.01%)	100.00%	3 (0.02%)	66.67%	1.67	00:00:32	0.00%	0 (0.00%)	\$0.00 (0.00%
370.	/speccoll/FindingAids/MaineFedB PWClubs.htm	3	(0.01%)	100.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
371.	/speccoll/FindingAids/Muenchjo.ht	3	(0.01%)	100.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
372.	/speccoll/FindingAids/PeirceFamil	3	(0.01%)	66.67%	2 (0.02%)	66.67%	1.33	00:02:44	0.00%	0 (0.00%)	\$0.00 (0.00%
373.	/speccoll/FindingAids/ThompsonD eborah.htm	3	(0.01%)	33.33%	1 (0.01%)	66.67%	3.33	00:05:05	0.00%	0 (0.00%)	\$0.00 (0.00%
374.	/speccoll/FindingAids/UMaineClas ses.htm	3	(0.01%)	66.67%	2 (0.02%)	33.33%	2.00	00:00:44	0.00%	0 (0.00%)	\$0.00 (0.00%
375.	/speccoll/FindingAids/Vickery2.ht m	3	(0.01%)	100.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
376.	/speccoll/FindingAids/WilliamsonF amily.htm	3	(0.01%)	100.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
377.	/staff/clement.htm	3	(0.01%)	66.67%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
378.	/staff/gfeller.htm	3	(0.01%)	100.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
379.	/techserv/Cataloging/audiobooks. htm	3	(0.01%)	66.67%	2 (0.02%)	66.67%	3.00	00:01:23	0.00%	0 (0.00%)	\$0.00 (0.00%
380.	/techserv/Cataloging/ConnexionS aveFiles.htm	3	(0.01%)	100.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
381.	/techserv/Cataloging/Maps.htm	3	(0.01%)	33.33%	1 (0.01%)	66.67%	2.67	00:02:29	0.00%	0 (0.00%)	\$0.00 (0.00%
382.	/techserv/Cataloging/phaseboxes. htm	3	(0.01%)	100.00%	3 (0.02%)	66.67%	1.33	00:00:24	0.00%	0 (0.00%)	\$0.00 (0.00%
383.	/techserv/Serials/ERM/ClientCent er.htm	3	(0.01%)	100.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
384.	/techserv/Serials/orders/EDlinvoic es.htm	3	(0.01%)	100.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
385.	/techserv/Serials/Processing/local holdingsrecords.htm	3	(0.01%)	66.67%	2 (0.02%)	66.67%	1.33	00:03:33	0.00%	0 (0.00%)	\$0.00 (0.00%
386.	/townreport/town_highlights.htm	3	(0.01%)	100.00%	3 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
387.	/virtualref/privacy.htm	3	(0.01%)	100.00%	3 (0.02%)	66.67%	1.67	00:00:07	0.00%	0 (0.00%)	\$0.00 (0.00%
388.	/yearbooks/Fifties.htm	3	(0.01%)	0.00%	0 (0.00%)	33.33%	2.33	00:05:37	0.00%	0 (0.00%)	\$0.00 (0.00%
389.	/yearbooks/teens.htm	3	(0.01%)	0.00%	0 (0.00%)	33.33%	7.00	00:08:50	0.00%	0 (0.00%)	\$0.00 (0.00%
390.	/yearbooks/Thirties.htm	3	(0.01%)	0.00%	0 (0.00%)	0.00%	14.00	00:22:12	0.00%	0 (0.00%)	\$0.00 (0.00%
391.	/about/default.asp	2	(0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
392.	/about/default.htm	2	(0.01%)	0.00%	0 (0.00%)	0.00%	6.00	00:08:22	0.00%	0 (0.00%)	\$0.00 (0.00%
393.	/about/floorplan1.htm	2	(0.01%)	50.00%	1 (0.01%)	50.00%	2.00	00:04:08	0.00%	0 (0.00%)	\$0.00 (0.00%
394.	/about/floorplan3.htm	2	(0.01%)	0.00%	0 (0.00%)	0.00%	2.50	00:13:25	0.00%	0 (0.00%)	\$0.00 (0.00%
^^=				== ===		=			2 222/		

3	95.	/about/parking.htm	2	(0.01%)	50.00%	1 (0.01%)	50.00%	1.50	00:01:08	0.00%	0 (0.00%)	\$0.00 (0.00%
3	96.	/arts/bonnet/artgrants.htm	2	(0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3	97.	/arts/history.htm	2	(0.01%)	50.00%	1 (0.01%)	50.00%	6.50	00:09:23	0.00%	0 (0.00%)	\$0.00 (0.00%
3	98.	/canstudies/canstudy.htm	2	(0.01%)	50.00%	1 (0.01%)	50.00%	2.00	00:04:41	0.00%	0 (0.00%)	\$0.00 (0.00%
3	99.	/canstudies/default.htm	2	(0.01%)	0.00%	0 (0.00%)	0.00%	4.00	00:02:49	50.00%	1 (0.02%)	\$0.00 (0.00%
4	00.	/canstudies/ncb134.htm	2	(0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4	01.	/circ/food.htm	2	(0.01%)	50.00%	1 (0.01%)	50.00%	3.50	00:00:18	0.00%	0 (0.00%)	\$0.00 (0.00%
4	02.	/circ/umbrella.htm	2	(0.01%)	0.00%	0 (0.00%)	50.00%	3.50	00:04:41	0.00%	0 (0.00%)	\$0.00 (0.00%
4	03.	/class/bonnet/CMJ102.htm	2	(0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4	04.	/class/bonnet/CMJ103.htm	2	(0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4	05.	/class/Crosser/chf200.htm	2	(0.01%)	0.00%	0 (0.00%)	50.00%	3.50	00:03:54	0.00%	0 (0.00%)	\$0.00 (0.00%
4	06.	/class/JOHNSON/ENG129WGS2 01.htm	2	(0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4	07.	/class/lewis/ina201.htm	2	(0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4	.08	/class/Wallace/LBR200/h2.htm	2	(0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4	09.	/class/Wallace/LBR200/h5.htm	2	(0.01%)	0.00%	0 (0.00%)	0.00%	2.50	00:24:08	0.00%	0 (0.00%)	\$0.00 (0.00%
4	10.	/cohen/Collection_Description/10 6_03_03_02.htm	2	(0.01%)	100.00%	2 (0.02%)	50.00%	1.50	00:00:23	0.00%	0 (0.00%)	\$0.00 (0.00%
4	11.	/cohen/Collection_Description/10 6_03_03_05_03.htm	2	(0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4	12.	/cohen/Collection_Description/10 6_05.htm	2	(0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4	13.	/cohen/events_exhibits.htm	2	(0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4	14.	/cohen/outline.htm	2	(0.01%)	100.00%	2 (0.02%)	0.00%	4.00	00:06:26	0.00%	0 (0.00%)	\$0.00 (0.00%
4	15.	/colldev/umauthors.htm	2	(0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4	16.	/displays/FacBooks2013.htm	2	(0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4	17.	/general/cited_google.htm	2	(0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4	18.	/general/ebooks.htm	2	(0.01%)	50.00%	1 (0.01%)	0.00%	5.50	00:02:03	0.00%	0 (0.00%)	\$0.00 (0.00%
4	19.	/geoscan/maine_related.htm	2	(0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4	20.	/govdoc/AgExpStation.htm	2	(0.01%)	50.00%	1 (0.01%)	50.00%	1.50	00:13:04	0.00%	0 (0.00%)	\$0.00 (0.00%
4	21.	/highlights/carnegie.htm	2	(0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4	22.	/highlights/collections.htm	2	(0.01%)	50.00%	1 (0.01%)	50.00%	10.00	00:09:35	0.00%	0 (0.00%)	\$0.00 (0.00%
4	23.	/highlights/fogler.htm	2	(0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4	24.	/ill/docdeliv.htm	2	(0.01%)	100.00%	2 (0.02%)	50.00%	3.00	00:00:30	0.00%	0 (0.00%)	\$0.00 (0.00%
4	25.	/ill/illstaff.htm	2	(0.01%)	50.00%	1 (0.01%)	0.00%	5.00	00:01:52	0.00%	0 (0.00%)	\$0.00 (0.00%
4	26.	/inetguides.htm	2	(0.01%)	50.00%	1 (0.01%)	50.00%	1.50	00:00:06	0.00%	0 (0.00%)	\$0.00 (0.00%
4	27.	/lco/default.htm	2	(0.01%)	50.00%	1 (0.01%)	50.00%	1.50	00:00:03	0.00%	0 (0.00%)	\$0.00 (0.00%
4	28.	/lmc/default.asp	2	(0.01%)	0.00%	0 (0.00%)	0.00%	2.50	00:00:20	0.00%	0 (0.00%)	\$0.00 (0.00%
4	29.	/reference/refnewtitlespring13.htm	2	(0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4	30.	/reserves/using_reserve.htm	2	(0.01%)	100.00%	2 (0.02%)	50.00%	3.00	00:00:17	0.00%	0 (0.00%)	\$0.00 (0.00%
4	31.	/science/chemeng.htm	2	(0.01%)	100.00%	2 (0.02%)	0.00%	2.00	00:00:35	0.00%	0 (0.00%)	\$0.00 (0.00%
4	32.	/scitechbus/compsci.htm	2	(0.01%)	100.00%	2 (0.02%)	50.00%	2.50	00:03:27	0.00%	0 (0.00%)	\$0.00 (0.00%
4	33.	/scitechbus/construction.htm	2	(0.01%)	100.00%	2 (0.02%)	0.00%	3.00	00:00:26	0.00%	0 (0.00%)	\$0.00 (0.00%
4	34.	/scitechbus/environment.htm	2	(0.01%)	100.00%	2 (0.02%)	0.00%	3.00	00:00:17	0.00%	0 (0.00%)	\$0.00 (0.00%
4	35.	/scitechbus/pulpandpaper.htm	2	(0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4	36.	/scitechbus/woodtechnology.htm	2	(0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4	37.	/search?s.cmd=addFacetValueFilt ers(ContentType,Book / eBook)& s.fvf=ContentType,Newspaper Art icle 1&s light=1&s g=aliver gray	2	(0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%

	icie,tas.iigitt=tas.q=oiivei grau										
438.	/search?s.cmd=addFacetValueFilt ers(IsPeerReviewed,true)&s.fvf[]= IsFullText,true,f&s.fvf[]=IsScholarl y,true,f&s.fvf[]=ContentType,New spaper+Article,t&s.light=t&s.q=En docannabinoid+receptor	2	(0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
439.	/search?s.cmd=addFacetValueFilt ers(SubjectTerms,children)&s.fvf[] =ContentType,Journal+Article,f&s .fvf[]=IsScholarly,true,f&s.fvf[]=Co ntentType,Newspaper+Article,t&s. light=t&s.q=Reading+disabilities	2	(0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
440.	/search?s.cmd=nextPage()&s.fvf= ContentType,Book+/+eBook,f&s.li ght=t&s.pn=3&s.q=Bergson+the+ creative+mind	2	(0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
441.	/search?s.cmd=nextPage()&s.fvf= ContentType,Newspaper+Article,t &s.light=t&s.pn=6&s.q=corynebac terium+pseudotuberculosis	2	(0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
442.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q= Parallel,+sh arp+interface+Eulerian+approach +to+high-speed+multi-material+fl ows+&go.x=0&go.y=0	2	(0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
443.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q="Eastern+M aine+Association"&go.x=0&go.y= 0	2	(0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
444.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=&go.x=0&go .y=0	2	(0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
445.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=&go.x=8&go .y=9	2	(0.01%)	100.00%	2 (0.02%)	50.00%	9.00	00:03:01	0.00%	0 (0.00%)	\$0.00 (0.00%
446.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=a+primer+o n+non+market+valuation&go.x=0 &go.y=0	2	(0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
447.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=ADHD&go.x =0&go.y=0	2	(0.01%)	0.00%	0 (0.00%)	0.00%	11.00	00:17:53	0.00%	0 (0.00%)	\$0.00 (0.00%
448.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=airbeam&go .x=0&go.y=0	2	(0.01%)	0.00%	0 (0.00%)	50.00%	6.50	00:07:50	0.00%	0 (0.00%)	\$0.00 (0.00%
449.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=alpaca+dise ase&go.x=0&go.y=0	2	(0.01%)	50.00%	1 (0.01%)	50.00%	9.00	00:14:03	0.00%	0 (0.00%)	\$0.00 (0.00%
450.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=America's+ War+on+Sex&go.x=13&go.y=11	2	(0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
451.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Andy+Golds worthy&go.x=0&go.y=0	2	(0.01%)	100.00%	2 (0.02%)	0.00%	6.50	00:06:33	0.00%	0 (0.00%)	\$0.00 (0.00%
452.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=animal+assi sted+therapy	2	(0.01%)	50.00%	1 (0.01%)	50.00%	1.50	00:00:07	0.00%	0 (0.00%)	\$0.00 (0.00%
453.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=ann+quin&g o.x=0&go.y=0	2	(0.01%)	0.00%	0 (0.00%)	0.00%	3.50	00:02:54	0.00%	0 (0.00%)	\$0.00 (0.00%
454.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Anti-inflamm atory+effect+of+purified+dietary+ anthocyanin+in+adults+with+hype rcholesterolemia:+A+randomized +controlled+trial&go.x=3&go.y=9	2	(0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
455.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Anticipating +floodplain+trajectories:+a+comp arison+of+two+alternative+futures +approaches&go.x=-637&go.y=-2 17	2	(0.01%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:24	0.00%	0 (0.00%)	\$0.00 (0.00%
456.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Audio+book s&go.x=-508&go.y=-217	2	(0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
457.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=audio+book s&go.x=0&go.y=0	2	(0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%

458.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=audiobooks &go.x=0&go.y=0	2	(0.01%)	50.00%	1	(0.01%)	0.00%	3.00	00:00:29	0.00%	0	(0.00%)	\$0.00	(0.00%
459.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Auer,+Leop old.+Violin+Playing+As+I+Teach+ It&go.x=6&go.y=7	2	(0.01%)	0.00%	0	(0.00%)	0.00%	13.50	00:04:04	0.00%	0	(0.00%)	\$0.00	(0.00%
460.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Autism+&go .x=-524&go.y=-217	2	(0.01%)	0.00%	0	(0.00%)	0.00%	4.50	00:07:43	0.00%	0	(0.00%)	\$0.00	(0.00%
461.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Barbara+str ozzi&go.x=0&go.y=0	2	(0.01%)	50.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
462.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=biochemistr y+for+dummies&go.x=0&go.y=0	2	(0.01%)	100.00%	2	(0.02%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
463.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=biotic+soil+c rusts&go.x=0&go.y=0	2	(0.01%)	50.00%	1	(0.01%)	0.00%	4.50	00:06:18	0.00%	0	(0.00%)	\$0.00	(0.00%
464.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=brewer+mai ne&go.x=-607&go.y=-217	2	(0.01%)	50.00%	1	(0.01%)	0.00%	9.00	00:04:01	0.00%	0	(0.00%)	\$0.00	(0.00%
465.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=burke+and+ hare&go.x=0&go.y=0	2	(0.01%)	50.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
466.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Bust+and+T hen+Boom+in+the+Maine+Lobste r+Industry:+Perspectives+of+Fish ers+and+Biologists&go.x=0&go.y =0	2	(0.01%)	0.00%	0	(0.00%)	0.00%	2.00	00:04:03	0.00%	0	(0.00%)	\$0.00	(0.00%
467.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=causes+of+ autism&go.x=0&go.y=0	2	(0.01%)	0.00%	0	(0.00%)	50.00%	2.00	00:00:48	0.00%	0	(0.00%)	\$0.00	(0.00%
468.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=certificate+p rograms&go.x=0&go.y=0	2	(0.01%)	100.00%	2	(0.02%)	50.00%	2.00	00:00:42	0.00%	0	(0.00%)	\$0.00	(0.00%
469.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=chemical+w arfare	2	(0.01%)	100.00%	2	(0.02%)	50.00%	12.00	00:09:08	0.00%	0	(0.00%)	\$0.00	(0.00%
470.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=clearance+o f+amyloid+beta+in+alzheimers+di seases&go.x=0&go.y=0	2	(0.01%)	50.00%	1	(0.01%)	0.00%	4.00	00:16:32	0.00%	0	(0.00%)	\$0.00	(0.00%
471.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=coccidiosis+alpacas&go.x=0&go.y=0	2	(0.01%)	50.00%	1	(0.01%)	0.00%	8.00	00:32:56	0.00%	0	(0.00%)	\$0.00	(0.00%
472.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=curtis+orbita I+mechanics&go.x=0&go.y=0	2	(0.01%)	100.00%	2	(0.02%)	50.00%	2.00	00:01:37	0.00%	0	(0.00%)	\$0.00	(0.00%
473.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Debating+s elf,+identity,+and+culture+in+anth ropology&go.x=0&go.y=0	2	(0.01%)	50.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
474.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=depression& go.x=0&go.y=0	2	(0.01%)	50.00%	1	(0.01%)	0.00%	4.00	00:01:05	0.00%	0	(0.00%)	\$0.00	(0.00%
475.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Design+and +Reflection+Help+Students+Deve lop+Scientific+Abilities:+Learning +in+Introductory+Physics+Labora tories&go.x=0&go.y=0	2	(0.01%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
476.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Developme nt+of+vaccines+against+sea+lice &go.x=-654&go.y=-217	2	(0.01%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
477.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=disability+rig hts+social+work&go.x=0&go.y=0	2	(0.01%)	100.00%	2	(0.02%)	50.00%	3.00	00:00:20	0.00%	0	(0.00%)	\$0.00	(0.00%
478.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=dracula&go. x=0&go.y=0	2	(0.01%)	100.00%	2	(0.02%)	50.00%	1.50	00:00:34	0.00%	0	(0.00%)	\$0.00	(0.00%
479.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=educational +leadership&go.x=0&go.y=0	2	(0.01%)	100.00%	2	(0.02%)	50.00%	2.50	00:03:24	0.00%	0	(0.00%)	\$0.00	(0.00%
	/search?s.fvf[]=ContentType,New													

480.	spaper+Article,t&s.q=enhancing+ human+performance:+MAC&go.x =0&go.y=0	2	(0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00	%
481.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=ERIC&go.x= 0&go.y=0	2	(0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.004	%
482.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Eutrophicati on&go.x=0&go.y=0	2	(0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.004	%
483.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Evaluating+t he+legacy+of+an+integrated+con servation+and+development+proj ect+around+a+tiger+reserve+in+l ndia&go.x=-611&go.y=-217	2	(0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.009	%
484.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=fall+of+the+f aculty&go.x=0&go.y=0	2	(0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.009	%
485.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=fast+tree+b ased+redistancing+for+level+set& go.x=0&go.y=0	2	(0.01%)	0.00%	0 (0.00%)	50.00%	2.50	00:11:08	0.00%	0 (0.00%)	\$0.00 (0.009	%
486.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=fathers&go. x=0&go.y=0	2	(0.01%)	0.00%	0 (0.00%)	0.00%	7.50	00:04:23	0.00%	0 (0.00%)	\$0.00 (0.009	%
487.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Fighting+for +Common+Ground:+How+We+C an+Fix+the+Stalemate+in+Congr ess&go.x=0&go.y=0	2	(0.01%)	0.00%	0 (0.00%)	50.00%	1.50	00:13:27	0.00%	0 (0.00%)	\$0.00 (0.009	%
488.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Flow+laws+ of+multiphase+rocks+calculated+ from+experimental+data+on+the+ constituent+phases&go.x=16&go.y=6	2	(0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.009	%
489.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=freud+and+ shakespeare&go.x=-634&go.y=-2 17	2	(0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.009	%
490.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=George+Joh n+Romanes+(John,+1888)+&go.x =0&go.y=0	2	(0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.009	%
491.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=GeoServer+ Beginner's+Guide&go.x=0&go.y= 0	2	(0.01%)	100.00%	2 (0.02%)	0.00%	2.00	00:09:40	0.00%	0 (0.00%)	\$0.00 (0.009	%
492.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=gosling+rent hrow&go.x=0&go.y=0	2	(0.01%)	50.00%	1 (0.01%)	50.00%	1.50	00:00:04	0.00%	0 (0.00%)	\$0.00 (0.009	%
493.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=graph+theor y&go.x=-508&go.y=-217	2	(0.01%)	100.00%	2 (0.02%)	0.00%	12.00	00:37:35	0.00%	0 (0.00%)	\$0.00 (0.009	%
494.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=gre&go.x=0 &go.y=0	2	(0.01%)	50.00%	1 (0.01%)	0.00%	9.50	00:08:40	0.00%	0 (0.00%)	\$0.00 (0.009	%
495.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=h.c.+darby& go.x=0&go.y=0	2	(0.01%)	100.00%	2 (0.02%)	0.00%	13.00	00:16:26	0.00%	0 (0.00%)	\$0.00 (0.009	%
496.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=hallowell+m aine&go.x=0&go.y=0	2	(0.01%)	50.00%	1 (0.01%)	50.00%	1.50	00:00:05	0.00%	0 (0.00%)	\$0.00 (0.004	%
497.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=he+TIPE+(T NFAIP8)+family+in+inflammation, +immunity,+and+cancer	2	(0.01%)	50.00%	1 (0.01%)	0.00%	3.00	00:17:15	0.00%	0 (0.00%)	\$0.00 (0.00	%
498.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=HERDA+(te st*)&go.x=0&go.y=0	2	(0.01%)	0.00%	0 (0.00%)	0.00%	5.00	00:24:13	0.00%	0 (0.00%)	\$0.00 (0.009	%
499.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=hey!+guess +what+i+did+in+school+today&go .x=-642&go.y=-217	2	(0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.009	%
500.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=higher+educ ation&go.x=0&go.y=0	2	(0.01%)	100.00%	2 (0.02%)	0.00%	12.50	00:12:41	0.00%	0 (0.00%)	\$0.00 (0.009	%
	/search?s.fvf[]=ContentType,New											

501.	ephant+seal+distribution+implies +warmer&go.x=0&go.y=0	2	(0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
502.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=hours&go.x = 0&go.y=0	2	(0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
503.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=how+many+books&go.x=-503&go.y=-219	2	(0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
504.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=how+to+con quer+new+markets+with+old+skill s&go.x=0&go.y=0	2	(0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
505.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Imaging+Pr otein-Protein+Interactions+by+För ster+Resonance+Energy+Transfe r+(FRET)+Microscopy+in+Live+C ells&go.x=0&go.y=0	2	(0.01%)	0.00%	0 (0.00%)	0.00%	4.00	00:06:34	0.00%	0 (0.00%)	\$0.00	(0.00%
506.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=introduction +to+bessel+equations&go.x=0&g o.y=0	2	(0.01%)	0.00%	0 (0.00%)	50.00%	1.50	00:05:45	0.00%	0 (0.00%)	\$0.00	(0.00%
507.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=irisih+immig ration&go.x=0&go.y=0	2	(0.01%)	50.00%	1 (0.01%)	0.00%	2.00	00:01:31	0.00%	0 (0.00%)	\$0.00	(0.00%
508.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=isaac+kram nick&go.x=0&go.y=0	2	(0.01%)	50.00%	1 (0.01%)	50.00%	1.50	00:01:07	0.00%	0 (0.00%)	\$0.00	(0.00%
509.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=john+brown &go.x=0&go.y=0	2	(0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
510.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Joint+attenti on+and+symbolic+play+in+young +children+with+autism&go.x=0&g o.y=0	2	(0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
511.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=jstor&go.x=8 &go.y=7	2	(0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
512.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=kurt+schwitt ers&go.x=0&go.y=0	2	(0.01%)	100.00%	2 (0.02%)	0.00%	21.50	00:21:43	0.00%	0 (0.00%)	\$0.00	(0.00%
513.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Literacy+as +Multidimensional+-+Locating+Inf ormation+and+Reading-Compreh ension.&go.x=0&go.y=0	2	(0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
514.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=lucretius&go .x=-646&go.y=-217	2	(0.01%)	0.00%	0 (0.00%)	0.00%	4.50	00:06:29	0.00%	0 (0.00%)	\$0.00	(0.00%
515.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=maine+antiq ue+digest&go.x=0&go.y=0	2	(0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
516.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=mcgrath+tra nsient+advantage&go.x=0&go.y= 0	2	(0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
517.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=McGrath+Tr ansient+Advantage&go.x=0&go.y =0	2	(0.01%)	50.00%	1 (0.01%)	0.00%	2.50	00:14:16	0.00%	0 (0.00%)	\$0.00	(0.00%
518.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=mendel+in+t he+kitchen&go.x=0&go.y=0	2	(0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
519.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Met150&go. x=-508&go.y=-217	2	(0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
520.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Mutual+mon ey+market+funds&go.x=-508&go.y=-217	2	(0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
521.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=performing+ sex&go.x=-634&go.y=-217	2	(0.01%)	50.00%	1 (0.01%)	50.00%	2.00	00:01:30	0.00%	0 (0.00%)	\$0.00	(0.00%
522.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=peter+gay+ modernism&go.x=0&go.y=0	2	(0.01%)	100.00%	2 (0.02%)	0.00%	3.50	00:00:44	0.00%	0 (0.00%)	\$0.00	(0.00%

523.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=phantom+of +the+opera&go.x=-580&go.y=-21 7	2	(0.01%)	50.00%	1	(0.01%)	0.00%	2.00	00:00:47	0.00%	0	(0.00%)	\$0.00	(0.00%
524.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=phonologica I+awareness&go.x=0&go.y=0	2	(0.01%)	0.00%	0	(0.00%)	50.00%	3.50	00:00:15	0.00%	0	(0.00%)	\$0.00	(0.00%
525.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=plyometrics &go.x=6&go.y=12	2	(0.01%)	50.00%	1	(0.01%)	0.00%	2.50	00:00:24	0.00%	0	(0.00%)	\$0.00	(0.00%
526.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=pratt&go.x= 0&go.y=0	2	(0.01%)	100.00%	2	(0.02%)	0.00%	2.50	00:00:25	0.00%	0	(0.00%)	\$0.00	(0.00%
527.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=praxis&go.x =0&go.y=0	2	(0.01%)	50.00%	1	(0.01%)	50.00%	1.50	00:00:05	0.00%	0	(0.00%)	\$0.00	(0.00%
528.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Price+Fixing &go.x=0&go.y=0	2	(0.01%)	50.00%	1	(0.01%)	50.00%	2.00	00:00:38	0.00%	0	(0.00%)	\$0.00	(0.00%
529.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=reading+dis order&go.x=0&go.y=0	2	(0.01%)	100.00%	2	(0.02%)	0.00%	8.50	00:25:13	0.00%	0	(0.00%)	\$0.00	(0.00%
530.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=rocky+horro r+show&go.x=0&go.y=0	2	(0.01%)	0.00%	0	(0.00%)	0.00%	4.50	00:06:36	0.00%	0	(0.00%)	\$0.00	(0.00%
531.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Science,+20 12,+338,+1408&go.x=0&go.y=0	2	(0.01%)	50.00%	1	(0.01%)	0.00%	8.00	00:11:00	0.00%	0	(0.00%)	\$0.00	(0.00%
532.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=sensory+int egration+disorder&go.x=0&go.y= 0	2	(0.01%)	50.00%	1	(0.01%)	0.00%	9.50	00:31:54	0.00%	0	(0.00%)	\$0.00	(0.00%
533.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Sherman+A ntitrust+Act&go.x=0&go.y=0	2	(0.01%)	0.00%	0	(0.00%)	50.00%	5.50	00:13:45	0.00%	0	(0.00%)	\$0.00	(0.00%
534.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=somatizatio n&go.x=0&go.y=0	2	(0.01%)	0.00%	0	(0.00%)	0.00%	3.00	00:01:59	0.00%	0	(0.00%)	\$0.00	(0.00%
535.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=south+beac h+diet&go.x=0&go.y=0	2	(0.01%)	100.00%	2	(0.02%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
536.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=springer&go .x=0&go.y=0	2	(0.01%)	50.00%	1	(0.01%)	0.00%	2.50	00:00:20	0.00%	0	(0.00%)	\$0.00	(0.00%
537.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=tempel+ann eke&go.x=0&go.y=0	2	(0.01%)	50.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
538.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+deer+h unter&go.x=0&go.y=0	2	(0.01%)	0.00%	0	(0.00%)	50.00%	3.00	00:01:53	0.00%	0	(0.00%)	\$0.00	(0.00%
539.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+Dream ers&go.x=-646&go.y=-217	2	(0.01%)	100.00%	2	(0.02%)	50.00%	3.00	00:00:36	0.00%	0	(0.00%)	\$0.00	(0.00%
540.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+empire +project&go.x=9&go.y=8	2	(0.01%)	0.00%	0	(0.00%)	50.00%	3.00	00:04:29	0.00%	0	(0.00%)	\$0.00	(0.00%
541.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+Import ance+of+Behaviour+in+the+Maint enance+of+Anxiety+and+Panic:+ A+Cognitive+Account&go.x=0&go .y=0	2	(0.01%)	0.00%	0	(0.00%)	50.00%	2.50	00:28:32	0.00%	0	(0.00%)	\$0.00	(0.00%
542.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+origins +and+the+future+of+microfluidics &go.x=0&go.y=0	2	(0.01%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
543.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+serpent s+of+blissful&go.x=0&go.y=0	2	(0.01%)	50.00%	1	(0.01%)	50.00%	2.00	00:00:31	0.00%	0	(0.00%)	\$0.00	(0.00%
544.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=transgender &go.x=0&go.y=0	2	(0.01%)	100.00%	2	(0.02%)	0.00%	6.00	00:01:30	0.00%	0	(0.00%)	\$0.00	(0.00%
545.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=trial+of+tem pel+anneke&go.x=0&go.y=0	2	(0.01%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
F40	/search?s.fvf[]=ContentType,New	_ ^	/A A 40/1	0.000/	^	(0.000()	400 000/	4.00	00.00.00	0.000/		(0.000/)	#0.00	(2.222)

546.	spaper+Article,t&s.q=twenty+mile s&go.x=0&go.y=0	2 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	U (0.00%)	\$0.00 (0.00%
547.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=value+line& go.x=0&go.y=0	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
548.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Where+can +tigers+persist+in+the+future?+A +landscape-scale,+density-based +population+model+for+the+India n+subcontinent&go.x=-611&go.y= -217	2 (0.01%)	0.00%	0 (0.00%)	50.00%	2.00	00:01:57	0.00%	0 (0.00%)	\$0.00 (0.00%
549.	/search?s.fvf[]=IsFullText,true,f&s. fvf[]=IsScholarly,true,f&s.fvf[]=Con tentType,Newspaper+Article,t&s.q =Advantages+of+gliding+in+mam mals	2 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
550.	/search?s.fvf=ContentType,News paper+Article,t&s.light=t&s.q=hun ger+games	2 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
551.	/search?s.q=A+Typology+of+mod els+for+plate+tectonics	2 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
552.	/search?s.q=autism	2 (0.01%)	0.00%	0 (0.00%)	0.00%	11.50	00:21:53	0.00%	0 (0.00%)	\$0.00 (0.00%
553.	/search?s.q=blackberry+productio n	2 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
554.	/search?s.q=innate+immunity	2 (0.01%)	0.00%	0 (0.00%)	0.00%	7.50	00:10:07	0.00%	0 (0.00%)	\$0.00 (0.00%
555.	/search?s.q=kenkey	2 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
556.	/search?s.q=loss of land space	2 (0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
557.	/search?s.q=Monocytes+in+canc er	2 (0.01%)	50.00%	1 (0.01%)	50.00%	3.00	00:06:43	0.00%	0 (0.00%)	\$0.00 (0.00%
558.	/search?s.q=science+and+music	2 (0.01%)	0.00%	0 (0.00%)	50.00%	3.00	00:00:24	0.00%	0 (0.00%)	\$0.00 (0.00%
559.	/search?s.q=Sibling+ties+in+later +life:+A+social+network+analysis	2 (0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
560.	/search?s.q=slow+light	2 (0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
561.	/search?s.q=striffler+1995	2 (0.01%)	0.00%	0 (0.00%)	0.00%	37.50	01:25:42	0.00%	0 (0.00%)	\$0.00 (0.00%
562.	/sitemap.htm	2 (0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
563.	/social/bus_bio.htm	2 (0.01%)	50.00%	1 (0.01%)	50.00%	2.50	00:00:28	0.00%	0 (0.00%)	\$0.00 (0.00%
564.	/social/business_law.htm	2 (0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
565.	/social/crisis3.htm	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
566.	/social/fadel/marketing3.htm	2 (0.01%)	50.00%	1 (0.01%)	0.00%	5.50	00:12:23	0.00%	0 (0.00%)	\$0.00 (0.00%
567.	/social/lgbtgd.htm	2 (0.01%)	0.00%	0 (0.00%)	50.00%	2.00	00:00:22	0.00%	0 (0.00%)	\$0.00 (0.00%
568.	/speccoll/FindingAids/CaryA.htm	2 (0.01%)	100.00%	2 (0.02%)	50.00%	1.50	00:01:21	0.00%	0 (0.00%)	\$0.00 (0.00%
569.	/speccoll/FindingAids/ChurchillEd wininventory.htm	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
570.	/speccoll/FindingAids/ChurchUniv ersalFellowship.htm	2 (0.01%)	50.00%	1 (0.01%)	50.00%	1.50	00:00:19	0.00%	0 (0.00%)	\$0.00 (0.00%
571.	/speccoll/FindingAids/CoonRobert .htm	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
572.	/speccoll/FindingAids/DayJohnF.h tm	2 (0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
573.	/speccoll/FindingAids/DemerittDwi ghtJr.htm	2 (0.01%)	0.00%	0 (0.00%)	50.00%	1.50	00:00:47	0.00%	0 (0.00%)	\$0.00 (0.00%
574.	/speccoll/findingaids/dubenorman d.htm	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
575.	/speccoll/FindingAids/Dunnchar.ht m	2 (0.01%)	0.00%	0 (0.00%)	50.00%	2.50	00:07:22	0.00%	0 (0.00%)	\$0.00 (0.00%
576.	/speccoll/FindingAids/EmeryRosc oePapers.htm	2 (0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
577.	/speccoll/FindingAids/Greenear.ht m	2 (0.01%)	100.00%	2 (0.02%)	50.00%	2.00	00:00:44	0.00%	0 (0.00%)	\$0.00 (0.00%
578.	/speccoll/FindingAids/GrenfellC.ht m	2 (0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
579.	/speccoll/FindingAids/HatchBento n.htm	2 (0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%

580.	/speccoll/FindingAids/Hillfamilypa pers.htm	2	(0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
581.	/speccoll/FindingAids/HitchnerBar bara.htm	2	(0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
582.	/speccoll/FindingAids/IOOFRockl and.htm	2	(0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
583.	/speccoll/FindingAids/KippewaCa mprecords.htm	2	(0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
584.	/speccoll/FindingAids/LoweRache	2	(0.01%)	100.00%	2 (0.02%)	50.00%	1.50	00:07:12	0.00%	0 (0.00%)	\$0.00 (0.00%
585.	/speccoll/FindingAids/MaineCons olidatedPowerRecords.htm	2	(0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
586.	/speccoll/FindingAids/MaineMusic EducatorsAssoc.htm	2	(0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
587.	/speccoll/FindingAids/MaineState FederatedLaborCouncil.htm	2	(0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
588.	/speccoll/FindingAids/McIntireCliff ord.htm	2	(0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
589.	/speccoll/FindingAids/MerrillFamil y.htm	2	(0.01%)	100.00%	2 (0.02%)	50.00%	1.50	00:03:37	0.00%	0 (0.00%)	\$0.00 (0.00%
590.	/speccoll/FindingAids/Mitchellfami lyinventory.htm	2	(0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
591.	/speccoll/FindingAids/PierceAllen Binventory.htm	2	(0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
592.	/speccoll/FindingAids/PineIslandC amprecords.htm	2	(0.01%)	100.00%	2 (0.02%)	50.00%	1.50	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
593.	/speccoll/findingaids/priceharriet.h tm	2	(0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
594.	/speccoll/FindingAids/RobertsMer vin.htm	2	(0.01%)	100.00%	2 (0.02%)	50.00%	1.50	00:00:41	0.00%	0 (0.00%)	\$0.00 (0.00%
595.	/speccoll/FindingAids/SilverArthur .htm	2	(0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
596.	/speccoll/FindingAids/SmithDavid G.htm	2	(0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
597.	/speccoll/FindingAids/SmithTW.ht m	2	(0.01%)	100.00%	2 (0.02%)	50.00%	1.50	00:14:11	0.00%	0 (0.00%)	\$0.00 (0.00%
598.	/speccoll/FindingAids/StarbirdEdw inPapers.htm	2	(0.01%)	100.00%	2 (0.02%)	50.00%	1.50	00:00:56	0.00%	0 (0.00%)	\$0.00 (0.00%
599.	/speccoll/FindingAids/TupperS.ht m	2	(0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
600.	/speccoll/FindingAids/Vickery.htm	2	(0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
601.	/speccoll/FindingAids/Westerfield. htm	2	(0.01%)	100.00%	2 (0.02%)	50.00%	2.50	00:12:18	0.00%	0 (0.00%)	\$0.00 (0.00%
602.	/speccoll/FindingAids/WilkinsonN orman.htm	2	(0.01%)	100.00%	2 (0.02%)	50.00%	5.00	00:08:24	0.00%	0 (0.00%)	\$0.00 (0.00%
603.	/speccoll/FindingAids/WilliamTell Clubrecords.htm	2	(0.01%)	50.00%	1 (0.01%)	50.00%	1.50	00:00:25	0.00%	0 (0.00%)	\$0.00 (0.00%
604.	/speccoll/FindingAids/YorkFamily. htm	2	(0.01%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
605.	/speccoll/statdocs.htm	2	(0.01%)	100.00%	2 (0.02%)	50.00%	5.50	00:05:00	0.00%	0 (0.00%)	\$0.00 (0.00%
606.	/staff/curtis.htm	2	(0.01%)	50.00%	1 (0.01%)	50.00%	1.50	00:00:14	0.00%	0 (0.00%)	\$0.00 (0.00%
607.	/staff/expressionweb_4.htm	2	(0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
608.	/staff/snow.htm	2	(0.01%)	50.00%	1 (0.01%)	50.00%	2.00	00:00:57	0.00%	0 (0.00%)	\$0.00 (0.00%
609.	/techserv/Cataloging/Cutter.htm	2	(0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
610.	/techserv/Cataloging/DataExchan geProcedure.htm	2	(0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
611.	/techserv/Cataloging/inventory.ht m	2	(0.01%)	100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
612.	/techserv/Cataloging/Kirtas/Googl e_Maps.htm	2	(0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
613.	/techserv/Cataloging/naxos.htm	2	(0.01%)	50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
614.	/techserv/Cataloging/onthefly.htm	2	(0.01%)	100.00%	2 (0.02%)	50.00%	4.00	00:02:22	0.00%	0 (0.00%)	\$0.00 (0.00%

615.	/techserv/Cataloging/rarebooks.ht m	2 (0.	01%) 100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
616.	/techserv/LabelPrinting.htm	2 (0.	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
617.	/techserv/Serials/ERM/serialssolu tionsupdate_rev.htm	2 (0.	.01%) 50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
618.	/techserv/Serials/orders/invoices. htm	2 (0.	.01%) 100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
619.	/techserv/transfer.htm	2 (0.	.01%) 100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
620.	/townreport/Lakeville.htm	2 (0.	.01%) 50.00%	1 (0.01%)	50.00%	2.00	00:00:23	0.00%	0 (0.00%)	\$0.00 (0.00%
621.	/tr-url/en-ru.ru/www.library.umaine .edu/theses/about.htm	2 (0.	.01%) 100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
622.	/virtualref/dsm5.htm	2 (0.	.01%) 100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
623.	/virtualref/syriancrisis13.htm	2 (0.	.01%) 100.00%	2 (0.02%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
624.	/women/wgsspring14.htm	2 (0.	.01%) 100.00%	2 (0.02%)	50.00%	1.50	00:00:13	0.00%	0 (0.00%)	\$0.00 (0.00%
625.	/yearbooks/Eighties.htm	2 (0.	.01%) 50.00%	1 (0.01%)	0.00%	11.50	00:41:47	0.00%	0 (0.00%)	\$0.00 (0.00%
626.	/yearbooks/nineties.htm	2 (0.	.01%) 100.00%	2 (0.02%)	0.00%	5.00	00:05:46	0.00%	0 (0.00%)	\$0.00 (0.00%
627.	/yearbooks/Sixties.htm	2 (0.	.01%) 50.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
628.	/15/default.asp	1 (0.	.00%) 100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
629.	/9/default.asp	1 (0.	.00%) 100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
630.	/about/computers.htm	1 (0.	100.00%	1 (0.01%)	0.00%	2.00	00:00:56	0.00%	0 (0.00%)	\$0.00 (0.00%
631.	/about/directions.htm	1 (0.	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
632.	/arts/ACT.htm	1 (0.	.00%) 100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
633.	/arts/BritishHistory.htm	1 (0.	.00%) 100.00%	1 (0.01%)	0.00%	2.00	00:00:35	0.00%	0 (0.00%)	\$0.00 (0.00%
634.	/arts/DPSAmericanHistory.htm	1 (0.	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
635.	/arts/naxos.htm	1 (0.	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
636.	/campus.htm	1 (0.		0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
637.	/canstudies/theses.htm	1 (0.	.00%) 100.00%	1 (0.01%)	0.00%	3.00	00:00:18	0.00%	0 (0.00%)	\$0.00 (0.00%
638.	/circ/default.htm	1 (0.	100.00%	1 (0.01%)	0.00%	5.00	00:01:08	0.00%	0 (0.00%)	\$0.00 (0.00%
639.	/circ/Default.htm	1 (0.	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
640.	/circ/id_cards_adjunctguest.htm	1 (0.	0.00%	0 (0.00%)	0.00%	2.00	00:04:12	0.00%	0 (0.00%)	\$0.00 (0.00%
641.	/circ/id_cards_honors.htm	1 (0.	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
642.	/circ/id_cards_staff.htm	1 (0.	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
643.	/circ/tours.htm	1 (0.	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
644.	/circ/umbrella_rev1.htm	1 (0.	0.00%	0 (0.00%)	0.00%	2.00	00:00:15	0.00%	0 (0.00%)	\$0.00 (0.00%
645.		1 (0.	,	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
646.	/class/bonnet/AED270.htm	1 (0.	,	0 (0.00%)	0.00%	3.00	00:19:34	0.00%	0 (0.00%)	\$0.00 (0.00%
647.	/class/bonnet/cmj102.htm	1 (0.	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
648.	/class/bonnet/CMJ103Budzinski.h tm	1 (0.		1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
649.	/class/bonnet/CMJ103Joles.htm	1 (0.	.00%) 100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
650.	/class/bonnet/CMJ367.htm	1 (0.	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
651.	/class/bonnet/CMJ402.htm	1 (0.	0.00%	0 (0.00%)	0.00%	2.00	00:26:49	0.00%	0 (0.00%)	\$0.00 (0.00%
652.	/class/bonnet/CMJ481.htm	1 (0.	0.00%	0 (0.00%)	0.00%	8.00	00:04:13	0.00%	0 (0.00%)	\$0.00 (0.00%
653.		1 (0.	0.00%	0 (0.00%)	0.00%	2.00	00:12:33	100.00%	1 (0.02%)	\$0.00 (0.00%
654.		1 (0.	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
655.	/class/Crosser/LBR200_spring12. htm	1 (0.	.00%) 100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
656.	/class/Crosser/sed545.htm	1 (0.	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
657.	/class/curtis/csd100.htm	1 (0.	0.00%	0 (0.00%)	0.00%	12.00	00:31:27	100.00%	1 (0.02%)	\$0.00 (0.00%

658.	/class/Curtis/finding.htm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:02:05	0.00%	0 (0.00%)	\$0.00 (0.00%
659.	/class/curtis/nfa117bmb.htm	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:04:17	0.00%	0 (0.00%)	\$0.00 (0.00%
660.	/class/Curtis/nur101.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
661.	/class/Curtis/nur102.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
662.	/class/Curtis/nur200.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
663.	/class/curtis/nur202.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
664.	/class/curtis/nur505.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
665.	/class/Curtis/nur505.htm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:14:01	0.00%	0 (0.00%)	\$0.00 (0.00%
666.	/class/JOHNSON/ENG212Spr201 2.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
667.	/class/lewis/mus600lh.htm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:07:03	0.00%	0 (0.00%)	\$0.00 (0.00%
668.	/class/lewis/wgs103.htm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:03:06	0.00%	0 (0.00%)	\$0.00 (0.00%
669.	/class/lewis/wgs340.htm	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
670.	/class/Wallace/CIE100/file3.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
671.	/class/Wallace/CIE100/file4.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
672.	/class/Wallace/LBR200/h7.htm	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
673.	/climate/clindex.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
674.	/climate/global.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
675.	/cohen/about_collection.htm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:02:45	0.00%	0 (0.00%)	\$0.00 (0.00%
676.	/cohen/bangor4.htm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:13	0.00%	0 (0.00%)	\$0.00 (0.00%
677.	/cohen/Collection_Description/10 6_02_01_03.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
678.	/cohen/Collection_Description/10 6_02_05_01.htm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	14.00	00:39:41	0.00%	0 (0.00%)	\$0.00 (0.00%
679.	/cohen/Collection_Description/10 6_03_03_05_01.htm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:25	0.00%	0 (0.00%)	\$0.00 (0.00%
680.	/cohen/Collection_Description/10 6_03_03_06.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
681.	/cohen/Collection_Description/10 6_03_03_07_01.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
682.	/cohen/Collection_Description/10 6_03_03_12.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
683.	/cohen/Collection_Description/10 6_03_03_17.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
684.	/cohen/links.htm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	11.00	00:03:34	0.00%	0 (0.00%)	\$0.00 (0.00%
685.	/colldev/cdpolicy/default.asp	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
686.	/colldev/cdpolicy/rrrpop.htm	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%
687.	/colldev/cdpolicy/sciref.htm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:00	0.00%	0 (0.00%)	\$0.00 (0.00%
688.	/colldev/cdpolicy/spcpolicy.htm	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:09:10	0.00%	0 (0.00%)	\$0.00 (0.00%
689.	/colldev/jhvctitles.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
690.		1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:01:58	0.00%	0 (0.00%)	\$0.00 (0.00%
691.	.ntm	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:30:57	0.00%	0 (0.00%)	\$0.00 (0.00%
692.	/document/show?go.x=0&go.y=0 &id=FETCHMERGED-eric_primar y_EJ5991961&s.fvf[]=ContentTyp e,Newspaper Article,t&s.q=autism in young children	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:02:14	0.00%	0 (0.00%)	\$0.00 (0.00%
693.	/friends/default.asp	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
694.	/general/cited_wok.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
695.	/general/dictionaries.htm	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:01:12	0.00%	0 (0.00%)	\$0.00 (0.00%
696.	/general/journal_citation_report.ht m	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
697.	/general/research_start.htm	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:00	100.00%	1 (0.02%)	\$0.00 (0.00%

698	. /general/research4.htm	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
699	. /general/research7.htm	1	(0.00%)	0.00%	0	(0.00%)	0.00%	20.00	00:07:04	0.00%	0	(0.00%)	\$0.00	(0.00%
700	. /geoscan/gis.htm	1	(0.00%)	0.00%	0	(0.00%)	0.00%	3.00	00:00:43	0.00%	0	(0.00%)	\$0.00	(0.00%
701	. /geoscan/numeric.htm	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
702	/govdoc/1950_housing_census.ht · m	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
703	/govdoc/1970_housing_census.ht m	1	(0.00%)	100.00%	1	(0.01%)	0.00%	2.00	00:04:29	0.00%	0	(0.00%)	\$0.00	(0.00%
704	/govdoc/1985_business_census.h tm	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
705	/govdoc/2000_housing_census.ht m	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
706	. /highlights/history.htm	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
707	. /highlights/posters2.htm	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
708	/ill/default.asp?sid=FirstSearch:W orldCat&genre=book&isbn=97803 07592781&title=Wondrous+beaut y+:+the+life+and+adventures+of+Elizabeth+Patterson+Bonaparte&date=2014&aulast=Berkin&aufirst=Carol&id=doi:&pid=842323047 <fsessid>0</fsessid> edition>First+edition./edition>&url_ver=Z39.88-2004&rf_id=info:sid/firstsearch.oclc.org:WorldCat&rft_val_fmt=info:ofi/fmt:kev:mtx:book&rft.genre=book&req_dat= <sessionid>0</sessionid> &rfe_dat= <accessionnumber>&rfe_id=urn:ISBN:9780307592781&rft.aulast=Berkin&rft.aufirst=Carol&rft.btitle=Wondrous+beauty+:+the+life+and+adventures+of+Elizabeth+Patterson+Bonaparte&rft.date=2014&rft.isbn=9780307592781&rft.edition=First+edition.&rft.genre=book</accessionnumber>	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
709	/ill/default.asp?sid=FirstSearch:W orldCat&genre=book&title=Abrég é+de+l'art+des+accouchements+: +dans+lequel+on+donne+les+pré ceptes+nécessaires+pour+le+met tre+heureusement+en+pratique+: +on+y+a+joint+plusieurs+observa tions+intéressantes+sur+des+cas &date=1976&aulast=Le+Boursier +du+Coudray&aufirst=Angelique&auinitm=Marguerite&id=doi:&pid=4903222 <fssessid>0<fssessid><edition>Nouv.+éd.</edition>&url_ver=Z39.88-2004𝔯_id=info:sid/fi rstsearch.oclc.org:WorldCat&rft_val_fmt=info:ofi/fmt:kev:mtx:book&rft.genre=book&req_dat=<session1umber>&rft_id=info:oclcnum/490 3222&rft.aulast=Le+Boursier+du+Coudray&rft.aufirst=Angelique&rft.auinitm=Marguerite&rft.bitle=Abrég+de+l'art+des+accouchement s+:+dans+lequel+on+donne+les+préceptes+nécessaires+pour+le+mettre+heureusement+en+pratique+:+on+y+a+joint+plusieurs+observations+intéressantes+sur+des+cas&rft.date=1976&rft.place=Paris&rft.pub=Éditions+Roger+Dacosta&rft.edition=Nouv.+éd.&rft.genre=book</session1umber></fssessid></fssessid>	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
	/ill/default.asp?sid=FirstSearch:W orldCat&genre=book&title=Huma n+factors+engineering+in+the+Po stal+Service+:+an+annotated+bib liography+of+human+factors+pro gram+reports,+documents+and+r elated+publications&date=1976& aulast=Cornog&aufirst=Douglas&auinitm=Y&id=doi:&pid=22574269 1 <fssessid>0</fssessid> wrl_ver=Z39.88-2004&rf_id=info:sid/first search.oclc.org:WorldCat&rft_val_fmt=info:ofi/fmt:kev:mtx:book&rft.													

710.	genre=book&req_dat= <sessionid>0</sessionid> &rfe_dat= <accessionnumber>225742691</accessionnumber> &rft_id=info:oclcnum/22 5742691&rft.aulast=Cornog&rft.aufirst=Douglas&rft.auinitm=Y&rft.bttitle=Human+factors+engineering +in+the+Postal+Service+:+an+annotated+bibliography+of+human+factors+program+reports,+documents+and+related+publications&rft.date=1976&rft.aucorp=United+States+Postal+Service.&rft.place=[Rockville++Md.]&rft.pub=Office+of+Postal+Technology+Research+Research+and+Development+Dept.++U.S.+Postal+Service&rft.genre=book	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
711.	/ill/default.asp?sid=FirstSearch:W orldCat&genre=book&title=The+si lence+of+the+sea,&date=1944&a ulast=Vercors&aufirst=Cyril&id=d oi:&pid=1484778 <fssessid>0</fssessid> aurl_ver=Z39.88-2004𝔯_id=info:sid/firstsearch.oclc.org:WorldCat&rft_val_fmt=info:ofi/fmt:kev:mtx:book&rft.genre=book&req_d at= <sessionid>0</sessionid> &rfe_dat= <accessionnumber>1484778</accessionnumber> *Arft_id=info:oclcnum/1484778&rft.aulast=Vercors&rft.aufirst=Cyril&rft.btitle=The+silence+of+the+sea,&rft.date=1944&rft.place=New+York&rft.pub=The+Macmillan+Company&rft.genre=book	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
712.	/ill/default.asp?sid=FirstSearch:W orldCat&genre=book&title=Traditi onal+crafts+and+craftsmanship+i n+America+:+a+selected+bibliogr aphy&date=1983&aulast=Sink&a ufirst=Susan&id=doi:&pid=12553 35 <fssessid>0</fssessid> durl_ve r=Z39.88-2004𝔯_id=info:sid/firs tsearch.oclc.org:WorldCat&rft_val_fmt=info:ofi/fmt:kev:mtx:book&rft.genre=book&req_dat= <sessionid>0</sessionid> &rfe_dat= <accessionnumber>1255533512555335&rft.id=info:oclcnum/12555335&rft.aulast=Sink&rft.aufirst=Susan&rft.btitle=Traditional+crafts+and+craftsmanship+in+America+:+a+selected+bibliography&rft.d ate=1983&rft.aucorp=National+C ouncil+for+the+Traditional+Arts.&rft.place=[Washington++D.C.]&rft.pub=American+Folklife+Center++Library+of+Congress&rft.genre=b ook</accessionnumber>	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:58	0.00%	O (0.00%)	\$0.00 (0.00%
713.	/ill/default.asp?sid=FirstSearch:W orldCat&ititle=Aeronautics.+Eighte enth+annual+report+of+the+Natio nal+Advisory+Committee+for+Aer onautics,+1932.+Including+Techn ical+Reports+Nos.+401+to+440& date=1933&aulast=Abbott&aufirst =lra&id=doi:&pid=858265437 <fss essid="">0&url_ver=Z39.88-2004𝔯_id=info:sid/firstsearc h.oclc.org:WorldCat&rft_val_fmt=info:ofi/fmt:kev:mtx:book&rft.genre =unknown&req_dat=<sessionid>0</sessionid>&rfe_dat=<accession number="">&58265437</accession>&fft_id=info:oclcnum/858265437&rft.aulast=Abbott&rft.aufirs t=lra&rft.title=Aeronautics.+Eighte enth+annual+report+of+the+Natio nal+Advisory+Committee+for+Aer onautics,+1932.+Including+Techn ical+Reports+Nos.+401+to+440&rft.date=1933&rft.aucorp=United+States&rft.place=Washington,+D C&rft.pub=[s.n.]&rft.genre=unknown</fss>	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
714.	/ill/default.asp?url_ver=Z39.88-20 04𝔯_id=info:sid/firstsearch.oclc. org:WorldCat&rft_val_fmt=info:ofi/ fmt:kev:mtx:dissertation&rft.genre =dissertation&req_dat= <sessionid>0</sessionid> &rfe_dat= <accessionnumber>613604877/accessionnumber>&rft_id=info:oclcnum/61</accessionnumber>	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%

	3504877&m.aulast=Higginbotnam &rft.aufirst=James&rft.title=Artifici al+fishponds+in+Roman+Italy+du ring+the+late+Republic+and+earl y+Empire&rft.date=1991&rfe_dat = <dissnote>Thesis+(Ph.+D.)Uni versity+of+Michigan,+1991.note></dissnote>													
715.	/ill/default.htm	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
716.	/ill/lending_policies.htm	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
717.	/LAC/lac_devfund_home.htm	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
718.	/librarynews/archive/issue206.htm	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
719.	/librarynews/archive/issue232.htm	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
720.	/librarynews/archive/issue236.htm	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
721.	/Imc/Default.htm	1	(0.00%)	100.00%	1	(0.01%)	0.00%	4.00	00:01:36	0.00%	0	(0.00%)	\$0.00	(0.00%
722.	/mrc/default.asp	1	(0.00%)	0.00%	0	(0.00%)	0.00%	6.00	00:03:05	0.00%	0	(0.00%)	\$0.00	(0.00%
723.	/patents/about.htm	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:05:05	0.00%	0	(0.00%)	\$0.00	(0.00%
724.	/patents/searchstep2.htm	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
725.	/reference/default.asp	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
726.	/reserves/form.htm	1	(0.00%)	0.00%	0	(0.00%)	0.00%	27.00	00:36:52	100.00%	1	(0.02%)	\$0.00	(0.00%
727.	/reserves/location.htm	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
728.	/science/meteor.htm	1	(0.00%)	100.00%	1	(0.01%)	0.00%	2.00	00:00:20	0.00%	0	(0.00%)	\$0.00	(0.00%
729.	/science/transportation.htm	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
730.	/scitechbus/agriculture.htm	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
731.	/scitechbus/biotechnology.htm	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
732.	/scitechbus/chemeng.htm	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
733.	/scitechbus/geographicinfo.htm	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
734.	/search_results.htm?q=library car d	1	(0.00%)	0.00%	0	(0.00%)	0.00%	32.00	00:15:07	100.00%	1	(0.02%)	\$0.00	(0.00%
735.	/search?q=cache:http://www.librar y.umaine.edu/patents/searchstep 1.htm	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
736.	/search?q=cache:http://www.librar y.umaine.edu/science/standard.ht m	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
737.	/search?q=cache:xcoOxCEjNmAJ :www.library.umaine.edu/speccoll/ FindingAids/PhiKappaPhi.htm+&c d=5&hl=en&ct=clnk≷=us	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
738.	/search?q=cache:xEC3Q3o2gdoJ :www.library.umaine.edu/speccoll/ FindingAids/ParsonsFamilyPaper s.htm+&cd=1&hl=en&ct=clnk≷= us	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
739.	/search?q=cache:xEC3Q3o2gdoJ :www.library.umaine.edu/speccoll/ FindingAids/ParsonsFamilyPaper s.htm+&cd=8&hl=en&ct=clnk≷= us	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
740.	/search?s.cmd=addFacetValueFilt ers(ContentType,Book / eBook)& s.fvf=ContentType,Newspaper Art icle,t&s.light=t&s.q=laurie rush	1	(0.00%)	0.00%	0	(0.00%)	0.00%	4.00	00:02:31	0.00%	0	(0.00%)	\$0.00	(0.00%
741.	/search?s.cmd=addFacetValueFilt ers(ContentType,Book+/+eBook) &s.fvf[]=ContentType,Journal+Arti cle,f&s.fvf[]=ContentType,Newspa per+Article,t&s.light=t&s.q=Alessa ndro+Duranti+language+inequalit y	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
742.	/search?s.cmd=addFacetValueFilt ers(ContentType,Book+/+eBook) &s.fvf=ContentType,Newspaper+ Article,t&s.light=t&s.pn=5&s.q=wa velet+transform	1	(0.00%)	0.00%	0	(0.00%)	0.00%	7.00	00:04:38	0.00%	0	(0.00%)	\$0.00	(0.00%
	/search?s.cmd=addFacetValueFilt													

743.	ers(ContentType,Book+/+eBook) &s.fvf=ContentType,Newspaper+ Article,t&s.light=t&s.q=Diggle+PJ +(2003)+Statistical+analysis+of+s patial+point+patterns	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
744.	/search?s.cmd=addFacetValueFilt ers(ContentType,Book+/+eBook) &s.fvf=ContentType,Newspaper+ Article,t&s.light=t&s.q=jews,+antis emitism+and+culture+in+vienna	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
745.	/search?s.cmd=addFacetValueFilt ers(ContentType,Book+/+eBook) &s.fvf=ContentType,Newspaper+ Article,t&s.light=t&s.q=Technically +speaking+Why+all+Americans+ need+to+know+more+about+tech nology	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
746.	/search?s.cmd=addFacetValueFilt ers(ContentType,Book+/+eBook) &s.fvf=ContentType,Newspaper+ Article,t&s.light=t&s.q=The+Inside +Track+to+Careers+in+Real+Est ate	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
747.	/search?s.cmd=addFacetValueFilt ers(ContentType,Journal Article)& s.fvf=ContentType,Newspaper Art icle,t&s.light=t&s.q=educational re search	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:29	0.00%	0 (0.00%)	\$0.00 (0.00%
748.	/search?s.cmd=addFacetValueFilt ers(ContentType,Journal Article)& s.light=t&s.pn=4&s.q=sensory inte gration disorders	1	(0.00%)	100.00%	1 (0.01%)	0.00%	11.00	00:08:01	0.00%	0 (0.00%)	\$0.00 (0.00%
749.	/search?s.cmd=addFacetValueFilt ers(ContentType,Journal Article)& s.light=t&s.q=autism spectrum dis order	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
750.	/search?s.cmd=addFacetValueFilt ers(ContentType,Journal Article)& s.light=t&s.q=Forestry and the En d of Innocence	1	(0.00%)	100.00%	1 (0.01%)	0.00%	13.00	00:08:23	0.00%	0 (0.00%)	\$0.00 (0.00%
751.	/search?s.cmd=addFacetValueFilt ers(ContentType,Journal Article)& s.light=t&s.q=The United States, I nternational Labor, and the Cold War The Breakup of the World Fe deration of Trade Unions	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
752.	/search?s.cmd=addFacetValueFilt ers(ContentType,Journal+Article) &s.fvf[]=ContentType,Book+/+eBo ok,f&s.fvf[]=ContentType,Newspa per+Article,t&s.light=t&s.q=reef+b uilding+organisms	1	(0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:10:49	0.00%	0 (0.00%)	\$0.00 (0.00%
753.	/search?s.cmd=addFacetValueFilt ers(ContentType,Journal+Article) &s.fvf=ContentType,Newspaper+ Article,t&s.light=t&s.q=arctic+mari ne+geology	1	(0.00%)	0.00%	0 (0.00%)	0.00%	16.00	00:21:25	0.00%	0 (0.00%)	\$0.00 (0.00%
754.	/search?s.cmd=addFacetValueFilt ers(ContentType,Journal+Article) &s.fvf=ContentType,Newspaper+ Article,t&s.light=t&s.q=GM+foods +in+Asia	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
755.	/search?s.cmd=addFacetValueFilt ers(ContentType,Journal+Article) &s.fvf=ContentType,Newspaper+ Article,t&s.light=t&s.q=st.+johns+ wort+used+for+depression	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:26:11	0.00%	0 (0.00%)	\$0.00 (0.00%
756.	/search?s.cmd=addFacetValueFilt ers(ContentType,Journal+Article) &s.fvf=ContentType,Newspaper+ Article,t&s.light=t&s.q=stretch+sh ortening+cycle+and+running	1	(0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:30:42	0.00%	0 (0.00%)	\$0.00 (0.00%
757.	/search?s.cmd=addFacetValueFilt ers(ContentType,Journal+Article) &s.light=t&s.q=Protein+Evolution	1	(0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:29:13	0.00%	0 (0.00%)	\$0.00 (0.00%
758.	/search?s.cmd=addFacetValueFilt ers(ContentType,Journal+Article) &s.light=t&s.q=TitleCombined:(aff ordable+housing+for+the+elderly)	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
759.	/search?s.cmd=addFacetValueFilt ers(ContentType,Journal+Article) &s.light=t&s.q=training+amphibia ns+behavior	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:23:05	0.00%	0 (0.00%)	\$0.00 (0.00%

760.	/search?s.cmd=addFacetValueFilt ers(ContentType,Newspaper+Arti cle:t)&s.fvf[]=ContentType,Trade+ Publication+Article,t&s.fvf[]=Conte ntType,Book+Review,t&s.light=t& s.q=democracy+movement+1989	1	(0.00%)	0.00%	0 (0.00%	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%
761.	/search?s.cmd=addFacetValueFilt ers(ContentType,Newspaper+Arti cle:t)&s.fvf=ContentType,Journal+ Article,f&s.light=t&s.q=Kim,+Carol +H	1	(0.00%)	0.00%	0 (0.00%	0.00%	3.00	00:03:39	0.00%	0 (0.00%)	\$0.00 (0.00%
762.	/search?s.cmd=addFacetValueFilt ers(ContentType,Newspaper+Arti cle:t)&s.fvf=IsFullText,true,f&s.ligh t=t&s.q=sex+trafficking+in+the+U S	1	(0.00%)	0.00%	0 (0.00%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
763.	/search?s.cmd=addFacetValueFilt ers(ContentType,Newspaper+Arti cle:t)&s.light=t&s.q="ring+sling"	1	(0.00%)	0.00%	0 (0.00%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
764.	/search?s.cmd=addFacetValueFilt ers(ContentType,Newspaper+Arti cle)&s.fvf=ContentType,Book+/+e Book,f&s.light=t&s.q=david+rosen felt	1	(0.00%)	0.00%	0 (0.00%	0.00%	4.00	00:00:17	0.00%	0 (0.00%)	\$0.00 (0.00%
765.	/search?s.cmd=addFacetValueFilt ers(IsFullText,true)&s.fvf[]=Conte ntType,Journal+Article,f&s.fvf[]=C ontentType,Newspaper+Article,t& s.light=t&s.q=Playground+ideas	1	(0.00%)	0.00%	0 (0.00%	0.00%	2.00	00:02:34	0.00%	0 (0.00%)	\$0.00 (0.00%
766.	/search?s.cmd=addFacetValueFilt ers(IsFullText,true)&s.fvf=IsPeerR eviewed,true,f&s.light=t&s.q=biom etrics fingerprint	1	(0.00%)	100.00%	1 (0.01%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
767.	/search?s.cmd=addFacetValueFilt ers(IsFullText,true)&s.light=t&s.q= summer+loss	1	(0.00%)	0.00%	0 (0.00%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
768.	/search?s.cmd=addFacetValueFilt ers(IsPeerReviewed,true)&s.fvf=C ontentType,Newspaper Article,t&s .light=t&s.ps=50&s.q=Treatment e fficacy gad	1	(0.00%)	100.00%	1 (0.01%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
769.	/search?s.cmd=addFacetValueFilt ers(lsPeerReviewed,true)&s.fvf=C ontentType,Newspaper Article,t&s .light=t&s.q=reading recovery	1	(0.00%)	100.00%	1 (0.01%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
770.	/search?s.cmd=addFacetValueFilt ers(IsScholarly,true)&s.fvf=Conte ntType,Newspaper Article,t&s.ligh t=t&s.q=performance enhancing d rugs	1	(0.00%)	100.00%	1 (0.01%	0.00%	3.00	00:01:14	0.00%	0 (0.00%)	\$0.00 (0.00%
771.	/search?s.cmd=addFacetValueFilt ers(IsScholarly,true)&s.fvf=Conte ntType,Newspaper+Article,t&s.lig ht=t&s.q=Neofunctionalism+in+Eu rope	1	(0.00%)	0.00%	0 (0.00%	0.00%	2.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%
772.	/search?s.cmd=addFacetValueFilt ers(IsScholarly,true)&s.fvf=IsFullT ext,true,f&s.light=t&s.q=relationsh ip+committment	1	(0.00%)	0.00%	0 (0.00%	0.00%	5.00	00:00:46	0.00%	0 (0.00%)	\$0.00 (0.00%
773.	/search?s.cmd=addFacetValueFilt ers(lsScholarly,true)&s.light=t&s.q =Cutting understanding and overc oming self-mutilation.	1	(0.00%)	0.00%	0 (0.00%	0.00%	6.00	00:41:26	0.00%	0 (0.00%)	\$0.00 (0.00%
774.	/search?s.cmd=addFacetValueFilt ers(lsScholarly,true)&s.light=t&s.q =Gun+Control	1	(0.00%)	100.00%	1 (0.01%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
775.	/search?s.cmd=addFacetValueFilt ers(lsScholarly,true)&s.light=t&s.q =mandatory+treatment+pregnant +women+drugs	1	(0.00%)	100.00%	1 (0.01%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
776.	/search?s.cmd=addFacetValueFilt ers(lsScholarly,true)&s.light=t&s.q =pH+effects+on+gills	1	(0.00%)	0.00%	0 (0.00%	0.00%	5.00	00:18:42	0.00%	0 (0.00%)	\$0.00 (0.00%
777.	/search?s.cmd=addFacetValueFilt ers(IsScholarly,true)&s.q=heat+flu x+factors+during+emersion	1	(0.00%)	0.00%	0 (0.00%	0.00%	7.00	00:02:03	0.00%	0 (0.00%)	\$0.00 (0.00%
778.	/search?s.cmd=addFacetValueFilt ers(Language,English)&s.fvf[]=Co ntentType,Journal Article,f&s.fvf[] =IsFullText,true,f&s.light=t&s.q=p andas disorder	1	(0.00%)	100.00%	1 (0.01%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%

779.	/search?s.cmd=addFacetValueFilt ers(Language,English)&s.fvf[]=Co ntentType,Journal+Article,f&s.fvf[] =IsFullText,true,f&s.fvf[]=IsSchola rly,true,f&s.fvf[]=ContentType,Boo k+Review,t&s.fvf[]=ContentType, Newspaper+Article,t&s.fvf[]=IsPe erReviewed,true,f&s.light=t&s.ps= 50&s.q=biotic+soil+crusts	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
780.	/search?s.cmd=addFacetValueFilt ers(Language,English)&s.fvf[]=IsF ullText,true,f&s.fvf[]=IsScholarly,tr ue,f&s.fvf[]=ContentType,Book+R eview,t&s.fvf[]=ContentType,New spaper+Article,t&s.fvf[]=IsPeerRe viewed,true,f&s.light=t&s.q=biotic +soil+crusts	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:18:41	0.00%	0 (0.00%)	\$0.00 (0.00%
781.	/search?s.cmd=addFacetValueFilt ers(Library,University+of+Maine) &s.light=t&s.q=anatomy+and+phy siology+of+the+eye&s.rf=Publicati onDate,1980:*	1 (0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:04:34	0.00%	0 (0.00%)	\$0.00 (0.00%
782.	/search?s.cmd=addFacetValueFilt ers(SubjectTerms,management)& s.fvf[]=ContentType,Journal+Articl e,f&s.fvf[]=SubjectTerms,sustaina ble+development,f&s.fvf[]=IsFullT ext,true,f&s.fvf[]=SubjectTerms,to urism,f&s.fvf[]=IsPeerReviewed,tr ue,f&s.light=t&s.q=tourism+certific ation&s.rf=PublicationDate,2002:*	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:25:07	0.00%	0 (0.00%)	\$0.00 (0.00%
783.	/search?s.cmd=addFacetValueFilt ers(SubjectTerms,proteins)&s.fvf= ContentType,Journal+Article,f&s.li ght=t&s.q=biochem+2009	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:03:30	0.00%	0 (0.00%)	\$0.00 (0.00%
784.	/search?s.cmd=addFacetValueFilt ers(SubjectTerms,salinity)&s.fvf[] =IsFullText,true,f&s.fvf[]=SubjectT erms,marine,f&s.fvf[]=IsPeerRevi ewed,true,f&s.light=t&s.ps=50&s. q=marine+salt+tolerance	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
785.	/search?s.cmd=goToPage(1)&s.fv f=ContentType,Journal+Article,f& s.light=t&s.pn=2&s.q=irigoien+ph ytoplankton+size	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
786.	/search?s.cmd=goToPage(1)&s.fv f=ContentType,Newspaper+Articl e,t&s.light=t&s.pn=2&s.q=dead+z ones+climate+change	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
787.	/search?s.cmd=goToPage(2)&s.fv ft]=ContentType,Journal+Article,f &s.fvft]=ContentType,Newspaper +Article,t&s.light=t&s.q=american +lobster+distribution	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:06:17	0.00%	0 (0.00%)	\$0.00 (0.00%
788.	/search?s.cmd=goToPage(2)&s.fv f[]=ContentType,Journal+Article,f &s.fvf[]=ContentType,Newspaper +Article,t&s.light=t&s.q=freud+ma rx	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:22	0.00%	0 (0.00%)	\$0.00 (0.00%
789.	/search?s.cmd=goToPage(2)&s.fv f[]=ContentType,Journal+Article,f &s.fvf[]=IsFullText,true,f&s.fvf[]=L anguage,English,f&s.light=t&s.q= pandas+disorder	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
790.	/search?s.cmd=goToPage(2)&s.fv f[]=ContentType,Journal+Article,f &s.fvf[]=SubjectTerms,respiratory +syncytial+virus,f&s.fvf[]=ISSchola rly,true,f&s.fvf[]=ContentType,Ne wspaper+Article,t&s.light=t&s.q=r sv&s.rf=PublicationDate,2009:201	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
791.	/search?s.cmd=goToPage(2)&s.fv f[]=IsFullText,true,f&s.fvf[]=IsPeer Reviewed,true,f&s.light=t&s.q=An dy+Goldsworthy	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
792.	/search?s.cmd=goToPage(2)&s.fv f[]=IsFullText,true,f&s.fvf[]=IsScho larly,true,f&s.fvf[]=ContentType,N ewspaper+Article,t&s.light=t&s.q= F-35+Joint+Strike+Fighter+Progr am	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:19:36	0.00%	0 (0.00%)	\$0.00 (0.00%
	/search?s.cmd=goToPage(2)&s.fv f=ContentType Newspaper+Articl									

79	93.	e,t&s.light=t&s.q=american+lobst er+sampling	1	(0.00%)	0.00%	0 (0.00	%) 0.00%	10.00	00:19:43	0.00%	0 (0.00%)	\$0.00	(0.00%
79	94.	/search?s.cmd=goToPage(2)&s.fv f=ContentType,Newspaper+Articl e,t&s.light=t&s.q=Autism	1	(0.00%)	0.00%	0 (0.00	%) 100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
79	95.	/search?s.cmd=goToPage(2)&s.fv f=ContentType,Newspaper+Articl e,t&s.light=t&s.q=concussions+in +the+nfl	1	(0.00%)	0.00%	0 (0.00	%) 100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
79	96.	/search?s.cmd=goToPage(2)&s.fv f=ContentType,Newspaper+Articl e,t&s.light=t&s.q=dead+zones+cli mate+change	1	(0.00%)	0.00%	0 (0.00	%) 100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
79	97.	/search?s.cmd=goToPage(2)&s.fv f=ContentType,Newspaper+Articl e,t&s.light=t&s.q=heavy+metal+c oncentrations+in+lobster	1	(0.00%)	0.00%	0 (0.00	%) 0.00%	2.00	00:06:10	0.00%	0 (0.00%)	\$0.00	(0.00%
79	98.	/search?s.cmd=goToPage(2)&s.fv f=ContentType,Newspaper+Articl e,t&s.light=t&s.q=mexican+music	1	(0.00%)	0.00%	0 (0.00	%) 0.00%	14.00	00:15:56	0.00%	0 (0.00%)	\$0.00	(0.00%
79	99.	/search?s.cmd=goToPage(2)&s.fv f=ContentType,Newspaper+Articl e,t&s.light=t&s.q=The+Spirit+Pon d+Inscription+Stone+Rhyme+and +Reason	1	(0.00%)	0.00%	0 (0.00	%) 100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
80	00.	/search?s.cmd=goToPage(2)&s.li ght=t&s.q=aerobic+and+resistanc e+exercise+in+type+2+diabetes& s.rf=PublicationDate,2008:*	1	(0.00%)	0.00%	0 (0.00	%) 100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
80	01.	/search?s.cmd=goToPage(2)&s.li ght=t&s.q=autism+in+the+classro om	1	(0.00%)	0.00%	0 (0.00	%) 0.00%	7.00	00:01:35	0.00%	0 (0.00%)	\$0.00	(0.00%
80	02.	/search?s.cmd=goToPage(2)&s.li ght=t&s.q=Cellulose+Functionaliz ation+via+heterogeneous+ATRP	1	(0.00%)	0.00%	0 (0.00	%) 100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
80	03.	/search?s.cmd=goToPage(2)&s.li ght=t&s.q=Hurler's+syndrome,+a n+a-L-iduronidase+deficiency	1	(0.00%)	0.00%	0 (0.00	%) 0.00%	2.00	00:00:19	0.00%	0 (0.00%)	\$0.00	(0.00%
80	04.	/search?s.cmd=goToPage(2)&s.li ght=t&s.q=influence+of+home+on +a+person	1	(0.00%)	0.00%	0 (0.00	%) 100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
80	05.	/search?s.cmd=goToPage(2)&s.li ght=t&s.q=konyus+violin	1	(0.00%)	0.00%	0 (0.00	%) 0.00%	13.00	00:10:40	0.00%	0 (0.00%)	\$0.00	(0.00%
80	06.	/search?s.cmd=goToPage(2)&s.li ght=t&s.q=monotreme+extinction	1	(0.00%)	0.00%	0 (0.00	%) 0.00%	4.00	00:17:51	0.00%	0 (0.00%)	\$0.00	(0.00%
80	07.	/search?s.cmd=goToPage(2)&s.li ght=t&s.q=psychosocial+hearing+ loss	1	(0.00%)	0.00%	0 (0.00	%) 0.00%	8.00	00:06:25	0.00%	0 (0.00%)	\$0.00	(0.00%
80	08.	/search?s.cmd=goToPage(2)&s.li ght=t&s.q=sports+nutrition+and+tr iathletes	1	(0.00%)	0.00%	0 (0.00	%) 0.00%	5.00	00:03:00	0.00%	0 (0.00%)	\$0.00	(0.00%
80		/search?s.cmd=goToPage(2)&s.li ght=t&s.q=STEM+the+tide+refor ming+science,+technology,+engin eering,+and+math+education+in+ America+book+reviews	1	(0.00%)	0.00%	0 (0.00	%) 100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
81	10.	/search?s.cmd=goToPage(2)&s.li ght=t&s.q=workplace+discriminati on	1	(0.00%)	0.00%	0 (0.00	%) 0.00%	9.00	00:20:33	0.00%	0 (0.00%)	\$0.00	(0.00%
8	11.	/search?s.cmd=goToPage(2)&s.li ght=t&s.q=xenopus+laboratory+b ehavior	1	(0.00%)	0.00%	0 (0.00	%) 100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
81	12.	/search?s.cmd=goToPage(3)&s.fv f[]=ContentType,Journal+Article,f &s.fvf[]=ContentType,Newspaper +Article,t&s.light=t&s.pn=2&s.q=a merican+lobster	1	(0.00%)	0.00%	0 (0.00	%) 100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
8	13.	/search?s.cmd=goToPage(3)&s.fv f[]=ContentType,Journal+Article,f &s.fvf[]=ContentType,Newspaper +Article,t&s.light=t&s.pn=2&s.q=p sychology+of+monotheism	1	(0.00%)	0.00%	0 (0.00	%) 100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
8		/search?s.cmd=goToPage(3)&s.fv f[]=ContentType,Magazine Article, f&s.fvf[]=ContentType,Conference Proceeding,f&s.fvf[]=ContentType ,Newspaper Article,f&s.light=t&s.p n=2&s.q=intellectual property Title	1	(0.00%)	100.00%	1 (0.01	%) 100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%

	Combined:(native american)										
815.	/search?s.cmd=goToPage(3)&s.fv f=ContentType,Newspaper+Articl e,t&s.light=t&s.pn=2&s.q=autism	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
816.	/search?s.cmd=goToPage(3)&s.fv f=ContentType,Newspaper+Articl e,t&s.light=t&s.pn=2&s.q=land+et hic	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:44:03	0.00%	0 (0.00%)	\$0.00 (0.00%
817.	/search?s.cmd=goToPage(4)&s.fv f=ContentType,Newspaper+Articl e,t&s.light=t&s.pn=3&s.q=autism	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:28:01	0.00%	0 (0.00%)	\$0.00 (0.00%
818.	/search?s.cmd=nextPage()&s.fvf[] =ContentType,Journal+Article,f&s .fvf[]=IsFullText,true,f&s.fvf[]=IsSc holarly,true,f&s.light=t&s.pn=2&s. q=ocean+acidification+coral+reef s+solutions	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
819.	/search?s.cmd=nextPage()&s.fvf[] =IsFullText,true,f&s.fvf[]=Content Type,Newspaper+Article,t&s.light =t&s.pn=2&s.q=nursing+faculty+d evelopment	1	(0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:36:28	0.00%	0 (0.00%)	\$0.00 (0.00%
820.	/search?s.cmd=nextPage()&s.fvf[] =IsScholarly,true,f&s.fvf[]=Conten tType,Book Review,t&s.fvf[]=Cont entType,Newspaper Article,t&s.lig ht=t&s.q=education AuthorCombi ned:(Chang)&s.rf=PublicationDat e,2005-01-01:2006-01-01	1	(0.00%)	0.00%	0 (0.00%)	0.00%	29.00	01:14:59	0.00%	0 (0.00%)	\$0.00 (0.00%
821.	/search?s.cmd=nextPage()&s.fvf= ContentType,Book+/+eBook,f&s.li ght=t&s.pn=4&s.q=edgar+allen+p oe	1	(0.00%)	0.00%	0 (0.00%)	0.00%	25.00	00:38:34	0.00%	0 (0.00%)	\$0.00 (0.00%
822.	/search?s.cmd=nextPage()&s.fvf= ContentType,Journal+Article,f&s.li ght=t&s.pn=4&s.q=in+home+healt h+care	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:15	0.00%	0 (0.00%)	\$0.00 (0.00%
823.	/search?s.cmd=nextPage()&s.fvf= ContentType,Journal+Article,f&s.li ght=t&s.q=college+admissions+s ocioeconomic+status	1	(0.00%)	0.00%	0 (0.00%)	0.00%	28.00	00:35:03	0.00%	0 (0.00%)	\$0.00 (0.00%
824.	/search?s.cmd=nextPage()&s.fvf= ContentType,Newspaper+Article,t &s.light=t&s.pn=2&s.q=TCP/IP	1	(0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:18:28	0.00%	0 (0.00%)	\$0.00 (0.00%
825.	/search?s.cmd=nextPage()&s.fvf= ContentType,Newspaper+Article,t &s.light=t&s.pn=4&s.q=society+n eeds	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:06:34	0.00%	0 (0.00%)	\$0.00 (0.00%
826.	/search?s.cmd=nextPage()&s.fvf= ContentType,Newspaper+Article,t &s.light=t&s.q=Bronchiolitis+Man agement+Before+and+After+the+ AAP+Guidelines	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:03:01	0.00%	0 (0.00%)	\$0.00 (0.00%
827.	/search?s.cmd=nextPage()&s.fvf= ContentType,Newspaper+Article,t &s.light=t&s.q=cancer+and+Mars hall+Islands	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
828.	/search?s.cmd=nextPage()&s.fvf= ContentType,Newspaper+Article,t &s.light=t&s.q=game+theory	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
829.	/search?s.cmd=nextPage()&s.fvf= IsScholarly,true,f&s.light=t&s.q=h omosexual+parenting	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
830.	/search?s.cmd=nextPage()&s.fvf= Language,English,t&s.light=t&s.q ="damariscotta+river"	1	(0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:04:07	0.00%	0 (0.00%)	\$0.00 (0.00%
831.	/search?s.cmd=nextPage()&s.fvf= Library,University+of+Maine,f&s.li ght=t&s.q=Developmental+psych opathology+Perspectives+on+adj ustment,+risk,+and+disorder.	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
832.	/search?s.cmd=nextPage()&s.ligh t=t&s.pn=2&s.q=interactive+read+ alouds	1	(0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:08:33	0.00%	0 (0.00%)	\$0.00 (0.00%
833.	/search?s.cmd=nextPage()&s.ligh t=t&s.pn=2&s.q=review+a+new+n ation+of+goods+jaffee	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:08	0.00%	0 (0.00%)	\$0.00 (0.00%
834.	/search?s.cmd=nextPage()&s.ligh t=t&s.pn=2&s.q=the+road+to+reu	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:08	0.00%	0 (0.00%)	\$0.00 (0.00%

	nion										
835.	/search?s.cmd=nextPage()&s.ligh t=t&s.pn=3&s.q=critique+of+disab ility&s.rf=PublicationDate,2010:*	1	(0.00%)	0.00%	0 (0.00%)	0.00%	25.00	00:17:49	0.00%	0 (0.00%)	\$0.00 (0.00%
836.	/search?s.cmd=nextPage()&s.ligh t=t&s.pn=5&s.q=poe+religion	1	(0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:27:53	0.00%	0 (0.00%)	\$0.00 (0.00%
837.	/search?s.cmd=nextPage()&s.ligh t=t&s.pn=6&s.q=fetal+alcohol+sy ndrome+in+the+classroom	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
838.	/search?s.cmd=nextPage()&s.ligh t=t&s.q=annabel+lee+virginia+po e	1	(0.00%)	0.00%	0 (0.00%)	0.00%	16.00	00:28:15	0.00%	0 (0.00%)	\$0.00 (0.00%
839.	/search?s.cmd=nextPage()&s.ligh t=t&s.q=AWWA+M32	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:06	0.00%	0 (0.00%)	\$0.00 (0.00%
840.	/search?s.cmd=nextPage()&s.ligh t=t&s.q=biparian+strips	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:33	0.00%	0 (0.00%)	\$0.00 (0.00%
841.	/search?s.cmd=nextPage()&s.ligh t=t&s.q=emerson+nature	1	(0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:06:47	0.00%	0 (0.00%)	\$0.00 (0.00%
842.	/search?s.cmd=nextPage()&s.ligh t=t&s.q=fathers+postnatal+depres sion	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
843.	/search?s.cmd=nextPage()&s.ligh t=t&s.q=rape+abortion	1	(0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:08:49	0.00%	0 (0.00%)	\$0.00 (0.00%
844.	/search?s.cmd=nextPage()&s.ligh t=t&s.q=zinc+finger+nuclease	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:07:14	0.00%	0 (0.00%)	\$0.00 (0.00%
845.	/search?s.cmd=previousPage()&s .fvf=ContentType,Newspaper+Arti cle,t&s.light=t&s.pn=7&s.q=coryn ebacterium+pseudotuberculosis	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:05	0.00%	0 (0.00%)	\$0.00 (0.00%
846.	/search?s.cmd=removeFacetValu eFilter(ContentType,Newspaper A rticle)&s.fvf[]=IsFullText,true,f&s.f vf[]=ContentType,Newspaper Arti cle,t&s.light=t&s.q=nagpra case st udy&s.rf=PublicationDate,2006:*	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:19	0.00%	0 (0.00%)	\$0.00 (0.00%
847.	/search?s.cmd=removeFacetValu eFilter(IsFullText,true)&s.fvf[]=IsF ullText,true,f&s.fvf[]=IsPeerRevie wed,true,f&s.light=t&s.q=Andy+G oldsworthy	1	(0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:01:52	0.00%	0 (0.00%)	\$0.00 (0.00%
848.	/search?s.cmd=removeFacetValu eFilter(lsScholarly,true)&s.fvf=lsS cholarly,true,f&s.light=t&s.q=kate +chopin+story+of+an+hour	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
849.	/search?s.cmd=setPageSize(25)& s.fvf=ContentType,Newspaper+Ar ticle,t&s.light=t&s.q=multicultural+ communication	1	(0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:09:37	0.00%	0 (0.00%)	\$0.00 (0.00%
850.	/search?s.cmd=setPageSize(50)& s.fvf[]=ContentType,Journal+Articl e,f&s.fvf[]=ContentType,Magazine +Article,f&s.fvf[]=IsScholarly,true,f &s.fvf[]=ContentType,Newspaper +Article,t&s.fvf[]=ContentType,Bo ok+Chapter,f&s.fvf[]=IsPeerRevie wed,true,f&s.light=t&s.q=assessm ent+of+students+with+severe+ne eds	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
851.	/search?s.cmd=setPageSize(50)& s.fvf[]=IsFullText,true,f&s.fvf[]=IsP eerReviewed,true,f&s.light=t&s.q= polychaetes+salt+tolerance	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
852.	/search?s.cmd=setPageSize(50)& s.fvf=ContentType,Newspaper+Ar ticle,t&s.light=t&s.pn=2&s.q=hypa thia's+heritage	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:30	0.00%	0 (0.00%)	\$0.00 (0.00%
853.	/search?s.cmd=setPageSize(50)& s.fvf=ContentType,Newspaper+Ar ticle,t&s.light=t&s.q=shell+disease +american+lobster	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
854.	/search?s.cmd=setPageSize(50)& s.fvgf:8=SubjectTerms,or,plants +cultivated,micropropagation,horti culture,crops,plant+propagation,pl ant+breeding,united+states,biblio graphy,botany+medical&s.light=t &s.q=Propagation+Humulus+Hort	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
	/search?s.cmd=setSort(Publicatio										

855.	ewspaper+Article,t&s.light=t&s.q= Dijkstra's+algorithm	1	(0.00%)	0.00%	0	(0.00%)	0.00%	6.00	00:06:10	0.00%	0	(0.00%)	\$0.00	(0.00%
856.	/search?s.cmd=setSort(Publicatio nDate:desc)&s.dym=f&s.light=t&s .q=Author:"Balco,+Greg"	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
857.	/search?s.cmd=setTextQuery(AG UIRRE+TINOCO+Humberto+1 983.+Sones+de+la+tierra+y+cant ares+jarochos.+México+Premio.) &s.fvf=ContentType,Newspaper+ Article,t&s.light=t&s.q=AGUIRRE +TINOCO,+Humberto,+1983.+So nes+de+la+tierra+y+cantares+jar ochos.+México+Premiá.	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
858.	/search?s.cmd=setTextQuery(http //qq4nm4zz3u.search.numericals olution.com/?V=1.0&N=25&L=QQ 4NM4ZZ3U&S=AC_T_B&C=chro nicle+of+higher+ed)&s.fvf=Conte ntType,Newspaper Article,t&s.ligh t=t&s.q=http://qq4nm4zz3u.searc h.numericalsolutions.com/?V=1.0 &N=25&L=QQ4NM4ZZ3U&S=AC _T_B&C=chronicle+of+higher+ed	1	(0.00%)	100.00%	1	(0.01%)	0.00%	2.00	00:00:04	0.00%	0	(0.00%)	\$0.00	(0.00%
859.	/search?s.cmd=setTextQuery(mor pholine+with+t-butyl+acetoacetat e)&s.fvf=ContentType,Newspaper +Article,t&s.light=t&s.q=morpholin e+with+t-butyl+acetoactate	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
860.	/search?s.cmd=setTextQuery(nic kel and dimmed)&s.fvf[]=ContentT ype,Book / eBook,f&s.fvf[]=Conte ntType,Newspaper Article,t&s.ligh t=t&s.q=nickle and dimed	1	(0.00%)	100.00%	1	(0.01%)	0.00%	8.00	00:08:58	0.00%	0	(0.00%)	\$0.00	(0.00%
861.	/search?s.cmd=setTextQuery(obe sity treatment and prevention)&s.f vf=ContentType,Newspaper Articl e,t&s.light=t&s.q=obesity treatme ant and prevention	1	(0.00%)	100.00%	1	(0.01%)	0.00%	3.00	00:03:26	0.00%	0	(0.00%)	\$0.00	(0.00%
862.	/search?s.dym=false&s.q=Author: "Diestel,+Reinhard"	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
863.	/search?s.fvf[]=ContentType,Book +/+eBook,f&s.fvf[]=ContentType, Newspaper+Article,t&s.q=Statistic al+analysis+of+spatial+point+patt erns	1	(0.00%)	0.00%	0	(0.00%)	0.00%	3.00	00:00:33	0.00%	0	(0.00%)	\$0.00	(0.00%
864.	/search?s.fvf[]=ContentType,Jour nal Article,f&s.fvf[]=IsFullText,true ,f&s.fvf[]=ContentType,Governme nt Document,f&s.fvf[]=ContentTyp e,Newspaper Article,t&s.fvf[]=Lan guage,English,f&s.light=t&s.q=tre asury bill function&s.cmd=addFac etValueFilters(ContentType,Book / eBook:t)	1	(0.00%)	100.00%	1	(0.01%)	0.00%	33.00	00:27:24	0.00%	0	(0.00%)	\$0.00	(0.00%
865.	/search?s.fvf[]=ContentType,Jour nal Article,f&s.fvf[]=IsFullText,true ,f&s.fvf[]=IsScholarly,true,f&s.fvf[] =SubjectTerms,depression,f&s.fvf []=Language,English,f&s.light=t&s .q=depression in the older&s.cmd =setRangeFilter(PublicationDate, 2009:2014)	1	(0.00%)	100.00%	1	(0.01%)	0.00%	4.00	00:32:51	0.00%	0	(0.00%)	\$0.00	(0.00%
866.	/search?s.fvf[]=ContentType,Jour nal Article,f&s.fvf[]=IsScholarly,tru e,f&s.fvf[]=ContentType,Newspap er Article,t&s.fvf[]=Language,Engli sh,f&s.q=enzyme	1	(0.00%)	100.00%	1	(0.01%)	0.00%	7.00	00:06:18	0.00%	0	(0.00%)	\$0.00	(0.00%
867.	/search?s.fvf[]=ContentType, Jour nal+Article,f&s.fvf[]=ContentType, Magazine+Article,f&s.fvf[]=ContentType,Book+/+eBook,f&s.fvf[]=ContentType,Library+Holding,f&s.fvf[]=ContentType,Library+Holding,f&s.fvf[]=ContentType,Newspaper+Article,f&s.light=t&s.q="mary+of+the+wild+moor"&s.cmd=addFacetValueFilters(ContentType,Audio+Recording:t,Book+Review:t,Reference:t)	1	(0.00%)	100.00%	1	(0.01%)	0.00%	2.00	00:00:13	0.00%	0	(0.00%)	\$0.00	(0.00%
868.	/search?s.fvf[]=ContentType,New spaper Article,t&s.q= Diffusion Co efficients Calculated Using 137Cs Profiles Applied to 210Pb Dating in Lake Core Sediments&go.x=10 &go.y=13	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%

869.	/search?s.fvf[]=ContentType,New spaper Article,t&s.q=&go.x=7&go.y=11	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
870.	/search?s.fvf[]=ContentType,New spaper Article,t&s.q=A rainbow of my own&go.x=-555&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
871.	/search?s.fvf[]=ContentType,New spaper Article,t&s.q=achilles tend on Illt ultrasound thesis&go.x=0&g o.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:26	0.00%	0 (0.00%)	\$0.00 (0.00%
872.	/search?s.fvf[]=ContentType,New spaper Article,t&s.q=autism&go.x =0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%
873.	/search?s.fvf[]=ContentType,New spaper Article,t&s.q=cancer&go.x =0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:03:33	0.00%	0 (0.00%)	\$0.00 (0.00%
874.	/search?s.fvf[]=ContentType,New spaper Article,t&s.q=CEN/TS 151 49-1:2006&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
875.	/search?s.fvf[]=ContentType,New spaper Article,t&s.q=Cognitive an d tactile factors affecting human h aptic performance in later life.&go .x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
876.	/search?s.fvf[]=ContentType,New spaper Article,t&s.q=contigent val uation&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
877.	/search?s.fvf[]=ContentType,New spaper Article,t&s.q=executive fun ction special needs&go.x=-734&g o.y=-217	1	(0.00%)	100.00%	1 (0.01%)	0.00%	16.00	00:20:42	0.00%	0 (0.00%)	\$0.00 (0.00%
878.	/search?s.fvf[]=ContentType,New spaper Article,t&s.q=fruit flies and alcohol&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
879.	/search?s.fvf[]=ContentType,New spaper Article,t&s.q=gender, ident ity, self, concept&go.x=-621&go.y =-217	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:26	0.00%	0 (0.00%)	\$0.00 (0.00%
880.	/search?s.fvf[]=ContentType,New spaper Article,t&s.q=Growing veg etables and values: benefits of nei ghborhood community gardens&g o.x=-508&go.y=-217	1	(0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:23:11	0.00%	0 (0.00%)	\$0.00 (0.00%
881.	/search?s.fvf[]=ContentType,New spaper Article,t&s.q=journal of ad olescence&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:15:13	0.00%	0 (0.00%)	\$0.00 (0.00%
882.	/search?s.fvf[]=ContentType,New spaper Article,t&s.q=journal of ad olescence&go.x=15&go.y=9	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:04:45	0.00%	0 (0.00%)	\$0.00 (0.00%
883.	/search?s.fvf[]=ContentType,New spaper Article,t&s.q=Journal of Sp eech, Language and Hearing Res earch&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:03:08	0.00%	0 (0.00%)	\$0.00 (0.00%
884.	/search?s.fvf[]=ContentType,New spaper Article,t&s.q=lexisnexis&g o.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:02:11	0.00%	0 (0.00%)	\$0.00 (0.00%
885.	/search?s.fvf[]=ContentType,New spaper Article,t&s.q=liz kelly&go.x =0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
886.	/search?s.fvf[]=ContentType,New spaper Article,t&s.q=materialisatio ns of a woman writer&go.x=6&go.y=5	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:07:12	0.00%	0 (0.00%)	\$0.00 (0.00%
887.	/search?s.fvf[]=ContentType,New spaper Article,t&s.q=mythological creatures&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
888.	/search?s.fvf[]=ContentType,New spaper Article,t&s.q=pale blue dot &go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
889.	/search?s.fvf[]=ContentType,New spaper Article,t&s.q=performing s ex&go.x=-634&go.y=-217	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
890.	/search?s.fvf[]=ContentType,New spaper Article,t&s.q=phonological awarenes&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	20.00	00:22:23	0.00%	0 (0.00%)	\$0.00 (0.00%
891	/search?s.fvf[]=ContentType,New spaper Article t&s g=phonological	11	(0.00%)	100 00%	1 (0.01%)	0 00%	9 00	00:26:15	0 00%	0 (0.00%)	\$0.00 (0.00%

001.	awareness&go.x=0&go.y=0	•	(0.0070)	100.0070	1 (0.	.0170)	0.0070	0.00	00. <u>E</u> 0.10	0.0070		(0.0070)	ψυ.ου	(0.00 //
892.	/search?s.fvf[]=ContentType,New spaper Article,t&s.q=prohibition, b angor, me&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.	.00%)	0.00%	3.00	00:13:10	0.00%	0	(0.00%)	\$0.00	(0.00%
893.	/search?s.fvf[]=ContentType,New spaper Article,t&s.q=Propagating Uncertainty in Plot-based Estimat es of Forest Carbon Stock and Ca rbon Stock Change&go.x=0&go.y =0	1	(0.00%)	100.00%	1 (0.	.01%)	0.00%	4.00	00:02:08	0.00%	0	(0.00%)	\$0.00	(0.00%
894.	/search?s.fvf[]=ContentType,New spaper Article,t&s.q=reading disor ders&go.x=-626&go.y=-217	1	(0.00%)	100.00%	1 (0.	.01%)	0.00%	2.00	00:00:25	0.00%	0	(0.00%)	\$0.00	(0.00%
895.	/search?s.fvf[]=ContentType,New spaper Article,t&s.q=self mutilatio n	1	(0.00%)	0.00%	0 (0.	.00%)	0.00%	8.00	00:06:47	0.00%	0	(0.00%)	\$0.00	(0.00%
896.	/search?s.fvf[]=ContentType,New spaper Article,t&s.q=slanket&go.x =0&go.y=0	1	(0.00%)	100.00%	1 (0.	.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
897.	/search?s.fvf[]=ContentType,New spaper Article,t&s.q=The New Ma sses&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.	.00%)	0.00%	3.00	00:00:31	0.00%	0	(0.00%)	\$0.00	(0.00%
898.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=.+"On+the+ Relation+between+Automated+E ssay+Scoring+and+Modern+View s+of+the+Writing+Construct&go.x =0&go.y=0	1	(0.00%)	100.00%	1 (0.	.01%)	0.00%	3.00	00:02:54	0.00%	0	(0.00%)	\$0.00	(0.00%
899.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q="A+domain-specific+risk-attitude+scale:+Mea suring+risk+perceptions+and+risk+behaviors"&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.	.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
900.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q="african+aff airs"&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.	.01%)	0.00%	2.00	00:00:42	0.00%	0	(0.00%)	\$0.00	(0.00%
901.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q="Convergent +evolution"+gliding&go.x=-508&g o.y=-217	1	(0.00%)	100.00%	1 (0.	.01%)	0.00%	8.00	00:15:35	0.00%	0	(0.00%)	\$0.00	(0.00%
902.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q="developem ental+milestones"&go.x=0&go.y= 0	1	(0.00%)	0.00%	0 (0.	.00%)	0.00%	24.00	00:43:37	0.00%	0	(0.00%)	\$0.00	(0.00%
903.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q="distatis+rec ti"&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.	.00%)	0.00%	10.00	00:02:05	0.00%	0	(0.00%)	\$0.00	(0.00%
904.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q="environmen tal+justice"+"berg"&go.x=-437&go .y=-217	1	(0.00%)	0.00%	0 (0.	.00%)	0.00%	8.00	00:12:44	0.00%	0	(0.00%)	\$0.00	(0.00%
905.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q="finger+food s'&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.	.00%)	0.00%	5.00	00:00:44	0.00%	0	(0.00%)	\$0.00	(0.00%
906.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q="genetics+a nd+stress"&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.	.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
907.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q="Gravitation" +,+by+Misner,+Thorne,+Wheeler &go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.	.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
908.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q="honest+life' &go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.	.00%)	0.00%	11.00	00:13:10	0.00%	0	(0.00%)	\$0.00	(0.00%
909.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q="Hyperspect ral+characterization+of+fluoropho re+diffusion+in+human+skin+usin g+a+sCMOS+based+hyperspectr al+camera"&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.	.00%)	0.00%	4.00	00:06:58	0.00%	0	(0.00%)	\$0.00	(0.00%
910.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q="I+Await+th e+devil"s+coming"&go.x=0&go.y= 0	1	(0.00%)	100.00%	1 (0.	.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
911.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q="infant+nutri tion"&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.	.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
	/search?s.fvf[]=ContentType,New													

912.	spaper+Article,t&s.q="Linking+Liv elihoods+and+Conservation:+An+ Examination+of+Local+Residents' +Perceived+Linkages+between+ Conservation+and+Livelihood+Be nefits+Around+Nepal's+Chitwan+ National+Park."+&go.x=-634&go. y=-217	1	(0.00%)	0.00%	0	(0.00%)	0.00%	3.00	00:06:46	0.00%	0	(0.00%)	\$0.00	(0.00%
913.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q="low+milk+s upply&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	3.00	00:00:54	0.00%	0	(0.00%)	\$0.00	(0.00%
914.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q="maine+stud ies"&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	18.00	00:05:14	0.00%	0	(0.00%)	\$0.00	(0.00%
915.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q="mayim+bali k"&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	7.00	00:02:26	0.00%	0	(0.00%)	\$0.00	(0.00%
916.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q="money+20 00tm"&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:19:47	0.00%	0	(0.00%)	\$0.00	(0.00%
917.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q="Multiple+he reditary+telangiectasis+causing+h emorrhage+(hereditary+hemorrha gic+telangiectasia)".+Bull.+Johns +Hopkins+Hosp&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:00:23	0.00%	0	(0.00%)	\$0.00	(0.00%
918.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q="nathan+go dfried	1	(0.00%)	0.00%	0	(0.00%)	0.00%	14.00	00:04:06	0.00%	0	(0.00%)	\$0.00	(0.00%
919.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q="Northern+g annet"&go.x=0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	0.00%	2.00	00:01:46	0.00%	0	(0.00%)	\$0.00	(0.00%
920.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q="number+of +siblings+and+sociability"	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
921.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q="permeation +constant"&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	6.00	00:33:08	0.00%	0	(0.00%)	\$0.00	(0.00%
922.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q="postpartum +abdominals"&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	11.00	00:16:47	0.00%	0	(0.00%)	\$0.00	(0.00%
923.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q="qualitative+ and+mixed+methods+public+heal th"&go.x=0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	0.00%	5.00	00:04:11	0.00%	0	(0.00%)	\$0.00	(0.00%
924.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q="Reading+Li terary+Fiction+Improves+Theory+ of+Mind"	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
925.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q="Reducing+anxiety+sensitivity+with+exercise" &go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:02:00	0.00%	0	(0.00%)	\$0.00	(0.00%
926.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q="Relativistic +Continuum+Mechanics"&go.x=0 &go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	5.00	00:01:40	0.00%	0	(0.00%)	\$0.00	(0.00%
927.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q="The+good+ is+the+bad+that+we+don't+do:+E conomic+crimes+against+humani ty:+A+proposal"&go.x=8&go.y=6	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:00:12	0.00%	0	(0.00%)	\$0.00	(0.00%
928.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q="the+great+ proletarian+cultural+revolution"&g o.x=0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	0.00%	2.00	00:00:13	0.00%	0	(0.00%)	\$0.00	(0.00%
929.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q="The+Spirit+ Pond+Inscription+Stone:+Rhyme +and+Reason&go.x=7&go.y=13	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
930.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q="therapeutic +writing"+alcoholism&go.x=-676& go.y=-217	1	(0.00%)	0.00%	0	(0.00%)	0.00%	4.00	00:01:32	0.00%	0	(0.00%)	\$0.00	(0.00%
931.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q="toxic+toys" &go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:00:48	0.00%	0	(0.00%)	\$0.00	(0.00%
932.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q="Trail+magic	1	(0.00%)	0.00%	0	(0.00%)	0.00%	12.00	00:12:49	0.00%	0	(0.00%)	\$0.00	(0.00%

	"&go.x=-727&go.y=-217										
933.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q="transtheore tical+model+of+change"&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:22	0.00%	0 (0.00%)	\$0.00 (0.00%
934.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q="value+of+d ay+trips+to+lake+erie+beaches"& go.x=6&go.y=10	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
935.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q="A+Gift+fro m+God":+Adolescent+Motherhoo d+and+Religion+in+Brazilian+Fav elas&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
936.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q="Genomic+a neuploidy,+defined+as+an+abnor mal+number+of+copies+of+a+ge nomic+region,+is+a+common+ca use+of+human+genetic+disorder s."&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
937.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q="The+'Great +National+Discussion":+The+Dis course+of+Politics+in+1787&go.x =0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
938.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=(GIS)+and+(music)&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:03:04	0.00%	0 (0.00%)	\$0.00 (0.00%
939.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=).+Best+ma nagement+practices+for+agricultu re+and+silviculture.+&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
940.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=).+Really?+ You+don't+look+like+an+America n+Indian:+Social++ representatio ns+and+social+group+identities+ &go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
941.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=)+Rapid+Eff ects+of+Steroid+Hormones+on+A nimal+Behavior&go.x=8&go.y=13	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:09:54	0.00%	0 (0.00%)	\$0.00 (0.00%
942.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=[+The+Envir onmental+Dimension+of+Asian+ Security:+Conflict+and+Cooperati on+Over+Energy,+Resources,+a nd+Pollution+]The+Environmental +Dimension+of+Asian+Security:+ Conflict+and+Cooperation+Over+ Energy,+Resources,+and+Polluti on.&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
943.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=[4]Klasczyk, +B.;Kneckt,+V.;+Lipowsky,+R.;+D imova,+R.,+Langmuir,+2010,+26(24),+18951.&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:29	0.00%	0 (0.00%)	\$0.00 (0.00%
944.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=[5]+Kreutz,+ K.+J.+&+Sholkovitz,+E.+R.+Majo r+element,+rare+earth+element,+ and+sulfur+isotopic+composition +of+a+high-elevation+firn+core:+ Sources+and+transport+of+miner al+dust+in+Central+Asia.+Geoch em.+Geophy.+Geosy.+(2000).=& go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:49	0.00%	0 (0.00%)	\$0.00 (0.00%
945.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=[Crosstalk+b etween+canonical+TGF-β/Smad+ and+Wnt/β-catenin+signaling+pat hway&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:54	0.00%	0 (0.00%)	\$0.00 (0.00%
946.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=[im]pertinant +contructionsof+body+and+sel&g o.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:37:44	0.00%	0 (0.00%)	\$0.00 (0.00%
947.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=&go.x=12&g o.y=10	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
948.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=&go.x=13&g	1	(0.00%)	100.00%	1 (0.01%)	0.00%	17.00	00:17:28	0.00%	0 (0.00%)	\$0.00 (0.00%

	o.y=10										
949.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=&go.x=15&g o.y=2	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
950.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=&go.x=3&go .y=10	1	(0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:03:12	0.00%	0 (0.00%)	\$0.00 (0.00%
951.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=&go.x=4&go .y=8	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
952.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=&go.x=5&go .y=13	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
953.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=&go.x=6&go .y=8	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:36	0.00%	0 (0.00%)	\$0.00 (0.00%
954.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=&go.x=7&go .y=11	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:04:17	0.00%	0 (0.00%)	\$0.00 (0.00%
955.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=&go.x=7&go .y=8	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
956.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=&go.x=7&go .y=9	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
957.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=• "Monomet hylated+Trivalent+Arsenic+Speci es+Disrupt+Steroid+Receptor+Int eractions+with+their+DNA+Respo nse+Elements+at+Non-cytotoxic+ Cellular+Concentrations&go.x=7&go.y=11	1	(0.00%)	0.00%	0 (0.00%)	0.00%	22.00	00:36:43	0.00%	0 (0.00%)	\$0.00 (0.00%
958.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=+ +ENGEL-BREWER+THEORIES+OF+MET ALS+AND+ALLOYS&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:02:44	0.00%	0 (0.00%)	\$0.00 (0.00%
959.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=+ +Explorin g+Diverse+Settings+for+Languag e+Acquisition+and+Use:+Compar ing+Study+Abroad,+Service+Lear ning+Abroad,+and+Foreign+Lang uage+Housing&go.x=8&go.y=5	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
960.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=+ +Stages+i n+the+development+of+a+model +organism+as+a+platform+for+m echanistic+models+in+developme ntal+biology:+Zebrafish,+1970-20 00&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:34	0.00%	0 (0.00%)	\$0.00 (0.00%
961.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=+"Cosmic+c arbon+chemistry:+from+the+inter stellar+medium+to+the+early+Ear th."&go.x=11&go.y=7	1	(0.00%)	100.00%	1 (0.01%)	0.00%	19.00	00:21:36	0.00%	0 (0.00%)	\$0.00 (0.00%
962.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=+++++++ south+american&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	11.00	00:05:11	0.00%	0 (0.00%)	\$0.00 (0.00%
963.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=++Diffusion +Coefficients+Calculated+Using+ 137Cs+Profiles+Applied+to+210P b+Dating+in+Lake+Core+Sedime nts&go.x=10&go.y=13	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
964.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=++Parks+an d+Peoples:+The+Social+Impact+ of+Protected+Areas&go.x=0&go.y =0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:16:37	0.00%	0 (0.00%)	\$0.00 (0.00%
965.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=+978087031 5718&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:19	0.00%	0 (0.00%)	\$0.00 (0.00%
966.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=+A+new+to ol+to+forecast+fish+movement+a nd+passage&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:13:31	0.00%	0 (0.00%)	\$0.00 (0.00%
067	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=+A+weekly+		/0.000/\	0.000/	0 (0.000()	0.000/	4F 00	00:44:24	0.009/	0 (0.000()	60.00 (0.000)

907.	ufficient+to+induce+health-promot ing+effects.&go.x=13&go.y=9	1 (0.00%)	0.00%	U (0.00%)	0.00%	15.00	00.44.31	0.00%	U (0.00%)	\$0.00 (0.00%
968.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=+Beverly+T atum&go.x=8&go.y=3	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
969.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=+Biochem.+ J.,+2009,+417,+621&go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:06:40	0.00%	0 (0.00%)	\$0.00 (0.00%
970.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=+Captain+E. O.+Bax+Cyril&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
971.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=+Clark,+R.P .+The+Basque+Insurgents:+ETA, +1952-1980.+Madison:+Universit y+of+Wisconsin,+1984.+p+35.&g o.x=18&go.y=9	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:19	0.00%	0 (0.00%)	\$0.00 (0.00%
972.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=+Current+R esearch+Interests+in+Internation al+Service+Learning&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:52	0.00%	0 (0.00%)	\$0.00 (0.00%
973.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=+Cutting+to +cope+-+a+modern+adolescent+ phenomenoncch_1095+623629 &go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:50:37	0.00%	0 (0.00%)	\$0.00 (0.00%
974.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=+Ethical+iss ues+in+behavioral+research:+Ba sic+and+applied+perspectives&g o.x=7&go.y=16	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
975.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=+Generalize d+Additive+Models:+An+Introduct ion+with+R.+Chapman+&+Hall/C RC=&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:02:49	0.00%	0 (0.00%)	\$0.00 (0.00%
976.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=+invent++M aine&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	13.00	00:28:29	0.00%	0 (0.00%)	\$0.00 (0.00%
977.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=+JOURNAL +TOOLS+Get+New+Content+Ale rts+Get+RSS+feed+Save+to+My +Profile+Get+Sample+Copy+Rec ommend+to+Your+Librarian+JOU RNAL+MENU+Journal+Home+FI ND+ISSUES+Current+Issue+All+I ssues+Virtual+Issues+FIND+ART ICLES+Early+View+Accepted+Art icles+Most+Accessed+Most+Cite d+Reviews+Editors'+Choice+GET +ACCESS+Subscribe+/+Renew+FOR+CONTRIBUTORS+OnlineO pen+Author+Guidelines+For+Ref erees+Submit+an+Article+ABOU T+THIS+JOURNAL+Contact+Soc iety+Information+Editorial+Board +For+Journalists+Advertise+New s+Overview+SPECIAL+FEATUR ES+Professional+Opportunities+Buyer's+Guide+Very+Important+Papers+Hot+Papers+Tag+Cloud+In+the+media+Editorials:+The+Heat+is+On+Mobile+Edition+Auth or+Profiles+Most+Frequent+Auth ors+Discussion:+More+Realism+in+the+Matter+of+Predicting+Mole cules?+Minireviews+Essays+Key word+Catalogue+Cover+Gallery+Frontispiece+Gallery+Book+Reviews+Article+Index+Flashback:+50+Years+Ago+Read+Cover+Story+Save+15%,+pre-order+the+Handbook+of+Metabolic+Pathways+of+Xenobiotics+Wiley+Job+Netw ork+In-House+Clinical+Research+Associate+(CRA)-Job+Location:+PRINCETON,+NJ+Requisition+ID+21034BRTitle+In-House+Clinical+Research+Associate+(CRA)-Job+Category+ClinicalJob+Description+PURPOSE:Responsibl+201	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:13:12	0.00%	0 (0.00%)	\$0.00 (0.00%
2.1.	on+PURPOSE:Responsibl+201 4+Janssen+Research+&+Develo pment+Quantitative+Sciences+Su mmer+Interns+-+NJ,+PA+Job+Lo cation:+Titusville,+NJ,+08560+Jo	. (0.3070)	3.33 //	(0.0070)	3.30 //	3.30	33.13.12	5.5070	(0.5070)	(0.00 //

	hnson+=&+Johnson+companies+ are+equal+opportunity+employer s.+2014+Janssen+Research+=& +Development+Quantitative+Scie nces+Summer+Quality+Engine er+Salary:+Negotiable+Location: +New+Jersey+My+client+is+a+M edical+Device+Company+looking +for+a+quality+Engineer+to+com e+join+their+team.+It+is+a+pre-m arket+role+and+you+Senior+Q uality+Engineer,+New+Product+D evelopment+Job+Location:+Rayn ham,+MA,+02767+Johnson+=&+ Johnson+companies+are+equal+ opportunity+employers.+Senior+ Quality+Engineer,+New+Product +Development-2656140307+Des c+Professional+Sales+Strategy +=&+Operations+Manager+Job+ Location:+Fort+Washington,+PA, +19034+Johnson+=&+Johnson+c ompanies+are+equal+opportunity +employers.+Professional+Sales +Strategy+=&+Operations+Mana ger-6000140318+Desc+Find+m ore+Jobs+»+++Communication+ You+have+full+text+access+to+th is+OnlineOpen+article+Absolute+ Configuration+of+Beer's+Bitter+C ompounds†++Dr.+Jan+Urban2,+ DiplChem.+Clinton+J.+Dahlberg 2,+Dr.+Brian+J.+Carroll2+andPro f.+Werner+Kaminsky1,*+Article+fi rst+published+online:+13+DEC+2 012++DOI:+10.1002/anie.201208 450=&go.x=11&go.y=6									
978.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=+Metcalf+an d+Eddy&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:01:37	0.00%	0 (0.00%)	\$0.00 (0.00%
979.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=+Modern+A ustria:+Empire+&+Republic+1815 -1986+jelavich=&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:47:56	0.00%	0 (0.00%)	\$0.00 (0.00%
980.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=+Optimized +TAL+effector+nucleases+(TALE Ns)+for+use+in+treatment+of+sic kle+cell+disease&go.x=11&go.y= 16	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:08:07	0.00%	0 (0.00%)	\$0.00 (0.00%
981.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=+Polymer+ Molecular+Weight+Analysis+by+1 H+NMR+Spectroscopy&go.x=9&g o.y=12	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:39	0.00%	0 (0.00%)	\$0.00 (0.00%
982.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=+Public+par ticipation+and+the+IBWC:+Challe nges+and+options&go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
983.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=+Public+Sp here+and+Science,+Broman.pdf+ (&go.x=12&go.y=8	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%
984.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=+Sandor,+J onathan+A.+and+N.S.+Eash+(19 91).+Significance+of+ancient+agr icultural+soils+for+long-term+agr onomic+studies+and+sustainable +agricultural+research.&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:04:08	0.00%	0 (0.00%)	\$0.00 (0.00%
985.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=+Sectarian+ Politics+in+the+Persian+Gulf&go. x=14&go.y=13	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
986.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=+Temperam ent+and+sleep-wake+behaviors+f rom+infancy+to+toddlerhood.+Inf ant+and+Child+Development.&go .x=11&go.y=4	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
987.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=+water+qual ity&go.x=-805&go.y=-218	1 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:01:24	0.00%	0 (0.00%)	\$0.00 (0.00%
	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=									

	988.		1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:11:26	0.00%	0 (0.00%)	\$0.00 (0.00%
		go.y=0										
	989.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q='Listen+to+t hem':+Adolescents'+views+on+h elping+young+people+who+self-i njure&go.x=12&go.y=13	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:21	0.00%	0 (0.00%)	\$0.00 (0.00%
	990.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=0-8385-852 9-9&go.x=10&go.y=8	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:17	0.00%	0 (0.00%)	\$0.00 (0.00%
	991.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=1. McGill+A nne-Thea.+The+Right+Diet-'swee t+as'?+Journal+or+the+New+Zeal and+Medical+Association.+&go.x =8&go.y=17	1	(0.00%)	100.00%	1 (0.01%)	0.00%	45.00	01:07:33	0.00%	0 (0.00%)	\$0.00 (0.00%
	992.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=10.1007/978 -3-540-34428-5_2&go.x=13&go.y =7	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
	993.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=10.1037/002 1-843X.100.4.569+&go.x=10&go. y=9	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
	994.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=10.1038/nco mms4237&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:11	0.00%	0 (0.00%)	\$0.00 (0.00%
	995.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=10.1111/j.14 47-0349.2011.00754x&go.x=0&g o.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:29	0.00%	0 (0.00%)	\$0.00 (0.00%
	996.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=10.1126/sci signal.2004431&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:52	0.00%	0 (0.00%)	\$0.00 (0.00%
	997.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=10.1177/001 3916591233001+&go.x=12&go.y =9	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
	998.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=10.1559/152 304078784023033&go.x=16&go.y =6	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:05:38	0.00%	0 (0.00%)	\$0.00 (0.00%
	999.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=10.1586/147 37159.2013.819216&go.x=0&go.y =0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:05:44	0.00%	0 (0.00%)	\$0.00 (0.00%
	1000.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=10.3109/136 93786.2011.652201&go.x=-824& go.y=-217	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:24	0.00%	0 (0.00%)	\$0.00 (0.00%
	1001.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=1064-5462& go.x=9&go.y=11	1	(0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:02:47	0.00%	0 (0.00%)	\$0.00 (0.00%
	1002.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=12+years+a +slave&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:15:23	0.00%	0 (0.00%)	\$0.00 (0.00%
,	1003.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=18th+centur y+american+rake&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:02:41	0.00%	0 (0.00%)	\$0.00 (0.00%
	1004.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=1951+Prism &go.x=13&go.y=7	1	(0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:06:20	0.00%	0 (0.00%)	\$0.00 (0.00%
	1005.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=1966+and+ All+ThatWhen+Is+a+Literature+ Search+Done?&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:15	0.00%	0 (0.00%)	\$0.00 (0.00%
	1006.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=1984&go.x= 0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:01:10	0.00%	0 (0.00%)	\$0.00 (0.00%
	1007.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=19th+centur y+boston+society&go.x=0&go.y= 0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	61.00	00:53:55	0.00%	0 (0.00%)	\$0.00 (0.00%
	1008.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=2.++A+Holis tic+Approach+to+Sustainability+B	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:50	0.00%	0 (0.00%)	\$0.00 (0.00%

	ased+on+Pluralistic+Stewardship &go.x=0&go.y=0										
1009.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=2010+the+y ear+we+make+contact&go.x=0&g o.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:03:33	0.00%	0 (0.00%)	\$0.00 (0.00%
1010.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=4019.+Rem oval+from+unattended+motor+ve hicle&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:06:09	0.00%	0 (0.00%)	\$0.00 (0.00%
1011.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=501+portug uese+verbs&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:28	0.00%	0 (0.00%)	\$0.00 (0.00%
1012.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=8495623153 &go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:04:02	0.00%	0 (0.00%)	\$0.00 (0.00%
1013.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=974.1&go.x =0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:00:35	0.00%	0 (0.00%)	\$0.00 (0.00%
1014.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=978-192962 0884&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1015.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=9780727726 100&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	14.00	00:03:53	0.00%	0 (0.00%)	\$0.00 (0.00%
1016.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=9781118344 262&go.x=16&go.y=4	1	(0.00%)	100.00%	1 (0.01%)	0.00%	10.00	00:15:33	0.00%	0 (0.00%)	\$0.00 (0.00%
1017.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=9781133049 753&go.x=12&go.y=9	1	(0.00%)	100.00%	1 (0.01%)	0.00%	18.00	00:16:06	0.00%	0 (0.00%)	\$0.00 (0.00%
1018.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=9781412974 066&go.x=9&go.y=4	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:18:42	0.00%	0 (0.00%)	\$0.00 (0.00%
1019.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=a+&go.x=0& go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:12:23	0.00%	0 (0.00%)	\$0.00 (0.00%
1020.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=A++&go.x=0 &go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:02:54	0.00%	0 (0.00%)	\$0.00 (0.00%
1021.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=A+16,000-yr +tephra+framework+for+the+Anta rctic+ice+sheet:+a+contribution+fr om+the+new+Talos+Dome+&g o.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:01	0.00%	0 (0.00%)	\$0.00 (0.00%
1022.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=A+16,000-yr +tephra+framework+for+the+Anta rctic+ice+sheet:+a+contribution+fr om+the+new+Talos+Dome+core &go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1023.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=A+Beginner' s+Guide+to+Generalized+Additiv e+Models+with+R&go.x=0&go.y= 0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1024.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=A+brief+hist ory+of+the+internet	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:04:48	0.00%	0 (0.00%)	\$0.00 (0.00%
1025.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=a+cancer+th erapy&go.x=8&go.y=14	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:13	0.00%	0 (0.00%)	\$0.00 (0.00%
1026.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=A+century+ of+climate+and+ecosystem+chan ge+in+Western+Montana:+what+ do+temperature+trends+portend? &go.x=-727&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1027.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=A+chat+with +chaplin&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:03	0.00%	0 (0.00%)	\$0.00 (0.00%
1028.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=A+Clinical+ Guide+to+the+Treatment+of+the +Human+Stress+Response&go.x =11&go.y=10	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
	/search?s.fvf[]=ContentType,New										

1029.	spaper+Article,t&s.q=A+combined +syndrome+of+juvenile+polyposis +and+hereditary+haemorrhagic+t elangiectasia+associated+with+m utations+in+MADH4+(SMAD4).&g o.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	0.00%	93.00	01:59:32	0.00%	0 (0.00%)	\$0.00 (0.00%
1030.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=A+composit e+index+of+sustainable+develop ment+at+the+local+scale:+ltaly+a s+a+case+study&go.x=9&go.y=1 1	1	(0.00%)	0.00%	0 (0.00%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1031.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=A+Cultural+ Model+of+Farmer+Land+Conserv ation&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1032.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=A+feminist+ perspective+on+rhetorical+theory: +Toward+a+clarification+of+boun daries&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	0.00%	5.00	00:05:39	0.00%	0 (0.00%)	\$0.00 (0.00%
1033.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=A+framewor k+for+the+analysis+of+sustainabil ity+indicator+systems+in+fisherie s&go.x=13&go.y=6	1	(0.00%)	0.00%	0 (0.00%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1034.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=A+game+of +thrones&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	0.00%	10.00	00:02:23	0.00%	0 (0.00%)	\$0.00 (0.00%
1035.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=a+geobased +national+agricultural+policy+for+ rural+community+enhancement& go.x=-617&go.y=-217	1	(0.00%)	0.00%	0 (0.00%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1036.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=A+handboo k+for+Counseling+International+ Students+in+the+United+States& go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	0.00%	3.00	00:03:56	0.00%	0 (0.00%)	\$0.00 (0.00%
1037.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=a+history+of +the+english+words&go.x=9&go. y=4	1	(0.00%)	0.00%	0 (0.00%	0.00%	3.00	00:00:44	0.00%	0 (0.00%)	\$0.00 (0.00%
1038.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=a+long+way +gone&go.x=7&go.y=14	1	(0.00%)	100.00%	1 (0.01%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1039.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=A+Meta-Ana lysis+of+Parenting+and+School+Success+[microform]+:+The+Rol e+of+Parents+in+Promoting+Stud ents'+Academic+Performance+/+Charlotte+Rosenzweig,+2001&go .x=9&go.y=12	1	(0.00%)	0.00%	0 (0.00%	0.00%	2.00	00:00:49	0.00%	0 (0.00%)	\$0.00 (0.00%
1040.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=A+method+f or+reporting+self-harm+accord-+i ng+to+level+of+injury+and+locati on+on+the+body&go.x=13&go.y= 5	1	(0.00%)	0.00%	0 (0.00%	0.00%	2.00	00:01:51	0.00%	0 (0.00%)	\$0.00 (0.00%
1041.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=A+model+fo r+expressing+topological+integrit y+constraints+in+geographic+dat abases&go.x=10&go.y=9	1	(0.00%)	0.00%	0 (0.00%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1042.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=A+model+fo r+optimizing+cycling+performanc e+by+varying+power+on+hills+an d+in+wind&go.x=9&go.y=13	1	(0.00%)	0.00%	0 (0.00%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1043.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=a+movable+ feast&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	0.00%	2.00	00:00:24	0.00%	0 (0.00%)	\$0.00 (0.00%
1044.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=A+multiobje ctive+optimization+model+for+da m+removal:+an+example+trading +off+salmon+passage+with+hydr opower+&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1045.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=A+network- based+analysis+of+systemic+infl ammation+in+humans.&go.x=3&g	1	(0.00%)	100.00%	1 (0.01%	0.00%	2.00	00:00:45	0.00%	0 (0.00%)	\$0.00 (0.00%

	o.y=8										
1046.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=a+new+nati o+n+of+goods&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:12	0.00%	0 (0.00%)	\$0.00 (0.00%
1047.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=a+new+nati o+n+of+goods&go.x=10&go.y=5	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:09:54	0.00%	0 (0.00%)	\$0.00 (0.00%
1048.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=A+paris+wif e&go.x=-508&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:03:14	0.00%	0 (0.00%)	\$0.00 (0.00%
1049.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=a+possible+ effect+of+an+increase+in+the+wa rm+pool+SST+on+the+magnitude +of+&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1050.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=A+Primer+o n+Nonmarket+Valuation&go.x=15 &go.y=11	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1051.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=A+Quadtree +Adaptive+Level+Set+Method+fo r+Capturing+Interfacial+Instability +on+Cartesian+Grid&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:03:32	0.00%	0 (0.00%)	\$0.00 (0.00%
1052.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=A+qualitativ e+exploration+of+first+time+fathe rs+experience&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1053.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=A+rainbow+ of+my+own&go.x=-555&go.y=-21 7	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1054.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=A+requirem ent+for+caveolin-1+and+associat ed+kinase+fyn+in+integrin-depen dent+signaling+and+anchorage-d ependent+cell+growth.&go.x=0&g o.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1055.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=a+review+of +a+fishery&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1056.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=A+Review+ of+the+Endocrine+Activity+of+Pa rabens+and+Implications+for+Pot ential+Risks+to+Human+Health+ ++Read+More:+http://informaheal thcare.com/doi/abs/10.1080/1040 8440490920104&go.x=9&go.y=7	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:04:27	0.00%	0 (0.00%)	\$0.00 (0.00%
1057.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=A+review+o n+advances+of+torrefaction+tech nologies+for+biomass+processin g&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:15	0.00%	0 (0.00%)	\$0.00 (0.00%
1058.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=a+sense+of +wonder&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:02:11	0.00%	0 (0.00%)	\$0.00 (0.00%
1059.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=a+simple+ci pher&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:09:54	0.00%	0 (0.00%)	\$0.00 (0.00%
1060.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=A+simulatio n-based+approach+to+assess+se nsitivity+and+robustness+&go.x= 7&go.y=8	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1061.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=A+Social+W orker's+Reflections+on+Power,+P rivilege,+and+Oppression&go.x=7 &go.y=5	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1062.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=a+sunless+ heart&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:03:13	0.00%	0 (0.00%)	\$0.00 (0.00%
1063.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=A+Theory+o f+Genre+devitt&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	10.00	00:06:54	0.00%	0 (0.00%)	\$0.00 (0.00%
	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=A+Three+A										

1064.	m+for+a+Wind+Traversing+Syste m+for+a+Wind+Tunnel+and+lts+ Use+in+Turbulent+Flow+Field+M easuremen&go.x=7&go.y=11	1	(0.00%)	0.00%	0	(0.00%)	0.00%	5.00	00:02:10	0.00%	0	(0.00%)	\$0.00	(0.00%
1065.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=A+transcripti on+activator-like+effector+toolbox +for+genome+engineering&go.x= 0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	3.00	00:03:40	0.00%	0	(0.00%)	\$0.00	(0.00%
1066.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=a+treatise+o f+fluxions+in+two+books&go.x=0 &go.y=0	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
1067.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=A+Treatise+ on+the+Theory+of+Bessel+Functi ons&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:29:37	0.00%	0	(0.00%)	\$0.00	(0.00%
1068.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=A+wave+ge neration+toolbox+for+the+open-s ource+CFD+library&go.x=0&go.y =0	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
1069.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=A+wave+ge neration+toolbox+for+the+open-s ource+CFD+library&go.x=12&go.y=13	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
1070.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=A+wave+ge neration+toolbox+for+the+open-s ource+CFD+library&go.x=9&go.y =6	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:04:26	0.00%	0	(0.00%)	\$0.00	(0.00%
1071.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=AASHTO&g o.x=-727&go.y=-217	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
1072.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Aashto&go. x=14&go.y=15	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
1073.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Abiogenesis &go.x=10&go.y=7	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:00:12	0.00%	0	(0.00%)	\$0.00	(0.00%
1074.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=abortion+wo men's+rights&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:02:13	0.00%	0	(0.00%)	\$0.00	(0.00%
1075.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=above+grou nd+forest+carbon+estimates&go. x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	6.00	00:05:59	0.00%	0	(0.00%)	\$0.00	(0.00%
1076.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Abu-Lughod ,+L.+(1991).+Writing+Against+Cul ture.&go.x=12&go.y=2	1	(0.00%)	0.00%	0	(0.00%)	0.00%	3.00	00:01:39	0.00%	0	(0.00%)	\$0.00	(0.00%
1077.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Abu+Dhabi+ Gallup+Center&go.x=12&go.y=11	1	(0.00%)	0.00%	0	(0.00%)	0.00%	4.00	00:34:34	0.00%	0	(0.00%)	\$0.00	(0.00%
1078.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=academic++ achievement&go.x=0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	0.00%	7.00	00:28:12	0.00%	0	(0.00%)	\$0.00	(0.00%
1079.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=academic+j ournals&go.x=-653&go.y=-217	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
1080.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=academic+s earch+&go.x=11&go.y=11	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:02:20	0.00%	0	(0.00%)	\$0.00	(0.00%
1081.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=academic+s uccess&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	7.00	00:03:31	0.00%	0	(0.00%)	\$0.00	(0.00%
1082.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=acadians+of +nova+scotia&go.x=0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	0.00%	9.00	00:10:02	0.00%	0	(0.00%)	\$0.00	(0.00%
1083.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=acceptance +hearing+loss&go.x=-649&go.y=- 217	1	(0.00%)	100.00%	1	(0.01%)	0.00%	20.00	00:30:33	0.00%	0	(0.00%)	\$0.00	(0.00%
1084.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=accountabilit y+in+teenage+dating+violence&g o.x=0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
	/search?s.fvffl=ContentTvpe.New													

1085.	spaper+Article,t&s.q=achilles+ten don+lllt+ultrasound+thesis&go.x= 0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1086.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=ACI+357.2& go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1087.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=acoustic+gui tars	1	(0.00%)	0.00%	0 (0.00%	0.00%	8.00	00:18:39	0.00%	0 (0.00%)	\$0.00 (0.00%
1088.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=acting:on+st age+and+off&go.x=15&go.y=8	1	(0.00%)	100.00%	1 (0.01%	0.00%	2.00	00:00:10	0.00%	0 (0.00%)	\$0.00 (0.00%
1089.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=actuary&go. x=6&go.y=9	1	(0.00%)	100.00%	1 (0.01%	0.00%	7.00	00:01:59	0.00%	0 (0.00%)	\$0.00 (0.00%
1090.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=adair+fame +and+founding+fathers&go.x=0& go.y=0	1	(0.00%)	0.00%	0 (0.00%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1091.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=adaptability &go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	0.00%	2.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%
1092.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=adaptability +the+new+competitive+advantag e&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1093.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Adaptability +the+new+competitive+advantag e&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	0.00%	2.00	00:15:27	0.00%	0 (0.00%)	\$0.00 (0.00%
1094.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=adaptive+vs +maladaptive+perfectionism&go.x =14&go.y=4	1	(0.00%)	0.00%	0 (0.00%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1095.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=adhd&go.x= 0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	0.00%	53.00	01:35:28	0.00%	0 (0.00%)	\$0.00 (0.00%
1096.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=adhd&go.x= 15&go.y=4	1	(0.00%)	100.00%	1 (0.01%	0.00%	3.00	00:00:52	0.00%	0 (0.00%)	\$0.00 (0.00%
1097.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=ADHD+ped	1	(0.00%)	100.00%	1 (0.01%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1098.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=adjunct+fac ulty+support	1	(0.00%)	100.00%	1 (0.01%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1099.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Adolescenc e+and+gender&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	0.00%	2.00	00:00:35	0.00%	0 (0.00%)	\$0.00 (0.00%
1100.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=adolescenc e+AND+relation+AND+technolog y&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	0.00%	5.00	00:02:15	0.00%	0 (0.00%)	\$0.00 (0.00%
1101.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=adolescents +and+social+media&go.x=0&go.y =0	1	(0.00%)	100.00%	1 (0.01%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1102.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=adoption+fat her+bond&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1103.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Adult-adoles cent+Parenting+Inventory,+AAPI- 2+:+Assessing+high-risk+parentin g+attitudes+and+behaviors&go.x =6&go.y=9	1	(0.00%)	100.00%	1 (0.01%	0.00%	8.00	00:12:23	0.00%	0 (0.00%)	\$0.00 (0.00%
1104.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Adult+lifetim e+prevalence+of+firesetting+beh aviors+in+a+state+hospital+popul ation&go.x=9&go.y=6	1	(0.00%)	0.00%	0 (0.00%	0.00%	2.00	00:00:35	0.00%	0 (0.00%)	\$0.00 (0.00%
1105.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Adult+neuro genesis+and+its+role+in+neurops ychiatric+disease,+brain+repair+a nd+normal+brain+function&go.x=6&go.y=12	1	(0.00%)	100.00%	1 (0.01%	0.00%	5.00	00:25:54	0.00%	0 (0.00%)	\$0.00 (0.00%
1106.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=adult+obesit	1	(0.00%)	100.00%	1 (0.01%	0.00%	10.00	00:18:36	0.00%	0 (0.00%)	\$0.00 (0.00%

	y&go.x=10&go.y=9										
1107.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=adult+ocd&g o.x=7&go.y=9	1	(0.00%)	100.00%	1 (0.01%	0.00%	10.00	00:07:42	0.00%	0 (0.00%)	\$0.00 (0.00%
1108.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=adults&go.x =0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	0.00%	6.00	00:13:29	0.00%	0 (0.00%)	\$0.00 (0.00%
1109.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Advanced+c ancers.+Eradication+in+all+cases +using+3-bromopyruvate+therapy +to+deplete+ATP.&go.x=0&go.y= 0	1	(0.00%)	0.00%	0 (0.00%) 100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1110.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=advanced+o ncology+certification&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1111.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=advanced+o ncology+nursing+certification+revi ew&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1112.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Advances+i n+Predicting+the+Impacts+of+Gl obal+Warming+on+the+Mussels+Mytilus+galloprovincialis+in+the+Mediterranean+Sea&go.x=-641&go.y=-217	1	(0.00%)	0.00%	0 (0.00%	0.00%	2.00	00:01:07	0.00%	0 (0.00%)	\$0.00 (0.00%
1113.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Aerodynami c+design+of+a+kinetic+sculpture &go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1114.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Aesthetic+A nxiety+johnson&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	0.00%	2.00	00:00:07	0.00%	0 (0.00%)	\$0.00 (0.00%
1115.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Afghanistan +women+&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	0.00%	4.00	00:01:41	0.00%	0 (0.00%)	\$0.00 (0.00%
1116.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=agatha&go. x=8&go.y=5	1	(0.00%)	100.00%	1 (0.01%	0.00%	15.00	00:04:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1117.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=aging+popul ation&go.x=-654&go.y=-217	1	(0.00%)	0.00%	0 (0.00%	0.00%	8.00	00:20:07	0.00%	0 (0.00%)	\$0.00 (0.00%
1118.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=agriculture+ census&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	0.00%	2.00	00:00:42	0.00%	0 (0.00%)	\$0.00 (0.00%
1119.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=agro-ecosys tem&go.x=2&go.y=9	1	(0.00%)	100.00%	1 (0.01%	0.00%	5.00	00:03:07	0.00%	0 (0.00%)	\$0.00 (0.00%
1120.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=AGUIRRE+ TINOCO,+Humberto,+1983.+Son es+de+la+tierra+y+cantares+jaro chos.+México:+Premiá.&go.x=4& go.y=5	1	(0.00%)	0.00%	0 (0.00%	0.00%	3.00	00:01:23	0.00%	0 (0.00%)	\$0.00 (0.00%
1121.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=ainu+mythol ogy&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	0.00%	4.00	00:05:46	0.00%	0 (0.00%)	\$0.00 (0.00%
1122.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Al+Sammak +cyanobacteria&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1123.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=alain+robbe-grillet&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	0.00%	18.00	00:08:29	0.00%	0 (0.00%)	\$0.00 (0.00%
1124.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Alaska+Hea lth&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1125.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=albion&go.x = 0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	0.00%	6.00	00:02:42	0.00%	0 (0.00%)	\$0.00 (0.00%
1126.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=alcatraz&go. x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	0.00%	11.00	00:09:32	0.00%	0 (0.00%)	\$0.00 (0.00%
1127.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Alcohol+Exp ectancy+and+the+Relationship+B etween+Drinking+and+Physical+	1	(0.00%)	0.00%	0 (0.00%	0.00%	4.00	00:05:15	0.00%	0 (0.00%)	\$0.00 (0.00%

	Aggression&go.x=14&go.y=5										
1128.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Alcohol+use +in+pregnant+low-income+wome n&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1129.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Alcott&go.x =0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:24	0.00%	0 (0.00%)	\$0.00 (0.00%
1130.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Alessandro+ Duranti+language+inequality&go. x=-676&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:12	0.00%	0 (0.00%)	\$0.00 (0.00%
1131.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Alexander+ Street+Counseling&go.x=15&go.y =9	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1132.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=alexander+v on+humboldt&go.x=-646&go.y=-2 17	1	(0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:15:44	0.00%	0 (0.00%)	\$0.00 (0.00%
1133.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Alfred+Stieg litz:+An+American+Seer.&go.x=0 &go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1134.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=algorithms+ computer+science&go.x=0&go.y= 0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:06:22	0.00%	0 (0.00%)	\$0.00 (0.00%
1135.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=alison+good man&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:35	0.00%	0 (0.00%)	\$0.00 (0.00%
1136.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Allen,+JoBe th+(2010).+Literacy+in+the+Welc oming+Classroom:+Creating+Fa mily-School+Partnerships+that+S upport+Student+Learning&go.x=0 &go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%
1137.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=alloparentin g&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	17.00	00:11:57	0.00%	0 (0.00%)	\$0.00 (0.00%
1138.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=alpaca+cocc idosis&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:13:21	0.00%	0 (0.00%)	\$0.00 (0.00%
1139.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Alpha+6+int egrin+distribution+in+human+em bryonic+and+adult+tissues.&go.x =7&go.y=17	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1140.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=ALS+NEbra ska&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:37:57	0.00%	0 (0.00%)	\$0.00 (0.00%
1141.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=alterity+politi cs&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	51.00	02:33:04	0.00%	0 (0.00%)	\$0.00 (0.00%
1142.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Altman,+La wrence+K.+"When+Peer+Review +Produces+Unsound+Science."+ New+York+Times,+Jun+11,+200 2,+6.&go.x=4&go.y=8	1	(0.00%)	0.00%	0 (0.00%)	0.00%	25.00	00:46:25	0.00%	0 (0.00%)	\$0.00 (0.00%
1143.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Alzheimer's +disease+and+the+amyloid-beta+ peptide.&go.x=9&go.y=7	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1144.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=alzheimers& go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1145.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=amelanchier &go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:02:51	0.00%	0 (0.00%)	\$0.00 (0.00%
1146.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=american+a ntiquity+vol+76&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:41	0.00%	0 (0.00%)	\$0.00 (0.00%
1147.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=american+e el+fishery&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1148.	/search?s.fvf[]=ContentType,New spaper+Article.t&s.g=American+F	1	(0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:03:17	0.00%	0 (0.00%)	\$0.00 (0.00%

	orests&go.x=0&go.y=0	-	(5.5575)		(3.33,17)				3133.7	(3.33.1)	(3.33)
1149.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=american+in dian+healthview&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1150.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=american+jo urnal+of+physical+anthropology& go.x=10&go.y=8	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%
1151.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=american+lit erature+Poe&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:03:07	0.00%	0 (0.00%)	\$0.00 (0.00%
1152.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=american+lo bster&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:14:56	0.00%	0 (0.00%)	\$0.00 (0.00%
1153.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=american+lo bster+distribution&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:04	0.00%	0 (0.00%)	\$0.00 (0.00%
1154.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=american+lo bster+sampling+&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1155.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=American+n aturalist&go.x=-508&go.y=-217	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1156.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=american+p uritanism&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:08:11	0.00%	0 (0.00%)	\$0.00 (0.00%
1157.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=American+S ociety+for+Microbiology&go.x=0& go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:43	0.00%	0 (0.00%)	\$0.00 (0.00%
1158.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=american+tr anscendentalism&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:01:55	0.00%	0 (0.00%)	\$0.00 (0.00%
1159.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=americian+a ssociation+of+analytical&go.x=0& go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1160.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=aminata&go .x=11&go.y=8	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1161.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=aminolysis+t o+PEG&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1162.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=aminolysis+t o+PEG&go.x=12&go.y=13	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1163.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=amphoterici n+b+in+food+animals&go.x=0&go .y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1164.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Amy+Lonetr ee,+"Museums+as+Sites+of+Dec olonization:+Truth+Telling+in+Nat ional+and+Tribal+Museums,"+in+Contesting+Knowledge:+Museum s+and+Indigenous+Perspectives, +&go.x=8&go.y=13	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:06:06	0.00%	0 (0.00%)	\$0.00 (0.00%
1165.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=an+amyloid ogenic+core+for+TDP-43+aggreg ation&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:36	0.00%	0 (0.00%)	\$0.00 (0.00%
1166.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=An+Audienc e+of+Artists&go.x=7&go.y=10	1	(0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:08:43	0.00%	0 (0.00%)	\$0.00 (0.00%
1167.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=An+Empire+ on+Trial:++Race+Murder+and+Ju stice+under+British+Rule&go.x=0 &go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1168.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=an+evaluati on+of+high+school+dropout+prev ention+program&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1169.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=an+Examina tion+of+the+Degtjareff+Method+f or+Determining+Soil+Organic+M	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:08	0.00%	0 (0.00%)	\$0.00 (0.00%

	atter,+and+A+Proposed+Modifica tion+of+the+Chromic+Acid+Titrati on+Method&go.x=0&go.y=0									
1170.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=An+experim ental+analysis+of+the+effectiven ess+of+"shaping"+in+reducing+m aladaptive+avoidance+behavior:+An+analogue+study&go.x=15&go.y=10	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1171.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=an+inquiry+ considering+the+principles+of+m orals&go.x=5&go.y=12	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1172.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=An+integrat ed+food+web+model+to+test+the +impact+of+fisheries+manageme nt+scenarios+on+the+coastal+ec osystem+of+Vietnam&go.x=6&go.y=11	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1173.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=An+introduc tion+to+discourse+analysis:+The ory+and+method.&go.x=6&go.y= 9	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:21	0.00%	0 (0.00%)	\$0.00 (0.00%
1174.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=an+introduct ion+to+linear+algeba+whitelwaw &go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:08	0.00%	0 (0.00%)	\$0.00 (0.00%
1175.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=An+Introduc tion+to+Statistical+Concepts&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:09:14	0.00%	0 (0.00%)	\$0.00 (0.00%
1176.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=An+Introduc tion+to+Statistical+Concepts&go. x=11&go.y=12	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1177.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=An+oppone nt-process+theory+of+color+visio n	1 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:06:38	0.00%	0 (0.00%)	\$0.00 (0.00%
1178.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=An+optimal +property+of+the+&go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:02:15	0.00%	0 (0.00%)	\$0.00 (0.00%
1179.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=An+overvie w+of+the+safety+of+sucralose&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:39:32	0.00%	0 (0.00%)	\$0.00 (0.00%
1180.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=An+oxygen +adduct+of+cobaltocene&go.x=8 &go.y=12	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1181.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Analysis+M odeling+and+Optimization+of+a+ Smart+Sulky+&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:21	0.00%	0 (0.00%)	\$0.00 (0.00%
1182.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Analysis+of +High+Accuracy+Conservation-El ement+and+Solution-Element+Sc hemes+&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:03:59	0.00%	0 (0.00%)	\$0.00 (0.00%
1183.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=anatomy+& go.x=-503&go.y=-219	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:21	0.00%	0 (0.00%)	\$0.00 (0.00%
1184.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Ancestry&g o.x=-508&go.y=-217	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:45	0.00%	0 (0.00%)	\$0.00 (0.00%
1185.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Ancient+Gor gons&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	12.00	00:20:58	0.00%	0 (0.00%)	\$0.00 (0.00%
1186.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=andrade+19 10&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	81.00	01:50:07	0.00%	0 (0.00%)	\$0.00 (0.00%
1187.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=andrew+jen ks+room+335&go.x=3&go.y=7	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:02:42	0.00%	0 (0.00%)	\$0.00 (0.00%
1188.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=andrew+port	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%

	er&go.x=0&go.y=0									
1189.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Andy+Golds worthy&go.x=-720&go.y=-217	1 (0.00	100.00%	1 (0.01%)	0.00%	12.00	00:06:43	0.00%	0 (0.00%)	\$0.00 (0.00%
1190.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Andy+Golds worthy&go.x=14&go.y=4	1 (0.00	0.00%	0 (0.00%)	0.00%	4.00	00:00:14	0.00%	0 (0.00%)	\$0.00 (0.00%
1191.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Angiogenesi s+and+hereditary+hemorrhagic+t elangiectasia.+Rendu-Osler-Web er+disease.&go.x=0&go.y=0	1 (0.00	0.00%	0 (0.00%)	0.00%	3.00	00:00:58	0.00%	0 (0.00%)	\$0.00 (0.00%
1192.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Anglo-Ameri can+Relations:+Contemporary+P erspectives+(Routledge+Advance s+in+International+Relations+and +Global+Politics)&go.x=0&go.y=0	1 (0.00	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1193.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=angular&go. x=0&go.y=0	1 (0.00	0.00%	0 (0.00%)	0.00%	4.00	00:00:26	0.00%	0 (0.00%)	\$0.00 (0.00%
1194.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Animal,+Ve getable,+Mineral&go.x=10&go.y= 8	1 (0.00	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1195.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Animal+Con servation&go.x=0&go.y=0	1 (0.00	0.00%	0 (0.00%)	0.00%	11.00	00:05:11	0.00%	0 (0.00%)	\$0.00 (0.00%
1196.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Animal+mod els+of+human+disease:+zebrafis h+swim+into+view.&go.x=0&go.y =0	1 (0.00	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1197.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Animal+Mod els+of+Vascular+Development+a nd+Endothelial+Cell+Biology&go. x=0&go.y=0	1 (0.00	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1198.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=animal+right s+&go.x=0&go.y=0	1 (0.00	0.00%	0 (0.00%)	0.00%	6.00	00:08:44	0.00%	0 (0.00%)	\$0.00 (0.00%
1199.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=ann+quin+e venson&go.x=0&go.y=0	1 (0.00	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1200.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=anna+henry &go.x=0&go.y=0	1 (0.00	100.00%	1 (0.01%)	0.00%	2.00	00:00:20	0.00%	0 (0.00%)	\$0.00 (0.00%
1201.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=annabel+lee &go.x=0&go.y=0	1 (0.00	0.00%	0 (0.00%)	0.00%	11.00	00:00:57	0.00%	0 (0.00%)	\$0.00 (0.00%
1202.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=annals+of+ mathematics&go.x=0&go.y=0	1 (0.00	0.00%	0 (0.00%)	0.00%	2.00	00:00:53	0.00%	0 (0.00%)	\$0.00 (0.00%
1203.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=anne+ruggle s+gere&go.x=-653&go.y=-217	1 (0.00	0.00%	0 (0.00%)	0.00%	3.00	00:01:34	0.00%	0 (0.00%)	\$0.00 (0.00%
1204.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=annie+musi cal&go.x=-689&go.y=-217	1 (0.00	100.00%	1 (0.01%)	0.00%	6.00	00:01:13	0.00%	0 (0.00%)	\$0.00 (0.00%
1205.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=annies+gho st&go.x=17&go.y=15	1 (0.00	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1206.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=annotated+t uring&go.x=0&go.y=0	1 (0.00	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1207.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=annual+tow n+report&go.x=7&go.y=5	1 (0.00	100.00%	1 (0.01%)	0.00%	10.00	00:04:21	0.00%	0 (0.00%)	\$0.00 (0.00%
1208.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Antecedent +Genre+as+Rhetorical+Constrain t&go.x=10&go.y=8	1 (0.00	100.00%	1 (0.01%)	0.00%	4.00	00:03:49	0.00%	0 (0.00%)	\$0.00 (0.00%
1209.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=antecedent+ genre+giltrow&go.x=-640&go.y=-217	1 (0.00	0.00%	0 (0.00%)	0.00%	9.00	00:35:15	0.00%	0 (0.00%)	\$0.00 (0.00%
1210	/search?s.fvf[]=ContentType,New	1 (0.0)	100 00%	1 (0.01%)	100 00%	1 00	00.00.00	n nn%	0 (0.00%)	\$0.00 (0.00%

1210.	y&go.x=0&go.y=0	. (0.00)	100.0070	1 (0.0170)	100.0070	1.00	00.00.00	0.00 /0	(0.0070)	ψο.οο (ο.οο κ
1211.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Antibody-dir ected+coupling+of+endoglin+and +MMP-14+is+a+key+mechanism +for+endoglin+shedding+and+der egulation+of+TGF-β+signaling.&g o.x=0&go.y=0	1 (0.00%	0.00%	0 (0.00%)	0.00%	7.00	00:19:47	0.00%	0 (0.00%)	\$0.00 (0.00%
1212.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Antimicrobia l+screening+of+essential+oils+an d+extracts+of+some+Humulus+lu pulus+L.+cultivars.&go.x=-647&g o.y=-217	1 (0.00%	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1213.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=antisocial+p ersonality+disorder&go.x=-669&g o.y=-219	1 (0.00%	0.00%	0 (0.00%)	0.00%	26.00	00:46:55	0.00%	0 (0.00%)	\$0.00 (0.00%
1214.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=antisocial+p ersonality+disorder+statistics&go. x=-616&go.y=-217	1 (0.00%	0.00%	0 (0.00%)	0.00%	9.00	00:52:27	0.00%	0 (0.00%)	\$0.00 (0.00%
1215.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=antiviral+im munity&go.x=0&go.y=0	1 (0.00%	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1216.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Anuran+calli ng+survey++Surveys+will+be+co nducted+three+times+(early+spri ng,+late+spring,+early+summer)+ per+pool+throughout+the+spring+ and+summer,+following+the+Mai ne+Amphibian+Monitoring+Progr am+protocol.++The+minimum+te mperature+criteria+for+each+of+t he+sampling+times+are:+42F+(e arly+spring),+55F+(late+spring),+ and+68F+(early+summer).++Surv eys+will+be+started+at+least+a+ half+an+hour+after+sunset+and+ completed+by+1am.++A+listening+location+will+be+established+within+5m+of+each+pool+and+will+be+used+for+all+surveys+at+each+pool.++Surveys+will+be+preceded+by+a+3+minute+settling+period+and+will+be+5+minutes+in+duration.++Species+presence+will+be+recorded.++Calling+intensity+(e.g.,+as+designated+by+category+"1",+"2",+or+"3"+on+the+MAMP+data+sheet)+will+be+recorded;+however,+due+to+the+inability+to+accurately+link+calling+intensity+to+accurately+link+calling+intensity+to+accurately+link+calling+intensity+to+acd+bill+not+be+used+in+further+analyses+(CITE+Pellet+et+al.+2007).&go.x=0&go.y=0	1 (0.00%	0.00%	O (0.00%)	0.00%	3.00	00:00:30	0.00%	O (0.00%)	\$0.00 (0.00%
1217.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=anxiety+and +college+students&go.x=9&go.y= 1	1 (0.00%	0.00%	0 (0.00%)	0.00%	9.00	00:08:54	0.00%	0 (0.00%)	\$0.00 (0.00%
1218.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Apache+Od yssey:+A+Journey+Between+Tw o+Worlds&go.x=-634&go.y=-217	1 (0.00%	0.00%	0 (0.00%)	0.00%	3.00	00:03:16	0.00%	0 (0.00%)	\$0.00 (0.00%
1219.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=apess+and+ douglas&go.x=0&go.y=0	1 (0.00%	100.00%	1 (0.01%)	0.00%	5.00	00:01:39	0.00%	0 (0.00%)	\$0.00 (0.00%
1220.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=apomixis&g o.x=0&go.y=0	1 (0.00%	0.00%	0 (0.00%)	0.00%	2.00	00:00:33	0.00%	0 (0.00%)	\$0.00 (0.00%
1221.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Apomixis+in +higher+plants.+Part+I.+The+me chanisms+of+apomixis&go.x=11& go.y=7	1 (0.00%	0.00%	0 (0.00%)	0.00%	5.00	00:01:32	0.00%	0 (0.00%)	\$0.00 (0.00%
1222.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Appalachian +Trail&go.x=-679&go.y=-217	1 (0.00%	0.00%	0 (0.00%)	0.00%	65.00	01:07:15	0.00%	0 (0.00%)	\$0.00 (0.00%
1223.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Application+ of+nisin+and+pediocin+against+r esistance+and+germination+of+B acillus+spores+in+sous+vide+pro	1 (0.00%	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%

	ducts&go.x=0&go.y=0										
1224	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=applied+mat h&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	0.00%	4.00	00:00:55	0.00%	0 (0.00%)	\$0.00 (0.00%
1225	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Applied+Sta tistics&go.x=8&go.y=10	1	(0.00%)	100.00%	1 (0.01%	0.00%	4.00	00:05:51	0.00%	0 (0.00%)	\$0.00 (0.00%
1226	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Apuleius+C upid+and+Psyche&go.x=0&go.y= 0	1	(0.00%)	100.00%	1 (0.01%	0.00%	4.00	00:09:01	0.00%	0 (0.00%)	\$0.00 (0.00%
1227	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Apuleius+C upid+and+Psyche&go.x=5&go.y= 14	1	(0.00%)	0.00%	0 (0.00%	0.00%	8.00	00:11:21	0.00%	0 (0.00%)	\$0.00 (0.00%
1228	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=arab+spring &go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	0.00%	5.00	00:04:30	0.00%	0 (0.00%)	\$0.00 (0.00%
1229	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=arcgis+web +javascript&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	0.00%	4.00	00:01:34	0.00%	0 (0.00%)	\$0.00 (0.00%
1230	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=archives&go .x=11&go.y=11	1	(0.00%)	100.00%	1 (0.01%	0.00%	3.00	00:01:19	0.00%	0 (0.00%)	\$0.00 (0.00%
1231	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=archives+of +virology&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1232	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=arctic+marin e+geology&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1233	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=arctic+marin e+geology&go.x=11&go.y=2	1	(0.00%)	0.00%	0 (0.00%	0.00%	12.00	01:16:46	0.00%	0 (0.00%)	\$0.00 (0.00%
1234	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=are+psychia tric+labels+predictive&go.x=-639 &go.y=-217	1	(0.00%)	0.00%	0 (0.00%	0.00%	7.00	00:04:16	0.00%	0 (0.00%)	\$0.00 (0.00%
1235	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=ares&go.x= 0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	0.00%	3.00	00:12:01	0.00%	0 (0.00%)	\$0.00 (0.00%
1236	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=arh+493&go .x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1237	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=armory+sho w&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	0.00%	13.00	00:08:09	0.00%	0 (0.00%)	\$0.00 (0.00%
1238	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Armstrong,+ . Gary,+and+Phillip+Kotler.+Market ing:+An+Introduction,&go.x=0&go .y=0	1	(0.00%)	100.00%	1 (0.01%	0.00%	4.00	00:08:55	0.00%	0 (0.00%)	\$0.00 (0.00%
1239	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=arndal+gros s+ecosystem+production&go.x=0 &go.y=0	1	(0.00%)	100.00%	1 (0.01%	0.00%	38.00	00:43:08	0.00%	0 (0.00%)	\$0.00 (0.00%
1240	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Aroostook+ Lady&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1241	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=aroostook+ war&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	0.00%	8.00	00:03:31	0.00%	0 (0.00%)	\$0.00 (0.00%
1242	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=arranged+m arriages&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1243	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=arsenic+and +arginase&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	0.00%	6.00	00:10:46	0.00%	0 (0.00%)	\$0.00 (0.00%
1244	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Arsenic+in+ groundwater+in+eastern+New+E ngland:+Occurrence,+controls,+a nd+human+health+implications&g o.x=-641&go.y=-217	1	(0.00%)	0.00%	0 (0.00%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1245	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=art&go.x=0& go.y=0	1	(0.00%)	100.00%	1 (0.01%	0.00%	2.00	00:01:38	0.00%	0 (0.00%)	\$0.00 (0.00%
	/search?s.fvf[]=ContentType,New										

13	246.	spaper+Article,t&s.q=articles+and +journals&go.x=-727&go.y=-217	1	(0.00%)	100.00%	1 (0.	.01%)	0.00%	2.00	00:01:51	0.00%	0 (0.00%)	\$0.00	(0.00%
1:	247.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=articulation+ therapy&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.	.00%)	0.00%	7.00	00:11:55	0.00%	0 (0.00%)	\$0.00	(0.00%
1:	248.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=artstor&go.x = 0&go.y=0	1	(0.00%)	100.00%	1 (0.	.01%)	0.00%	5.00	00:01:16	0.00%	0 (0.00%)	\$0.00	(0.00%
1:	249.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=asd&go.x=0 &go.y=0	1	(0.00%)	0.00%	0 (0.	.00%)	0.00%	15.00	00:42:29	0.00%	0 (0.00%)	\$0.00	(0.00%
1:	250.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=ASD+Strate gies+Teaching+Skills+Students& go.x=6&go.y=13	1	(0.00%)	0.00%	0 (0.	.00%)	0.00%	19.00	00:21:03	0.00%	0 (0.00%)	\$0.00	(0.00%
1:	251.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Aseptic+pro cessing+of+liquid+and+particulat e+foods&go.x=5&go.y=8	1	(0.00%)	0.00%	0 (0.	.00%)	0.00%	3.00	00:00:36	0.00%	0 (0.00%)	\$0.00	(0.00%
1:	252.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=asian+cine ma&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.	.01%)	0.00%	6.00	00:01:48	0.00%	0 (0.00%)	\$0.00	(0.00%
1:	253.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=asl&go.x=0 &go.y=0	1	(0.00%)	0.00%	0 (0.	.00%)	0.00%	3.00	00:00:16	0.00%	0 (0.00%)	\$0.00	(0.00%
1:	254.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=ASMR&go.x =0&go.y=0	1	(0.00%)	0.00%	0 (0.	.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
1:	255.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=asp.net&go. x=0&go.y=0	1	(0.00%)	0.00%	0 (0.	.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
1:	256.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=aspartame+ and+diet+soda&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.	.00%)	0.00%	19.00	00:28:39	0.00%	0 (0.00%)	\$0.00	(0.00%
1:	257.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Assessing+t he+condition+of+the+Missouri,+O hio,+and+Upper+Mississippi+river s+(USA)+using+diatom-based+in dicators&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.	.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
1:	258.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Assessing+t he+Feasibility+of+Low+Density+L iDAR+for+Stand+Inventory+Attrib ute+Predictions+in+Complex+and+Managed+Forests+of+Northern+Maine+USA&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.	.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
1:	259.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=assessing+ writing&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.	.01%)	0.00%	6.00	00:07:00	0.00%	0 (0.00%)	\$0.00	(0.00%
1:	260.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=assessment +for+children+with+autism+spectr um+disorder&go.x=15&go.y=10	1	(0.00%)	0.00%	0 (0.	.00%)	0.00%	2.00	00:01:12	0.00%	0 (0.00%)	\$0.00	(0.00%
1:	261.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Assessment +of+biotic+integrity+using+fish+c ommunities&go.x=11&go.y=12	1	(0.00%)	0.00%	0 (0.	.00%)	0.00%	3.00	00:17:12	0.00%	0 (0.00%)	\$0.00	(0.00%
1:	262.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=assessment +of+students+with+severe+needs &go.x=-734&go.y=-217	1	(0.00%)	0.00%	0 (0.	.00%)	0.00%	6.00	00:00:46	0.00%	0 (0.00%)	\$0.00	(0.00%
1:	263.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=assessment s+for+articulation&go.x=10&go.y= 5	1	(0.00%)	0.00%	0 (0.	.00%)	0.00%	16.00	00:10:28	0.00%	0 (0.00%)	\$0.00	(0.00%
1:	264.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Assistive+D evices+for+Balance+and+Mobility :+Benefits,+Demands,+and+Adve rse+Consequences.+&go.x=10&g o.y=12	1	(0.00%)	0.00%	0 (0.	.00%)	0.00%	5.00	00:05:42	0.00%	0 (0.00%)	\$0.00	(0.00%
12	265.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Association s+between+adult+attachment+ch aracteristics,+medical+burden,+a nd+life+satisfaction+among+older +primary+care+patients.&go.x=7 &go.y=13	1	(0.00%)	0.00%	0 (0.	.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%

1266.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=astm&go.x= 0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:11	0.00%	0 (0.00%)	\$0.00 (0.00%
1267.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=ASTM+stan dards+Digital+Library&go.x=12&g o.y=7	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1268.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=asvab&go.x =0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:03:15	0.00%	0 (0.00%)	\$0.00 (0.00%
1269.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=athletics&go .x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:01:06	0.00%	0 (0.00%)	\$0.00 (0.00%
1270.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=ATIC&go.x= 0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:23	0.00%	0 (0.00%)	\$0.00 (0.00%
1271.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=atmospheric +carbon+dioxide+50+mya&go.x= 0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:09:03	0.00%	0 (0.00%)	\$0.00 (0.00%
1272.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=atmospheric +environment&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1273.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=atmospheric +warming+and+the+amplification +of+percipitation+&go.x=0&go.y= 0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:04	0.00%	0 (0.00%)	\$0.00 (0.00%
1274.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=attendance+ and+progress+in+articulation+the rapy&go.x=9&go.y=7	1	(0.00%)	0.00%	0 (0.00%)	0.00%	129.00	02:08:58	0.00%	0 (0.00%)	\$0.00 (0.00%
1275.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=attnetion&g o.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:19:15	0.00%	0 (0.00%)	\$0.00 (0.00%
1276.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=auction+rate +securities&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:10:18	0.00%	0 (0.00%)	\$0.00 (0.00%
1277.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=audio+book &go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	12.00	00:06:37	0.00%	0 (0.00%)	\$0.00 (0.00%
1278.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Auditory,+ta ctile,+and+audiotactile+informatio n+processing+following+visual+d eprivation.&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:06:56	0.00%	0 (0.00%)	\$0.00 (0.00%
1279.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=August+Osa ge+County&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1280.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=aulacoseira +phosphate&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1281.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Aurelie+ma +soeur&go.x=9&go.y=11	1	(0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:01:44	0.00%	0 (0.00%)	\$0.00 (0.00%
1282.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Authoritative +Parenting&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1283.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=autism&go.x =9&go.y=11	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:37	0.00%	0 (0.00%)	\$0.00 (0.00%
1284.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Autism&go. x=9&go.y=2	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1285.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=autism+&go. x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	13.00	00:35:05	0.00%	0 (0.00%)	\$0.00 (0.00%
1286.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Autism+com munication	1	(0.00%)	100.00%	1 (0.01%)	0.00%	36.00	01:47:21	0.00%	0 (0.00%)	\$0.00 (0.00%
1287.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=autism+in+y oung+children&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:37	0.00%	0 (0.00%)	\$0.00 (0.00%
1288.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=autism+indic ators&go.x=-734&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:12:57	0.00%	0 (0.00%)	\$0.00 (0.00%
	/search?s fvffl=ContentTvne New										

1289.	spaper+Article,t&s.q=auto+parts+i ndustry&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:19:02	0.00%	0 (0.00%)	\$0.00 (0.00%
1290.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Autoinhibitio n+and+phosphorylation-induced+ activation+of+phospholipase+C-v +isozymes.&go.x=3&go.y=9	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1291.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=automobiles &go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:08:12	0.00%	0 (0.00%)	\$0.00 (0.00%
1292.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=autsim&go.x =0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	17.00	00:04:47	0.00%	0 (0.00%)	\$0.00 (0.00%
1293.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=average+ag e+of+acquisition+of+incontractibl e+copula+verb+past+tense+plural &go.x=12&go.y=7	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:42	0.00%	0 (0.00%)	\$0.00 (0.00%
1294.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Awakening+ Islam:+The+Politics+of+Religious +Dissent+in+Contemporary+Saud i+Arabia&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1295.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=AWWA+M2 2&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1296.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=AWWA+M3 2&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:38:26	0.00%	0 (0.00%)	\$0.00 (0.00%
1297.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Azarbayjan &go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:00:50	0.00%	0 (0.00%)	\$0.00 (0.00%
1298.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=azelia&go.x =-508&go.y=-217	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1299.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Azerbaijan+ nuclear+secuirty&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	9.00	00:06:30	0.00%	0 (0.00%)	\$0.00 (0.00%
1300.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=babesia+mo ose&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:52	0.00%	0 (0.00%)	\$0.00 (0.00%
1301.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=baccalaurea te+competencies&go.x=11&go.y= 13	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1302.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Bach+cantat a+30&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:05:33	0.00%	0 (0.00%)	\$0.00 (0.00%
1303.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=bad+little+fa lls&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:01:20	0.00%	0 (0.00%)	\$0.00 (0.00%
1304.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=bad+parents +create+bad+parents&go.x=-596 &go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:07:02	0.00%	0 (0.00%)	\$0.00 (0.00%
1305.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Bagby,+R.+ M.,+&+Parker,+J.+D.+A.+(2001). +Relation+of+rumination+and+dis traction+with+neuroticism+and=& go.x=8&go.y=6	1	(0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:37:29	0.00%	0 (0.00%)	\$0.00 (0.00%
1306.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Bahktin+car nivalesque&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1307.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Bailey,+Rob ert+G.+(1996)+Ecosystem+Geogr aphy.+New+York:+Springer-Verla g.+ISBN+0-387-94586-5&go.x=13 &go.y=9	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1308.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Bangor+Atto rney+Generals+report+1866&go.x =0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:24	0.00%	0 (0.00%)	\$0.00 (0.00%
1309.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Bangor+cen sus&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
	/search?s.fvf[]=ContentType,New										

1310.	spaper+Article,t&s.q=Bangor+Dail y+News&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.019	0.00%	9.00	00:05:53	0.00%	0 (0.00%)	\$0.00	(0.00%
1311.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=bangor+mu nicipal+report&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.009	0.00%	2.00	00:00:13	0.00%	0 (0.00%)	\$0.00	(0.00%
1312.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=bangor+rep orts&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.019	0.00%	4.00	00:01:32	0.00%	0 (0.00%)	\$0.00	(0.00%
1313.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=bangor+the ological&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.019	0.00%	8.00	00:06:20	0.00%	0 (0.00%)	\$0.00	(0.00%
1314.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=barbara+ehr enreich&go.x=-587&go.y=-217	1	(0.00%)	0.00%	0 (0.009	0.00%	4.00	00:00:46	0.00%	0 (0.00%)	\$0.00	(0.00%
1315.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Barber,+No el&go.x=5&go.y=10	1	(0.00%)	100.00%	1 (0.019	0.00%	2.00	00:00:52	0.00%	0 (0.00%)	\$0.00	(0.00%
1316.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=bariatric+sur gery+and+type+2+diabetes+com plications&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.019	0.00%	12.00	00:52:53	0.00%	0 (0.00%)	\$0.00	(0.00%
1317.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Barriers+to+ adoption+of+sustainable+agricult ure+practices:+Change+agent+p erspectives&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.009	6) 0.00%	10.00	00:28:54	0.00%	0 (0.00%)	\$0.00	(0.00%
1318.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Bartlett's+F amous+Quotations&go.x=0&go.y =0	1	(0.00%)	100.00%	1 (0.019	6) 100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
1319.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=basic+coast al+engineering&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.009	6) 100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
1320.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Basic+coast al+engineering&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.009	6) 100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
1321.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=basic+physi cs&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.019	0.00%	32.00	00:30:33	0.00%	0 (0.00%)	\$0.00	(0.00%
1322.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Basics+of+q ualitative+research:+Grounded+th eory+procedures+and+technique s&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01 ⁹	6) 0.00%	2.00	00:03:40	0.00%	0 (0.00%)	\$0.00	(0.00%
1323.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=basics+of+q ualitative+research&go.x=0&go.y =0	1	(0.00%)	100.00%	1 (0.019	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
1324.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=basquiat&go .x=-805&go.y=-217	1	(0.00%)	0.00%	0 (0.009	6) 100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
1325.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=bass+guitar &go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.019	6) 100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
1326.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=bath+toys+f or+infants&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.009	0.00%	10.00	00:04:50	0.00%	0 (0.00%)	\$0.00	(0.00%
1327.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=bats+mining &go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.009	0.00%	20.00	00:31:52	0.00%	0 (0.00%)	\$0.00	(0.00%
1328.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=battjes&go.x =0&go.y=0	1	(0.00%)	0.00%	0 (0.009	0.00%	5.00	00:02:02	0.00%	0 (0.00%)	\$0.00	(0.00%
1329.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=beaches+an d+coasts&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.019	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
1330.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=beaches+an d+coasts&go.x=5&go.y=13	1	(0.00%)	0.00%	0 (0.009	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
1331.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=beaches+an d+coasts&go.x=5&go.y=9	1	(0.00%)	0.00%	0 (0.009	6) 100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
1332.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=beaches+an d+coasts&go.x=6&go.y=17	1	(0.00%)	0.00%	0 (0.009	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
1000	/search?s.fvf[]=ContentType,New	4		400 000/	4	100 000/	4.00	22.22.22	0.000/	2	20.00	

	1333.	spaper+Article,t&s.q=beaches+an d+coasts&go.x=7&go.y=14	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
	1334.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=beaches+an d+coasts&go.x=7&go.y=9	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
•	1335.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Bears&go.x =0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	23.00	01:10:49	0.00%	0 (0.00%)	\$0.00 (0.00%
	1336.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Becoming+ Rivals:+The+Process+of+Interstat e+Rivalry+Development+&go.x=0 &go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
,	1337.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=bed+sores& go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	20.00	00:26:51	0.00%	0 (0.00%)	\$0.00 (0.00%
	1338.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Bedtime+St ories+and+Book+Reports&go.x=0 &go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:12:04	0.00%	0 (0.00%)	\$0.00 (0.00%
	1339.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Bee+Eaters &go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:12:33	0.00%	0 (0.00%)	\$0.00 (0.00%
	1340.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=beef+cow+s ominance&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:08	0.00%	0 (0.00%)	\$0.00 (0.00%
	1341.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=beevor+stali ngrad&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
	1342.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=beginning+o f+the+universe&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:05	0.00%	0 (0.00%)	\$0.00 (0.00%
	1343.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=behary&go. x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:29	0.00%	0 (0.00%)	\$0.00 (0.00%
	1344.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=belanger&g o.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:11	0.00%	0 (0.00%)	\$0.00 (0.00%
	1345.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=belize+healt hcare&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	44.00	00:32:47	0.00%	0 (0.00%)	\$0.00 (0.00%
	1346.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=belukha&go. x=-710&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
,	1347.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=benchmarks +for+managing+ecosystems+are +human+activities+natural?&go.x =0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:05:45	0.00%	0 (0.00%)	\$0.00 (0.00%
	1348.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=benefits+fro m+hydraulic+fracturing&go.x=0&g o.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	10.00	00:13:41	0.00%	0 (0.00%)	\$0.00 (0.00%
	1349.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=benito+cerin o&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:02:12	0.00%	0 (0.00%)	\$0.00 (0.00%
	1350.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=berg&go.x= 0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:40	0.00%	0 (0.00%)	\$0.00 (0.00%
	1351.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=berg+novel &go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
,	1352.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Bertensson, +Sergei+and+Jay+Leyda.+Sergei +Rachmaninoff+A+Lifetime+in+M usic&go.x=10&go.y=7	1	(0.00%)	0.00%	0 (0.00%)	0.00%	13.00	00:00:31	0.00%	0 (0.00%)	\$0.00 (0.00%
	1353.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Best+Devel opment+Practices:+Conserving+p ool-breeding+amphibians&go.x=0 &go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
	1354.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Best+Sports +Stories+&go.x=10&go.y=6	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:16	0.00%	0 (0.00%)	\$0.00 (0.00%
	1355.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=beta-amyloi d+plaques&qq x=0&qq v=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%

		a-piaqaooago.x oago.y o										
1:	356.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Beta+glucur onidase+deficiency:+Report+of+cl inical,+radiologic,+and+biochemic al+features+of+a+new+mucopoly saccharidosis&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:12:43	0.00%	0 (0.00%)	\$0.00 (0.00%
1;	357.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Beyond+En counters:+Religion,+Ethnicity,+an d+Violence+in+the+Early+Modern +Atlantic+World,+1492-1700&go. x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:21:12	0.00%	0 (0.00%)	\$0.00 (0.00%
1:	358.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Bicycle+facil ity+planning+using+GIS+and+mul ti-criteria+decision+analysis&go.x =0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1:	359.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=big+data&g o.x=9&go.y=10	1	(0.00%)	0.00%	0 (0.00%)	0.00%	45.00	00:49:58	0.00%	0 (0.00%)	\$0.00 (0.00%
1:	360.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Big+Pharma +benefits+APA&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:15	0.00%	0 (0.00%)	\$0.00 (0.00%
1:	361.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=bilingual+lan guage+development+and+disord ers&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:54	0.00%	0 (0.00%)	\$0.00 (0.00%
1;	362.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Bill+clinton+ Russia&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:41	0.00%	0 (0.00%)	\$0.00 (0.00%
1:	363.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Biochem.+J. ,+2009,+417,+621&go.x=0&go.y= 0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:40	0.00%	0 (0.00%)	\$0.00 (0.00%
1:	364.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Biochem.+J. ,+2009,+417,+621&go.x=9&go.y= 5	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:05:19	0.00%	0 (0.00%)	\$0.00 (0.00%
1:	365.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Biochem.+J. ,+2009,+417&go.x=9&go.y=2	1	(0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:03:21	0.00%	0 (0.00%)	\$0.00 (0.00%
1:	366.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Biochem.+J. ,+2009,+419,+15&go.x=10&go.y= 9	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1;	367.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=biochem+j& go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:00:44	0.00%	0 (0.00%)	\$0.00 (0.00%
1;	368.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=biochemistr y&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:51	0.00%	0 (0.00%)	\$0.00 (0.00%
1:	369.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=biochemistr y&go.x=11&go.y=4	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:28:28	0.00%	0 (0.00%)	\$0.00 (0.00%
1;	370.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=biochemistr y+for+dummies&go.x=8&go.y=14	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:27	0.00%	0 (0.00%)	\$0.00 (0.00%
1;	371.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Biochemistr y+Protein+Evolution&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:07	0.00%	0 (0.00%)	\$0.00 (0.00%
1:	372.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Biogeochem ical+hot+spots+and+hot+moment s+at+the+interface+of+terrestrial+ and+aquatic+ecosystems&go.x=0 &go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1:	373.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Biogeograp hy:+Introduction+to+Space,+Time +and+Life&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1;	374.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Biogeograp hy:+Introduction+to+Space,+Time +and+Life&go.x=11&go.y=7	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:23	0.00%	0 (0.00%)	\$0.00 (0.00%
1:	375.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Biogeograp hy&go.x=13&go.y=6	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:57	0.00%	0 (0.00%)	\$0.00 (0.00%

1376.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Biological+A ctivity+of+Extracts+of+Sargassu m+oligocystum+(Magnaye)+again st+Aquaculture+Pathogenic+Bact eria&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.	00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
1377.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=biological+c arbon+pump&go.x=-727&go.y=-2 17	1	(0.00%)	0.00%	0 (0.	00%)	0.00%	3.00	00:00:19	0.00%	0 (0.00%)	\$0.00	(0.00%
1378.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Biological+c omponents+of+sex+differences+i n+color+preference	1	(0.00%)	0.00%	0 (0.	00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
1379.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=biology&go. x=0&go.y=0	1	(0.00%)	100.00%	1 (0.	01%)	0.00%	3.00	00:00:22	0.00%	0 (0.00%)	\$0.00	(0.00%
1380.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=biology&go. x=6&go.y=7	1	(0.00%)	100.00%	1 (0.	01%)	0.00%	5.00	00:01:54	0.00%	0 (0.00%)	\$0.00	(0.00%
1381.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=biology+&go .x=0&go.y=0	1	(0.00%)	0.00%	0 (0.	00%)	0.00%	3.00	00:17:41	0.00%	0 (0.00%)	\$0.00	(0.00%
1382.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=biology+of+ odonata&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.	01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
1383.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=biology+of+ salinity+tolerance+in+a+marine+i nvertebrate&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.	00%)	0.00%	5.00	00:09:30	0.00%	0 (0.00%)	\$0.00	(0.00%
1384.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Biomechani cs+of+the+Human+Urinary+Bladd er	1	(0.00%)	100.00%	1 (0.	01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
1385.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=biometrics& go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.	00%)	0.00%	6.00	00:00:54	0.00%	0 (0.00%)	\$0.00	(0.00%
1386.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=BioOne&go. x=0&go.y=0	1	(0.00%)	100.00%	1 (0.	01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
1387.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=BIOPHYSIC S,+PHYSIOLOGICAL+ECOLOG Y,+AND+CLIMATE+CHANGE:+D oes+Mechanism+Matter?&go.x=0 &go.y=0	1	(0.00%)	0.00%	0 (0.	00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
1388.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Biosolids+a nd+Sludge+Mgmt&go.x=0&go.y= 0	1	(0.00%)	0.00%	0 (0.	00%)	0.00%	5.00	00:32:05	0.00%	0 (0.00%)	\$0.00	(0.00%
1389.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Biosolids+ef fects&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.	00%)	0.00%	7.00	00:01:24	0.00%	0 (0.00%)	\$0.00	(0.00%
1390.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Biotechnolo gy+and+molecular+biology+of+th e+alpha-glucosidase+inhibitor+ac arbose&go.x=15&go.y=10	1	(0.00%)	100.00%	1 (0.	01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
1391.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=biotic+soil+c rusts&go.x=7&go.y=14	1	(0.00%)	0.00%	0 (0.	00%)	0.00%	3.00	00:00:50	0.00%	0 (0.00%)	\$0.00	(0.00%
1392.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Bird+Censu s+Techniques&go.x=7&go.y=11	1	(0.00%)	0.00%	0 (0.	00%)	0.00%	5.00	00:03:20	0.00%	0 (0.00%)	\$0.00	(0.00%
1393.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=birds&go.x= 0&go.y=0	1	(0.00%)	100.00%	1 (0.	01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
1394.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=birth+control +measures+jas&go.x=11&go.y=8	1	(0.00%)	100.00%	1 (0.	01%)	0.00%	10.00	00:08:58	0.00%	0 (0.00%)	\$0.00	(0.00%
1395.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=birth+of+a+ market+the+us+treasury+securite s+market+from+the+great+war&g o.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.	00%)	0.00%	4.00	00:00:26	0.00%	0 (0.00%)	\$0.00	(0.00%
1396.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=birth+order+ and+articulation+disorders&go.x= 0&go.y=0	1	(0.00%)	0.00%	0 (0.	00%)	0.00%	21.00	00:24:47	0.00%	O (0.00%)	\$0.00	(0.00%

139	/search?s.fvf[]=ContentType,New 7. spaper+Article,t&s.q=bishop,+eliz abeth&go.x=12&go.y=10	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1398	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Bison+Ecolo 3. gy+and+Bison+Diplomac+y:+The +Southern+Plains+from+1800+to +1850&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:11	0.00%	0 (0.00%)	\$0.00 (0.00%
1399	/search?s.fvf[]=ContentType,New 9. spaper+Article,t&s.q=black+smok er&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:17:34	0.00%	0 (0.00%)	\$0.00 (0.00%
1400	/search?s.fvf[]=ContentType,New 5. spaper+Article,t&s.q=blackboard& go.x=6&go.y=3	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
140	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Blackwell,+ Trzesnewski+and+Dweck&go.x=-704&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:04	0.00%	0 (0.00%)	\$0.00 (0.00%
1402	/search?s.fvf[]=ContentType,New 2. spaper+Article,t&s.q=blocked+sto mata&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
140	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=bloodmeal+ &go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:02:11	0.00%	0 (0.00%)	\$0.00 (0.00%
1404	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=blueberries+ for+sal&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:06:13	0.00%	0 (0.00%)	\$0.00 (0.00%
140	/search?s.fvf[]=ContentType,New 5. spaper+Article,t&s.q=Body+Mass +Index&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:22:15	0.00%	0 (0.00%)	\$0.00 (0.00%
1400	/search?s.fvf[]=ContentType,New 5. spaper+Article,t&s.q=body+snatc hing&go.x=15&go.y=12	1	(0.00%)	0.00%	0 (0.00%)	0.00%	13.00	00:39:14	0.00%	0 (0.00%)	\$0.00 (0.00%
140	/search?s.fvf[]=ContentType,New 7. spaper+Article,t&s.q=body+snatc hing+1700&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	18.00	00:31:58	0.00%	0 (0.00%)	\$0.00 (0.00%
1408	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=bones+:+for ensiccasebook&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:07	0.00%	0 (0.00%)	\$0.00 (0.00%
1409	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=bonheoffer& go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1410	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Books,+pup D. pets,+and+sharing:+Teaching+pr eschool+children+to+share&go.x =0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:29	0.00%	0 (0.00%)	\$0.00 (0.00%
141	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=boole&go.x= 0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
141:	/search?s.fvf[]=ContentType,New 2. spaper+Article,t&s.q=bootstrap+c apitalism&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:02:17	0.00%	0 (0.00%)	\$0.00 (0.00%
141:	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=border+U.S. +Mexico&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	30.00	00:40:48	0.00%	0 (0.00%)	\$0.00 (0.00%
1414	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Boussinesq-type+formulations+for+fully+nonlinear+and+extremely+dispersive+water+waves:+derivation+and+analysis&go.x=-654&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%
1418	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Bowen,+Cat herine+Drinker+and+Barbara+vo n+Meck.+"Beloved+Friend"+The+ Story+of+Tchaikovsky+and+Nade jda+von+Meck.&go.x=13&go.y=1 2	1	(0.00%)	0.00%	0 (0.00%)	0.00%	13.00	00:00:23	0.00%	0 (0.00%)	\$0.00 (0.00%
1410	/search?s.fvf[]=ContentType,New 5. spaper+Article,t&s.q=bowerbirds& go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
141	/search?s.fvf[]=ContentType,New 7. spaper+Article,t&s.q=bracket+fun gi&go.x=5&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1418	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Brain+arom atase+and+the+control+of+male+	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%

	sexual+behavior&go.x=0&go.y=0												
1419.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Brain+Injury +Medicine,+2nd+Edition:+Principl es+and+Practice&go.x=14&go.y= 3	1	(0.00%)	0.00%	0 (0.0	00%)	0.00%	6.00	00:01:10	0.00%	0 (0.00%)	\$0.00 ((0.00%
1420.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Branching+ Out+and+Expanding+Our+Horizo ns&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.0	01%)	0.00%	3.00	00:00:35	0.00%	0 (0.00%)	\$0.00 ((0.00%
1421.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=breakfast+of +champions&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.0	01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 ((0.00%
1422.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Breaking+th e+Code+of+DNA+Binding+Specifi city+of+TAL-Type+III+Effectors&g o.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.0	00%)	0.00%	2.00	00:00:17	0.00%	0 (0.00%)	\$0.00 ((0.00%
1423.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Breast-feedi ng+and+HIV+transmission:+An+a nalysis+of+the+factors+influencin g+HIV+positive+mothers+decisio n+to+breast+feed-+A+case+study +approach"&go.x=8&go.y=4	1	(0.00%)	100.00%	1 (0.0	01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 ((0.00%
1424.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=bresnahan& go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.0	01%)	0.00%	2.00	00:00:15	0.00%	0 (0.00%)	\$0.00 ((0.00%
1425.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=brett+holme s+thesis&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.0	00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 ((0.00%
1426.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=brewing&go. x=0&go.y=0	1	(0.00%)	100.00%	1 (0.0	01%)	0.00%	2.00	00:00:33	0.00%	0 (0.00%)	\$0.00 ((0.00%
1427.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=brian+payne &go.x=-508&go.y=-217	1	(0.00%)	100.00%	1 (0.0	01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 ((0.00%
1428.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=bric&go.x=0 &go.y=0	1	(0.00%)	0.00%	0 (0.0	00%)	0.00%	4.00	00:03:40	0.00%	0 (0.00%)	\$0.00 ((0.00%
1429.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Bridging+sci ence+to+service:+Using+Rehabili tation+Research+and+Training+C enter+program+to+ensure+that+r esearch-based+knowledge+make s+a+difference&go.x=11&go.y=7	1	(0.00%)	0.00%	0 (0.0	00%)	0.00%	4.00	00:05:54	0.00%	0 (0.00%)	\$0.00 ((0.00%
1430.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=bridging+the +gap&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.0	00%)	0.00%	2.00	00:05:49	0.00%	0 (0.00%)	\$0.00 ((0.00%
1431.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Brief+CBT+f or+high+anxiety+sensitivity+decre ases+drinking+problems,+relief+a lcohol+outcome+expectancies,+a nd+conformity+drinking+motives: +Evidence+from+a+randomized+controlled+trial+++Read+More:+h ttp://informahealthcare.com/doi/ab s/10.1080/09638230600998938& go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.0	00%)	0.00%	5.00	00:02:05	0.00%	0 (0.00%)	\$0.00 ((0.00%
1432.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=broken+con versation&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.0	01%)	0.00%	8.00	00:02:40	0.00%	0 (0.00%)	\$0.00 ((0.00%
1433.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Bronchiolitis +Management+Before+and+After +the+AAP+Guidelines&go.x=12& go.y=10	1	(0.00%)	100.00%	1 (0.0	01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 ((0.00%
1434.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Brown+and +Miller+2008&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.0	01%)	0.00%	2.00	00:00:32	0.00%	0 (0.00%)	\$0.00 ((0.00%
1435.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Brown+Grim es+meta+analysis&go.x=0&go.y= 0	1	(0.00%)	0.00%	0 (0.0	00%)	0.00%	3.00	00:00:41	0.00%	0 (0.00%)	\$0.00 ((0.00%
1436.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=bruce+pratt &go.x=-654&go.y=-217	1	(0.00%)	100.00%	1 (0.0	01%)	0.00%	2.00	00:00:23	0.00%	0 (0.00%)	\$0.00 ((0.00%
	/search?s.fvf[]=ContentType,New												

143	7. spaper+Article,t&s.q=Bruce+Pratt &go.x=0&go.y=0	1 (0.00%	100.00%	1 (0.01%)	0.00%	3.00	00:04:08	0.00%	0 (0.00%)	\$0.00 (0.00%
143	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=bruce+pratt +serpents+of+blissful&go.x=0&go .y=0	1 (0.00%	100.00%	1 (0.01%)	0.00%	5.00	00:00:52	0.00%	0 (0.00%)	\$0.00 (0.00%
143	/search?s.fvf[]=ContentType,New 9. spaper+Article,t&s.q=Brucellosis& go.x=0&go.y=0	1 (0.00%	100.00%	1 (0.01%)	0.00%	21.00	00:04:56	0.00%	0 (0.00%)	\$0.00 (0.00%
144	/search?s.fvf[]=ContentType,New 0. spaper+Article,t&s.q=BUDGET+& go.x=0&go.y=0	1 (0.00%	100.00%	1 (0.01%)	0.00%	15.00	00:09:39	0.00%	0 (0.00%)	\$0.00 (0.00%
144	1. /search?s.fvf[]=ContentType,New spaper+Article,t&s.q=budras	1 (0.00%	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
144	/search?s.fvf[]=ContentType,New 2. spaper+Article,t&s.q=buffy&go.x= 0&go.y=0	1 (0.00%	100.00%	1 (0.01%)	0.00%	3.00	00:00:19	0.00%	0 (0.00%)	\$0.00 (0.00%
144	/search?s.fvf[]=ContentType,New 3. spaper+Article,t&s.q=bulgaria+im migration&go.x=0&go.y=0	1 (0.00%	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
144	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Bulletin+de+ l'Institut+océanographique+de+M onaco&go.x=11&go.y=5	1 (0.00%	100.00%	1 (0.01%)	0.00%	7.00	00:04:46	0.00%	0 (0.00%)	\$0.00 (0.00%
144	/search?s.fvf[]=ContentType,New 5. spaper+Article,t&s.q=Bush+on+th e+couch&go.x=0&go.y=0	1 (0.00%	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
144	/search?s.fvf[]=ContentType,New 6. spaper+Article,t&s.q=business+et hics+cq&go.x=5&go.y=2	1 (0.00%	100.00%	1 (0.01%)	0.00%	5.00	00:01:52	0.00%	0 (0.00%)	\$0.00 (0.00%
144	/search?s.fvf[]=ContentType,New 5. spaper+Article,t&s.q=business+fin ance&go.x=0&go.y=0	1 (0.00%	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
144	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=business+fin ance&go.x=11&go.y=10	1 (0.00%	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
144	/search?s.fvf[]=ContentType,New 9. spaper+Article,t&s.q=business+n ame+copyright&go.x=0&go.y=0	1 (0.00%	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
145	/search?s.fvf[]=ContentType,New 0. spaper+Article,t&s.q=bussniess& go.x=0&go.y=0	1 (0.00%	100.00%	1 (0.01%)	0.00%	7.00	00:03:57	0.00%	0 (0.00%)	\$0.00 (0.00%
145	/search?s.fvf[]=ContentType,New 1. spaper+Article,t&s.q=butt&go.x=0 &go.y=0	1 (0.00%	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
145	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=C-Band+Ra 2. dar+Polarimetry—Useful+for+Det ection+of+Icebergs+in+Sea+Ice? +&go.x=-637&go.y=-217	1 (0.00%	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
145	/search?s.fvf[]=ContentType,New 3. spaper+Article,t&s.q=c45na+peter +brooks&go.x=0&go.y=0	1 (0.00%	0.00%	0 (0.00%)	0.00%	6.00	00:00:57	0.00%	0 (0.00%)	\$0.00 (0.00%
145	/search?s.fvf[]=ContentType,New 4. spaper+Article,t&s.q=cabell's&go. x=11&go.y=12	1 (0.00%	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
145	/search?s.fvf[]=ContentType,New 5. spaper+Article,t&s.q=cabeza+de+ vaca&go.x=0&go.y=0	1 (0.00%	100.00%	1 (0.01%)	0.00%	4.00	00:04:58	0.00%	0 (0.00%)	\$0.00 (0.00%
145	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Caffeine-ind uced+effects+on+heart+rate+in+z ebrafish+embryos+and+possible+ mechanisms+of+action:+an+effec tive+system+for+experiments+in+ chemical+biology.&go.x=8&go.y= 9	1 (0.00%	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
145	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=caloric+swe etner+consumption+and+dyslipid emia&go.x=3&go.y=12	1 (0.00%	100.00%	1 (0.01%)	0.00%	4.00	00:01:40	0.00%	0 (0.00%)	\$0.00 (0.00%
145	/search?s.fvf[]=ContentType,New 8. spaper+Article,t&s.q=Cambridge+ history+of+food&go.x=0&go.y=0	1 (0.00%	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
145	/search?s.fvf[]=ContentType,New 9. spaper+Article,t&s.q=camera&go. x=0&go.y=0	1 (0.00%	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%

1460.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=campuses+f ocus+more+on+Meeting+internati onal+student+needs&go.x=11&go .y=17	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:00:33	0.00%	0	(0.00%)	\$0.00	(0.00%
1461.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Canada+Col d+War&go.x=0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	0.00%	12.00	00:06:19	0.00%	0	(0.00%)	\$0.00	(0.00%
1462.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=canadian+st udies&go.x=8&go.y=14	1	(0.00%)	100.00%	1	(0.01%)	0.00%	2.00	00:00:58	0.00%	0	(0.00%)	\$0.00	(0.00%
1463.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Canadian+s ymposium+on+remote+sensing& go.x=-655&go.y=-217	1	(0.00%)	0.00%	0	(0.00%)	0.00%	18.00	00:42:33	0.00%	0	(0.00%)	\$0.00	(0.00%
1464.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=cancer&go.x =0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
1465.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=cancer+and +Marshall+Islands&go.x=8&go.y= 11	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
1466.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Candida+al bicans+morphogenesis+and+host +defence:+discriminating+invasio n+from+colonization&go.x=6&go.y=11	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
1467.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=carbon+diox ide+50+million+years+ago&go.x= -601&go.y=-217	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
1468.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=carboxymet hyl+cellulose&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	11.00	00:44:54	0.00%	0	(0.00%)	\$0.00	(0.00%
1469.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Cardono&g o.x=0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	0.00%	3.00	00:03:07	0.00%	0	(0.00%)	\$0.00	(0.00%
1470.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=caring+for+t he+elderly&go.x=0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	0.00%	10.00	00:10:02	0.00%	0	(0.00%)	\$0.00	(0.00%
1471.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Carol+Kim& go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	3.00	00:00:45	0.00%	0	(0.00%)	\$0.00	(0.00%
1472.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Carol+Toner &go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	5.00	00:09:33	0.00%	0	(0.00%)	\$0.00	(0.00%
1473.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Carolyn+Ber tozzi	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
1474.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Carr,+Nichol as.+"Is+Google+Making+Us+Stup id?"+&go.x=13&go.y=5	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
1475.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=carrie&go.x =11&go.y=6	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
1476.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=carrie&go.x =14&go.y=9	1	(0.00%)	100.00%	1	(0.01%)	0.00%	6.00	00:05:25	0.00%	0	(0.00%)	\$0.00	(0.00%
1477.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=casgrain,+th erese&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	6.00	00:05:51	0.00%	0	(0.00%)	\$0.00	(0.00%
1478.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Castelnau+ et+al.,+2008+creep&go.x=0&go.y =0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	6.00	00:17:43	0.00%	0	(0.00%)	\$0.00	(0.00%
1479.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=CAT+bonds &go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:22:25	0.00%	0	(0.00%)	\$0.00	(0.00%
1480.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=catalysys&g o.x=0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	0.00%	8.00	00:10:28	0.00%	0	(0.00%)	\$0.00	(0.00%
1481.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Catch&go.x =10&go.y=8	1	(0.00%)	0.00%	0	(0.00%)	0.00%	6.00	00:02:01	0.00%	0	(0.00%)	\$0.00	(0.00%
	/search?s fvffl=ContentTyne New													

1482.	spaper+Article,t&s.q=catcher+ans +the+rye&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:29	0.00%	0	(0.00%)	\$0.00	(0.00%
1483.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=catcher+in+t he+rye&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
1484.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Category+T heory+carboni&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
1485.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=catherine+s chryer&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:25	0.00%	0	(0.00%)	\$0.00	(0.00%
1486.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=catholic+hist ory&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
1487.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=cattell+ande rson&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:01	0.00%	0	(0.00%)	\$0.00	(0.00%
1488.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=cause+of+p overty&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:10:39	0.00%	0	(0.00%)	\$0.00	(0.00%
1489.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=CBT&go.x= 0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
1490.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Cellulose+m odification+by+polymer+grafting:+ a+review&go.x=11&go.y=7	1	(0.00%)	0.00%	0 (0.00%)	0.00%	23.00	00:57:47	0.00%	0	(0.00%)	\$0.00	(0.00%
1491.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=CEN/TS+15 149-1:2006&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
1492.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=cerebrum+di agram+&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
1493.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Challenging +Received+Wisdom+on+the+Afri can+Environment,+&go.x=0&go.y =0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
1494.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Chang&go.x =7&go.y=6	1	(0.00%)	0.00%	0 (0.00%)	0.00%	18.00	00:12:26	0.00%	0	(0.00%)	\$0.00	(0.00%
1495.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=CHAOS+EF FECT+IN+FISHERIES+MANAGE MENT&go.x=14&go.y=12	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
1496.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=chaos+of+th e+disciplines&go.x=11&go.y=12	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
1497.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Chaos+The ory&go.x=15&go.y=11	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
1498.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=chapman,+ H.+P.+1991&go.x=4&go.y=8	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
1499.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Chapman+P incher,+Treachery:+Betrayals,+BI unders+and+Cover-ups:+Six+Dec ades+of+Espionage&go.x=0&go.y =0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
1500.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Characteriz ation+and+Measurement+of+Ant hocyanins+by+UV-Visible+Spectr oscopy.+Current+Protocols+in+F ood+Analytical+Chemistry&go.x= 8&go.y=12	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
1501.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Characteriz ation+and+measurement+with+U V-visible+spectroscopy&go.x=0& go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:12:10	0.00%	0	(0.00%)	\$0.00	(0.00%
1502.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Characteriz ation+of+murine+Sendoglin+isofo rm+and+its+effects+on+tumor+de velopment.&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:05	0.00%	0	(0.00%)	\$0.00	(0.00%
	/search?s.fvf[]=ContentType,New													

1503.	spaper+Article,t&s.q=Charleston+ News+and+Courier&go.x=6&go.y =8	1 (0.00%)	100.00%	1 (0.01%	0.00%	2.00	00:09:06	0.00%	0 (0.00%)	\$0.00 ((0.00%
1504.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=chechnya&g o.x=-700&go.y=-217	1 (0.00%)	100.00%	1 (0.01%	0.00%	2.00	00:00:15	0.00%	0 (0.00%)	\$0.00 ((0.00%
1505.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Checkov&g o.x=10&go.y=6	1 (0.00%)	100.00%	1 (0.01%	0.00%	3.00	00:09:35	0.00%	0 (0.00%)	\$0.00 ((0.00%
1506.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Chem.+Rev &go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 ((0.00%
1507.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Chemical+C ompositions+of+Hardwood+and+ Softwood+Pulps+Employing+Phot oacoustic+Fourier+Transform+Infr ared+Spectroscopy+in+Combinati on+with+Partial+Least-Squares+ Analysis&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%	0.00%	2.00	00:01:42	0.00%	0 (0.00%)	\$0.00 ((0.00%
1508.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=chemistry+c ooking&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%	0.00%	4.00	00:10:25	0.00%	0 (0.00%)	\$0.00 ((0.00%
1509.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Chemistry+ of+ore-forming+fluids+and+miner al+formation+rates+in+an+active +hydrothermal+sulfide+deposit+o n+the+Mid-Atlantic+Ridge+Geolo gy,+December,+1996,+v.+24,+p. +1147-1150,&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%	0.00%	2.00	00:00:19	0.00%	0 (0.00%)	\$0.00 ((0.00%
1510.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Chesapeak e+Bay+American+eel+fishery+ma nagement+plan&go.x=9&go.y=8	1 (0.00%)	0.00%	0 (0.00%	0.00%	3.00	00:00:33	0.00%	0 (0.00%)	\$0.00 ((0.00%
1511.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=chf+404&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 ((0.00%
1512.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Child:+Care, +Health+And+Development&go.x =-654&go.y=-217	1 (0.00%)	100.00%	1 (0.01%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 ((0.00%
1513.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Child+achie vement&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%	0.00%	3.00	00:06:33	0.00%	0 (0.00%)	\$0.00 ((0.00%
1514.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Childhood+ Apraxia+of+Speech&go.x=-628&g o.y=-217	1 (0.00%)	0.00%	0 (0.00%	0.00%	2.00	00:02:48	0.00%	0 (0.00%)	\$0.00 ((0.00%
1515.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=childhood+o besity+inner+city+environment&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%	0.00%	11.00	00:27:14	0.00%	0 (0.00%)	\$0.00 ((0.00%
1516.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=children's+d epressive+symptoms+in+relation +to&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%	0.00%	3.00	00:05:42	0.00%	0 (0.00%)	\$0.00 ((0.00%
1517.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=children+livi ng+with+grandparents	1 (0.00%)	0.00%	0 (0.00%	0.00%	3.00	00:04:39	0.00%	0 (0.00%)	\$0.00 ((0.00%
1518.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=China's+tra pped+transition&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 ((0.00%
1519.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=chinese+pro verbs&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 ((0.00%
1520.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=chinese+sci ence+bulletin&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%	0.00%	4.00	00:01:15	0.00%	0 (0.00%)	\$0.00 ((0.00%
1521.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=chloe+and+ olivia&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%	0.00%	12.00	00:06:18	0.00%	0 (0.00%)	\$0.00 ((0.00%
1522.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=chloride+co ncentration+gradients&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%	0.00%	5.00	00:02:56	0.00%	0 (0.00%)	\$0.00 ((0.00%
1523.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Chloride+Co ncentration+Gradients+&go.x=0&	1 (0.00%)	100.00%	1 (0.01%	0.00%	3.00	00:29:14	0.00%	0 (0.00%)	\$0.00 ((0.00%

	go.y=0										
1524.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Choosing+Li fe:+Adolescent+Suicide+in+Litera ture&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1525.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Christensen +RM.+Theory+of+Viscoelasticity: +An+Introduction.+New+York:+Ac ademic+Press+Inc.;+1982.&go.x= 0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:06:54	0.00%	0 (0.00%)	\$0.00 (0.00%
1526.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=christine+m ontalbetti&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:11:19	0.00%	0 (0.00%)	\$0.00 (0.00%
1527.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=chronicle+hi gher+education&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:56	0.00%	0 (0.00%)	\$0.00 (0.00%
1528.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=chronicle+of +higher+education&go.x=5&go.y= 7	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1529.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Chronicle+o f+Higher+Education+&go.x=10&g o.y=6	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:26:56	0.00%	0 (0.00%)	\$0.00 (0.00%
1530.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=cialdini&go. x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:21	0.00%	0 (0.00%)	\$0.00 (0.00%
1531.	/search?s.fvf[]=ContentType,New spaper+Article;t&s.q=cinder&go.x =-651&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:01:57	0.00%	0 (0.00%)	\$0.00 (0.00%
1532.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=cinhal&go.x =-654&go.y=-217	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1533.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=circuit+traini ng&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:03:06	0.00%	0 (0.00%)	\$0.00 (0.00%
1534.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=circular+stat istics&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:38	0.00%	0 (0.00%)	\$0.00 (0.00%
1535.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=citizens+gui de+on+using+the+freedom+of+inf ormation+act+and+the+privacy+a ct+of+1974+to+request+governm ent+records&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:33	0.00%	0 (0.00%)	\$0.00 (0.00%
1536.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=clash+of+civ illisations&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:00:49	0.00%	0 (0.00%)	\$0.00 (0.00%
1537.	/search?s.fvf[]=ContentType,New spaper+Article;t&s.q=clash+of+civ ilizations&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:05:16	0.00%	0 (0.00%)	\$0.00 (0.00%
1538.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=clearance+o f+amyloid+beta+from+the+brain+t ransport+or+metabolism&go.x=0 &go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:07:49	0.00%	0 (0.00%)	\$0.00 (0.00%
1539.	/search?s.fvf[]=ContentType,New spaper+Article;t&s.q=Clements,+ M.+A.+(1984).+Terence+Tao.+Ed ucational+Studies+in+Mathematic s.+15.+213-+238.&go.x=0&go.y= 0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:21:42	0.00%	0 (0.00%)	\$0.00 (0.00%
1540.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=cleveland+h owarth+townsend&go.x=0&go.y= 0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:28	0.00%	0 (0.00%)	\$0.00 (0.00%
1541.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Clifford+Bro wn&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1542.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=clifton+cheni er&go.x=12&go.y=7	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1543.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=climate+cha nge&go.x=-648&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1544.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=climate+cha	1	(0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:01:40	0.00%	0 (0.00%)	\$0.00 (0.00%

	nge&go.x=0&go.y=0										
1545.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Climate+Ch ange+and+Cultural+Dynamics:+A +Global+Perspective+on+Mid-Hol ocene+Transitions&go.x=9&go.y= 9	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:26	0.00%	0 (0.00%)	\$0.00 (0.00%
1546.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Climate+cha nge+and+evolutionary+adaptation &go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1547.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=climate+cha nge+and+forest+disturbances+da le&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:58	0.00%	0 (0.00%)	\$0.00 (0.00%
1548.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=climate+cha nge+and+tourism&go.x=0&go.y= 0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:03:38	0.00%	0 (0.00%)	\$0.00 (0.00%
1549.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=climate+cha nge+effect+on+sand+dollars&go. x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:49:44	0.00%	0 (0.00%)	\$0.00 (0.00%
1550.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=climate+cha nge+in+the+artic&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%
1551.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=clinical+anat omy+and+physiology+of+the+vis ual+system	1	(0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:23:47	0.00%	0 (0.00%)	\$0.00 (0.00%
1552.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=clinical+ethi cs+case&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1553.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Clinical+me asurement+package&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1554.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Clinical+me asurement+package&go.x=7&go. y=7	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1555.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Closing+the +Food+gap&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1556.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Co-creating +value+through+customers'+expe riences:+the+Nike+case&go.x=6& go.y=11	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1557.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Co-infection +patterns+of+infectious+salmon+ anaemia+and+sea+lice+in+farme d+Atlantic+salmon,+Salmo+salar +L.,+in+southern+Chile+(2007-20 09)&go.x=-654&go.y=-217	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%
1558.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=co-manage ment+lions+namibia&go.x=0&go. y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1559.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=coaching+st yles+and+effects+on+children&go .x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	17.00	00:25:06	0.00%	0 (0.00%)	\$0.00 (0.00%
1560.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Coastal+de ad+zones+expanding&go.x=-688 &go.y=-218	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1561.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Coastal+Vol canic+belt&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1562.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=coccidiosis& go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:41	0.00%	0 (0.00%)	\$0.00 (0.00%
1563.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Cognitive+a nd+tactile+factors+affecting+hum an+haptic+performance+in+later+ life.&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
	/search?s fvffl=ContentType New										

1564.	spaper+Article,t&s.q=Cognitive+a pprenticeship:+Teaching+the+craf ts+of+reading,+writing+and+math ematics&go.x=10&go.y=8	1	(0.00%)	0.00%	0 (0.00%)	0.00%	14.00	00:48:49	0.00%	0 (0.00%)	\$0.00 (0.00%
1565.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=cognitive+n euroscience&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	12.00	00:07:41	0.00%	0 (0.00%)	\$0.00 (0.00%
1566.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Coin,+Kirk,+ Class+and+Kin:+Emigration,+Soc ial+Change+and+Identity+in+Sout hern+Scotland+&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1567.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Colding,+J., +and+C.+Folke.+2001.+Social+ta boos:"+Invisible"+systems+of+loc al+resource+management+and+b iodiversity+conservation.&go.x=4 &go.y=4	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:02:38	0.00%	0 (0.00%)	\$0.00 (0.00%
1568.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=collaboratio n+in+context:+rural+change+and +community+forestry&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:23:45	0.00%	0 (0.00%)	\$0.00 (0.00%
1569.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Collaboratio n+in+Context:+Rural+Change+an d+Community+Forestry+in+the+F our+Corners&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1570.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=collateralize d+debt+obligations&go.x=0&go.y =0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:10	0.00%	0 (0.00%)	\$0.00 (0.00%
1571.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Collatorized +debt+obligations&go.x=0&go.y= 0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:00:33	0.00%	0 (0.00%)	\$0.00 (0.00%
1572.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=College+an d+career+ready:+Helping+all+stu dents+succeed+beyond+high+sc hool&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:03:19	0.00%	0 (0.00%)	\$0.00 (0.00%
1573.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=college+cou nseling+and+retention&go.x=0&g o.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:02:01	0.00%	0 (0.00%)	\$0.00 (0.00%
1574.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=college+dep ression&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	31.00	01:15:04	0.00%	0 (0.00%)	\$0.00 (0.00%
1575.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=college+stu dent+athletes+anxiety&go.x=0&g o.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	10.00	00:17:22	0.00%	0 (0.00%)	\$0.00 (0.00%
1576.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=colleges+in +bangor+maine&go.x=4&go.y=11	1	(0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:05:52	0.00%	0 (0.00%)	\$0.00 (0.00%
1577.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=color+purple &go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1578.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=colored+ligh t+and+plant+growth&go.x=0&go.y =0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:21	0.00%	0 (0.00%)	\$0.00 (0.00%
1579.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=colour+mea surement+and+analysis&go.x=0& go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1580.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Combined+ aerobic+and+resistance+exercise +improves+glycemic+control+and +fitness+in+type+2+diabetes&go. x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1581.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Common+w aters+and+private+lands:+Distrib utional+impacts+of+floodplain+aq uaculture+in+Bangladesh&go.x=0 &go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:03:32	0.00%	0 (0.00%)	\$0.00 (0.00%
1582.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Commonity	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:42	0.00%	0 (0.00%)	\$0.00 (0.00%

	&go.x=0&go.y=0													
1583.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=communicat ing+with+students+with+autism+s pectrum+disorder&go.x=-578&go.y=-217	1	(0.00%)	0.00%	0	(0.00%)	0.00%	4.00	00:02:25	0.00%	0	(0.00%)	\$0.00	(0.00%
1584.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Communica tion+and+Public+Participation+in +Environmental+Decision+Makin g&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	6.00	00:32:38	0.00%	0	(0.00%)	\$0.00	(0.00%
1585.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=community+based+language+learning&go.x= 0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	6.00	00:07:50	0.00%	0	(0.00%)	\$0.00	(0.00%
1586.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Community +resilience+and+contemporary+a gri-ecological+systems:+Reconne cting+people+and+food,+and+pe ople+with+people	1	(0.00%)	100.00%	1	(0.01%)	0.00%	2.00	00:01:59	0.00%	0	(0.00%)	\$0.00	(0.00%
1587.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=community+ service&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:00:58	0.00%	0	(0.00%)	\$0.00	(0.00%
1588.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=comparative +genomics&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	13.00	00:37:01	0.00%	0	(0.00%)	\$0.00	(0.00%
1589.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Comparison +of+105+years+of+oxygen+isoto pe+and+insoluble+impurity+profil es+from+the+Devon+Island+and +Camp+Century+ice+cores&go.x =-710&go.y=-217	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
1590.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=compasss& go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	29.00	00:18:07	0.00%	0	(0.00%)	\$0.00	(0.00%
1591.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Competenc y+based+orientation+for+nurses& go.x=6&go.y=10	1	(0.00%)	0.00%	0	(0.00%)	0.00%	18.00	00:31:54	0.00%	0	(0.00%)	\$0.00	(0.00%
1592.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=composer's +advocate&go.x=0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
1593.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Composite+ Materials+Research+Progress&g o.x=12&go.y=12	1	(0.00%)	0.00%	0	(0.00%)	0.00%	3.00	00:08:42	0.00%	0	(0.00%)	\$0.00	(0.00%
1594.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=compost&go .x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	10.00	00:04:13	0.00%	0	(0.00%)	\$0.00	(0.00%
1595.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=composting &go.x=0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	0.00%	2.00	00:00:51	0.00%	0	(0.00%)	\$0.00	(0.00%
1596.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=compromise +of+1850&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	5.00	00:03:41	0.00%	0	(0.00%)	\$0.00	(0.00%
1597.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Computer+ Architecture+Performance+Evalu ation+Methods&go.x=13&go.y=7	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
1598.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Computer+T echnology+Integration+and+Stud ent+Learning:+Barriers+and+Pro mise&go.x=0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	0.00%	9.00	00:21:42	0.00%	0	(0.00%)	\$0.00	(0.00%
1599.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Concept+im ages+and+common+cognitive+pa ths+in+the+development+of+som e+simple+geometrical+concepts& go.x=10&go.y=11	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:00:11	0.00%	0	(0.00%)	\$0.00	(0.00%
1600.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Conceptions +of+Area:+In++Students+and+in+ History&go.x=9&go.y=8	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
1601.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Concession +Stand+Makeovers:+A+Pilot+Stu dy+of+Offering+Healthy+Foods+a	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:01:07	0.00%	0	(0.00%)	\$0.00	(0.00%

	t+High+School+Concession+Stan ds.&go.x=8&go.y=7										
1602.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=concrete&g o.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:17	0.00%	0 (0.00%)	\$0.00 (0.00%
1603.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=concrete+in +coastal+structures&go.x=0&go.y =0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:02:47	0.00%	0 (0.00%)	\$0.00 (0.00%
1604.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Concrete+in +coastal+structures&go.x=0&go.y =0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	20.00	00:09:06	0.00%	0 (0.00%)	\$0.00 (0.00%
1605.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=concussion &go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:16:42	0.00%	0 (0.00%)	\$0.00 (0.00%
1606.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Conductive+ wood+microfibres+for+smart+pap er+through+layer-by-layer+nanoc oating&go.x=12&go.y=4	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:34:06	0.00%	0 (0.00%)	\$0.00 (0.00%
1607.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=confessions +of+an+economic+hitman&go.x= 0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:04:23	0.00%	0 (0.00%)	\$0.00 (0.00%
1608.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Congress+o f+Industrial+Organizations&go.x= 0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:02:33	0.00%	0 (0.00%)	\$0.00 (0.00%
1609.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=conservatio n&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	15.00	00:10:47	0.00%	0 (0.00%)	\$0.00 (0.00%
1610.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=construal+le vel+and+psychological+distance+ review&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:24:01	0.00%	0 (0.00%)	\$0.00 (0.00%
1611.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=constructing +a+multi-component+phase+diag ram&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:02:57	0.00%	0 (0.00%)	\$0.00 (0.00%
1612.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Consumer+r eport&go.x=9&go.y=11	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:11:25	0.00%	0 (0.00%)	\$0.00 (0.00%
1613.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=consumer+r eports&go.x=-614&go.y=-217	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:04	0.00%	0 (0.00%)	\$0.00 (0.00%
1614.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=consumptio n+of+whale+meat&go.x=0&go.y= 0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:05:52	0.00%	0 (0.00%)	\$0.00 (0.00%
1615.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=contaminant s+in+stream+sediments+from+se ven+united+states+metropolitan+ areas&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1616.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=contempora ry+thinkers&go.x=-699&go.y=-21 7	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:54	0.00%	0 (0.00%)	\$0.00 (0.00%
1617.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=contempora ry+thinkers+revisited&go.x=-699& go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:39	0.00%	0 (0.00%)	\$0.00 (0.00%
1618.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=contigent+v aluation&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:38	0.00%	0 (0.00%)	\$0.00 (0.00%
1619.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=continental+ divide+gordon&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	18.00	00:10:57	0.00%	0 (0.00%)	\$0.00 (0.00%
1620.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Contingent+ Valuation+Carson&go.x=8&go.y= 8	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1621.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Cook-chill+c atering+systems.&go.x=11&go.y= 7	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:07	0.00%	0 (0.00%)	\$0.00 (0.00%
1000	/search?s.fvf[]=ContentType,New			100 000/	4	0.000/		22 24 42	0.000/	•	20.00

1022.	spaper+Article,t&s.q=cooper+eme rgent+enacted&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:04:46	0.00%	U (0.00%)	\$0.00 (0.00%
1623.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=cooper+rhet orical+agency+as+emergent+and +enacted&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:03:29	0.00%	0 (0.00%)	\$0.00 (0.00%
1624.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=coordinating +the+cognitive+processes+of+wri ting&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1625.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=COPD&go.x = 0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:01:53	0.00%	0 (0.00%)	\$0.00 (0.00%
1626.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=copepod+pr ey+selectivity+experiment&go.x=- 692&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:14	0.00%	0 (0.00%)	\$0.00 (0.00%
1627.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Coping+with +depression+and+vulnerability+to +mania:+A+factor+analytic+study +of+the+Response+Styles+Quest ionnaireNolen-Hoeksema+(1991) &go.x=12&go.y=11	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:05	0.00%	0 (0.00%)	\$0.00 (0.00%
1628.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=copyright+a nd+popular+media&go.x=6&go.y =11	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:23	0.00%	0 (0.00%)	\$0.00 (0.00%
1629.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=coral+reef+f oraminifera&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	11.00	00:24:15	0.00%	0 (0.00%)	\$0.00 (0.00%
1630.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=cormac+mc carthy&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:26	0.00%	0 (0.00%)	\$0.00 (0.00%
1631.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=corrective+f eedback&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:39	0.00%	0 (0.00%)	\$0.00 (0.00%
1632.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=corregidora &go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1633.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Correlation+ between+distal+motor+latency+a nd+compound+muscle+action+po tential+in+amyotrophic+lateral+sc lerosis&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1634.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Corrosion+T esting+in+Natural+Waters&go.x= 0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:23	0.00%	0 (0.00%)	\$0.00 (0.00%
1635.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=corynebacte rium+pseudotuberculosis&go.x=0 &go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:07:50	0.00%	0 (0.00%)	\$0.00 (0.00%
1636.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=cotabitation +and+marriage&go.x=5&go.y=4	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1637.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Could+abioti c+stress+tolerance+in+wild+relati ves+of+rice+be+used+to+improv e+Oryza+sativa?&go.x=14&go.y=13	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:07	0.00%	0 (0.00%)	\$0.00 (0.00%
1638.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Could+abioti c+stress+tolerance+in+wild+relati ves+of+rice+be+used+to+improv e+Oryza+sativa&go.x=4&go.y=5	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1639.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Council+on +Foreign+Affairs&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:17	0.00%	0 (0.00%)	\$0.00 (0.00%
1640.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Counting+E xperience+among+the+least+counted&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1641.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=courtly+love &go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:04:06	0.00%	0 (0.00%)	\$0.00 (0.00%
	/search?s.fvf[]=ContentType,New spaper+Article t&s g=Cow+Creek										

1642.	+Band+v.+Indian+Motorcycle&go. x=10&go.y=12	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1643.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=coyote+hom e+range+size&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:04:59	0.00%	0 (0.00%)	\$0.00 (0.00%
1644.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=cq+research er&go.x=13&go.y=11	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1645.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=CQ+Resear cher&go.x=16&go.y=7	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:06:39	0.00%	0 (0.00%)	\$0.00 (0.00%
1646.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=craig&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	21.00	00:17:53	0.00%	0 (0.00%)	\$0.00 (0.00%
1647.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Crazy+sport +fathers&go.x=-641&go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:27:46	0.00%	0 (0.00%)	\$0.00 (0.00%
1648.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Creating+di scursive+order+at+the+end+of+lif e&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1649.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Creating+th e+Conditions+for+School+Improv ement:&go.x=-621&go.y=-217	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1650.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=creationism &go.x=-621&go.y=-219	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:03:58	0.00%	0 (0.00%)	\$0.00 (0.00%
1651.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=crimean+wa r&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	9.00	00:26:32	0.00%	0 (0.00%)	\$0.00 (0.00%
1652.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=critical+und erstanding+gendered+color+blind +racism&go.x=8&go.y=5	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1653.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=critique+of+ pure+reason&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:02:38	0.00%	0 (0.00%)	\$0.00 (0.00%
1654.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Crop+photo synthesis+and+the+flux+of+carbo n+dioxide+below+the+canopy&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1655.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Crosstalk+b etween+ALK1+and+Notch+signali ng+in+the+vascular+defects+ass ociated+with+HHT+&go.x=0&go.y =0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:08:40	0.00%	0 (0.00%)	\$0.00 (0.00%
1656.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Crosstalk+b etween+TGF-β/Smad3+and+BM P/BMPR2+signaling+pathways+vi a+miR-17-92+cluster+in+carotid+ artery+restenosis.&go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:08	0.00%	O (0.00%)	\$0.00 (0.00%
1657.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=cultural+rev olution&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:12:55	0.00%	0 (0.00%)	\$0.00 (0.00%
1658.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=culture+and +teaching+and+nursing&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	14.00	00:38:13	0.00%	0 (0.00%)	\$0.00 (0.00%
1659.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=culture+eco nomics&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:20:11	0.00%	0 (0.00%)	\$0.00 (0.00%
1660.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Culture+of+ Animal+Cells+A+manual+&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1661.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=culture+of+ mediocrity&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:10:57	0.00%	0 (0.00%)	\$0.00 (0.00%
1662.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Current+Biol ogy+&go.x=11&go.y=7	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4000	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=current+prot	4 (0.000)	400.000/	4 (0.040()	0.00%	2.00	00:04:40	0.000/	0 (0.000)	#0.00 /o.000

1003.	ocols+cell+biology&go.x=0&go.y=	1	(0.00%)	100.00%	I (0.01%	0.00%	2.00	00.01.40	0.00%	U (0.00%)	\$0.00 (0.00%
1664.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Cushman,+ Ellen.++"The+Cherokee+Syllabar y:+A+Writing+System+in+its+Ow n+Right."&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	0.00%	3.00	00:12:59	0.00%	0 (0.00%)	\$0.00 (0.00%
1665.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=cushman+c herokee&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1666.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=cutting&go.x =0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	0.00%	2.00	00:00:19	0.00%	0 (0.00%)	\$0.00 (0.00%
1667.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Cyanidin-3-O-β-+glucoside+inhibits+NOS+an d+COX-2+expression+by+inducin g+liver+X+receptor+R+activation+in+THP-1+macrophages&go.x=-697&go.y=-217	1	(0.00%)	0.00%	0 (0.00%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1668.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=cyanobacter ial+bloom+maine&go.x=5&go.y=1 0	1	(0.00%)	0.00%	0 (0.00%	0.00%	2.00	00:00:15	0.00%	0 (0.00%)	\$0.00 (0.00%
1669.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=D.A.+Methv en&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	0.00%	10.00	00:11:53	0.00%	0 (0.00%)	\$0.00 (0.00%
1670.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=D&go.x=-50 8&go.y=-217	1	(0.00%)	100.00%	1 (0.01%	0.00%	3.00	00:01:48	0.00%	0 (0.00%)	\$0.00 (0.00%
1671.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=D+M+Mulle n&go.x=10&go.y=10	1	(0.00%)	100.00%	1 (0.01%	0.00%	9.00	00:03:32	0.00%	0 (0.00%)	\$0.00 (0.00%
1672.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=dairy+cow+ behavior&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	0.00%	3.00	00:01:08	0.00%	0 (0.00%)	\$0.00 (0.00%
1673.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=damariscott a	1	(0.00%)	100.00%	1 (0.01%	0.00%	11.00	00:05:48	0.00%	0 (0.00%)	\$0.00 (0.00%
1674.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Danger+on+ Playgrounds&go.x=-628&go.y=-2 17	1	(0.00%)	0.00%	0 (0.00%	0.00%	2.00	00:15:08	0.00%	0 (0.00%)	\$0.00 (0.00%
1675.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Danielle+St eele&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	0.00%	3.00	00:00:49	0.00%	0 (0.00%)	\$0.00 (0.00%
1676.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=danny+and+ the+deep+blue+sea&go.x=0&go.y =0	1	(0.00%)	0.00%	0 (0.00%	0.00%	2.00	00:00:19	0.00%	0 (0.00%)	\$0.00 (0.00%
1677.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=danville&go. x=17&go.y=10	1	(0.00%)	100.00%	1 (0.01%	0.00%	13.00	00:10:41	0.00%	0 (0.00%)	\$0.00 (0.00%
1678.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=darby&go.x =0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	0.00%	4.00	00:01:17	0.00%	0 (0.00%)	\$0.00 (0.00%
1679.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=daring+grea tly	1	(0.00%)	100.00%	1 (0.01%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1680.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=darwin+C.& go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	0.00%	2.00	00:00:29	0.00%	0 (0.00%)	\$0.00 (0.00%
1681.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Data+Minin g:+Practical+Machine+Learning+ Tools+and+Techniques&go.x=0& go.y=0	1	(0.00%)	0.00%	0 (0.00%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1682.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=datamonitor &go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1683.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=david+benn ett&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	0.00%	2.00	00:00:29	0.00%	0 (0.00%)	\$0.00 (0.00%
1684.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=David+C.+S affell+and+Harry+Basehart,+Stat e+and+Local+Government:+Politi cs+and+Public+Policies&go.x=10	1	(0.00%)	0.00%	0 (0.00%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%

		&go.y=6										
1	685.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=davis+fitzge rald&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:02	0.00%	0 (0.00%)	\$0.00 (0.00%
1	686.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=de+meij&go. x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:01:20	0.00%	0 (0.00%)	\$0.00 (0.00%
1	687.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=dead+zones +and+climate+change&go.x=0&g o.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:09:15	0.00%	0 (0.00%)	\$0.00 (0.00%
1	688.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Death,+Diss ection+and+the+Destitute&go.x=0 &go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1	689.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=death&go.x =-636&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:08:32	0.00%	0 (0.00%)	\$0.00 (0.00%
1	690.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=debate+on+ social+security+act&go.x=-485&g o.y=-218	1	(0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:06:54	0.00%	0 (0.00%)	\$0.00 (0.00%
1	691.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=debree&go. x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:35	0.00%	0 (0.00%)	\$0.00 (0.00%
1	692.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Decay+in+li ving+trees&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:25:01	0.00%	0 (0.00%)	\$0.00 (0.00%
1	693.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=decentralize d+natural+resource+management :+From+state+to+co-managemen t+in+inda&go.x=-611&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:13	0.00%	0 (0.00%)	\$0.00 (0.00%
1	694.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Decision+tre e+for+choosing+an+uncertainty+ analysis+methodology:+a+wiki+e xperiment+&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1	695.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=decision+tre e+for+eflow&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:04:36	0.00%	0 (0.00%)	\$0.00 (0.00%
1	696.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=decision+tre e+streamflow&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1	697.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Deep-water +temperature+reconstruction+of+ sediment+core+MD99-2334&go.x =0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1	698.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=deep+horizo n&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:39	0.00%	0 (0.00%)	\$0.00 (0.00%
1	699.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=deer+yew+t oxicity&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:27:20	0.00%	0 (0.00%)	\$0.00 (0.00%
1	700.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=definition+of +culture&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:01:31	0.00%	0 (0.00%)	\$0.00 (0.00%
1	701.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=definition+of +weight+loss&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:08:04	0.00%	0 (0.00%)	\$0.00 (0.00%
1	702.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=deforestatio n's+contribution+to+climate+chan ge&go.x=16&go.y=7	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1	703.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=degradation +kinetics+of+vitamin+C&go.x=5& go.y=9	1	(0.00%)	0.00%	0 (0.00%)	0.00%	18.00	02:01:27	0.00%	0 (0.00%)	\$0.00 (0.00%
1	704.	/search?s.fvf[]=ContentType,New spaper+Article;t&s.q=Delayed+un derstanding+and+staying+in+pha se:+Students'+perceptions+of+th eir+study+situation&go.x=0&go.y =0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:06	0.00%	0 (0.00%)	\$0.00 (0.00%
1	705.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=deleuze+refr amed&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%

170	/search?s.fvf[]=ContentType,New 5. spaper+Article,t&s.q=deming+phil osophy&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
170	/search?s.fvf[]=ContentType,New 5. spaper+Article,t&s.q=Demoivre&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:02:54	0.00%	0 (0.00%)	\$0.00 (0.00%
170	/search?s.fvf[]=ContentType,New 3. spaper+Article,t&s.q=Dengue+Vir us&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:36	0.00%	0 (0.00%)	\$0.00 (0.00%
170	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Dengue+Vir us&go.x=14&go.y=10	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:34	0.00%	0 (0.00%)	\$0.00 (0.00%
1710	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Density+and 0. +genetic+structure+of+black+bea rs+in+coastal+South+Carolina&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
171	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Depopulatin g+the+Tibetan+grasslands:+natio 1. nal+policies+and+perspectives+fo r+the+future+of+Tibetan+herders +in+Qinghai+Province,+China&go .x=-627&go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
171:	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=depression& go.x=9&go.y=7	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:03:52	0.00%	0 (0.00%)	\$0.00 (0.00%
171	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=depression+ and+eath&go.x=13&go.y=8	1 (0.00%)	100.00%	1 (0.01%)	0.00%	13.00	00:05:25	0.00%	0 (0.00%)	\$0.00 (0.00%
1714	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=depression+ in+the+older&go.x=-719&go.y=-2 17	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:01:53	0.00%	0 (0.00%)	\$0.00 (0.00%
171:	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Deriving+Ex tensional+Spatial+Composition+T ables&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:03:27	0.00%	0 (0.00%)	\$0.00 (0.00%
171	/search?s.fvf[]=ContentType,New 5. spaper+Article,t&s.q=desartes+m editation&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:03:40	0.00%	0 (0.00%)	\$0.00 (0.00%
171	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Desertificati on+assessment+in+China:+An+o verview&go.x=-611&go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:11:06	0.00%	0 (0.00%)	\$0.00 (0.00%
171	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Design+anal ysis+of+truss+pontoon+semi+sub mersible+concept+in+deep+water +Chakrabarthi&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:13	0.00%	0 (0.00%)	\$0.00 (0.00%
171	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Design+app roaches+to+support+preservice+t eachers+in+scientific+modeling.+ Journal+of+Science+Teacher+Ed ucation&go.x=-634&go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:11:23	0.00%	0 (0.00%)	\$0.00 (0.00%
172	/search?s.fvf[]=ContentType,New 0. spaper+Article,t&s.q=design+patt erns+explained&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
172	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=detecting+c hange+in+forest+soils&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:18:57	0.00%	0 (0.00%)	\$0.00 (0.00%
172	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Determinati on+of+Age+and+Growth+of+Pop ulations+of+the+White+Sucker+(Catostomus+commersoni)+Exhibi ting+a+Wide+Range+in+Size+at+ Maturity&go.x=9&go.y=11	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:15:37	0.00%	0 (0.00%)	\$0.00 (0.00%
172	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=develop+tra nslingualism&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	12.00	00:14:48	0.00%	0 (0.00%)	\$0.00 (0.00%
172	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=developing+ resilient+children+and+families&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:17	0.00%	0 (0.00%)	\$0.00 (0.00%
4=0	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Developme nt+of+Oxidizer+Flow+Control+for		2 222	•			22.22.=2		2	***************************************

1/25.	+Use+in+Hybrid+Rocket+Motors+ of+the+Scientific+Sounding+Rock et+Scale+&go.x=0&go.y=11	1 (0.00%)	0.00%	U (0.00%)	0.00%	3.00	00:00:56	0.00%	U (0.00%)	\$0.00 (0.00%
1726.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Developme nt+of+PCR+primers+from+Interna I+Transcribed+Spacer+Region+2 +for+detection+of+Phytophthora+ species+infecting+potatoes&go.x =-534&go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1727.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Developme nt+of+phyllonite+from+granodiorit e:+mechanisms+of+grain-size+re duction+in+the+Santa+Rosa+myl onites+zone,+California&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:11:51	0.00%	0 (0.00%)	\$0.00 (0.00%
1728.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Developme ntal+psychopathology.&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	10.00	00:09:07	0.00%	0 (0.00%)	\$0.00 (0.00%
1729.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=developmen tal+stages&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:03:08	0.00%	0 (0.00%)	\$0.00 (0.00%
1730.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=DeWitt,+Lar ry.+"The+Decision+to+Exclude+A griculturaland+Domestic+Workers +from+the+1935+Social+Security +Act."+Social+SecurityBulletin+70 ,+no.+4+(2010):+49-68.+&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:04:22	0.00%	0 (0.00%)	\$0.00 (0.00%
1731.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=dharma+bu ms&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	13.00	00:08:48	0.00%	0 (0.00%)	\$0.00 (0.00%
1732.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=diabetes&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:23	0.00%	0 (0.00%)	\$0.00 (0.00%
1733.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=diabetes+an d+dried+fruit&go.x=7&go.y=10	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:30:03	0.00%	0 (0.00%)	\$0.00 (0.00%
1734.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Diabetes+a nd+Insulin+Resistance+in+Older+ People&go.x=13&go.y=9	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1735.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=diabetes+co ntrol;+moderate+exercise&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:03:34	0.00%	0 (0.00%)	\$0.00 (0.00%
1736.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=diabetes+ex ercise+and+gylcemic+control&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:38:17	0.00%	0 (0.00%)	\$0.00 (0.00%
1737.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=diabetes+lo w+fruit+consumption&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:18:44	0.00%	0 (0.00%)	\$0.00 (0.00%
1738.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=diagnostic+ and+statistical+manual+V	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1739.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=diagnostic+ and+statistical+manual+V&go.x= 9&go.y=7	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:18:32	0.00%	0 (0.00%)	\$0.00 (0.00%
1740.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=diagnostic+ and+statistical+manual+V&go.x= 9&go.y=8	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:45	0.00%	0 (0.00%)	\$0.00 (0.00%
1741.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Diagnostic+ Statistical+Manual&go.x=15&go.y =7	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:13	0.00%	0 (0.00%)	\$0.00 (0.00%
1742.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Dictionanry &go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:01:26	0.00%	0 (0.00%)	\$0.00 (0.00%
1743.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=dictionary+o f+scientific+biography&go.x=0&go .y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
	/search?s.fvf[]=ContentType,New									

1744.	spaper+Article,t&s.q=diekmann+ wealth+of+nations+1999&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1745.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Diesel+Pric e+Variance+over+time+OLS&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:06	0.00%	0 (0.00%)	\$0.00 (0.00%
1746.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=diestel+grap h+theory&go.x=-508&go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:25	0.00%	0 (0.00%)	\$0.00 (0.00%
1747.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Dietary+phe nolics:+chemistry,+bioavailability+and+effects+on+health.&go.x=-69 7&go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1748.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Different+op en-canopy+vegetation+types+affe ct+matrix+permeability+for+a+dis persing+forest+amphibian&go.x= 11&go.y=3	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:12:56	0.00%	0 (0.00%)	\$0.00 (0.00%
1749.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Digital+Boo k+Distribution:+The+End+of+the+ First-Sale+Doctrine&go.x=0&go.y =0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1750.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Digital+micr ofluidics:+is+a+true+lab-on-a-chip +possible?&go.x=17&go.y=8	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1751.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Dignity+and +health&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:20	0.00%	0 (0.00%)	\$0.00 (0.00%
1752.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Dijkstra,+A., +Yont,+G.H.,+Korhan,+E.A.++an d+2012+and+Journal+of+Advanc ed+Nurs&go.x=4&go.y=3	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:03:39	0.00%	0 (0.00%)	\$0.00 (0.00%
1753.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Dijkstra's+al gorithm&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1754.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=dioxin&go.x =-847&go.y=-217	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:01:09	0.00%	0 (0.00%)	\$0.00 (0.00%
1755.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Directions+i n+Kinetic+Sculpture	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1756.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Disability,+ Wrongful-Life+Lawsuits,+and+Hu man+Difference+An+Exercise+in +Ethical+Perplexity&go.x=14&go.y=9	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:28	0.00%	0 (0.00%)	\$0.00 (0.00%
1757.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=disaster+nur sing&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	10.00	00:34:29	0.00%	0 (0.00%)	\$0.00 (0.00%
1758.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Discovering +Statistics+using+IBM+SPSS+St atistics&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1759.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=disfranchise ment+in+south+carolina&go.x=-5 17&go.y=-218	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:10:42	0.00%	0 (0.00%)	\$0.00 (0.00%
1760.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Disparate+T reatment+of+Addiction-Assistanc e+Medications+and+Opiate+Pain +Medications+under+the+Law:+P ermitting+the+Proliferation+of+Op iates+and+Limiting+Access+to+Tr eatment,+The;+Ferrara,+Melissa +M.+&go.x=8&go.y=10	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1761.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=dispersal+e cology+and+evolution&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1762.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=dispersion+ advection+diffusion&go.x=0&go.y =0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%

1	763.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=dispersion+ diffusion+advection&go.x=0&go.y =0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	11.00	00:04:08	0.00%	0 (0.00%)	\$0.00 (0.00%
1	764.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Displaceme nt+and+relocation+from+protecte d+areas:+Towards+a+biological+ and+historical+synthesis&go.x=-6 11&go.y=-217	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1	765.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=dissertation s+and+thesis&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:37	0.00%	0 (0.00%)	\$0.00 (0.00%
1	766.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=district+of+c olumbia+v.+heller&go.x=0&go.y= 0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1	767.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Divergence +and+convergence+of+TGF-beta/ BMP+signaling.&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:25:26	0.00%	0 (0.00%)	\$0.00 (0.00%
1	768.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=divergent&g o.x=-588&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:13	0.00%	0 (0.00%)	\$0.00 (0.00%
1	769.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=divergent&g o.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:03	0.00%	0 (0.00%)	\$0.00 (0.00%
1	770.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Divergent+I andscape+effects+on+population +connectivity+in+two+co-occurrin g+amphibian+species&go.x=0&g o.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1	771.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=django&go.x =0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:18	0.00%	0 (0.00%)	\$0.00 (0.00%
1	772.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=dma&go.x= 0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:06:16	0.00%	0 (0.00%)	\$0.00 (0.00%
1	773.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=DNA&go.x= 0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:03:06	0.00%	0 (0.00%)	\$0.00 (0.00%
1	774.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=DNA+nanot echnology&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1	775.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=do+psychiat ric+labels+impact+future+treatme nt&go.x=-639&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:05:42	0.00%	0 (0.00%)	\$0.00 (0.00%
1 ⁻	776.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=do+tasks+m ake+a+difference?++booth&go.x= 9&go.y=10	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:28	0.00%	0 (0.00%)	\$0.00 (0.00%
1	777.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=docetaxel&g o.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:57	0.00%	0 (0.00%)	\$0.00 (0.00%
1	778.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=does+eating +too+much+sugar+cause+diabet es?&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	33.00	01:05:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1	779.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Does+my+H ead+look+big+in+this&go.x=10&g o.y=13	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1	780.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Does+my+H ead+look+big+in+this&go.x=12&g o.y=11	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1'	781.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Does+the+I nertia+of+a+Body+Depend+Upon +Its+Energy+Content?&go.x=0&g o.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:40	0.00%	0 (0.00%)	\$0.00 (0.00%
1	782.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=dog+detecti ve&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:11	0.00%	0 (0.00%)	\$0.00 (0.00%
1	783.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=dog+on+it&	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%

	go.x-vago.y-v										
1784.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=dollhouse&g o.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:18	0.00%	0 (0.00%)	\$0.00 (0.00%
1785.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Domestic+S ervices+Worker+Rights&go.x=5& go.y=3	1	(0.00%)	100.00%	1 (0.01%)	0.00%	13.00	00:26:47	0.00%	0 (0.00%)	\$0.00 (0.00%
1786.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=domesticati on+of+dogs&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:04:13	0.00%	0 (0.00%)	\$0.00 (0.00%
1787.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=domesticati on+of+dogs&go.x=9&go.y=9	1	(0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:11:49	0.00%	0 (0.00%)	\$0.00 (0.00%
1788.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=don+juan&g o.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:50	0.00%	0 (0.00%)	\$0.00 (0.00%
1789.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=dorm+pets& go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:08:04	0.00%	0 (0.00%)	\$0.00 (0.00%
1790.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Dormancy+ and+the+related+Problems+of+D eciduous+Fruit+Trees&go.x=5&g o.y=7	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1791.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=doug+stewa rt&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	27.00	00:05:11	0.00%	0 (0.00%)	\$0.00 (0.00%
1792.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=down+syndr ome	1	(0.00%)	0.00%	0 (0.00%)	0.00%	49.00	00:58:53	0.00%	0 (0.00%)	\$0.00 (0.00%
1793.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=dpph+potato es&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:04:11	0.00%	0 (0.00%)	\$0.00 (0.00%
1794.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=dr+seuss&g o.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1795.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=dredging+po llutants+&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:05:46	0.00%	0 (0.00%)	\$0.00 (0.00%
1796.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=drinking+gre en+tea+weight+loss&go.x=0&go. y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:07:51	0.00%	0 (0.00%)	\$0.00 (0.00%
1797.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=driscoll+gro undwater+and+wells&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1798.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=drosophila+ melanogaster&go.x=11&go.y=7	1	(0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:10:29	0.00%	0 (0.00%)	\$0.00 (0.00%
1799.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=drosphila&g o.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:25:20	0.00%	0 (0.00%)	\$0.00 (0.00%
1800.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=drug+treatm ent+pregnant+women	1	(0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:13:05	0.00%	0 (0.00%)	\$0.00 (0.00%
1801.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Drugs+and+ Democracy+in+Rio+de+Janeiro+: +Trafficking,+Social+Networks,+a nd+Public+Security+++&go.x=6& go.y=17	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:13:03	0.00%	0 (0.00%)	\$0.00 (0.00%
1802.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Drumm,+M. +F.+and+LeBlanc,+J.+R.,+in+Kin etics+und+Mechanism.\+ofPolym erization:+Step-Growth+Polymeri zations&go.x=11&go.y=5	1	(0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:04:48	0.00%	0 (0.00%)	\$0.00 (0.00%
1803.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=dsf&go.x=0 &go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:06:58	0.00%	0 (0.00%)	\$0.00 (0.00%
1804.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=DSM-5&go. x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:04:17	0.00%	0 (0.00%)	\$0.00 (0.00%
1805.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=dsm+5&go.x =0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%

	3. ,										
1806.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=dsm+5&go.x =8&go.y=7	1	(0.00%)	100.00%	1 (0.0	1%) 100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1807.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=dsm+case+ studies&go.x=5&go.y=15	1	(0.00%)	100.00%	1 (0.0	1%) 0.00%	15.00	00:04:36	0.00%	0 (0.00%)	\$0.00 (0.00%
1808.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=DSM+iv&go. x=4&go.y=3	1	(0.00%)	100.00%	1 (0.0	1%) 100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1809.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=DSM+V&go. x=0&go.y=0	1	(0.00%)	100.00%	1 (0.0	1%) 100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1810.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=duck+or+ra bbit&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00	0.00%	12.00	00:15:51	0.00%	0 (0.00%)	\$0.00 (0.00%
1811.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Ductile+Iron +Pipe&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1812.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Durability+of +post-tensioning+tendons&go.x= 0&go.y=0	1	(0.00%)	0.00%	0 (0.00	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1813.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=durga+puja &go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.0	1%) 100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1814.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Dutch+guid eline+for+the+management+of+el ectrolyte+disorders-2012+revisio n.&go.x=8&go.y=7	1	(0.00%)	100.00%	1 (0.0	1%) 0.00%	9.00	00:54:56	0.00%	0 (0.00%)	\$0.00 (0.00%
1815.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=dvorak&go.x =0&go.y=0	1	(0.00%)	100.00%	1 (0.0	1%) 100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1816.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=dweck&go.x =-704&go.y=-217	1	(0.00%)	0.00%	0 (0.00	0.00%	2.00	00:00:18	0.00%	0 (0.00%)	\$0.00 (0.00%
1817.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=E-Commerc e+Economics&go.x=12&go.y=10	1	(0.00%)	0.00%	0 (0.00	0.00%	3.00	00:06:40	0.00%	0 (0.00%)	\$0.00 (0.00%
1818.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=e+commerc e&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.0	1%) 0.00%	2.00	00:03:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1819.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=e+o+wilson &go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00	0.00%	7.00	00:05:33	0.00%	0 (0.00%)	\$0.00 (0.00%
1820.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=e+reserves &go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1821.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=EAD+616&g o.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.0	1%) 100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1822.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=EAD+616&g o.x=9&go.y=8	1	(0.00%)	100.00%	1 (0.0	1%) 100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1823.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=early+interv ention+court+cases&go.x=0&go.y =0	1	(0.00%)	100.00%	1 (0.0	1%) 0.00%	9.00	00:06:12	0.00%	0 (0.00%)	\$0.00 (0.00%
1824.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=early+life+hi story+and+fisheries+recruitment	1	(0.00%)	100.00%	1 (0.0	1%) 100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1825.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=East+Europ ean+Jewish+affairs.&go.x=6&go.y =7	1	(0.00%)	100.00%	1 (0.0	1%) 0.00%	2.00	00:00:07	0.00%	0 (0.00%)	\$0.00 (0.00%
1826.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=ebsco&go.x =0&go.y=0	1	(0.00%)	100.00%	1 (0.0	1%) 0.00%	5.00	00:01:32	0.00%	0 (0.00%)	\$0.00 (0.00%
1827.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=ebsco+host &go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.0	1%) 100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1828.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Eccentric&g o.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00	0.00%	3.00	00:09:38	0.00%	0 (0.00%)	\$0.00 (0.00%
4000	/search?s.fvf[]=ContentType,New			2 2224	•			22.2.5	2 222/		

1829.	spaper+Article,t&s.q=eccentric+cy cling+and+aging	1	(0.00%)	0.00%	0 (0.00%)	0.00%	13.00	00:04:57	0.00%	0 (0.00%)	\$0.00 (0.00%
1830.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=ECCO&go.x = 0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1831.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=eckblad+sta tistics&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:30	0.00%	0 (0.00%)	\$0.00 (0.00%
1832.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=ecological+c ommunication&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:09:27	0.00%	0 (0.00%)	\$0.00 (0.00%
1833.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Ecological+ Economics+Safa+Motesharrei&g o.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:02:49	0.00%	0 (0.00%)	\$0.00 (0.00%
1834.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=ecological+i mpact+of+dogs&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1835.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=ecology&go. x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	9.00	00:05:15	0.00%	0 (0.00%)	\$0.00 (0.00%
1836.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=economic+g rowth+and+the+environment&go. x=-637&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1837.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=economic+i mpact+of+ecotourism+africa&go. x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:54	0.00%	0 (0.00%)	\$0.00 (0.00%
1838.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=economic+i mpact+state+research+investmen t+&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:03:41	0.00%	0 (0.00%)	\$0.00 (0.00%
1839.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=economic+i nequality&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:42	0.00%	0 (0.00%)	\$0.00 (0.00%
1840.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=economics& go.x=-646&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1841.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=ecosynchro nous&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1842.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=ecosystem+ functioning+in+heterogenous+lan dscapes&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:18	0.00%	0 (0.00%)	\$0.00 (0.00%
1843.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Ecosystems ,+paleoecology+and+human+dist urbance+in+subtropical+and+trop ical+america&go.x=11&go.y=11	1	(0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:15:04	0.00%	0 (0.00%)	\$0.00 (0.00%
1844.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Ed+Muskie &go.x=-508&go.y=-217	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1845.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=ed+roberso n&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	10.00	00:03:52	0.00%	0 (0.00%)	\$0.00 (0.00%
1846.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=edgar+allan +poe&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:07:49	0.00%	0 (0.00%)	\$0.00 (0.00%
1847.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=edgar+allen +poe,+human+nature,+state+of+ nature,+transcendentalism,+hum an+fallibility&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	9.00	00:35:21	0.00%	0 (0.00%)	\$0.00 (0.00%
1848.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Edith+Patch &go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	12.00	00:04:31	0.00%	0 (0.00%)	\$0.00 (0.00%
1849.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=edleadershi p&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:07	0.00%	0 (0.00%)	\$0.00 (0.00%
1850.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Edmund+M uskie&go.x=-508&go.y=-217	1	(0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:10:11	0.00%	0 (0.00%)	\$0.00 (0.00%
1851.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Educating+ Rita&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	14.00	00:12:24	0.00%	0 (0.00%)	\$0.00 (0.00%

1852.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=educational +research&go.x=11&go.y=8	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:22	0.00%	0 (0.00%)	\$0.00 (0.00%
1853.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Edward+Ber nays&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:57	0.00%	0 (0.00%)	\$0.00 (0.00%
1854.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=edward+s+c urtis&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:02:52	0.00%	0 (0.00%)	\$0.00 (0.00%
1855.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Edwards,+M .+S.,+Turner,+T.+F.+&+Sharp,+Z. +D.+(2002).+Short-and+long-term +effects+of+fixation+and+preserv ation+on+stable+isotope+values+ (d13C,+d15N,+d34S)+of+fluid-pre served+museum+specimens.+Co peia+4,+1106-1112.=&go.x=0&go .y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:05:24	0.00%	0 (0.00%)	\$0.00 (0.00%
1856.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=eels+AND+t sunami&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:16:25	0.00%	0 (0.00%)	\$0.00 (0.00%
1857.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=effect+musi c+on+brain+development&go.x=0 &go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:04:08	0.00%	0 (0.00%)	\$0.00 (0.00%
1858.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Effect+of+fr uit+blanching+on+phenolics+and +radical+scavenging+activity+of+ highbush+blueberry+juice&go.x=0 &go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1859.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Effect+of+n on-isothermal+processing+and+m oisture+content+on+the+anthocy anin+degradation+and+colour+ki netics+of+cherry+pomace&go.x= 0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1860.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Effect+of+pr otein+source+ratio+and+protein+ concentration+in+prepared+diets +on+gonad+yield+and+quality+of +the+green+sea+urchin,+Strongyl ocentrotus+droebachiensis&go.x= -434&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1861.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Effect+of+s ous+vide+cooking,+with+freezing,+on+selected+quality+parameters+of+seven+fish+species+in+a+ra nge+of+sauces&go.x=7&go.y=13	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1862.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=effect+of+th ermal+processing+on+anthocyani n+stability+&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1863.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Effectivenes s+in+the+Environmental+Impact+ Statement+A+Study+in+Public+R hetoric&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:05:12	0.00%	0 (0.00%)	\$0.00 (0.00%
1864.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Effects+of+ Carbon+Taxes+in+an+Economy+ with+Prior+Tax+Distortions:+An+I ntertemporal+General+Equilibriu m+Analysis&go.x=-654&go.y=-21 7	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1865.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Effects+of+ different+cutting+times+and+IBA+ doses+on+the+rooting+rate+of+h ardwood+cuttings+of+cornelian+c herry+&go.x=6&go.y=6	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:12	0.00%	0 (0.00%)	\$0.00 (0.00%
1866.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Effects+of+ Forest+Management+on+Click+B eetle+(Coleoptera:+Elateridae)+A ssemblages+in+the+Acadian+For est+of+Maine&go.x=11&go.y=8	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=effects+of+h igh+hvdrostatic+pressure+treatm										

1867.	ent+on+allergenecity+and+structu ral+properties+of+soybean+protei n+isolate+for+infant+formula&go. x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:06	0.00%	0 (0.00%)	\$0.00 (0.00%
1868.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=effects+of+l ow-level+laser+therapy+and+exer cise+in+the+treatment+of+recreat ional+athletes&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1869.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Effects+of+ mobile+phone+radiation+on+repr oduction+and+development+in+D rosophila+melanogaster&go.x=0& go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:48:41	0.00%	0 (0.00%)	\$0.00 (0.00%
1870.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Effects+of+ mobile+phone+radiation+on+repr oduction+and+development+in+D rosophila+melanogaster&go.x=15 &go.y=6	1	(0.00%)	100.00%	1 (0.01%)	0.00%	9.00	00:24:46	0.00%	0 (0.00%)	\$0.00 (0.00%
1871.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=EFFECTS+ OF+PARENTAL+LEAVE&go.x=-5 96&go.y=-217	1	(0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:15:34	0.00%	0 (0.00%)	\$0.00 (0.00%
1872.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=effects+of+p lant+invasions+of+desert+grassla nds&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1873.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Effects+of+ plant+invasions+on+desert+grass lands&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1874.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Effects+of+ plant+invasions+on+wildlife+in+d esert+grasslands&go.x=-634&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1875.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Effects+of+s tructuring+on+students'+perceptio ns+of+career+counseling&go.x=3 &go.y=11	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1876.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=effects+of+t he+past+and+present+on+specie s+distributions&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	20.00	00:32:14	0.00%	0 (0.00%)	\$0.00 (0.00%
1877.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Efficacy+of+ the+simultaneous+use+of+condo ms+and+spermicides.&go.x=0&g o.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1878.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=EIA+in+a+ri sk+society&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1879.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Eimeria+ma cusaniensis&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:06:26	0.00%	0 (0.00%)	\$0.00 (0.00%
1880.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=eimeria+ma scusaniensis+alpacas&go.x=0&g o.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:26	0.00%	0 (0.00%)	\$0.00 (0.00%
1881.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Eisenhower +and+Israel:+United+States-Israe li+Relations,+1953-1960&go.x=-5 34&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:15	0.00%	0 (0.00%)	\$0.00 (0.00%
1882.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=el+saadwi& go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:43	0.00%	0 (0.00%)	\$0.00 (0.00%
1883.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=elderly&go.x =-422&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:39:49	0.00%	0 (0.00%)	\$0.00 (0.00%
1884.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=elderly+&go. x=-734&go.y=-217	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1885.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Eldist&go.x= 0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:34	0.00%	0 (0.00%)	\$0.00 (0.00%
	/search?s.fvf[]=ContentType,New										

1886.	spaper+Article,t&s.q=electric+kool +aid+acid+test&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:02:41	0.00%	0 (0.00%)	\$0.00 (0.00%
1887.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=electromagn etically+induced+transparency++ &go.x=15&go.y=6	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1888.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=electromagn etism&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1889.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Electronic+ Health+Record+Training+in+Und ergraduate+Medical+Education:+ Bridging+Theory+to+Practice+Wit h+Curricula+for+Empowering+Pat ient-+and+Relationship-Centered +Care+in+the+Computerized+Set ting&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:06:48	0.00%	0 (0.00%)	\$0.00 (0.00%
1890.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=electronic+r eserves&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1891.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=electronics& go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:36	0.00%	0 (0.00%)	\$0.00 (0.00%
1892.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Elements+of +Chemical+Reaction+Engineerin g&go.x=5&go.y=6	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1893.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Elements+of +style&go.x=-657&go.y=-218	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:02:30	0.00%	0 (0.00%)	\$0.00 (0.00%
1894.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=elizabeth+bi shop&go.x=11&go.y=12	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1895.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Elizabeth+Bl ackwell+&go.x=-508&go.y=-217	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:28:24	0.00%	0 (0.00%)	\$0.00 (0.00%
1896.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=elizabeth+m ckillen&go.x=8&go.y=8	1 (0.00%)	100.00%	1 (0.01%)	0.00%	9.00	00:07:56	0.00%	0 (0.00%)	\$0.00 (0.00%
1897.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=elizabeth+w harton&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:44	0.00%	0 (0.00%)	\$0.00 (0.00%
1898.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=elmborg+crit ical+information+literacy&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:03:40	0.00%	0 (0.00%)	\$0.00 (0.00%
1899.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=eloge+du+c hiac&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:13	0.00%	0 (0.00%)	\$0.00 (0.00%
1900.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Elsevier&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1901.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=embeddings +of+graphs+into+orientable+surfa ces&go.x=-508&go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:04:01	0.00%	0 (0.00%)	\$0.00 (0.00%
1902.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Ember,+C.R .+&+Ember+M.+(2012).+Human+ Culture:+Highlights+of+Cultural+ Anthropology.+Second+Edition.+ Upper+Saddle+River,+NJ:+P+ear son+Education+Inc.+=&go.x=7&g o.y=10	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:08	0.00%	0 (0.00%)	\$0.00 (0.00%
1903.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=emergency+ nursing+journal+family+presence +during+resuscitation&go.x=6&go .y=8	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1904.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=emerson&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:05:12	0.00%	0 (0.00%)	\$0.00 (0.00%
1905.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=emotional+d evelopment:+the+development+of +&go.x=-553&go.y=-218	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1906.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=empire+on+	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%

	trial										
1907.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=employee+i nsurance+&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:05:52	0.00%	0 (0.00%)	\$0.00 (0.00%
1908.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=employment &go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1909.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=encyclopedi a+britanica&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1910.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=encyclopedi a+of+ecology&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:02:11	0.00%	0 (0.00%)	\$0.00 (0.00%
1911.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Encyclopedi a+of+Lubricants+and+Lubrication &go.x=5&go.y=9	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:35	0.00%	0 (0.00%)	\$0.00 (0.00%
1912.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=ender's+ga me&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1913.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=ending+hom elessness+is+the+problem+solva ble&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:06:35	0.00%	0 (0.00%)	\$0.00 (0.00%
1914.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Endocanna binoid+receptor&go.x=-508&go.y =-217	1	(0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:00:49	0.00%	0 (0.00%)	\$0.00 (0.00%
1915.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Endoglin+in +angiogenesis+and+vascular+dis eases&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:07:56	0.00%	0 (0.00%)	\$0.00 (0.00%
1916.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Endothelial+ PI3K-C2α,+a+class+II+PI3K,+has +an+essential+role+in+angiogene sis+and+vascular+barrier+functio n&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1917.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=endurance+ athletes+and+protein+supplement s&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:17:20	0.00%	0 (0.00%)	\$0.00 (0.00%
1918.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Energy+Extr action+and+Use+in+a+Nomadic+ Pastoral+Ecosystem.&go.x=13&g o.y=9	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1919.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Energy+met abolism+in+tumor+cells.&go.x=0 &go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1920.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=ENGAGING +FIFTH+GRADERS+IN+SCIENTI FIC+MODELING+TO+LEARN+A BOUT+EVAPORATION+AND+C ONDENSATION&go.x=-627&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1921.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=english+as+ a+language+always+in+translatio n&go.x=-653&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1922.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Engraftment +Of+Human+Polycythemia+Vera +CD34++Cells+In+hSIRPα-Trans genic-Human-TPO-Expressing+R AG2-/-,+IL2Rγ-/-+Immunodeficien t+Mice&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:02:53	0.00%	0 (0.00%)	\$0.00 (0.00%
1923.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Enhanced+ upper+ocean+stratification+with+ climate+change+in+the+CMIP3+ models&go.x=-688&go.y=-218	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1924.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Enrichment +of+tomato+fruit+with+health-pro moting+anthocyanins+by+expres sion+of+select+transcription+fact ors&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:24:02	0.00%	0 (0.00%)	\$0.00 (0.00%

1925.	/search?s.fvft]=ContentType,New spaper+Article,t&s.q=ENSO+PDO &go.x=-692&go.y=-217	1 (0.00%	0.00%	0 (0.00%)	0.00%	3.00	00:00:42	0.00%	0 (0.00%)	\$0.00 (0.00%
1926.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Entrepreneu rship+Through+Social+Networks &go.x=0&go.y=0	1 (0.00%	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1927.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Environmen tal+and+Human+Dimensions+of+ Ocean+Renewable+Energy+Dev elopment&go.x=0&go.y=0	1 (0.00%	0.00%	0 (0.00%)	0.00%	4.00	00:03:56	0.00%	0 (0.00%)	\$0.00 (0.00%
1928.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=environment al+factors+and+eutrophication&g o.x=-805&go.y=-218	1 (0.00%	0.00%	0 (0.00%)	0.00%	2.00	00:10:03	0.00%	0 (0.00%)	\$0.00 (0.00%
1929.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=environment al+factors+of+diabetes&go.x=8&g o.y=12	1 (0.00%	0.00%	0 (0.00%)	0.00%	13.00	00:25:11	0.00%	0 (0.00%)	\$0.00 (0.00%
1930.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=environment al+monitoring+and+assessment& go.x=0&go.y=0	1 (0.00%	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1931.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=environment al+security&go.x=0&go.y=0	1 (0.00%	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1932.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Enzymatic+ browning+reactions+in+apple+an d+apple+products&go.x=12&go.y =11	1 (0.00%	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1933.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=enzyme+fun ction&go.x=0&go.y=0	1 (0.00%	100.00%	1 (0.01%)	0.00%	6.00	00:03:14	0.00%	0 (0.00%)	\$0.00 (0.00%
1934.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Enzyme+Fu nctionality:+Design,+Engineering +and+Screening+Allan+Svendse n&go.x=8&go.y=12	1 (0.00%	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1935.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Enzyme+Fu nctionality:+Design,+Engineering +and+Screening+Allan+Svendse n+-+Science+2003&go.x=0&go.y =0	1 (0.00%	0.00%	0 (0.00%)	0.00%	8.00	00:13:48	0.00%	0 (0.00%)	\$0.00 (0.00%
1936.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=epidemiolog y+late+blight&go.x=0&go.y=0	1 (0.00%	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1937.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Epidermal+ Damage+Induced+by+Irritants+in +Man:+A+Light+and+Electron+Mi croscopic+Study&go.x=0&go.y=0	1 (0.00%	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1938.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Epigenetics +in+Saccharomyces+cerevisiae& go.x=-654&go.y=-217	1 (0.00%	0.00%	0 (0.00%)	0.00%	2.00	00:00:27	0.00%	0 (0.00%)	\$0.00 (0.00%
1939.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=epiphora&g o.x=0&go.y=0	1 (0.00%	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1940.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Epistatic+int eractions+between+modifier+gen es+confer+strain-specific+redund ancy+for+Tgfb1+in+development al+angiogenesis.&go.x=0&go.y=0	1 (0.00%	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1941.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Epistemic+ Games+Analysis+of+Common+E xam+Questions+Across+Course+ Formats&go.x=3&go.y=12	1 (0.00%	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1942.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Epistemic+V iews+of+the+Relationship+Betwe en+Physics+and+Mathematics:+It s+Influence+on+the+Approach+of+Undergraduate+Students+to+Pr oblem+Solving&go.x=9&go.y=7	1 (0.00%	100.00%	1 (0.01%)	0.00%	3.00	00:08:54	0.00%	0 (0.00%)	\$0.00 (0.00%
	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Equations+f									

1943.	rgy+expenditure+in+chronic+obst ructive+lung+disease&go.x=0&go .y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.0	00%
1944.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=equine+HY PP+sodium+channel&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00	00%
1945.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=equitrac&go .x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.0	00%
1946.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=equity,+envi ronment,+adaptation&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:26	0.00%	0 (0.00%)	\$0.00 (0.0)	00%
1947.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=erari-&go.x= 7&go.y=8	1	(0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:07:13	0.00%	0 (0.00%)	\$0.00 (0.0	00%
1948.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=ereserve&g o.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.0	00%
1949.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=erica+&go.x =-654&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:50	0.00%	0 (0.00%)	\$0.00 (0.00	00%
1950.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=erik+ericson &go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	21.00	00:10:05	0.00%	0 (0.00%)	\$0.00 (0.0	00%
1951.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Erik+Erikso n&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:46	0.00%	0 (0.00%)	\$0.00 (0.0	00%
1952.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=erik+hurst+2 003&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.0	00%
1953.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=erika+doss& go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.0	00%
1954.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Essential+et hics+for+psychologists:+A+primer +for+understanding+and+masteri ng+core+issues&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:31:23	0.00%	0 (0.00%)	\$0.00 (0.00	00%
1955.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=essentials+o f+statistics+for+the+behavioral+s ciences&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:03:56	0.00%	0 (0.00%)	\$0.00 (0.00	00%
1956.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Establishing +Verbal+Repertories+in+Children +with+Autism+Using+Function-Ba sed+Video+Modeling&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:08	0.00%	0 (0.00%)	\$0.00 (0.00	00%
1957.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Establishing +Verbal+Repertories+in+Children +with+Autism+Using+Function-Ba sed+Video+Modeling&go.x=10&g o.y=12	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:30	0.00%	0 (0.00%)	\$0.00 (0.00	00%
1958.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Establishing +Verbal+Repertories+in+Children +with+Autism+Using+Function-Ba sed+Video+Modeling&go.x=12&g o.y=10	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:07	0.00%	0 (0.00%)	\$0.00 (0.00	00%
1959.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Estimating+ a+woman's+risk+of+having+a+pr egnancy+associated+with+Down' s+syndrome+using+her+age+and +serum+alpha-fetoprotein+level& go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.0)	00%
1960.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Estimation+ of+confidence+interval+of+pasteu rizing+values+of+conduction-heat ed+Sous+Vide+food+in+a+combi nation+oven&go.x=7&go.y=10	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00	00%
1961.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=ethical+and +legal+dilemmas+in+adoption+so cial+work&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:08:11	0.00%	0 (0.00%)	\$0.00 (0.00	00%
	/search?s fvffl=ContentTvne New											

1	962.	spaper+Article,t&s.q=Ethics+and+ values+in+social+work:+An+integ rated+approach+for+a++compreh ensive+curriculum&go.x=0&go.y= 0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1	963.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=ethics+docu mentary+film&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:05:06	0.00%	0 (0.00%)	\$0.00 (0.00%
1	964.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=ethics+for+t he+new+millennium&go.x=0&go.y =0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1	965.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=eurobond&g o.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:02:57	0.00%	0 (0.00%)	\$0.00 (0.00%
1	966.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=europe+in+t he+middle+east&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1	967.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=european+li beralism&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:18	0.00%	0 (0.00%)	\$0.00 (0.00%
1	968.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=european+s cientific+journal&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:42	0.00%	0 (0.00%)	\$0.00 (0.00%
1	969.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=european+u nion&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1	970.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=European+ Union+viability&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1	971.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Eutrophicati on:+causes,+consequences+and +control&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1	972.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=eutrophicati on+and+turbidity&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:12	0.00%	0 (0.00%)	\$0.00 (0.00%
1	973.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=eutrophicati on+as+a+wicked+problem&go.x= 0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:08:49	0.00%	0 (0.00%)	\$0.00 (0.00%
1	974.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Eutrophicati on+of+freshwater+and+coastal+ marine+ecosystems+a+global+pr oblem&go.x=10&go.y=3	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1	975.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=eutrophicati on+turbidity+and+sedimentation& go.x=-805&go.y=-218	1	(0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:07:13	0.00%	0 (0.00%)	\$0.00 (0.00%
1	976.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=evans+and+ goetze+1979&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:20:07	0.00%	0 (0.00%)	\$0.00 (0.00%
1	977.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=eve+ensler& go.x=6&go.y=9	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:02:44	0.00%	0 (0.00%)	\$0.00 (0.00%
1	978.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Evelina&go. x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:12:19	0.00%	0 (0.00%)	\$0.00 (0.00%
1	979.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=evenson+qu in&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1	980.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=events+of+ middle+ages&go.x=-630&go.y=-2 17	1	(0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:16:08	0.00%	0 (0.00%)	\$0.00 (0.00%
1	981.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Evidence+of +resilience+in+families+of+childre n+with+autism.&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:30:47	0.00%	0 (0.00%)	\$0.00 (0.00%
1	982.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Evolution+a nd+current+status+of+the+Whippl e+procedure:+An+update+for+ga stroenterologists&go.x=9&go.y=2	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4	002	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Evolution+of +the+knowledge+system+for+agri	4	(0.000()	400.000/	4 (0.040)	0.000/	2.00	00:00:45	0.000/	0 (0.000)	CO OO (0 000)

1963.	cultural+development+in+the+Ya qui+Valley,+Sonora,+Mexico+&go .x=0&go.y=0	1 ((0.00%)	100.00%	I (U.U1%)	0.00%	2.00	00.00.15	0.00%	0 (0.00%)	\$0.00 (0.00%
1984.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Evolutionary +Ecology+Research+&go.x=-634 &go.y=-217	1 ((0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:01:20	0.00%	0 (0.00%)	\$0.00 (0.00%
1985.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=evolutionary +rescue&go.x=0&go.y=0	1 ((0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:03:13	0.00%	0 (0.00%)	\$0.00 (0.00%
1986.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Evolving+Pe rspectives+on+the+History+of+Ps ychology&go.x=10&go.y=9	1 ((0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1987.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=EW+ASPEC TS+OF+BUD+DORMANCY+IN+ APPLE+TREES&go.x=13&go.y=7	1 ((0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:08:33	0.00%	0 (0.00%)	\$0.00 (0.00%
1988.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=executive+f unction+special+needs&go.x=-73 4&go.y=-217	1 ((0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:06	0.00%	0 (0.00%)	\$0.00 (0.00%
1989.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=executive+f unctions+and+dyslexia&go.x=9&g o.y=2	1 ((0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1990.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Executives+ beware+-+Are+you+the+next+Ro n+Johnson+of+JC+Penney?+ls+y our+company's+low+pricing+IQ+ putting+your+survivability+at+risk ?+&go.x=0&go.y=0	1 ((0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:07:50	0.00%	0 (0.00%)	\$0.00 (0.00%
1991.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=exercices+d es+reacteurs&go.x=0&go.y=0	1 ((0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1992.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Existentialis m	1 ((0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:06:19	0.00%	0 (0.00%)	\$0.00 (0.00%
1993.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=EXOVAGIN ATION&go.x=15&go.y=7	1 ((0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:08:16	0.00%	0 (0.00%)	\$0.00 (0.00%
1994.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=experiencin g+of+musical+sound&go.x=0&go.y=0	1 ((0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:03:05	0.00%	0 (0.00%)	\$0.00 (0.00%
1995.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=EXPERIME NTAL+EVALUATION+OF+TARG ET+STRENGTH+FOR+++HERI NG+LARVAE+(CLUPEA+HAREN GUS)+AT+EARLY+++DEVELOP MENTAL+STAGES&go.x=0&go.y=0	1 ((0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:02:11	0.00%	0 (0.00%)	\$0.00 (0.00%
1996.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=explicit+kno wledge&go.x=0&go.y=0	1 ((0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
1997.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Exploring+th e+Role+of+Private+Wildlife+Ranc hing+as+a+Conservation+Tool+in +South+Africa:+Stakeholder+Per spectives&go.x=0&go.y=0	1 ((0.00%)	0.00%	0 (0.00%)	0.00%	7.00	01:01:31	0.00%	0 (0.00%)	\$0.00 (0.00%
1998.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=exponential +creep&go.x=0&go.y=0	1 ((0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:10:01	0.00%	0 (0.00%)	\$0.00 (0.00%
1999.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=extrusion+n utrition&go.x=0&go.y=0	1 ((0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:19:10	0.00%	0 (0.00%)	\$0.00 (0.00%
2000.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=eye+spy&go .x=0&go.y=0	1 ((0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:04:33	0.00%	0 (0.00%)	\$0.00 (0.00%
2001.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=eyler,+j.s.+2 001&go.x=0&go.y=0	1 ((0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:08:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2002.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=F-35&go.x= 0&go.y=0	1 ((0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
	/search?s.fvf[]=ContentType,New										

200	3. spaper+Article,t&s.q=F-35+Joint+ Strike+Fighter+Program&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:06:10	0.00%	0 (0.00%)	\$0.00 (0.00%
200	/search?s.fvf[]=ContentType,New 4. spaper+Article,t&s.q=f+scott+fitzg erald&go.x=13&go.y=10	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:15	0.00%	0 (0.00%)	\$0.00 (0.00%
200	/search?s.fvf[]=ContentType,New 5. spaper+Article,t&s.q=facebook.co m&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
200	/search?s.fvf[]=ContentType,New 5. spaper+Article,t&s.q=faces+of+go d&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:06	0.00%	0 (0.00%)	\$0.00 (0.00%
200	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Factors+Aff ecting+Running+Economy+in+Tr ained+Distance+Runners	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
200	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=faculty+ann ual+report&go.x=-508&go.y=-217	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
200	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=faculty+exp 9. erience+with+college+students+w ith+autism+spectrum+disorders& go.x=5&go.y=3	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
201	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=faithful+rend erings&go.x=-508&go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
201	/search?s.fvf[]=ContentType,New 1. spaper+Article,t&s.q=False+Mem ory+Formation&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
201	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Familiality+o f+factor+analysis-derived+YBOC S+dimensions+in+OCD-affected+ sibling+pairs+from+the+OCD+Col laborative+Genetics+Study&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:07:14	0.00%	0 (0.00%)	\$0.00 (0.00%
201	/search?s.fvf[]=ContentType,New 3. spaper+Article,t&s.q=family+tradti on&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:04:05	0.00%	0 (0.00%)	\$0.00 (0.00%
201	/search?s.fvf[]=ContentType,New 4. spaper+Article,t&s.q=FAQ&go.x=-646&go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
201	/search?s.fvf[]=ContentType,New 5. spaper+Article,t&s.q=faraway+lin ear+model&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	10.00	00:03:07	0.00%	0 (0.00%)	\$0.00 (0.00%
201	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=farm+bill&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:06:53	0.00%	0 (0.00%)	\$0.00 (0.00%
201	/search?s.fvf[]=ContentType,New 7. spaper+Article,t&s.q=farm+land+ market&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
201	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=farmer+to+f armer+networks&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	24.00	00:40:25	0.00%	0 (0.00%)	\$0.00 (0.00%
201	/search?s.fvf[]=ContentType,New 9. spaper+Article,t&s.q=farrin+prope rties&go.x=6&go.y=2	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
202	/search?s.fvf[]=ContentType,New 3. spaper+Article,t&s.q=father+and+ daughters&go.x=9&go.y=13	1 (0.00%)	100.00%	1 (0.01%)	0.00%	19.00	00:13:35	0.00%	0 (0.00%)	\$0.00 (0.00%
202	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=faulkner+As +I+lay+dying&go.x=-903&go.y=-2 17	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
202	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Favazza,+A. +(1996).+Bodies+under+siege:+S elf-mutilation+and+body+modifica tion+in+culture+and+psychiatry+(2nd+ed.).+Baltimore:+Johns+Hop kins+Univer-+sity+Press.&go.x=7 &go.y=9	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:36	0.00%	0 (0.00%)	\$0.00 (0.00%
202	/search?s.fvf[]=ContentType,New 3. spaper+Article,t&s.q=fax+machin e&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
202	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=FDA's+conc	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:02:34	0.00%	0 (0.00%)	\$0.00 (0.00%

	&go.x=13&go.y=9										
2025.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=FEBS+Lett., +1998,+430,+317+and+J.+Biol.+ Chem.,+1996,+271,+13716&go.x =10&go.y=7	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2026.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=feminism+a nd+the+grotesque&go.x=0&go.y= 0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2027.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Feral+pigs+i n+Namadgi+National+Park,+Aust ralia:+dynamics,+impacts+and+m anagement&go.x=-710&go.y=-21 7	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2028.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=ferro+techni cal+communication+unbound&go. x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2029.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=fetal+alcoho l+syndrome&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:17:34	0.00%	0 (0.00%)	\$0.00 (0.00%
2030.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=fib+bulletin+ 33+"durability+of+post-tensioning +tendon"&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:05:37	0.00%	0 (0.00%)	\$0.00 (0.00%
2031.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=fiberoptics+ and+microfluidics&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	23.00	01:08:45	0.00%	0 (0.00%)	\$0.00 (0.00%
2032.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=fibroblast+re sponses+to+variation+in+soft+tiss ue+mobilization+pressure&go.x=0 &go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2033.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Fibronectin+ is+a+serum+biomarker+for+Duch enne+muscular+dystrophy.&go.x =-721&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2034.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=field+spss& go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2035.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=film&go.x=0 &go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2036.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=films+on+de mand&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2037.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=films+on+de mand&go.x=4&go.y=12	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2038.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=financial+se curities&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	9.00	00:04:43	0.00%	0 (0.00%)	\$0.00 (0.00%
2039.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Finger+print +scanners&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	12.00	00:03:07	0.00%	0 (0.00%)	\$0.00 (0.00%
2040.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=finie+eleme nr+kluss&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2041.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=first+class& go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2042.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=First+Nation s,+forest+lands,+and+"aboriginal +forestry"+in+Canada:+from+excl usion+to+comanagement+and+b eyond&go.x=-550&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:12:05	0.00%	0 (0.00%)	\$0.00 (0.00%
2043.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Fischer,+P., +Krueger,+J.+I.,+Greitemeyer,+T.,+Vogrincic,+C.,+Kastenmüller,+A.,+Frey,+D.,+&++ Kainbacher,+M.+(2011).+The+bystander-effect:+A+meta-analytic+review+on+by stander+ intervention+in+dangero us+and+non-dangerous+emergen cies +Psychological+Bulletin ++ 1	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:01:52	0.00%	0 (0.00%)	\$0.00 (0.00%

	37(4),+517-537.+doi:10.1037/a00 23304=&go.x=0&go.y=0										
2044.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Fish+and+s hellfish+products+in+sous+vide+a nd+modified+atmosphere+packs &go.x=6&go.y=11	1 (0	0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:16:37	0.00%	0 (0.00%)	\$0.00 (0.00%
2045.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Fish+and+s hellfish+products+in+sous+vide+a nd+modified+atmosphere+packs &go.x=8&go.y=6	1 (0	0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2046.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Fish+immun ology.+Curr.+Biol.+19:+R678-+R 682&go.x=8&go.y=3	1 (0	0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:33	0.00%	0 (0.00%)	\$0.00 (0.00%
2047.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=fish+spa&go .x=0&go.y=0	1 (0	0.00%)	100.00%	1 (0.01%)	0.00%	16.00	00:04:59	0.00%	0 (0.00%)	\$0.00 (0.00%
2048.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Fisheries+a ssessment+of+Callinectes+arcuat us+(Brachyura,+Portunidae)+in+t he+Gulf+of+Nicoya,+Costa+Rica &go.x=-688&go.y=-218	1 (0	0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2049.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=fishery+inde pendent+survey+Maine+eel&go.x =0&go.y=0	1 (0	0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2050.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=fishing&go.x =0&go.y=0	1 (0	0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:02:20	0.00%	0 (0.00%)	\$0.00 (0.00%
2051.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=fixing+the+c ommunications+failure&go.x=0&g o.y=0	1 (0	0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:10:12	0.00%	0 (0.00%)	\$0.00 (0.00%
2052.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=flannery+o'c onnor&go.x=0&go.y=0	1 (0	0.00%)	0.00%	0 (0.00%)	0.00%	36.00	00:24:38	0.00%	0 (0.00%)	\$0.00 (0.00%
2053.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=flannery+oc onnor&go.x=0&go.y=0	1 (0	0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2054.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=flett+"the+si gnificance+of+text+scrolls"&go.x= -446&go.y=-217	1 (0	0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:04:52	0.00%	0 (0.00%)	\$0.00 (0.00%
2055.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=floating+offs hore+wind+turbines&go.x=0&go.y =0	1 (0	0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:22:46	0.00%	0 (0.00%)	\$0.00 (0.00%
2056.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=FlowCAM&g o.x=-727&go.y=-217	1 (0	0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:04	0.00%	0 (0.00%)	\$0.00 (0.00%
2057.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Floyd+Gibb ons+&go.x=12&go.y=10	1 (0	0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:05:12	0.00%	0 (0.00%)	\$0.00 (0.00%
2058.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=flq&go.x=0& go.y=0	1 (0	0.00%)	100.00%	1 (0.01%)	0.00%	10.00	00:24:43	0.00%	0 (0.00%)	\$0.00 (0.00%
2059.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=fluid+dynam ics&go.x=0&go.y=0	1 (0	0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:05:36	0.00%	0 (0.00%)	\$0.00 (0.00%
2060.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=focillon+the +art+of+the+west&go.x=0&go.y= 0	1 (0	0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2061.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=fogler+librar y&go.x=0&go.y=0	1 (0	0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:40	0.00%	0 (0.00%)	\$0.00 (0.00%
2062.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=food+additiv es+&go.x=8&go.y=12	1 (0	0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:30	0.00%	0 (0.00%)	\$0.00 (0.00%
2063.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=food+bioche mistry+and+food+processing&go. x=10&go.y=10	1 (0	0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2064.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=food+chemi	1 (0	0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:16:46	0.00%	0 (0.00%)	\$0.00 (0.00%

		stry+toxicology&go.x=0&go.y=0													
20)65.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Food+Fray& go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
20)66.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=food+in+liter ature&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:02:16	0.00%	0	(0.00%)	\$0.00	(0.00%
20	067.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=food+in+pos tcolonial+&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
20	068.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=food+proces sing&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	12.00	00:21:01	0.00%	0	(0.00%)	\$0.00	(0.00%
20)69.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Food+Proce ssing+Operations+Modeling;+Des ign+and+Analysis,+Second+Editi on&go.x=12&go.y=8	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
20	70.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Food+Protei ns&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	35.00	00:17:10	0.00%	0	(0.00%)	\$0.00	(0.00%
20)71.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=food+scienc e+nanotechnology+ethics&go.x=0 &go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	15.00	00:45:36	0.00%	0	(0.00%)	\$0.00	(0.00%
20)72.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Food+web+f ramework+for+size-structured+po pulations&go.x=9&go.y=9	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
20)73.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=foot+and+m outh+disease&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:03:23	0.00%	0	(0.00%)	\$0.00	(0.00%
20)74.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=footnotes&g o.x=2&go.y=8	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
20)75.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Forbidden+ or+forgiven?+Rape+in+cross-cult ural+perspective&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:30	0.00%	0	(0.00%)	\$0.00	(0.00%
20)76.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Forces+bet ween+Colloid+Particles+in+Natur al+Waters&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
20)77.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Forecasting +and+Management+of+Hop+Dow ny+Mildew.&go.x=9&go.y=11	1	(0.00%)	0.00%	0 (0.00%)	0.00%	20.00	00:46:28	0.00%	0	(0.00%)	\$0.00	(0.00%
20)78.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=forest+mana gement+techniques+to+improve+ brook+trout+fishery	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
20)79.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=forest+tenur e+issues+in+terai+of+nepal&go.x =0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
20)80.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=forgiveness, +Native+American+prayers&go.x =0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	11.00	00:16:21	0.00%	0	(0.00%)	\$0.00	(0.00%
20)81.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=formerly+brit ish+honduras&go.x=-974&go.y=-217	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
20)82.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=fortran&go.x =0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	15.00	00:23:39	0.00%	0	(0.00%)	\$0.00	(0.00%
20)83.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=foster+care &go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:15	0.00%	0	(0.00%)	\$0.00	(0.00%
20)84.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Foundation+ Directory&go.x=10&go.y=7	1	(0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:18:56	0.00%	0	(0.00%)	\$0.00	(0.00%
20)85.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=four+discipli ne+of+execution&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:53	0.00%	0	(0.00%)	\$0.00	(0.00%
20)86.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=framing+text	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%

	+in+eany+modern&go.x=11&go.y =6				, ,						
2087.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=franco+cens orship+spain&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:01	0.00%	0 (0.00%)	\$0.00 (0.00%
2088.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=frank+sanatr a&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:00:26	0.00%	0 (0.00%)	\$0.00 (0.00%
2089.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=frank+speck +penobscot&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:03:01	0.00%	0 (0.00%)	\$0.00 (0.00%
2090.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Frauds,+Myt hs,+and+Mysteries&go.x=0&go.y =0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2091.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=frederic+lam ond&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2092.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Frederick,+L oewenstein,+&+O'Donoghue,+20 02=&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	21.00	01:22:58	0.00%	0 (0.00%)	\$0.00 (0.00%
2093.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=french+revie w&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:10	0.00%	0 (0.00%)	\$0.00 (0.00%
2094.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=french+to+e nglish+dictionary&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2095.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Frenchman' s+Bay+aerial&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2096.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=fretting+corr osion&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2097.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=freud+marx &go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:10:09	0.00%	0 (0.00%)	\$0.00 (0.00%
2098.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=fridtjof+nans en&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:42:48	0.00%	0 (0.00%)	\$0.00 (0.00%
2099.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=friendland+1 992&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:03:04	0.00%	0 (0.00%)	\$0.00 (0.00%
2100.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=From+probl em-solving+to+a+knowledge+stru cture:++An+example+from+the+d omain+of+electromagnetism&go. x=9&go.y=11	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2101.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=From+the+fi rst+arrival+of+a+non-native+plant +in+an+ecosystem+to+its+invasio n:+when+to+intervene,+and+how. +The+case+of+the+Japanese+kn otweed.+-+CAB+Direct&go.x=0& go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2102.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=From+tonalit e+to+mylonite:+coupled+mechani cal+and+chemical+processes+in+foliation+development+and+strain+localization&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:02:14	0.00%	0 (0.00%)	\$0.00 (0.00%
2103.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=frost+and+a shby+1982&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2104.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=frost+multid emensional&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:04	0.00%	0 (0.00%)	\$0.00 (0.00%
2105.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=fruit+flies+a nd+alcohol&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:25	0.00%	0 (0.00%)	\$0.00 (0.00%
2106.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=full+planet,+ empty+plates&go.x=-669&go.y=-2 17	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2107.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=full+planet+ emptv+plates&ao.x=0&ao.v=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%

		empty · platesage.x eage.y e											
:	2108.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=fun+home+ &go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0	0.00%
:	2109.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=fun+home+ &go.x=7&go.y=13	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0	0.00%
:	2110.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Functional+i mplications+of+stress-mediated+ molecular+changes+in+the+hippo campus.&go.x=-654&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0	0.00%
:	2111.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Functional+ properties+of+protein+isolates+ex tracted+from+stabilized+rice+bra n+by+microwave,+dry+heat,+and +parboiling.&go.x=6&go.y=8	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0	0.00%
:	2112.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Functions+a nd+Outcomes+of+a+Clinical+Med ical+Ethics+Committee:+A+Revie w+of+100+Consults&go.x=0&go.y =0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:17:53	0.00%	0 (0.00%)	\$0.00 (0	0.00%
:	2113.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=fund+raising	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0	0.00%
:	2114.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Fundament al+and+Applied+Limnology&go.x =8&go.y=7	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0	0.00%
	2115.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=fundamental s+of+industrial+hygiene&go.x=-6 23&go.y=-219	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:09:16	0.00%	0 (0.00%)	\$0.00 (0	0.00%
	2116.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=FUS-immun oreactive+inclusions+are+a+com mon+feature+in+sporadic+and+n on-SOD1+familial+amyotrophic+l ateral+sclerosis.&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0	0.00%
:	2117.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=FUS+FTLD &go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0	0.00%
:	2118.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=futuyama&g o.x=-734&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:02:51	0.00%	0 (0.00%)	\$0.00 (0	0.00%
:	2119.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=galactic+dyn amics&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0	0.00%
:	2120.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Gallery+291 &go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:58	0.00%	0 (0.00%)	\$0.00 (0	0.00%
:	2121.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Gallery+291 +cateloges&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:23:01	0.00%	0 (0.00%)	\$0.00 (0	0.00%
:	2122.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=game+of+th rones&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0	0.00%
:	2123.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=game+theor y&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0	0.00%
:	2124.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=gamma+fun ction&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0	0.00%
:	2125.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Garlic&go.x =11&go.y=12	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0	0.00%
	2126.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Garrett,+H.+ E.,+Kerley,+M.+S.,+Ladyman,+K. +P.,+Godsey,+L.+D.,+Van+Smab eek,+J.+W.,+Brauer,+D.+K.,+&+ Walter,+W.+D.+(2004).+Hardwoo d+silvopasture+management+in+ north+america.+Agroforestry+Sys tems,+61,+23-33.=&go.x=0&go.y =0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:38	0.00%	0 (0.00%)	\$0.00 (0	0.00%
	2127.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=gary+c.+wo odward&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:40	0.00%	0 (0.00%)	\$0.00 (0	0.00%

2128.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=gathering+n on-timber+forest+products&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	12.00	00:39:27	0.00%	0 (0.00%)	\$0.00 (0.00%
2129.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Gawalt&go. x=11&go.y=10	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:03	0.00%	0 (0.00%)	\$0.00 (0.00%
2130.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=gay+adobtio n&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:43	0.00%	0 (0.00%)	\$0.00 (0.00%
2131.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=gee+discour se&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2132.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=gee+discour se+analysis&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:47	0.00%	0 (0.00%)	\$0.00 (0.00%
2133.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=gender,+ide ntity,+self,+concept&go.x=-621&g o.y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2134.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=gender,+reli gion,+reproductive+rights&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	37.00	01:07:28	0.00%	0 (0.00%)	\$0.00 (0.00%
2135.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Gender+and +the+European+Labour+Market& go.x=13&go.y=4	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2136.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=gender+trou ble&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2137.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Gene+Editin g+of+CCR5+&go.x=-734&go.y=-2 17	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:02:09	0.00%	0 (0.00%)	\$0.00 (0.00%
2138.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Gene+expre ssion+of+Na+/H++exchanger+in+ zebrafish+H+-ATPase-rich+cells+ during+acclimation+to+low-Na++ and+acidic+environments&go.x=1 1&go.y=3	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:25:39	0.00%	0 (0.00%)	\$0.00 (0.00%
2139.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=gene+regula tion&go.x=6&go.y=12	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2140.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=general+che mistry&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2141.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=general+phy cology&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:59	0.00%	0 (0.00%)	\$0.00 (0.00%
2142.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Generation+ of+two-dimensional+steep+water +waves+on+finite+depth+with+an d&go.x=5&go.y=7	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2143.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Genetic+div ersity+and+disease+control+in+ri ce&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:27	0.00%	0 (0.00%)	\$0.00 (0.00%
2144.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=genomic+an d+structural+aspects+of+protein+ evolution	1 (0.00%)	0.00%	0 (0.00%)	0.00%	12.00	00:56:18	0.00%	0 (0.00%)	\$0.00 (0.00%
2145.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=geochem&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:12	0.00%	0 (0.00%)	\$0.00 (0.00%
2146.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=geochemica l+signatures+of+meltwater+in+mo llusc+shells+from+areas+during+t he+Holocene&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2147.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=geological+ association&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2148.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Geological+ Society+of+America+Bulletin&go.	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%

	x=9&go.y=/									
2149	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=geology+co astal+maine&go.x=14&go.y=9	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:56:57	0.00%	0 (0.00%)	\$0.00 (0.00%
2150	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Geophysical +Research+Letters&go.x=0&go.y =0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2151	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=George+Ber nard+Shaw+Immaturity&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:00:49	0.00%	0 (0.00%)	\$0.00 (0.00%
2152	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=George+Ho chfield,+Selected+Writings+of+th e+American+Transcendentalists& go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:18:38	0.00%	0 (0.00%)	\$0.00 (0.00%
2153	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=george+kuh &go.x=9&go.y=7	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:06:08	0.00%	0 (0.00%)	\$0.00 (0.00%
2154	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=george+sau nders&go.x=11&go.y=4	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:34	0.00%	0 (0.00%)	\$0.00 (0.00%
2155	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=georges+si menon&go.x=8&go.y=2	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:12:57	0.00%	0 (0.00%)	\$0.00 (0.00%
2156	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=GeoServer+ Beginner's+Guide&go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2157	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Gerbner,+G. +1987.+"Science+on+Television: +How+It+Affects+Public+Concept ions."+Issues+in+Science+and+T echnology+(spring):109-15.+&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2158	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=german+ren ewable+energy&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:02:19	0.00%	0 (0.00%)	\$0.00 (0.00%
2159	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=germany+w orld+war+one&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:00:49	0.00%	0 (0.00%)	\$0.00 (0.00%
2160	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=gershom+m endes+seixas&go.x=-641&go.y=- 217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:03	0.00%	0 (0.00%)	\$0.00 (0.00%
2161	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Getting+Sci ence+Grants:+Effective+Strategie s+for+Funding+Success+&go.x=6 &go.y=16	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2162	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Getting+thro ugh+to+them:+reaching+students +who+need+career++counselin& go.x=-523&go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:36:56	0.00%	0 (0.00%)	\$0.00 (0.00%
2163	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=gibbs+free+ energy&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:01:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2164	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=gil+gilpatrick &go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:17	0.00%	0 (0.00%)	\$0.00 (0.00%
2165	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=girl+interrupt ed&go.x=-669&go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2166	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=gis&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	9.00	00:06:04	0.00%	0 (0.00%)	\$0.00 (0.00%
2167	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=GIS&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	22.00	00:11:36	0.00%	0 (0.00%)	\$0.00 (0.00%
2168	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=gis+&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2169	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=GIS+&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	19.00	00:25:17	0.00%	0 (0.00%)	\$0.00 (0.00%

2170.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=GIS++and+ computers&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	0.00%	4.00	00:02:26	0.00%	0 (0.00%)	\$0.00 (0.00%
2171.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=GIS+fire&go .x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	0.00%	27.00	00:11:39	0.00%	0 (0.00%)	\$0.00 (0.00%
2172.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=GIS+GPS+s lime+mold&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	0.00%	17.00	00:06:37	0.00%	0 (0.00%)	\$0.00 (0.00%
2173.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=gis+mappin g&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	0.00%	2.00	00:00:08	0.00%	0 (0.00%)	\$0.00 (0.00%
2174.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Glacial+Envi ronments&go.x=6&go.y=8	1	(0.00%)	0.00%	0 (0.00%	0.00%	10.00	00:19:05	0.00%	0 (0.00%)	\$0.00 (0.00%
2175.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Glandular+a nd+non-glandular+trichomes+of+r ose-scented+geranium&go.x=-64 5&go.y=-218	1	(0.00%)	100.00%	1 (0.01%	0.00%	2.00	00:00:05	0.00%	0 (0.00%)	\$0.00 (0.00%
2176.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Gleditsia+tri acanthos+var.+inermis+'Sunburst' &go.x=-647&go.y=-217	1	(0.00%)	0.00%	0 (0.00%	0.00%	3.00	00:01:01	0.00%	0 (0.00%)	\$0.00 (0.00%
2177.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Global+distri bution+of+naturally+occurring+m arine+hypoxia+on+continental+m argins&go.x=10&go.y=7	1	(0.00%)	0.00%	0 (0.00%) 100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2178.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Global+heat +and+salt+transports+by+eddy+ movement&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2179.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=global+safet y+of+fresh+produce&go.x=0&go. y=0	1	(0.00%)	100.00%	1 (0.01%	0.00%	5.00	00:04:56	0.00%	0 (0.00%)	\$0.00 (0.00%
2180.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=globalization +and+its+discontents&go.x=8&go .y=7	1	(0.00%)	100.00%	1 (0.01%	0.00%	2.00	00:01:04	0.00%	0 (0.00%)	\$0.00 (0.00%
2181.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=glorious+ref ormation&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	0.00%	4.00	00:01:24	0.00%	0 (0.00%)	\$0.00 (0.00%
2182.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=GM+foods+i n+Asia&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2183.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=GMAIL&go. x=11&go.y=5	1	(0.00%)	100.00%	1 (0.01%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2184.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=gmdss&go.x =0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	0.00%	14.00	00:04:04	0.00%	0 (0.00%)	\$0.00 (0.00%
2185.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=GMO+in+us &go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2186.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=goats+cocci diosis+economic&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	0.00%	3.00	00:13:25	0.00%	0 (0.00%)	\$0.00 (0.00%
2187.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=golden+gate +virus&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	0.00%	2.00	00:00:26	0.00%	0 (0.00%)	\$0.00 (0.00%
2188.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=gonorrrhea& go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	0.00%	21.00	01:37:45	0.00%	0 (0.00%)	\$0.00 (0.00%
2189.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Goodman,+ Nelson&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	0.00%	2.00	00:01:08	0.00%	0 (0.00%)	\$0.00 (0.00%
2190.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=google.com &go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2191.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Google+Sch olar&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	0.00%	3.00	00:14:16	0.00%	0 (0.00%)	\$0.00 (0.00%
2192.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=google+sch olar&go.x=3&go.y=6	1	(0.00%)	100.00%	1 (0.01%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%

2193.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Gopurenko+D,+Williams+RN,+McCormick+CR,+and+others.+2006.+Insights+into+the+mating+habits+of+the+tiger+salamander+(Ambystoma+tigrinum+tigrinum)+as+revealed+by+genetic+parentage+analyses.+Molecular+Ecology+15:+1917-1928&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:23	0.00%	O (0.00%)	\$0.00 (0.00%
2194.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Gossamer+ Spacecraft:+Membrane+and+Infla table+Structures&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2195.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=GPR55&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:43	0.00%	0 (0.00%)	\$0.00 (0.00%
2196.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=GPS+use+i n+child+classrooms&go.x=0&go.y =0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:40	0.00%	0 (0.00%)	\$0.00 (0.00%
2197.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=GPS+use+i n+deep+sea+vents&go.x=0&go.y =0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	14.00	00:38:57	0.00%	0 (0.00%)	\$0.00 (0.00%
2198.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=gr113.7.f73r 58+2009&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2199.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Grandma's+ Experiences+Leave+Epigenetic+ Mark+on+Your&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:46	0.00%	0 (0.00%)	\$0.00 (0.00%
2200.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=grant+oppor tunities&go.x=11&go.y=11	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:05:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2201.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=grant+u+s& go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:01	0.00%	0 (0.00%)	\$0.00 (0.00%
2202.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=granulocyte +colony+stimulating+factor+zebra fish+&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:45	0.00%	0 (0.00%)	\$0.00 (0.00%
2203.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=graph+theor y&go.x=-1294&go.y=-217	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:01:51	0.00%	0 (0.00%)	\$0.00 (0.00%
2204.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=graphics+K- 12+education&go.x=13&go.y=11	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:14:19	0.00%	0 (0.00%)	\$0.00 (0.00%
2205.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=grasslands& go.x=-634&go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:01:42	0.00%	0 (0.00%)	\$0.00 (0.00%
2206.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=gratzel&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:02:08	0.00%	0 (0.00%)	\$0.00 (0.00%
2207.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Gray,+Gray, +&+Wegner,+2007=&go.x=8&go. y=8	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2208.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=GRE&go.x= 3&go.y=10	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2209.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=greek+myth ology&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:02:10	0.00%	0 (0.00%)	\$0.00 (0.00%
2210.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=green+fire& go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2211.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=green+revol utiion&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:58	0.00%	0 (0.00%)	\$0.00 (0.00%
2212.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Greenough, +Sarah&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2213.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Greg+Critse r&go.x=-676&go.y=-217	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2244	/search?s.fvf[]=ContentType,New	4 (0.000)	0.000/	0 (0.000/)	400 000/	1.00	00:00:00	0.000/	0 (0.000()	CO OO (0 000)

2214.	spaper+Article,t&s.q=grotesque+ medicine&go.x=0&go.y=0	1	(0.00%)	0.00%	U (0.00%)	100.00%	1.00	00:00:00	0.00%	U (0.00%)	\$0.00 (0.00%
2215.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=grotesquene ss+in+the+southen+gothic&go.x= 0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:06:51	0.00%	0 (0.00%)	\$0.00 (0.00%
2216.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Growing+ve getables+and+values:+benefits+o f+neighborhood+community+gard ens&go.x=-508&go.y=-217	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2217.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=growth+and +development+rates+fo+the+cala nus+finmarchicus+reared+in+the +lab&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:36	0.00%	0 (0.00%)	\$0.00 (0.00%
2218.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=growth+and +development+rates+of+the+cala nus+finmarchicus+reared+in+the +lab&go.x=16&go.y=11	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:30	0.00%	0 (0.00%)	\$0.00 (0.00%
2219.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=growth+rate s+of+carbon+dioxide+anomalous +in+earth+history&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:44:19	0.00%	0 (0.00%)	\$0.00 (0.00%
2220.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Guadiana+ River+Basin&go.x=-679&go.y=-21 7	1	(0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:10:47	0.00%	0 (0.00%)	\$0.00 (0.00%
2221.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=guano+and +the+opening+of+the+pacific+wor Id&go.x=-508&go.y=-217	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2222.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=guano+and +the+opening+of+the+pacific+wor Id&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:02:47	0.00%	0 (0.00%)	\$0.00 (0.00%
2223.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=guardian+an gel&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2224.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=guests&go.x =0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:03:03	0.00%	0 (0.00%)	\$0.00 (0.00%
2225.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=guide+to+ad olescences&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:11:19	0.00%	0 (0.00%)	\$0.00 (0.00%
2226.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=guide+to+w omen's+studies&go.x=-422&go.y =-217	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2227.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=gulf+of+mai ne&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:05:45	0.00%	0 (0.00%)	\$0.00 (0.00%
2228.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=gulf+of+mai ne+phytoplankton+types&go.x=0 &go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:04	0.00%	0 (0.00%)	\$0.00 (0.00%
2229.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Gulf+of+Mai ne+stratification+annual+cycle&g o.x=-727&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:04	0.00%	0 (0.00%)	\$0.00 (0.00%
2230.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=guns+germs +&+steel=&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:21	0.00%	0 (0.00%)	\$0.00 (0.00%
2231.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=guppy+mati ng+behavior+&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	23.00	00:50:22	0.00%	0 (0.00%)	\$0.00 (0.00%
2232.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Guptill,+Arth ur&go.x=-508&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2233.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Guthrie,+J.+ T.,+and+P.+Mosenthal.+"Literacy +as+Multidimensional+.+Locating +Information+and+Reading-Comp rehension."&go.x=6&go.y=8	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Guthrie,+J.+ T.,+and+P.+Mosenthal.+"Literacy +as+Multidimensional+! ocation										

2234.	+Information+and+Reading-Comp rehension."+Educational+Psychol ogist+22,+no.+3-4+(1987):+279-9 7.&go.x=0&go.y=0	1 (0.00%	0.00%	0 (0.00%)	0.00%	4.00	00:00:30	0.00%	0 (0.00%)	\$0.00 (0.00%
2235.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Guthrie,+J.+ T.,+and+P.+Mosenthal.+"Literacy +as+Multidimensional+-+Locating +Information+and+Reading-Comp rehension."+Educational+Psychol ogist+22,+no.+3-4+(1987):+279-9 7.&go.x=12&go.y=8	1 (0.00%	0.00%	0 (0.00%)	0.00%	2.00	00:00:14	0.00%	0 (0.00%)	\$0.00 (0.00%
2236.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Guthrie,+J.+ T.,+and+P.+Mosenthal.+"Literacy +as+Multidimensional+-+Locating +Information+and+Reading-Comp rehension."+Educational+Psychol ogist+22,+no.+3-4+(1987):+279-9 7.&go.x=3&go.y=10	1 (0.00%	0.00%	0 (0.00%)	0.00%	3.00	00:00:14	0.00%	0 (0.00%)	\$0.00 (0.00%
2237.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Guthrie,+J.+ T.,+and+P.+Mosenthal.+"Literacy +as+Multidimensional+-+Locating +Information+and+Reading-Comp rehension."+Educational+Psychol ogist+22,+no.+3-4+(1987):+279-9 7.&go.x=5&go.y=8	1 (0.00%	5) 100.00%	1 (0.01%)	0.00%	7.00	00:00:38	0.00%	0 (0.00%)	\$0.00 (0.00%
2238.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Guthrie,+J.+ T.,+and+P.+Mosenthal.+"Literacy +as+Multidimensional+-+Locating +Information+and+Reading-Comp rehension."+Educational+Psychol ogist+22,+no.+3-4+(1987):+279-9 7.&go.x=9&go.y=7	1 (0.00%	0.00%	0 (0.00%)	0.00%	13.00	00:02:50	0.00%	0 (0.00%)	\$0.00 (0.00%
2239.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Guthrie,+J.+ T&go.x=0&go.y=0	1 (0.00%	100.00%	1 (0.01%)	0.00%	3.00	00:00:46	0.00%	0 (0.00%)	\$0.00 (0.00%
2240.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Guthrie+Lite racy+as+Multidimensional+-+Loc ating+Information+and+Reading-Comprehension&go.x=6&go.y=16	1 (0.00%	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2241.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=h.d&go.x=3 &go.y=10	1 (0.00%	0.00%	0 (0.00%)	0.00%	10.00	00:03:58	0.00%	0 (0.00%)	\$0.00 (0.00%
2242.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Haber,+P.+(2012).+Perceptions+of+leadershi p:+An+examination+of+college+st udents'+ understandings+of+the+ concept+of+leadership.+Journal+ of+Leadership+Education,+11(2), +26-51.&go.x=8&go.y=5	1 (0.00%	0.00%	0 (0.00%)	0.00%	6.00	00:01:29	0.00%	O (0.00%)	\$0.00 (0.00%
2243.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Haldeman& go.x=3&go.y=11	1 (0.00%	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2244.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=hale+territori al+question&go.x=0&go.y=0	1 (0.00%	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2245.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Hallmarks+o f+Cancer:+The+Next+Generation &go.x=0&go.y=0	1 (0.00%	0.00%	0 (0.00%)	0.00%	2.00	00:01:34	0.00%	0 (0.00%)	\$0.00 (0.00%
2246.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=hamlet+prin ce+du+quebec&go.x=0&go.y=0	1 (0.00%	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2247.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=hampel+cliff ord&go.x=0&go.y=0	1 (0.00%	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2248.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=hampshire+ &go.x=0&go.y=0	1 (0.00%	100.00%	1 (0.01%)	0.00%	2.00	00:00:15	0.00%	0 (0.00%)	\$0.00 (0.00%
2249.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Hand-made +Tale&go.x=0&go.y=0	1 (0.00%	100.00%	1 (0.01%)	0.00%	8.00	00:03:03	0.00%	0 (0.00%)	\$0.00 (0.00%
2250.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Handbook+ of+Beach+and+Shoreface+Morph odynamics&go.x=0&go.y=0	1 (0.00%	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
	/search?s fvffl=ContentTvne New									

2251.	spaper+Article,t&s.q=handbook+o f+historical+ecology&go.x=0&go.y =0	1	(0.00%)	100.00%	1 (0.0	01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
2252.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Handbook+ of+meat&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.0	01%)	0.00%	11.00	00:27:18	0.00%	0 (0.00%)	\$0.00	(0.00%
2253.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Handbook+ of+muscle+food+analysis&go.x=0 &go.y=0	1	(0.00%)	0.00%	0.0)	00%)	0.00%	5.00	00:39:36	0.00%	0 (0.00%)	\$0.00	(0.00%
2254.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Handbook+ of+Usability+Testing:+How+to+Pl an,+Design,+and+Conduct+Effect ive+Tests&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.0	01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
2255.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=handling+si n&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.0	00%)	0.00%	2.00	00:05:01	0.00%	0 (0.00%)	\$0.00	(0.00%
2256.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=handmaid's +tale&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.0	01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
2257.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=handmaid's +tale&go.x=4&go.y=11	1	(0.00%)	100.00%	1 (0.0	01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
2258.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=hansard's+p arliamentary+debates&go.x=12&g o.y=6	1	(0.00%)	0.00%	0 (0.0	00%)	0.00%	5.00	00:01:58	0.00%	0 (0.00%)	\$0.00	(0.00%
2259.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=harmful+alg al+bloom&go.x=-805&go.y=-218	1	(0.00%)	0.00%	0 (0.0	00%)	0.00%	4.00	00:34:05	0.00%	0 (0.00%)	\$0.00	(0.00%
2260.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=harrington,+ katharine&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.0	00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
2261.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=harry+turtle dove&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.0	01%)	0.00%	2.00	00:00:11	0.00%	0 (0.00%)	\$0.00	(0.00%
2262.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=haRVARD+ BUSINESS+REVIEW&go.x=0&go .y=0	1	(0.00%)	100.00%	1 (0.0	01%)	0.00%	5.00	00:02:35	0.00%	0 (0.00%)	\$0.00	(0.00%
2263.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Hatfull&go.x =-734&go.y=-217	1	(0.00%)	0.00%	0 (0.0	00%)	0.00%	2.00	00:00:58	0.00%	0 (0.00%)	\$0.00	(0.00%
2264.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Hawks+GIS &go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.0	00%)	0.00%	6.00	00:01:19	0.00%	0 (0.00%)	\$0.00	(0.00%
2265.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=hcg+drops& go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.0	00%)	0.00%	11.00	00:11:33	0.00%	0 (0.00%)	\$0.00	(0.00%
2266.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=He's+a+stud ,+she's+a+slut&go.x=-508&go.y=-217	1	(0.00%)	0.00%	0 (0.0	00%)	0.00%	5.00	00:06:20	0.00%	0 (0.00%)	\$0.00	(0.00%
2267.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=head+first+p hp+and+mysql&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.0	00%)	0.00%	2.00	00:01:43	0.00%	0 (0.00%)	\$0.00	(0.00%
2268.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Healing+the +Planet:+GIS+Helps+British+Colu mbia+Respond+to+Climate+Chan ge+with+Climate+Action&go.x=0 &go.y=0	1	(0.00%)	100.00%	1 (0.0	01%)	0.00%	2.00	00:00:24	0.00%	0 (0.00%)	\$0.00	(0.00%
2269.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=healthcare+ human+right&go.x=-669&go.y=-2 17	1	(0.00%)	0.00%	0 (0.0	00%)	0.00%	5.00	00:01:33	0.00%	0 (0.00%)	\$0.00	(0.00%
2270.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Healthy+ha bits+or+damaging+diets:+An+exp loratory+study+of+ a+food+bloggi ng+community&go.x=0&go.y=0	1	(0.00%)	0.00%	0.0)	00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
2271.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Healthy+livi ng+guidelines+and+the+disconne ct+with+everyday+life&go.x=0&go .y=0	1	(0.00%)	0.00%	0.0	00%)	0.00%	3.00	00:00:07	0.00%	0 (0.00%)	\$0.00	(0.00%
	/search?s.fvf[]=ContentType,New												

2272.	spaper+Article,t&s.q=heat+and+ mass+transfer&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:10	0.00%	0 (0.00%)	\$0.00 (0.00%
2273.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=heat+and+ mass+transfer+fundamentals+an d+applications&go.x=7&go.y=8	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:22	0.00%	0 (0.00%)	\$0.00 (0.00%
2274.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Heat+Transf er:+A+Practical+Approach&go.x= 7&go.y=9	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:27	0.00%	0 (0.00%)	\$0.00 (0.00%
2275.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=heather+ma nsfield&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2276.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Heather+Mc Innis&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:02:02	0.00%	0 (0.00%)	\$0.00 (0.00%
2277.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=heave+adde d+mass+mooring+lines&go.x=0& go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2278.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=heave+plate s+parametric+study&go.x=0&go.y =0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:14	0.00%	0 (0.00%)	\$0.00 (0.00%
2279.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=heavy+meta I+concentrations+in+lobster&go.x =7&go.y=8	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2280.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=hell+insanity &go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	9.00	00:18:17	0.00%	0 (0.00%)	\$0.00 (0.00%
2281.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Heller+P,He ller+K+(1995).+The+Competent+ Problem+Solver:AStrategy+for+S olving+Problems+in+Physics,&go. x=6&go.y=6	1	(0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:09:16	0.00%	0 (0.00%)	\$0.00 (0.00%
2282.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Henry+Davi d+Thoreau,+The+Maine+Woods+ &go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2283.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=henry+mcint ire&go.x=10&go.y=9	1	(0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:03:53	0.00%	0 (0.00%)	\$0.00 (0.00%
2284.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=henry+plum mer&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	10.00	00:11:44	0.00%	0 (0.00%)	\$0.00 (0.00%
2285.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Hensel,+W. +F.+(2011)+The+Disability+Dilem ma:+A+Skeptical+Bench+and+Ba r.+University+of+Pittsburgh+Law+Review,+69,+637–56&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:16:58	0.00%	0 (0.00%)	\$0.00 (0.00%
2286.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=herald,+chri stopher&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:03:16	0.00%	0 (0.00%)	\$0.00 (0.00%
2287.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=HERDA+(Te st*)&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2288.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=HERDA+reg ulations&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:27	0.00%	0 (0.00%)	\$0.00 (0.00%
2289.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=herds+of+th e+tundra&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:10:40	0.00%	0 (0.00%)	\$0.00 (0.00%
2290.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Hereditary+ Hemorrhagic+Telangiectasia++Al an+E.+Guttmacher,+M.D.&go.x=0 &go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	17.00	00:08:30	0.00%	0 (0.00%)	\$0.00 (0.00%
2291.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=herman+mel ville&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:04	0.00%	0 (0.00%)	\$0.00 (0.00%
2292.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=heterogeno us+grafting+ATRP+to+cellulose& go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%

2293.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=High-throug hput+mapping+of+a+dynamic+sig naling+network+in+mammalian+c ells.&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2294.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=High+Intensi ty+Interval+Training&go.x=6&go.y =8	1	(0.00%)	100.00%	1 (0.01%	0.00%	2.00	00:00:25	0.00%	0 (0.00%)	\$0.00 (0.00%
2295.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=higher+educ ation's+new+playbook:+learning+ reconsidered&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2296.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Highly+Bran ched+Poly(N-isopropylacrylamide)+for+Use+in+Protein+Purification &go.x=15&go.y=6	1	(0.00%)	0.00%	0 (0.00%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2297.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Highly+varia ble+recruitment+in+an+estuarine +fish+is+determined+by+salinity+ stratification+and+freshwater+flo w:+implications+of+a+changing+c limate&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	0.00%	5.00	00:34:47	0.00%	0 (0.00%)	\$0.00 (0.00%
2298.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Hill,+T.,+Ca rmichael,+D.,+Maylin,+G.,+Krook,+L.,+1986.+Track+condition+and +racing+injuries+in+thoroughbred +horses.+The+Cornell+Veterinari an+76,+361-379.&go.x=11&go.y=10	1	(0.00%)	0.00%	0 (0.00%	0.00%	12.00	00:10:38	0.00%	0 (0.00%)	\$0.00 (0.00%
2299.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=hip+hop+lyri cs&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	0.00%	5.00	00:08:40	0.00%	0 (0.00%)	\$0.00 (0.00%
2300.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=history+if+b aseball&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	0.00%	6.00	00:03:13	0.00%	0 (0.00%)	\$0.00 (0.00%
2301.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=history+of+d iet&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	0.00%	9.00	00:42:48	0.00%	0 (0.00%)	\$0.00 (0.00%
2302.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=history+of+g ar+rights+on+college+campuses &go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	0.00%	5.00	00:01:38	0.00%	0 (0.00%)	\$0.00 (0.00%
2303.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=history+of+s chizophrenia+in+women&go.x=0 &go.y=0	1	(0.00%)	100.00%	1 (0.01%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2304.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=hives&go.x= 0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	0.00%	3.00	00:00:33	0.00%	0 (0.00%)	\$0.00 (0.00%
2305.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=hI7&go.x=16 &go.y=6	1	(0.00%)	0.00%	0 (0.00%	0.00%	6.00	00:01:29	0.00%	0 (0.00%)	\$0.00 (0.00%
2306.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=hodapp&go. x=12&go.y=9	1	(0.00%)	100.00%	1 (0.01%	0.00%	10.00	00:08:37	0.00%	0 (0.00%)	\$0.00 (0.00%
2307.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Hofmann's+ Potion&go.x=8&go.y=8	1	(0.00%)	100.00%	1 (0.01%	0.00%	2.00	00:00:07	0.00%	0 (0.00%)	\$0.00 (0.00%
2308.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Holman&go. x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	0.00%	3.00	00:00:12	0.00%	0 (0.00%)	\$0.00 (0.00%
2309.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Holocene+A tlantic+Water+temperature+recon struction+in+the+Nordic+Seas+ba sed+on+foraminiferal+Mg/Ca+rati os&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	0.00%	9.00	00:16:04	0.00%	0 (0.00%)	\$0.00 (0.00%
2310.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Holocene+cl imate+in+West+Antarctica+from+t he+Siple+Dome+ice+core+melt-la yer+record&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2311.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=home+healt h+care&go.x=7&go.y=12	1	(0.00%)	100.00%	1 (0.01%	0.00%	12.00	00:22:35	0.00%	0 (0.00%)	\$0.00 (0.00%
	/search?s.fvf[]=ContentType,New										

2312.	spaper+Article,t&s.q=nome+scrit oling+against+high+school&go.x= 12&go.y=5	1	(0.00%)	0.00%	0	(0.00%)	0.00%	3.00	00:00:37	0.00%	0 (0.00%)	\$0.00	(0.00%
2313.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=homeless+y outh+trends&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	3.00	00:11:33	0.00%	0 (0.00%)	\$0.00	(0.00%
2314.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=homoegene ous+grafting+poly+(methyl+meth acrylate)+on+cellulose+by+atom+ transfer+&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:00:16	0.00%	0 (0.00%)	\$0.00	(0.00%
2315.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=honey+bee+ loss+native+pllinator+new+englan d&go.x=0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	0.00%	5.00	00:06:10	0.00%	0 (0.00%)	\$0.00	(0.00%
2316.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=honor+killin gs&go.x=0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	0.00%	3.00	00:03:05	0.00%	0 (0.00%)	\$0.00	(0.00%
2317.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=hop+aphid& go.x=-647&go.y=-217	1	(0.00%)	0.00%	0	(0.00%)	0.00%	8.00	00:13:45	0.00%	0 (0.00%)	\$0.00	(0.00%
2318.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=hops&go.x= -645&go.y=-217	1	(0.00%)	0.00%	0	(0.00%)	0.00%	8.00	00:02:40	0.00%	0 (0.00%)	\$0.00	(0.00%
2319.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=horner+roys ter+trimbur&go.x=0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
2320.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=horton+hear s+a+who&go.x=0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
2321.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=HortScience &go.x=5&go.y=10	1	(0.00%)	100.00%	1	(0.01%)	0.00%	2.00	00:03:28	0.00%	0 (0.00%)	\$0.00	(0.00%
2322.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=how+antide pressants+work&go.x=0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
2323.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=how+does+ gdp+effect+the+econony&go.x=0 &go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	6.00	00:04:33	0.00%	0 (0.00%)	\$0.00	(0.00%
2324.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=How+isotopi c+fractionation+of+snowmelt+affe cts+hydrograph+separation&go.x =0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
2325.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=How+much +more+rain+will+global+warming +bring?&go.x=10&go.y=3	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
2326.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=how+siz&go .x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:00:13	0.00%	0 (0.00%)	\$0.00	(0.00%
2327.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=How+Size+ Matters:+The+Question+of+Scale +in+History&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
2328.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=How+TAL+e ffectors+bind+DNA	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
2329.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=how+the+en viornment+affects+animals&go.x= 0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
2330.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.g=How+the+N ews+Makes+Us+Dumb:+The+De ath+of+Wisdom+in+an+Informatio n+Society&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
2331.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=how+to+co mpost&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
2332.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=how+to+con quer+new+markets&go.x=0&go.y =0	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
2333.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=How+to+ide ntify+a+sociopath&go.x=0&go.y= 0	1	(0.00%)	100.00%	1	(0.01%)	0.00%	2.00	00:00:19	0.00%	0 (0.00%)	\$0.00	(0.00%

2334.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=how+to+kno w+poe&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:16:31	0.00%	0 (0.00%)	\$0.00 (0.00%
2335.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=how+to+ma ke+friends&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2336.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=how+to+tea ch+kids+gratitude&go.x=0&go.y= 0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2337.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=how+to+thri ve+in+turbulent+markets&go.x=0 &go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:21:23	0.00%	0 (0.00%)	\$0.00 (0.00%
2338.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=howard+zin n&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:25	0.00%	0 (0.00%)	\$0.00 (0.00%
2339.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=html&go.x=9 &go.y=11	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:44	0.00%	0 (0.00%)	\$0.00 (0.00%
2340.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=http://digital. films.com.prxy4.ursus.maine.edu/ PortalViewVideo.aspx?xtid=5341 1&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:39	0.00%	0 (0.00%)	\$0.00 (0.00%
2341.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=http://pubs.a cs.org/doi/abs/10.1021/nl3021889 &go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:57	0.00%	0 (0.00%)	\$0.00 (0.00%
2342.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=http://qq4nm 4zz3u.search.serialssolutions.co m/?V=1.0&N=25&L=QQ4NM4ZZ 3U&S=AC_T_B&C=chronicle+of+higher+ed&go.x=8&go.y=8	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:06	0.00%	0 (0.00%)	\$0.00 (0.00%
2343.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=http://www.s ciencedirect.com/science/article/p ii/S0022169400002158&go.x=0& go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:13	0.00%	0 (0.00%)	\$0.00 (0.00%
2344.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=http://www.s ciencedirect.com/science/article/p ii/S0956566306000534&go.x=7& go.y=10	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:43	0.00%	0 (0.00%)	\$0.00 (0.00%
2345.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=https://www.google.com/search?client=safari&rls=en&q=takahashi+Climatologic al+mean+and+decadal+change+in+surface+ocean+pCO2,+and+net+sea-air+CO2+flux+over+the+global+oceans&ie=UTF-8&oe=UTF-8&go.x=-728&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:34	0.00%	0 (0.00%)	\$0.00 (0.00%
2346.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=huete+and+ mccoll+soil+cation+leaching&go.x =0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	36.00	02:11:07	0.00%	0 (0.00%)	\$0.00 (0.00%
2347.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Human-Indu ced+Changes+in+the+Hydrology +of+the+Western+United+States &go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2348.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Human+Cult ure:+Highlights+of+Cultural+Anthr opology&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:24:36	0.00%	0 (0.00%)	\$0.00 (0.00%
2349.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=human+dim ensions+climate	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2350.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=human+diss ection&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:14:19	0.00%	0 (0.00%)	\$0.00 (0.00%
2351.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Human+Fac tors+Engineering+in+the+Postal+ Service&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:05:58	0.00%	0 (0.00%)	\$0.00 (0.00%
2352.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=human+mon ocyte/macrophage+THP-1+cells&	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:18:33	0.00%	0 (0.00%)	\$0.00 (0.00%

	go.x=4&go.y=12										
2353.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=human+mor phology&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:18	0.00%	0 (0.00%)	\$0.00 (0.00%
2354.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=human+trich romacy+revisited	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2355.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Huna+Tlingi t+Traditional+Environmental+Kno wledge,+Conservation,+and+the+ Management+of+a+'Wilderness'+ Park&go.x=-710&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:11:53	0.00%	0 (0.00%)	\$0.00 (0.00%
2356.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=hunger+ga me&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:02:09	0.00%	0 (0.00%)	\$0.00 (0.00%
2357.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Hunger+in+ Maine&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:08:02	0.00%	0 (0.00%)	\$0.00 (0.00%
2358.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=hungry+cate pillar&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:25:16	0.00%	0 (0.00%)	\$0.00 (0.00%
2359.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=huntington& go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2360.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=husserl+phe nomenology&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2361.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=hybrid+anis otropic&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:02:10	0.00%	0 (0.00%)	\$0.00 (0.00%
2362.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=hydraulic+fr acturing+and+air+quality&go.x=0 &go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2363.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=hydraulic+fr acturing+considerations+for+natu ral+gas+wells+of+the+marcellus+ shale&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2364.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=hydrodynam ic+calculation+experiment&go.x= 0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:01:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2365.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Hydrodyna mic+performance+study+of+two+side-by-side+barges&go.x=11&go .y=12	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:15:23	0.00%	0 (0.00%)	\$0.00 (0.00%
2366.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Hydrodyna mic+response+of+a+non-ship-sh aped+FPSO+vessel+with+dampi ng+plates&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:13:37	0.00%	0 (0.00%)	\$0.00 (0.00%
2367.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=hydrogeolog y&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:15:13	0.00%	0 (0.00%)	\$0.00 (0.00%
2368.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Hydrosilylati on:+A+Comprehensive+Review+ on+Recent+Advances&go.x=12& go.y=10	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:23:58	0.00%	0 (0.00%)	\$0.00 (0.00%
2369.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=hypathia's+ heritage&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:57	0.00%	0 (0.00%)	\$0.00 (0.00%
2370.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=hyperbolic+ sine+law+geology&go.x=0&go.y= 0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2371.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=HYPP+laws &go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:22:01	0.00%	0 (0.00%)	\$0.00 (0.00%
2372.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=hysteria+fre ud&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2373.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=i+thought+it +was+just+me&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:02:13	0.00%	0 (0.00%)	\$0.00 (0.00%

237	/search?s.fvf[]=ContentType,New 4. spaper+Article,t&s.q=lan+J.+Jess e&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
237	/search?s.fvf[]=ContentType,New 5. spaper+Article,t&s.q=ibm+spss+2 2&go.x=8&go.y=4	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:22	0.00%	0 (0.00%)	\$0.00 (0.00%
237	/search?s.fvf[]=ContentType,New 6. spaper+Article,t&s.q=iceberg+utili zation&go.x=-637&go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	14.00	00:38:36	0.00%	0 (0.00%)	\$0.00 (0.00%
237	/search?s.fvf[]=ContentType,New 7. spaper+Article,t&s.q=identity/diffe rence&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	37.00	01:49:54	0.00%	0 (0.00%)	\$0.00 (0.00%
237	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=ideograph+ mcgee&go.x=-685&go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
237	/search?s.fvf[]=ContentType,New 9. spaper+Article,t&s.q=ieee+XPLO RE&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
238	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Illiad&go.x= 7&go.y=8	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
238	/search?s.fvf[]=ContentType,New 1. spaper+Article,t&s.q=Illiad&go.x= 8&go.y=8	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
238	/search?s.fvf[]=ContentType,New 2. spaper+Article,t&s.q=immigrant+p aradox+children&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
238	/search?s.fvf[]=ContentType,New 3. spaper+Article,t&s.q=immigration +&go.x=13&go.y=15	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:20	0.00%	0 (0.00%)	\$0.00 (0.00%
238	/search?s.fvf[]=ContentType,New 4. spaper+Article,t&s.q=immigration +and+Brazil&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:21	0.00%	0 (0.00%)	\$0.00 (0.00%
238	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=immune+res ponse+to+a+recombinant+capsid &go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
238	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=immune+res 6. ponse+to+a+recombinant+capsid +protein+of+stripped&go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
238	/search?s.fvf[]=ContentType,New 7. spaper+Article,t&s.q=immunity+di agram&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:22:38	0.00%	0 (0.00%)	\$0.00 (0.00%
238	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=IMMUNIZAT ION+OF+BLACK-TAILED+PRAIR 8. IE+DOG+AGAINST+PLAGUE+T HROUGH+CONSUMPTION+OF+ VACCINE-LADEN+BAITS&go.x= 11&go.y=9	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:16	0.00%	0 (0.00%)	\$0.00 (0.00%
238	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Immunohist ochemical+study+of+nuclear+fact or-kappaB+activity+and+interleuki n-8+abundance+in+oesophageal +adenocarcinoma;+a+useful+stra tegy+for+monitoring+these+biom arkers.&go.x=-697&go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
239	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Immunologi c+Release+of+β-Hexosaminidase +and+β-Glucuronidase+from+Puri fied+Rat+Serosal+Mast+Cells&go .x=14&go.y=7	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
239	/search?s.fvf[]=ContentType,New 1. spaper+Article,t&s.q=impact+fact or&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:35	0.00%	0 (0.00%)	\$0.00 (0.00%
239	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Impact+of+t he+United+kingdom+national+bo wel+cancer+awareness+campaig n+on+colorectal+services&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
239	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=impacts+of+ tourism+on+native+hawaiians&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:09:02	0.00%	0 (0.00%)	\$0.00 (0.00%

2394.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=imperialim+t he+study&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:25	0.00%	0 (0.00%)	\$0.00 (0.00%
2395.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=imperialism: +a+study&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:03:38	0.00%	0 (0.00%)	\$0.00 (0.00%
2396.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=imperialism +a+study&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2397.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Implementin g+Learning+Outcomes+Assessm ent&go.x=8&go.y=6	1	(0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:01:14	0.00%	0 (0.00%)	\$0.00 (0.00%
2398.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=importance+ of+foraminferans+in+reef+buildin g&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	13.00	00:24:14	0.00%	0 (0.00%)	\$0.00 (0.00%
2399.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Importance+ of+foraminifera+for+the+formatio n+and+maintenance+of+a+coral+ sand+cay:+Green+Island,+Austra lia&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:12:31	0.00%	0 (0.00%)	\$0.00 (0.00%
2400.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=importin+b& go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:02:57	0.00%	0 (0.00%)	\$0.00 (0.00%
2401.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=improved+fo urier+transform+methods+for+sol ving+the+&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	15.00	00:27:46	0.00%	0 (0.00%)	\$0.00 (0.00%
2402.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Improvemen t+of+the+digestibility+of+the+prot eins+of+the+red+alga+Palmaria+ palmata+by+physical+processes+ and+fermentation.&go.x=0&go.y= 0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:18:16	0.00%	0 (0.00%)	\$0.00 (0.00%
2403.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=in+a+penal+ colony+kafka&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	13.00	00:15:20	0.00%	0 (0.00%)	\$0.00 (0.00%
2404.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=in+cold+blo od&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2405.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=In+Defense +of+Food&go.x=-734&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2406.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=in+search+o f+the+midiwiwin&go.x=10&go.y=1 6	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2407.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=in+the+blink +of+an+eye+walter+murch&go.x= -692&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:36	0.00%	0 (0.00%)	\$0.00 (0.00%
2408.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=ina+may+ga skins+guide&go.x=-646&go.y=-21 7	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2409.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Incorporatin g+emotion+regulation+into+conce ptualizations+and+treatments+of+anxiety+and+mood+disorders.&g o.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:26	0.00%	0 (0.00%)	\$0.00 (0.00%
2410.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=increase+pa tience&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:44	0.00%	0 (0.00%)	\$0.00 (0.00%
2411.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=increased+t emperatures+affect+oxidative++st ress+&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2412.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=increasing+r ate+notes&go.x=-654&go.y=-217	1	(0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:09:26	0.00%	0 (0.00%)	\$0.00 (0.00%
2413.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=INDEX+OF +REVOLUTIONARY+VETERANS +BURIED+IN+MAINE&go.x=8&g o.y=9	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%

2414.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Indexes+an d+Databases&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	18.00	00:15:38	0.00%	0 (0.00%)	\$0.00 (0.00%
2415.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Indian+immi gration+and+assimilation&go.x=0 &go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:45	0.00%	0 (0.00%)	\$0.00 (0.00%
2416.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Indicators+o f+Ecosystem+Integrity&go.x=11& go.y=5	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2417.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=individual+b ased+modeling+and+ecology&go. x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2418.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Industrial+H emp&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2419.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Industrializa tion+in+the+new+South&go.x=12 &go.y=5	1	(0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:07:37	0.00%	0 (0.00%)	\$0.00 (0.00%
2420.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=ines+de+ca stro&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	36.00	00:36:29	0.00%	0 (0.00%)	\$0.00 (0.00%
2421.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Inexpensive +Pipet+or+Buret+Jar+and+Wash er&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2422.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=infection+control&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:06:21	0.00%	0 (0.00%)	\$0.00 (0.00%
2423.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Influence+of +anthropogenic+aerosols+and+th e+Pacific+Decadal+Oscillation+o n+tropical+belt+width&go.x=-651 &go.y=-217	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:16	0.00%	0 (0.00%)	\$0.00 (0.00%
2424.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Information+ Power:+Building+Partnerships+fo r+Learning	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2425.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=infrastructur e+++natural+gas	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2426.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Inhibition+of +Glycolysis+in+Cancer+Cells:+A +Novel+Strategy+to+Overcome+ Drug+Resistance+Associated+wit h+Mitochondrial+Respiratory+Def ect+and+Hypoxiav&go.x=6&go.y= 13	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:06	0.00%	0 (0.00%)	\$0.00 (0.00%
2427.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=injury+from+ crutch+use&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:08:02	0.00%	0 (0.00%)	\$0.00 (0.00%
2428.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=injury+preve ntion+on+playgrounds&go.x=0&g o.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:07:59	0.00%	0 (0.00%)	\$0.00 (0.00%
2429.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Innate+Imm une+Recognition+Charles+A.+Ja neway	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:03	0.00%	0 (0.00%)	\$0.00 (0.00%
2430.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Innate+imm unity:+an+overview&go.x=0&go.y =0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2431.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Innate+imm unity:+an+overview&go.x=13&go.y=8	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:27	0.00%	0 (0.00%)	\$0.00 (0.00%
2432.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Innate+Imm unity+to+Viral+Infections+&go.x= 0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:04:19	0.00%	0 (0.00%)	\$0.00 (0.00%
2433.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=inner+city+u rban+food+desert+obesity&go.x= 0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:01:50	0.00%	0 (0.00%)	\$0.00 (0.00%

2434.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=inside+job& go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2435.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Inside+Job& go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2436.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Insights+int o+mucopolysaccharidosis+I+from +the+structure+and+action+of+α-L-iduronidase&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	12.00	00:27:17	0.00%	0 (0.00%)	\$0.00 (0.00%
2437.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Insights+int o+the+mating+habits+of+the+tige r+salamander+(Ambystoma+tigrin um+tigrinum)+as+revealed+by+g enetic+parentage+analyses&go.x =5&go.y=6	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2438.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Integrating+ Science+and+Literacy+Instruction +A+Framework+for+Bridging+the +Gap&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%
2439.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Integrating+t he+invisible+fabric+of+nature+int o+fisheries+management&go.x=0 &go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2440.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Intelligence +and+Statecraft:+The+Use+and+ Limits+of+Intelligence+in+Internat ional+Society&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:06:28	0.00%	0 (0.00%)	\$0.00 (0.00%
2441.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=inter-+and+i ntra-+specimen+variability+masks +reliable+temperature+control&go .x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2442.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Interactive+ Read-Alouds—An+Avenue+for+E nhancing+Children's+Language+f or+Thinking+and+Understanding: +A+Review+of+Recent+Research &go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2443.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=interactive+r ead+aloud+research&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:03:02	0.00%	0 (0.00%)	\$0.00 (0.00%
2444.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=interactive+r ead+alouds-an+avenue+for+enha ncing+children's+language+for+th inking+and+understanding:+a+re view+of+recent+research&go.x=0 &go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2445.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Interannual+ variation+in+phytoplankton+bloo ms+and+zooplankton+productivit y+and+abundance+in+the+Gulf+ of+Maine+during+winter&go.x=12 &go.y=13	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2446.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=interchemne t&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2447.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Interference &go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:01:12	0.00%	0 (0.00%)	\$0.00 (0.00%
2448.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=interferons+ and+viruses:+an+interplay&go.x= 0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2449.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Interferons+ and+viruses:+an+interplay+betwe en+induction,+signaling,+antiviral &go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2450.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=intergroup+c ontact+theory&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%

2451.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=interlibrary+l oan&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2452.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Internal+me dicine&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:04:05	0.00%	0 (0.00%)	\$0.00 (0.00%
2453.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=international +astronomical+union&go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2454.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=international +business+dictionary&go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2455.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=international +journal+of+epidemiology	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2456.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=international +journal+of+forensic+mental+heal th&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2457.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=International +TAs'+transitional+experiences& go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2458.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=internet+reg u&go.x=10&go.y=7	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:03:19	0.00%	0 (0.00%)	\$0.00 (0.00%
2459.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=interpretatio n+techniques+and+exercises&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2460.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=introduction +to+bessel+equations&go.x=7&g o.y=17	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:29:26	0.00%	0 (0.00%)	\$0.00 (0.00%
2461.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Introduction +to+Mathematical+Thinking&go.x =7&go.y=8	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:27	0.00%	0 (0.00%)	\$0.00 (0.00%
2462.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Introduction +to+Nonlinear+Finite+Element+A nalysis.&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:00:27	0.00%	0 (0.00%)	\$0.00 (0.00%
2463.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=introduction +to+object+oriented+programmin g+nino&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2464.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=introduction +to+physics&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:40	0.00%	0 (0.00%)	\$0.00 (0.00%
2465.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=inuit+mythol ogy&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	12.00	00:08:09	0.00%	0 (0.00%)	\$0.00 (0.00%
2466.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=invertebrate +biology&go.x=7&go.y=13	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2467.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=invertebrate +reproduction+and+development &go.x=9&go.y=11	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2468.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Investigatio n+of+the+diffusion+of+dyes+in+a gar+gels&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:34	0.00%	0 (0.00%)	\$0.00 (0.00%
2469.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=investment+ scams&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:10:59	0.00%	0 (0.00%)	\$0.00 (0.00%
2470.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=ipo+process +law&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:06:24	0.00%	0 (0.00%)	\$0.00 (0.00%
2471.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Iraq+and+te rrorism&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2472.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=irma+vep&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:20:55	0.00%	0 (0.00%)	\$0.00 (0.00%
	/search?s fvffl=ContentTyne New									

2473	spaper+Article,t&s.q=irma+vepp& go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:45	0.00%	0 (0.00%)	\$0.00 (0.00%
2474	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Iroquois+Po ttery+Types&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	9.00	00:03:27	0.00%	0 (0.00%)	\$0.00 (0.00%
2475	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=ISBN+9781 119998655&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:02:50	0.00%	0 (0.00%)	\$0.00 (0.00%
2476	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=isis&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:20	0.00%	0 (0.00%)	\$0.00 (0.00%
2477	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=islam+qu'ra n+violence&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:01:41	0.00%	0 (0.00%)	\$0.00 (0.00%
2478	/search?s.fvfi]=ContentType,New spaper+Article,t&s.q=Islands+Fro m+Atlantis+to+Zanzibar+and+Fis cher&go.x=6&go.y=6	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:05:11	0.00%	0 (0.00%)	\$0.00 (0.00%
2479	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=iso&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:48	0.00%	0 (0.00%)	\$0.00 (0.00%
2480	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=ISO+2720:1 974&go.x=-734&go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:13:14	0.00%	0 (0.00%)	\$0.00 (0.00%
2481	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Isotopic+me asurements+of+precipitation+on+ central+Asian+glaciers+(southeas tern+Tibet,+northern+Himalayas,+central+Tien+Shan&go.x=-611&go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:16:01	0.00%	0 (0.00%)	\$0.00 (0.00%
2482	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Isovists+as+ a+Means+to+Predict+Spatial+Ex perience+and+Behavior&go.x=9& go.y=8	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2483	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Ivory+trade &go.x=-654&go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:14:02	0.00%	0 (0.00%)	\$0.00 (0.00%
2484	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=ixodes+greg soni&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2485	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=j.k+gibson+l .+brewer&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:14:17	0.00%	0 (0.00%)	\$0.00 (0.00%
2486	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=J+C+Penne y&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:16:20	0.00%	0 (0.00%)	\$0.00 (0.00%
2487	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=j+chem+ed &go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:28	0.00%	0 (0.00%)	\$0.00 (0.00%
2488	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=J+Steroid+B iochem+Mol+Biol&go.x=-725&go. y=-217	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2489	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=jack+and+th e+beanstok&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:03:07	0.00%	0 (0.00%)	\$0.00 (0.00%
2490	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Jan+Hřímal ý&go.x=13&go.y=7	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2491	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=jane+eyre& go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:17	0.00%	0 (0.00%)	\$0.00 (0.00%
2492	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=janet+frame &go.x=7&go.y=8	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:32:55	0.00%	0 (0.00%)	\$0.00 (0.00%
2493	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=jardine&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2494	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=jarocha+mu sic&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:04:08	0.00%	0 (0.00%)	\$0.00 (0.00%
2495	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=java&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:07:20	0.00%	0 (0.00%)	\$0.00 (0.00%

2496.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=jay+jordan& go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2497.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=jayne+corte z&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	0.00%	2.00	00:00:07	0.00%	0 (0.00%)	\$0.00 (0.00%
2498.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=jean+delville &go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	0.00%	6.00	00:02:23	0.00%	0 (0.00%)	\$0.00 (0.00%
2499.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=jews,+antise mitism+and+culture+in+vienna&g o.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	0.00%	3.00	00:00:37	0.00%	0 (0.00%)	\$0.00 (0.00%
2500.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=jgr&go.x=0& go.y=0	1	(0.00%)	100.00%	1 (0.01%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2501.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=job+informat ion+list&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	0.00%	3.00	00:04:33	0.00%	0 (0.00%)	\$0.00 (0.00%
2502.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=john+dewey +the+ethics+of+democracy&go.x =0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2503.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=John+Donn e&go.x=10&go.y=17	1	(0.00%)	100.00%	1 (0.01%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2504.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=john+m+ma ckenzie,+the+empire+of+nature& go.x=6&go.y=1	1	(0.00%)	100.00%	1 (0.01%	0.00%	2.00	00:01:07	0.00%	0 (0.00%)	\$0.00 (0.00%
2505.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=John+Water bury,+"Hate+Your+Policies,+Love +Your+Institutions,"+Foreign+Affa irs,+January-+February+2003,+p. +62&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2506.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Johnson,C+ .,+&+Haney,C+.+(1994).+Felonyv +oir+dire:A+n+exploratoryst+udyo +f+its+content+and+effects.+Law ++and+HumanB+ehavior1,+8,+48 7-506=&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	0.00%	5.00	00:00:16	0.00%	O (0.00%)	\$0.00 (0.00%
2507.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=johnson+ma rsh+2004&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	0.00%	3.00	00:00:56	0.00%	0 (0.00%)	\$0.00 (0.00%
2508.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Joint+attenti on+and+symbolic+play+in+young +children+with+autism&go.x=8&g o.y=7	1	(0.00%)	100.00%	1 (0.01%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2509.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=jonathan+ko zol&go.x=-676&go.y=-217	1	(0.00%)	0.00%	0 (0.00%	0.00%	2.00	00:00:05	0.00%	0 (0.00%)	\$0.00 (0.00%
2510.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Jones,+Gra nville+H.+Walt+Whitman,+Thoma s+Wolfe,+and+Jack+Kerouac:+C ommon+Origins+and+Common+Aims.+,+1961.+Print.&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	0.00%	9.00	00:09:37	0.00%	0 (0.00%)	\$0.00 (0.00%
2511.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=jorge+luis+b orges&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	0.00%	3.00	00:00:46	0.00%	0 (0.00%)	\$0.00 (0.00%
2512.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=joseph+cam pbell&go.x=10&go.y=8	1	(0.00%)	100.00%	1 (0.01%	0.00%	7.00	00:09:05	0.00%	0 (0.00%)	\$0.00 (0.00%
2513.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=joshua+e+bi ckford&go.x=2&go.y=6	1	(0.00%)	100.00%	1 (0.01%	0.00%	11.00	00:02:38	0.00%	0 (0.00%)	\$0.00 (0.00%
2514.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Jostr&go.x= 0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2515.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=jounral+of+o ccupational+and+organizational+ psychology&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2516.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=jouranal+of+	11	(0.00%)	100.00%	1 (0.01%	0.00%	2.00	00:00:06	0.00%	0 (0.00%)	\$0.00 (0.00%

	shellfish+resaerch&go.x=U&go.y= 0	,								
2517	/search?s.fvf[]=ContentType,New 7. spaper+Article,t&s.q=journal+of+a dolescence&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2518	/search?s.fvf[]=ContentType,New 3. spaper+Article,t&s.q=journal+of+a dolescence&go.x=15&go.y=9	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2519	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=journal+of+a dvanced+nursing+infection+contr ol&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:43	0.00%	0 (0.00%)	\$0.00 (0.00%
2520	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Journal+of+ Applied+Polymer+Science&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:32	0.00%	0 (0.00%)	\$0.00 (0.00%
252	/search?s.fvf[]=ContentType,New l. spaper+Article,t&s.q=journal+of+a vian+biology&go.x=9&go.y=11	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2522	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=journal+of+b iomechanical+engineering&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2523	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=journal+of+b one+and+joint+surgery+american &go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:03:09	0.00%	0 (0.00%)	\$0.00 (0.00%
2524	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=JOURNAL+ I. OF+CLINICAL+PSYCHOLOGY:+ IN+SESSION,+Vol.+68(8),+877– 885+(2012)&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	22.00	00:22:46	0.00%	0 (0.00%)	\$0.00 (0.00%
2525	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=journal+of+c ontaminant+hydrology&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2526	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Journal+of+ Early+Intervention&go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:07:38	0.00%	0 (0.00%)	\$0.00 (0.00%
2527	/search?s.fvf[]=ContentType,New 7. spaper+Article,t&s.q=journal+of+e pidemiology&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:44	0.00%	0 (0.00%)	\$0.00 (0.00%
2528	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Journal+of+ Food+Science&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2529	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=journal+of+g eophysical+research&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:19	0.00%	0 (0.00%)	\$0.00 (0.00%
2530	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Journal+of+ geophysical+research&go.x=9&g o.y=6	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
253	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=journal+of+h ealth+and+social+behavior&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:03:05	0.00%	0 (0.00%)	\$0.00 (0.00%
2532	/search?s.fvf[]=ContentType,New 2. spaper+Article,t&s.q=journal+of+h igher+education&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:39:49	0.00%	0 (0.00%)	\$0.00 (0.00%
2533	/search?s.fvf[]=ContentType,New spaper+Article;t&s.q=journal+of+i mmigrant+and+refugee+studies:+ +how+do+social+service+provide rs+view+recent+Immigrants?:+Pe rspectives+from+Portland+Maine, +and+Olympia+Washington&go.x =0&go.y=9	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2534	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=journal+of+i ntellectual+disability+research&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:10:53	0.00%	0 (0.00%)	\$0.00 (0.00%
253	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Journal+of+ Mental+Health+Policy+and+Econ omics&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2536	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=journal+of+n	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:17	0.00%	0 (0.00%)	\$0.00 (0.00%

	euroscienceago.xoszago.yz r 7										
2537.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=journal+of+p hycology&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:03:50	0.00%	0 (0.00%)	\$0.00 (0.00%
2538.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=journal+of+p lankton+research&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:25	0.00%	0 (0.00%)	\$0.00 (0.00%
2539.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=journal+of+p sychology&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:03:51	0.00%	0 (0.00%)	\$0.00 (0.00%
2540.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Journal+of+ Shellfish+Research&go.x=0&go.y =0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2541.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Journal+of+ Speech,+Language+and+Hearing +Research&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2542.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=journal+of+t he+illinois+state+historical&go.x= 0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2543.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=journal+of+t he+marine+biological+association +of+the+united+kingdom&go.x=4 &go.y=10	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2544.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=journal+of+t he+national+cancer+institute&go. x=10&go.y=10	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2545.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=journal+of+t heory+and+family+review&go.x=0 &go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2546.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=journal+of+t heory+and+family+review&go.x=1 1&go.y=10	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2547.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Journal+of+ Virolgoy&go.x=15&go.y=14	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2548.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=journal+of+v oice&go.x=-560&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2549.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=journals&go. x=9&go.y=7	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2550.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=JStor&go.x= 0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2551.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=JSTOR&go. x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:06:20	0.00%	0 (0.00%)	\$0.00 (0.00%
2552.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=JSTOR&go. x=5&go.y=12	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2553.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=JSTOR&go. x=7&go.y=10	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:04:31	0.00%	0 (0.00%)	\$0.00 (0.00%
2554.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Judith+Carn ey+The+African+Origins+of+Caro lina+Rice+Culture&go.x=0&go.y= 0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2555.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=jules+conus &go.x=5&go.y=11	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2556.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Julius+Ceas er&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2557.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Jumelage+j ane+martin&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	25.00	00:16:43	0.00%	0 (0.00%)	\$0.00 (0.00%
2558.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Just+Give+ money+to+the+poor&go.x=0&go.	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%

	y=0										
2559.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=just+in+time +instruction&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	0.00%	2.00	00:00:26	0.00%	0 (0.00%)	\$0.00 (0.00%
2560.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=K.K.+Turkek ian,+Global+Envronmental+CHan ge;+Past,+Present,+and+future,+ 1996&go.x=-634&go.y=-217	1	(0.00%)	0.00%	0 (0.00%	0.00%	4.00	00:02:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2561.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=kalmia+cold +hardiness&go.x=-526&go.y=-21 7	1	(0.00%)	100.00%	1 (0.01%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2562.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=kapur+zhao +sharir&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	0.00%	4.00	00:02:26	0.00%	0 (0.00%)	\$0.00 (0.00%
2563.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Karl+Sigmu nd,+Ernest+Fehr+and+Martin+No wak+(2002),+The+Economics+of +Fair+Play.&go.x=6&go.y=8	1	(0.00%)	0.00%	0 (0.00%	0.00%	2.00	00:01:06	0.00%	0 (0.00%)	\$0.00 (0.00%
2564.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=kate+chopin +the+story+of+an+hour&go.x=0& go.y=0	1	(0.00%)	100.00%	1 (0.01%	0.00%	8.00	00:07:14	0.00%	0 (0.00%)	\$0.00 (0.00%
2565.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Katel+Woun ded+veterans+America+shortcha nging+vets+health+care&go.x=9& go.y=15	1	(0.00%)	0.00%	0 (0.00%	0.00%	7.00	00:35:11	0.00%	0 (0.00%)	\$0.00 (0.00%
2566.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=kathleen+gu rney&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	0.00%	3.00	00:03:04	0.00%	0 (0.00%)	\$0.00 (0.00%
2567.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Kattenburg, +David.+(2005,+March).++Countr y+profile:++Marshall+Islands.++N ew+Internationalist&go.x=8&go.y =7	1	(0.00%)	0.00%	0 (0.00%	0.00%	5.00	00:26:40	0.00%	0 (0.00%)	\$0.00 (0.00%
2568.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=kavanaugh+ complex+sites&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	0.00%	2.00	00:00:24	0.00%	0 (0.00%)	\$0.00 (0.00%
2569.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=kenetic+scul pture&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2570.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Kennebec+J ournal	1	(0.00%)	100.00%	1 (0.01%	0.00%	6.00	00:10:27	0.00%	0 (0.00%)	\$0.00 (0.00%
2571.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Kennebunk port+population&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2572.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Kenneth+Fe der&go.x=9&go.y=3	1	(0.00%)	100.00%	1 (0.01%	0.00%	8.00	00:02:29	0.00%	0 (0.00%)	\$0.00 (0.00%
2573.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=kenya+wildli fe+management&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2574.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=kevlar&go.x =0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	0.00%	8.00	00:29:50	0.00%	0 (0.00%)	\$0.00 (0.00%
2575.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=kharja&go.x =0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	0.00%	6.00	00:05:58	0.00%	0 (0.00%)	\$0.00 (0.00%
2576.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=kill-the-winn er&go.x=-727&go.y=-217	1	(0.00%)	0.00%	0 (0.00%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2577.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=killer+whale s+in+captivity&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2578.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=kim+huisma n&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	0.00%	3.00	00:00:36	0.00%	0 (0.00%)	\$0.00 (0.00%
2579.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=kindergarten +guidance+friendship&go.x=6&go .y=4	1	(0.00%)	0.00%	0 (0.00%	0.00%	7.00	00:05:09	0.00%	0 (0.00%)	\$0.00 (0.00%
	/search?s.fvf[]=ContentType,New			100 000		100 0001	4.00	22.22.22	2 222		

2	580.	spaper+Article,t&s.q=KKK&go.x= 0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
2	581.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=klein+bottle &go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:51	0.00%	0 (0.00%)	\$0.00	(0.00%
2	582.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=knocking+d own&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:33:53	0.00%	0 (0.00%)	\$0.00	(0.00%
2	583.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=kobayasha+ issa&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:02:43	0.00%	0 (0.00%)	\$0.00	(0.00%
2	584.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=kpe+270&g o.x=-634&go.y=-217	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
2	585.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=krish+kelvin &go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:02:54	0.00%	0 (0.00%)	\$0.00	(0.00%
2	586.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=kristin+schil d&go.x=-724&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
2	587.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Kronenberg +et+al.,+1990&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:01:29	0.00%	0 (0.00%)	\$0.00	(0.00%
2	588.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=kubler+ross +1969&go.x=-649&go.y=-217	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:09	0.00%	0 (0.00%)	\$0.00	(0.00%
2	589.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=kundu+fluid &go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
2	590.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=kurt+vonneg ut&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:30	0.00%	0 (0.00%)	\$0.00	(0.00%
2	591.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=L.+decemlin eata+virus+transmission&go.x=0 &go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:32	0.00%	0 (0.00%)	\$0.00	(0.00%
2	592.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=la+cage&go. x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
2	593.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=la+jarcha&g o.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	15.00	00:24:39	0.00%	0 (0.00%)	\$0.00	(0.00%
2	594.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=la+nouvelle +france&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:04:29	0.00%	0 (0.00%)	\$0.00	(0.00%
2	595.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Labor's+Col d+War+Missionaries+.+.+."+Labo r:+Studies+in+Working+Class+Hi story+of+the+Americas&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:21:40	0.00%	0 (0.00%)	\$0.00	(0.00%
2	596.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=laboratory+t echniques+coastal+engineering& go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
2	597.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Lads:+Love +Poetry+of+the+Trenches&go.x= 0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
2	598.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Land+and+ Water+Problems:+An+Institutiona I+Perspective&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:04:51	0.00%	0 (0.00%)	\$0.00	(0.00%
2	599.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=land+ethic& go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:09:28	0.00%	0 (0.00%)	\$0.00	(0.00%
2	600.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=landscape+ history+and+ecological+change& go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:01	0.00%	0 (0.00%)	\$0.00	(0.00%
2	601.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Language+a nd+Interaction&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:53	0.00%	0 (0.00%)	\$0.00	(0.00%
2	602.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=language+a s+a+complex+adaptive+system& go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:02:58	0.00%	0 (0.00%)	\$0.00	(0.00%

2	603.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Language+d evelopment+in+children+and+ado lescents+with+Down+syndrome& go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2	604.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Late-glacial +and+Holocene+climate+reconstruction+as+inferred+from+a+stala gmite+-+grotte+du+Père+Noël,+H an-sur-Lesse,+Belgium&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%
2	605.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=late+fe	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2	606.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Late+Quater nary+Marine+Invasion+in+Maine &go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	13.00	00:14:59	0.00%	0 (0.00%)	\$0.00 (0.00%
2	:607.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Late+Siluria n+volcanism+in+coastal+Maine& go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2	608.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=latitudinal+di fferences+in+eutrophication&go.x =0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:04:05	0.00%	0 (0.00%)	\$0.00 (0.00%
2	609.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=launchspac e&go.x=12&go.y=17	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2	610.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=laura+portw ood-stacer&go.x=-653&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:07:34	0.00%	0 (0.00%)	\$0.00 (0.00%
2	611.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=laurie+rush &go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:40	0.00%	0 (0.00%)	\$0.00 (0.00%
2	612.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=lawton-franc o&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	18.00	00:10:36	0.00%	0 (0.00%)	\$0.00 (0.00%
2	613.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=LBR+200&g o.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2	614.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=le+deuxiem e+sexe&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:02:32	0.00%	0 (0.00%)	\$0.00 (0.00%
2	615.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=learn+englis h+&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:10:32	0.00%	0 (0.00%)	\$0.00 (0.00%
2	616.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Learning+to +Be+Old&go.x=11&go.y=4	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2	617.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Learning+to +navigate:+Experience+versus+ maps&go.x=11&go.y=7	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2	618.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=led+zepplin &go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2	619.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=lederach&g o.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2	620.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=lefebvre,+ra ymond&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2	621.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Left+ventric ular+oxidant+and+antioxidant+ma rkers+induced+by+lifestyle+modifi cation+in+rats+exposed+to+lead+ acetate&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:10:03	0.00%	0 (0.00%)	\$0.00 (0.00%
2	622.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=leg+spring+ stiffness	1	(0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:27:36	0.00%	0 (0.00%)	\$0.00 (0.00%
2	623.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=lemon+shar k&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:46	0.00%	0 (0.00%)	\$0.00 (0.00%
2	624.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Leonard+Co hen&go.x=11&go.y=11	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%

2625.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Leopold,+Al do&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:00:23	0.00%	0	(0.00%)	\$0.00	(0.00%
2626.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=letters+from +rifkea&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:00:11	0.00%	0	(0.00%)	\$0.00	(0.00%
2627.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=level+2000+ maintaining+biodiversity&go.x=0& go.y=0	1	(0.00%)	100.00%	1	(0.01%)	0.00%	4.00	00:01:32	0.00%	0	(0.00%)	\$0.00	(0.00%
2628.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Levels+of+p rocessing:+A+framework+for+me mory+research&go.x=13&go.y=1 0	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
2629.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=leveraged+b uy+out&go.x=0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	0.00%	12.00	00:08:42	0.00%	0	(0.00%)	\$0.00	(0.00%
2630.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=lexisnexis&g o.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	6.00	00:27:57	0.00%	0	(0.00%)	\$0.00	(0.00%
2631.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=lexusnexus &go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	3.00	00:03:55	0.00%	0	(0.00%)	\$0.00	(0.00%
2632.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=libguide&go. x=0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
2633.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=library+funding&go.x=0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	0.00%	6.00	00:05:07	0.00%	0	(0.00%)	\$0.00	(0.00%
2634.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Library+hou rs&go.x=-508&go.y=-217	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
2635.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=lichtenwalne r+dairy+bedding&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
2636.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Lick+Observ atory&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	19.00	00:05:18	0.00%	0	(0.00%)	\$0.00	(0.00%
2637.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Life-Cycle+ Greenhouse+Gas+Emissions+of+ Shale+Gas,+Natural+Gas,+Coal, +and+Petroleum&go.x=14&go.y= 11	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:03:44	0.00%	0	(0.00%)	\$0.00	(0.00%
2638.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Lifestyle+re design&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
2639.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Limited+effe cts+of+suburbanization+on+the+g enetic+structure+of+an+abundant +vernal+pool-breeding+amphibia n&go.x=0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
2640.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=linda+kealey &go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:22:17	0.00%	0	(0.00%)	\$0.00	(0.00%
2641.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=linda+nash& go.x=-508&go.y=-217	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
2642.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=linda+nash& go.x=0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	0.00%	3.00	00:01:03	0.00%	0	(0.00%)	\$0.00	(0.00%
2643.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=linda+nash+ agency&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:00:09	0.00%	0	(0.00%)	\$0.00	(0.00%
2644.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=link&go.x=0 &go.y=0	1	(0.00%)	100.00%	1	(0.01%)	0.00%	2.00	00:00:17	0.00%	0	(0.00%)	\$0.00	(0.00%
2645.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=lion+accept ance+capacity+tanzania&go.x=0& go.y=0	1	(0.00%)	100.00%	1	(0.01%)	0.00%	5.00	00:01:09	0.00%	0	(0.00%)	\$0.00	(0.00%
2646.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=lisa+panepi nto&go.x=-634&go.y=-217	1	(0.00%)	100.00%	1	(0.01%)	0.00%	2.00	00:14:12	0.00%	0	(0.00%)	\$0.00	(0.00%
	/egarch2e fuffl=ContentType Now						<u> </u>		<u> </u>					

2647.	spaper+Article,t&s.q=Literacy+as +Multidimensional++Locating+Inf ormation+and+Reading-Compreh ension.+Guthrie&go.x=6&go.y=11	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:02:56	0.00%	0	(0.00%)	\$0.00	(0.00%
2648.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=literature+an d+landscape&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	26.00	00:47:25	0.00%	0	(0.00%)	\$0.00	(0.00%
2649.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=little+house +on+the+prairie&go.x=0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	0.00%	4.00	00:01:27	0.00%	0	(0.00%)	\$0.00	(0.00%
2650.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=liu+xiaobo& go.x=-685&go.y=-217	1	(0.00%)	0.00%	0	(0.00%)	0.00%	3.00	00:12:53	0.00%	0	(0.00%)	\$0.00	(0.00%
2651.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Living+Amid st+Large+Wildlife:+Livestock+and +Crop+Depredation+by+Large+M ammals+in+the+Interior+Villages +of+Bhadra+Tiger+Reserve,+Sou th+India&go.x=-611&go.y=-217	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:03:00	0.00%	0	(0.00%)	\$0.00	(0.00%
2652.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Living+with+ Earth&go.x=0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	0.00%	8.00	00:02:31	0.00%	0	(0.00%)	\$0.00	(0.00%
2653.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=lizzard&go.x =0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
2654.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=lobster+hist ology&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
2655.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=local+history +lawton-francoamerican&go.x=0& go.y=0	1	(0.00%)	100.00%	1	(0.01%)	0.00%	4.00	00:00:22	0.00%	0	(0.00%)	\$0.00	(0.00%
2656.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=local+televis ion+news+objectivity&go.x=0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
2657.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=localization+ microscopy:+mappy+cellular+dyn amics+with+single+molecules&go .x=0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	0.00%	7.00	00:04:30	0.00%	0	(0.00%)	\$0.00	(0.00%
2658.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=long+term+c omplications+of+bariatric+surgery &go.x=0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	0.00%	3.00	00:00:15	0.00%	0	(0.00%)	\$0.00	(0.00%
2659.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=lord+of+the +rings&go.x=0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	0.00%	2.00	00:00:24	0.00%	0	(0.00%)	\$0.00	(0.00%
2660.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=los+cazador es+invisibles&go.x=-654&go.y=-2 17	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
2661.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=loss+of+ope n+space&go.x=0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	0.00%	3.00	00:00:20	0.00%	0	(0.00%)	\$0.00	(0.00%
2662.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Loss+of+par ent+pre+adolesence&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	14.00	00:02:48	0.00%	0	(0.00%)	\$0.00	(0.00%
2663.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=lost+wax+m ethod&go.x=-729&go.y=-217	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
2664.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=loud+hands &go.x=0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	0.00%	4.00	00:01:40	0.00%	0	(0.00%)	\$0.00	(0.00%
2665.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=louis+althus ser&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	9.00	00:08:38	0.00%	0	(0.00%)	\$0.00	(0.00%
2666.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Lousicidal,+ ovicidal+and+repellent+efficacy+o f+some+essential+oils+against+li ce+and+flies+infesting+water+buf faloes+in+Egypt&go.x=-489&go.y=-217	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Lousicidal,+ovicidal+and+repellent+efficacv+o													

	2667.	f+some+essential+oils+against+li ce+and+flies+infesting+water+buf faloes+in+Egypt&go.x=-609&go.y =-217	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
	2668.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=love&go.x=0 &go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	37.00	00:17:25	0.00%	0 (0.00%)	\$0.00 (0.00%
	2669.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Love+of+Gl ory+and+the+Common+Good&go .x=9&go.y=9	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
	2670.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=lucretius&go .x=-583&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
	2671.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=luke+saindo n&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:21	0.00%	0 (0.00%)	\$0.00 (0.00%
	2672.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=lumbering+p hotos&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%
	2673.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=luminescenc e+solar+concentrator&go.x=0&go .y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
	2674.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Lundquist,+ Thomas+R.,+"The+Iceberg+Com eth?:+International+Law+Relating +to+Antarctic+Iceberg+Exploitatio n,"+17+Nat.+Res.+J.+1+(1977).& go.x=-637&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:19:23	0.00%	0 (0.00%)	\$0.00 (0.00%
	2675.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Lung+Infecti ons+Associated+with+Cystic+Fibr osis&go.x=-609&go.y=-217	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
	2676.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=luther+s.+ph illips&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:26:00	0.00%	0 (0.00%)	\$0.00 (0.00%
	2677.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=M.+Langem ark,+and+J.+Olesen,+Pericranial +tenderness+in+tension&go.x=0& go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:12:05	0.00%	0 (0.00%)	\$0.00 (0.00%
	2678.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=MaAloon&g o.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
:	2679.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=MacKenzie, +M.+B.+&+Kocovski,+N.+L.+(201 0).+Self-reported+acceptance+of +social+anxiety+symptoms:+Dev elopment+and+validation+of+the+Social+Anxiety+-+Acceptance+an d+Action+Questionnaire.+Internat ional+Journal+of+Behavioral+Con sultation+and+Therapy,+6,+214+ -+232.=&go.x=12&go.y=11	1	(0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:17:48	0.00%	0 (0.00%)	\$0.00 (0.00%
	2680.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Macromolec ules+2005,+38,+8597-8602&go.x =11&go.y=5	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
	2681.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Macy's+Tri mming+Costs;+Penney's+Stock+ Sinks+&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
	2682.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=magic&go.x =11&go.y=11	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
	2683.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=maging+of+ nitric+oxide+in+a+living+vertebrat e+using+a+diamino-fluorescein+p robe.&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:03	0.00%	0 (0.00%)	\$0.00 (0.00%
	2684.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=magnesium +affects+on+plants&go.x=0&go.y =0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
	2685.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=magnetic+m ineralogy&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:41	0.00%	0 (0.00%)	\$0.00 (0.00%

2	686.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Maine's+Uni versity+And+The+Land+Grant+Tr adition&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.	.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
2	687.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Maine&go.x =0&go.y=0	1	(0.00%)	0.00%	0 (0.	.00%)	0.00%	8.00	00:03:50	0.00%	0 (0.00%)	\$0.00	(0.00%
2	688.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Maine+bats &go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.	.01%)	0.00%	3.00	00:00:44	0.00%	0 (0.00%)	\$0.00	(0.00%
2	689.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=maine+cam pus+&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.	.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
2	690.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Maine+carib ou&go.x=-508&go.y=-217	1	(0.00%)	100.00%	1 (0.	.01%)	0.00%	2.00	00:00:21	0.00%	0 (0.00%)	\$0.00	(0.00%
2	691.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=maine+folkl ore&go.x=-632&go.y=-217	1	(0.00%)	0.00%	0 (0.	.00%)	0.00%	4.00	00:18:10	0.00%	0 (0.00%)	\$0.00	(0.00%
2	692.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=maine+guid e&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.	.01%)	0.00%	6.00	00:05:37	0.00%	0 (0.00%)	\$0.00	(0.00%
2	693.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=maine+histo rical+society+quarterly&go.x=0&g o.y=0	1	(0.00%)	0.00%	0 (0.	.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
2	694.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Maine+histo ry&go.x=8&go.y=7	1	(0.00%)	100.00%	1 (0.	.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
2	695.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Maine+Man ufacturing+Directory&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.	.01%)	0.00%	5.00	00:05:04	0.00%	0 (0.00%)	\$0.00	(0.00%
2	696.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=maine+mort ality+schedules&go.x=9&go.y=12	1	(0.00%)	100.00%	1 (0.	.01%)	0.00%	16.00	00:09:48	0.00%	0 (0.00%)	\$0.00	(0.00%
2	697.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=maine+new spapers&go.x=7&go.y=13	1	(0.00%)	100.00%	1 (0.	.01%)	0.00%	3.00	00:01:13	0.00%	0 (0.00%)	\$0.00	(0.00%
2	698.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Maine+nurs es+AND+age&go.x=9&go.y=11	1	(0.00%)	0.00%	0 (0.	.00%)	0.00%	9.00	00:07:14	0.00%	0 (0.00%)	\$0.00	(0.00%
2	699.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Maine+popu lation&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.	.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
2	700.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=maine+quad &go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.	.01%)	0.00%	3.00	00:01:14	0.00%	0 (0.00%)	\$0.00	(0.00%
2	701.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=maine+state +core+competencies+project&go. x=4&go.y=10	1	(0.00%)	100.00%	1 (0.	.01%)	0.00%	5.00	00:04:54	0.00%	0 (0.00%)	\$0.00	(0.00%
2	702.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Maine+Stat e+Vital+Records	1	(0.00%)	100.00%	1 (0.	.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
2	703.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=maine+volc ano&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.	.00%)	0.00%	11.00	00:15:22	0.00%	0 (0.00%)	\$0.00	(0.00%
2	704.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=maintainabl e+javascript&go.x=12&go.y=3	1	(0.00%)	0.00%	0 (0.	.00%)	0.00%	2.00	00:07:12	0.00%	0 (0.00%)	\$0.00	(0.00%
2	705.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=major+depr essive+disorder&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.	.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
2	706.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Making+an+ American+Festival&go.x=8&go.y= 9	1	(0.00%)	100.00%	1 (0.	.01%)	0.00%	10.00	00:01:56	0.00%	0 (0.00%)	\$0.00	(0.00%
2	707.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=making+bod y+lotions&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.	.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
2	708.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=malcom+hu nter&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.	.01%)	0.00%	2.00	00:00:27	0.00%	0 (0.00%)	\$0.00	(0.00%
2	709.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=man's+role+	1	(0.00%)	0.00%	0 (0.	.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%

	in&go.x=0&go.y=0										
271	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=mandan&go .x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
271	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=manifest+de stiny&go.x=-508&go.y=-217	1	(0.00%)	100.00%	1 (0.01%)	0.00%	11.00	00:07:05	0.00%	0 (0.00%)	\$0.00 (0.00%
271	/search?s.fvf[]=ContentType,New 2. spaper+Article,t&s.q=manik+thesi s&go.x=12&go.y=11	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:02:25	0.00%	0 (0.00%)	\$0.00 (0.00%
271	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Manipulatin 3. g+light+by+microfluidic+motion+in +microstructured+optical+fibers& go.x=15&go.y=14	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:09:13	0.00%	0 (0.00%)	\$0.00 (0.00%
271	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Manipulativ es+and+problem+situations+as+e scalators+for+students'+geometri c+understanding:+a+semiotic+an alysis&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
271	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Manners,+m orals,+and+class+in+England&go .x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
271	/search?s.fvf[]=ContentType,New 5. spaper+Article,t&s.q=manu+and+ the+talking+fish&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
271	/search?s.fvf[]=ContentType,New 7. spaper+Article,t&s.q=manufacturi ng+consent&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	10.00	00:03:14	0.00%	0 (0.00%)	\$0.00 (0.00%
271	/search?s.fvf[]=ContentType,New 8. spaper+Article,t&s.q=mardi+gras +&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:14:05	0.00%	0 (0.00%)	\$0.00 (0.00%
271	/search?s.fvf[]=ContentType,New 9. spaper+Article,t&s.q=margaret+fu ller&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:10:25	0.00%	0 (0.00%)	\$0.00 (0.00%
272	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Maria+J.+Kr ugera,+Corresponding+author+co ntact+information,+E-mail+the+co rresponding+author,+Neil+Davies a,+Kathryn+H.+Myburghb,+Sandr ine+Lecourc&go.x=-697&go.y=-2	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:22	0.00%	0 (0.00%)	\$0.00 (0.00%
272	/search?s.fvf[]=ContentType,New 1. spaper+Article,t&s.q=marilyn+phe lan&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:25	0.00%	0 (0.00%)	\$0.00 (0.00%
272	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Marine+biod 2. iversity:+patterns,+threats+and+c onservation+needs&go.x=6&go.y =6	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
272	/search?s.fvf[]=ContentType,New 3. spaper+Article,t&s.q=marine+biol ogy&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:02:21	0.00%	0 (0.00%)	\$0.00 (0.00%
272	/search?s.fvf[]=ContentType,New 4. spaper+Article,t&s.q=Marine+Hyd rodynamics&go.x=1&go.y=9	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:41	0.00%	0 (0.00%)	\$0.00 (0.00%
272	/search?s.fvf[]=ContentType,New 5. spaper+Article,t&s.q=marine+inve rtebrate&go.x=11&go.y=11	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:26	0.00%	0 (0.00%)	\$0.00 (0.00%
272	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=marine+ren ewable+energy&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
272	/search?s.fvf[]=ContentType,New 7. spaper+Article,t&s.q=mark+richar d&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:56	0.00%	0 (0.00%)	\$0.00 (0.00%
272	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=mark+rothko +red&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	11.00	00:11:54	0.00%	0 (0.00%)	\$0.00 (0.00%
272	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=marker+assi sted+selection+to+introgress+of+r ice+QTLs&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
273	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Marketing+ Scales+Handbook&go.x=10&go.y	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:05:01	0.00%	0 (0.00%)	\$0.00 (0.00%

2731.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=marnik&go.x =0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2732.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=marnik&go.x =14&go.y=5	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2733.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=marriage+a nd+other+acts+of+charity&go.x=0 &go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:09:32	0.00%	0 (0.00%)	\$0.00 (0.00%
2734.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Marrow-Deri ved+Stromal+Cells+Express+Gen es+Encoding+a+Broad+Spectrum +of+Arteriogenic+Cytokines+and+Promote+In+Vitro+and+In+Vivo+Arteriogenesis+Through+Paracrin e+Mechanisms&go.x=16&go.y=1 3	1	(0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:04:03	0.00%	0 (0.00%)	\$0.00 (0.00%
2735.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Marta+Tien da&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:20	0.00%	0 (0.00%)	\$0.00 (0.00%
2736.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=martin,+jane +e.&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:39	0.00%	0 (0.00%)	\$0.00 (0.00%
2737.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=mary+ellen+ o'toole&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2738.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=mary+ellen+ o'toole&go.x=11&go.y=11	1	(0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:11:37	0.00%	0 (0.00%)	\$0.00 (0.00%
2739.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=mary+elliot+ hill&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:04:55	0.00%	0 (0.00%)	\$0.00 (0.00%
2740.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=mary+okij&g o.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:19:56	0.00%	0 (0.00%)	\$0.00 (0.00%
2741.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Masculinity+ childhood&go.x=-699&go.y=-218	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2742.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=mass+medi a+complete&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2743.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Masters+the sis&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:50	0.00%	0 (0.00%)	\$0.00 (0.00%
2744.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=material+ha ndling+and+logistics&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:23	0.00%	0 (0.00%)	\$0.00 (0.00%
2745.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=materialisati ons+of+a+&go.x=8&go.y=5	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2746.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=materialisati ons+of+a+woman+writer&go.x=6 &go.y=5	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2747.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=maternal+de pression+&go.x=10&go.y=11	1	(0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:11:39	0.00%	0 (0.00%)	\$0.00 (0.00%
2748.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=math&go.x= 0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:12	0.00%	0 (0.00%)	\$0.00 (0.00%
2749.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=mathematic al+ecology&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:55	0.00%	0 (0.00%)	\$0.00 (0.00%
2750.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=mathematic al+sociology&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2751.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Mathematic al+Statistics+With+Applications&g o.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:02:28	0.00%	0 (0.00%)	\$0.00 (0.00%
2752.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=maximilian& go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:35	0.00%	0 (0.00%)	\$0.00 (0.00%

2753	/search?s.fvf[]=ContentType,New . spaper+Article,t&s.q=Maya&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2754	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=McDonald's +AND+Public+Relations&go.x=-5 87&go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%
2755	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=McEwen,+B .+S.,+and+E.+Lasley.+2002.+The +end+of+stress+as+we+know+it. +Washington,+D.C:+Joseph+Hen ry+Press.&go.x=10&go.y=6	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:13:20	0.00%	0 (0.00%)	\$0.00 (0.00%
2756	/search?s.fvf[]=ContentType,New . spaper+Article,t&s.q=mcfarquar& go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	27.00	00:44:58	0.00%	0 (0.00%)	\$0.00 (0.00%
2757	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=mcgee+ideo graph&go.x=-694&go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2758	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=McInerney,+ J.P.+1993.+Animal+Welfare:+An+ Economic+Perspective.+Paper+d elivered&go.x=10&go.y=8	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:13	0.00%	0 (0.00%)	\$0.00 (0.00%
2759	/search?s.fvf[]=ContentType,New . spaper+Article,t&s.q=mckillen,+eli zabeth&go.x=7&go.y=4	1 (0.00%)	100.00%	1 (0.01%)	0.00%	11.00	00:07:25	0.00%	0 (0.00%)	\$0.00 (0.00%
2760	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=mcmahon+1 990&go.x=9&go.y=11	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:36	0.00%	0 (0.00%)	\$0.00 (0.00%
2761	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=meaningful+ differences+in+the+everyday+exp erience+of+young+american+chil dren&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2762	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Measureme nt+of+adiponectin+production+fro m+differentiated+metabolic+stem +cells&go.x=12&go.y=3	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:09:31	0.00%	0 (0.00%)	\$0.00 (0.00%
2763	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Measureme nt+of+Regular+Wave+Reflection &go.x=2&go.y=7	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2764	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Mechanism s+of+disease:+pathogenesis+of+ Crohn's+disease+and+ulcerative+ colitis.&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:07:24	0.00%	0 (0.00%)	\$0.00 (0.00%
2765	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=medicaid+e xpansion&go.x=-669&go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	16.00	00:34:29	0.00%	0 (0.00%)	\$0.00 (0.00%
2766	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Medicinal+a nd+Aromatic+Plants&go.x=0&go. y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:13:38	0.00%	0 (0.00%)	\$0.00 (0.00%
2767	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Medium-Ter m+Renewable+Energy+Market+R eport+2013+&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2768	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=medline&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	23.00	00:57:21	0.00%	0 (0.00%)	\$0.00 (0.00%
2769	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=mee+150&g o.x=4&go.y=9	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2770	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Megakaryoc ytes+Contribute+to+the+Bone+M arrow-Matrix+Environment+by+Ex pressing+Fibronectin,+Type+IV+Collagen,+and+Laminin&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2771	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Melanson,+ Kathleen+J+(2008)+"Back-to-sch ool+nutrition&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:10:10	0.00%	0 (0.00%)	\$0.00 (0.00%
2772	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Memory,+Id entity+and+Desire:+A+Psychoan	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:01:43	0.00%	<u>0 (0.00%)</u>	\$0.00 (0.00%

	alytic+Reading+of+David+Lynch's +Mulholland+Drive&go.x=7&go.y =9	()		(,					(,	
2773.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=memory+&g o.x=-636&go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%
2774.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=mentoring& go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:02:09	0.00%	0 (0.00%)	\$0.00 (0.00%
2775.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Menunos&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	14.00	01:31:11	0.00%	0 (0.00%)	\$0.00 (0.00%
2776.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=mercuy+por osimetry&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	11.00	00:14:33	0.00%	0 (0.00%)	\$0.00 (0.00%
2777.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Mercy+Corp s:+Positioning+the+Organization+ to+Reach+New+Heights&go.x=-5 08&go.y=-217	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:57	0.00%	0 (0.00%)	\$0.00 (0.00%
2778.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=merleau-po nty&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:08:08	0.00%	0 (0.00%)	\$0.00 (0.00%
2779.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=merleau-po nty+aesthetics+and+phenomenol ogy&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	9.00	00:04:29	0.00%	0 (0.00%)	\$0.00 (0.00%
2780.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=merrill+famil y+correspondence&go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2781.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Mesenchym al+stem+cells+modified+with+ang iopoietin-1+gene+promote+woun d+healing&go.x=15&go.y=4	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:02:23	0.00%	0 (0.00%)	\$0.00 (0.00%
2782.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=met+150&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2783.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=met+236&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2784.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=MET+391&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2785.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=met+391&g o.x=7&go.y=10	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:45	0.00%	0 (0.00%)	\$0.00 (0.00%
2786.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=met+463&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2787.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=met391&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2788.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Metamorph osis+of+Apuleius&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:18:53	0.00%	0 (0.00%)	\$0.00 (0.00%
2789.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Metcalf+&+ Eddy=&go.x=-652&go.y=-217	1 (0.00%)	100.00%	1 (0.01%)	0.00%	11.00	00:02:24	0.00%	0 (0.00%)	\$0.00 (0.00%
2790.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=methods+of +phase+diagram+determination& go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2791.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=methods+to +evaluate+learner+outcomes&go. x=7&go.y=11	1 (0.00%)	0.00%	0 (0.00%)	0.00%	41.00	00:59:04	0.00%	0 (0.00%)	\$0.00 (0.00%
2792.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=mexican+m usic&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2793.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=MGB+cars& go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:06	0.00%	0 (0.00%)	\$0.00 (0.00%
2794.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=michael+c.+ connolloy&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:12	0.00%	0 (0.00%)	\$0.00 (0.00%

2795.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=michel+cert eau&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:28	0.00%	0 (0.00%)	\$0.00 (0.00%
2796.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Micro-+and +Nanoscale+Fluid+Mechanics&g o.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:25	0.00%	0 (0.00%)	\$0.00 (0.00%
2797.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=microchippi ng+animals&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:09:11	0.00%	0 (0.00%)	\$0.00 (0.00%
2798.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Microfibrillat ed+cellulose+-+lts+barrier+prope rties+and+applications+in+cellulo sic+materials:+A+review&go.x=0 &go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2799.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=microfinanc e&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:36:21	0.00%	0 (0.00%)	\$0.00 (0.00%
2800.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=microfractur e+&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	9.00	00:04:30	0.00%	0 (0.00%)	\$0.00 (0.00%
2801.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Micropropag ation+of+Prunus+sargentii+REHD ER+and+P.&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:56	0.00%	0 (0.00%)	\$0.00 (0.00%
2802.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Microscopic +Origin+Of+The+Fast+Crystalliza tion+Ability+Of+Ge-Sb-Te+Phase -Change+Memory+Materials&go. x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:10:42	0.00%	0 (0.00%)	\$0.00 (0.00%
2803.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=microturbine s&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:00:53	0.00%	0 (0.00%)	\$0.00 (0.00%
2804.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=microwave+ extraction&go.x=10&go.y=6	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:02:12	0.00%	0 (0.00%)	\$0.00 (0.00%
2805.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=mid-holocee n+climate+and+culture&go.x=0&g o.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:07	0.00%	0 (0.00%)	\$0.00 (0.00%
2806.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=middle+east +history&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:54	0.00%	0 (0.00%)	\$0.00 (0.00%
2807.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=middle+eas y+after+ww1&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:46	0.00%	0 (0.00%)	\$0.00 (0.00%
2808.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=middle+sch ool+nutrition+&go.x=6&go.y=12	1	(0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:07:09	0.00%	0 (0.00%)	\$0.00 (0.00%
2809.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Midewiwin& go.x=10&go.y=12	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2810.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=midwife's+ta le&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:04:24	0.00%	0 (0.00%)	\$0.00 (0.00%
2811.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=midwife's+ta le&go.x=10&go.y=15	1	(0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:01:12	0.00%	0 (0.00%)	\$0.00 (0.00%
2812.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=migrating+b etween+(mental)+states&go.x=7& go.y=8	1	(0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:01:46	0.00%	0 (0.00%)	\$0.00 (0.00%
2813.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Migration+m odel+of+post-smolt+Atlantic+salm on+(Salmo+salar)+in+the+Gulf+of +Maine&go.x=-488&go.y=-221	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2814.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Migration+of +the+"Northern"+Atlantic+Cod+an d+the+Mechanisms+Involved&go. x=-488&go.y=-221	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2815.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=mike+sancle ments&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	25.00	00:36:48	0.00%	0 (0.00%)	\$0.00 (0.00%
	/search?s.fvf[]=ContentType,New										

2810	spaper+Article,t&s.q=Milady's+gui de+to+owning+and+operating+a+ nail+salon&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:01:40	0.00%	0 (0.00%)	\$0.00 (0.00%
281	/search?s.fvf[]=ContentType,New 7. spaper+Article,t&s.q=Militarism+a nd+Motherhood&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2818	/search?s.fvf[]=ContentType,New 3. spaper+Article,t&s.q=military+hier archy+culture&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	9.00	00:11:57	0.00%	0 (0.00%)	\$0.00 (0.00%
2819	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=milk+allergy &go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:02:15	0.00%	0 (0.00%)	\$0.00 (0.00%
2820	/search?s.fvf[]=ContentType,New b. spaper+Article,t&s.q=miller+genre +1984&go.x=-685&go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
282	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Millon+Beha vioral+Medicine+Diagnsotic&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:15:28	0.00%	0 (0.00%)	\$0.00 (0.00%
2822	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=millon+healt h+behavior+inventory&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	12.00	00:26:03	0.00%	0 (0.00%)	\$0.00 (0.00%
2823	/search?s.fvf[]=ContentType,New 3. spaper+Article,t&s.q=miltons+reli gion&go.x=-646&go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:24	0.00%	0 (0.00%)	\$0.00 (0.00%
2824	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=mind+your+ meat+the+denial+of+mind+in+foo d+animals&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
282	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Mindfulness &go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2820	/search?s.fvf[]=ContentType,New 5. spaper+Article,t&s.q=mineral+in+ biomass&go.x=-654&go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:31	0.00%	0 (0.00%)	\$0.00 (0.00%
282	/search?s.fvf[]=ContentType,New 7. spaper+Article,t&s.q=Minimal+sur faces&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2828	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Minimizing+ Reading+Regression+through+a+ Direct+Instruction+Summer+Read ing+Program&go.x=-646&go.y=-2 17	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2829	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Minnesota+ place+names+a+geographical&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2830	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=miss+dallow ay&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:58	0.00%	0 (0.00%)	\$0.00 (0.00%
283	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=mission+stat ement&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:20:19	0.00%	0 (0.00%)	\$0.00 (0.00%
2832	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Mississippi+ River&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:09	0.00%	0 (0.00%)	\$0.00 (0.00%
283	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Mississippi+ River+dead+zone&go.x=-805&go. y=-218	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2834	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=mitchell,+p+ 1976&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:05	0.00%	0 (0.00%)	\$0.00 (0.00%
283	/search?s.fvf[]=ContentType,New 5. spaper+Article,t&s.q=Mitchell+Ch ang&go.x=10&go.y=7	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2836	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=mixed+effec ts+models+for+estimating+stand+ volume+by+means+of+small+foot print+airborne+laser+scanner+dat a&go.x=12&go.y=14	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
283	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Mixed+Integ er-Real+Values+adjustment&go.x =4&go.y=6	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:21:45	0.00%	0 (0.00%)	\$0.00 (0.00%

2838.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Modeling+O ur+World:+The+ESRI+Guide+to+ Geodatabase+Concepts&go.x=11 &go.y=11	1	(0.00%)	0.00%	0 (0.00%	0.00%	4.00	00:01:49	0.00%	0 (0.00%)	\$0.00 (0.00%
2839.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=modeling+th e+spatial+pattern+of+land+use+c hange+with+geomod2&go.x=0&g o.y=0	1	(0.00%)	0.00%	0 (0.00%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2840.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Moderators +of+relation+betwen+percieved+a nd+actual+post+traumatic+growth +Gunty&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	0.00%	6.00	00:02:02	0.00%	0 (0.00%)	\$0.00 (0.00%
2841.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=mojlnir&go.x =10&go.y=9	1	(0.00%)	100.00%	1 (0.01%	0.00%	8.00	00:03:46	0.00%	0 (0.00%)	\$0.00 (0.00%
2842.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Molecular+g enetics+of+mucopolysaccharidosi s+type+I:+diagnostic,+clinical,+an d+biological+implications.&go.x=0 &go.y=0	1	(0.00%)	0.00%	0 (0.00%	0.00%	3.00	00:03:15	0.00%	0 (0.00%)	\$0.00 (0.00%
2843.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Monkeys+p ay+per+view&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2844.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=monocytes+ in+cancer&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	0.00%	3.00	00:01:44	0.00%	0 (0.00%)	\$0.00 (0.00%
2845.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Monomethyl ated+trivalent+arsenic+species+d isrupt+steroid+receptor+interactions+with+their+DNA+response+el ements+at+non-cytotoxic+cellular+concentrations&go.x=5&go.y=12	1	(0.00%)	0.00%	0 (0.00%	0.00%	3.00	00:00:14	0.00%	0 (0.00%)	\$0.00 (0.00%
2846.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=montesi+20 07+constitutive+model&go.x=0&g o.y=0	1	(0.00%)	0.00%	0 (0.00%	0.00%	3.00	00:07:06	0.00%	0 (0.00%)	\$0.00 (0.00%
2847.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=montesi+20 13&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	0.00%	3.00	00:02:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2848.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Montessori& go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	0.00%	9.00	00:07:13	0.00%	0 (0.00%)	\$0.00 (0.00%
2849.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Mooney,+H.,+A.+Cropper,+and+W.+Reid,+20 05:+Confronting+the+human+dile mma.+How+can+ecosystems+pr ovided+sustainable+services+to+benefit+society.+Nature+434,+56 1-562.&go.x=5&go.y=5	1	(0.00%)	100.00%	1 (0.01%	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%
2850.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Morehead,+ M.D.,+Syvitski,+J.P.,+Hutton,+E. W.,+Peckham,+S.D.,+2003.+Mod eling+the+temporal+variability+in +the+flux+of+sediment+from+ung auged+river+basins.+Glob.+Plan et.+Change+39,+95–110.&go.x=0 &go.y=0	1	(0.00%)	0.00%	0 (0.00%	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%
2851.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=morphemic+ instruction&go.x=11&go.y=8	1	(0.00%)	0.00%	0 (0.00%	0.00%	17.00	00:21:28	0.00%	0 (0.00%)	\$0.00 (0.00%
2852.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=morpholine+ with+t-butyl+acetoactate&go.x=0 &go.y=0	1	(0.00%)	100.00%	1 (0.01%	0.00%	2.00	00:00:07	0.00%	0 (0.00%)	\$0.00 (0.00%
2853.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=morpholino+ and+siRNA	1	(0.00%)	0.00%	0 (0.00%	0.00%	9.00	00:15:52	0.00%	0 (0.00%)	\$0.00 (0.00%
2854.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Morphology +of+Heschl's+gyrus+reflects+enh anced+activation+in+the+auditory +cortex+of+musicians.&go.x=10& go.y=8	1	(0.00%)	100.00%	1 (0.01%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2825	/search?s.fvf[]=ContentType,New	1	(0.000/.)	100 00%	1 (0.040/	0.00%	4.00	00-10-44	0.00%	0 (0.00%)	\$0.00 (0.00%)

2855.	spaper+Article,t&s.q=mosquito+e mpires+mcneill&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:10:44	0.00%	U (0.00%)	\$0.00	(0.00%
2856.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=moss-racusi n&go.x=-654&go.y=-218	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
2857.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=moss-rascu sin&go.x=-654&go.y=-218	1	(0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:03:29	0.00%	0 (0.00%)	\$0.00	(0.00%
2858.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Motivational +Interviewing:+An+evidence-base d+approach+to+counseling+helps +patients+follow+&go.x=0&go.y= 0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
2859.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=motivational +psychology&go.x=14&go.y=10	1	(0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:34:10	0.00%	0 (0.00%)	\$0.00	(0.00%
2860.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=motor+desig n&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
2861.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=muhammed +ali&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:05:13	0.00%	0 (0.00%)	\$0.00	(0.00%
2862.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Mulching+Ef fects+on+Erosion+of+Soil+Beds+ and+on+Yield+of+Autumn+and+S pring+Planted+Vegetables	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:07:19	0.00%	0 (0.00%)	\$0.00	(0.00%
2863.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=multicultural +communication&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
2864.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=multiple+co nsultants&go.x=-541&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:02:00	0.00%	0 (0.00%)	\$0.00	(0.00%
2865.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Multiple+Sc ales+and+the+Maintenance+of+B iodiversity&go.x=7&go.y=9	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
2866.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=munchause n's+syndrome+by+proxy&go.x=9 &go.y=12	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:46	0.00%	0 (0.00%)	\$0.00	(0.00%
2867.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=MUSE&go.x =0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
2868.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=museum+ed ucation+and+school+art:+differen t+ends+and+different+means&go. x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:18	0.00%	0 (0.00%)	\$0.00	(0.00%
2869.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=music+and+ masculinity&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	15.00	00:11:15	0.00%	0 (0.00%)	\$0.00	(0.00%
2870.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Music+listen ing+after+stroke&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
2871.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=music+listen ing+brain+cognition&go.x=9&go.y =4	1	(0.00%)	100.00%	1 (0.01%)	0.00%	15.00	00:22:27	0.00%	0 (0.00%)	\$0.00	(0.00%
2872.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Mutuality+in +Mother-Infant+Interaction&go.x= 10&go.y=2	1	(0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:07:22	0.00%	0 (0.00%)	\$0.00	(0.00%
2873.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=my+account &go.x=5&go.y=7	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
2874.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=MYC&go.x= 16&go.y=6	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:07:52	0.00%	0 (0.00%)	\$0.00	(0.00%
2875.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Mycotoxin+c o-contamination+of+food+and+fe ed:+meta-analysis+of+publication s+describing+toxicological+intera ctions+&go.x=3&go.y=13	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:01:39	0.00%	0 (0.00%)	\$0.00	(0.00%
2876.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=mystery&go. x=0&ao.v=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:49	0.00%	0 (0.00%)	\$0.00	(0.00%

2877.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=mythological +creatures&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2878.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=NAFTA+imp act+Mexico&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:12:05	0.00%	0 (0.00%)	\$0.00 (0.00%
2879.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=nakayama& go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	18.00	00:08:08	0.00%	0 (0.00%)	\$0.00 (0.00%
2880.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=naked+econ omics&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:45	0.00%	0 (0.00%)	\$0.00 (0.00%
2881.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=nancy+drink water	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2882.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Napoleon+B onaparte+and+the+Legacy+of+th e+French+Revolution+&go.x=0&g o.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2883.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=napoleonic+ wars&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:02:28	0.00%	0 (0.00%)	\$0.00 (0.00%
2884.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Narcissism+ cat&go.x=-508&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	0.00%	31.00	00:37:30	0.00%	0 (0.00%)	\$0.00 (0.00%
2885.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=narrative+of +the+life+of+frederick+douglass& go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2886.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=natasha+sp eer&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2887.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=nathan+stor mer&go.x=-630&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	0.00%	13.00	00:05:34	0.00%	0 (0.00%)	\$0.00 (0.00%
2888.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=national+en ergy+alliance+in+germany&go.x= 0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	13.00	00:10:56	0.00%	0 (0.00%)	\$0.00 (0.00%
2889.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=national+res earch+council&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%
2890.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=National+St andards+in+American+Education: +A+Citizen's+Guide&go.x=0&go.y =0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:29	0.00%	0 (0.00%)	\$0.00 (0.00%
2891.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Nationalism, +War,+and+Archaization+of+Gen der+Relations+in+the+Balkans&g o.x=8&go.y=10	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:03:56	0.00%	0 (0.00%)	\$0.00 (0.00%
2892.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Natural+gas +scenarios+in+the+U.S.+power+s ector&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:04:15	0.00%	0 (0.00%)	\$0.00 (0.00%
2893.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=natural+toy+brands&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2894.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=nature&go.x =0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2895.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=nature+clim ate+change&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2896.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Nature+clim ate+change&go.x=10&go.y=9	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2897.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=nature+geos ciences&go.x=-636&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2898.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Nature+jour nal&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
	/search?s.fvf[]=ContentType,New				<u> </u>						

2899.	spaper+Article,t&s.q=navy+seal+f itness&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
2900.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=navy+seals &go.x=-647&go.y=-217	1	(0.00%)	100.00%	1	(0.01%)	0.00%	7.00	00:14:33	0.00%	0	(0.00%)	\$0.00	(0.00%
2901.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=naxos&go.x =-684&go.y=-217	1	(0.00%)	0.00%	0	(0.00%)	0.00%	4.00	00:00:38	0.00%	0	(0.00%)	\$0.00	(0.00%
2902.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=naxos&go.x =0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	0.00%	2.00	00:22:26	0.00%	0	(0.00%)	\$0.00	(0.00%
2903.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=naxos+musi c&go.x=0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	0.00%	3.00	00:01:49	0.00%	0	(0.00%)	\$0.00	(0.00%
2904.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Nazi+Germ any&go.x=9&go.y=10	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
2905.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=NBCC&go.x =0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	0.00%	10.00	00:05:35	0.00%	0	(0.00%)	\$0.00	(0.00%
2906.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=neal+dow&g o.x=9&go.y=11	1	(0.00%)	100.00%	1	(0.01%)	0.00%	2.00	00:00:26	0.00%	0	(0.00%)	\$0.00	(0.00%
2907.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=neal+leavitt &go.x=-639&go.y=-217	1	(0.00%)	100.00%	1	(0.01%)	0.00%	2.00	00:00:13	0.00%	0	(0.00%)	\$0.00	(0.00%
2908.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Neofunctiali sm+in+Europe	1	(0.00%)	100.00%	1	(0.01%)	0.00%	2.00	00:00:07	0.00%	0	(0.00%)	\$0.00	(0.00%
2909.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=neoliberalis m's+war+on+higher+education&g o.x=6&go.y=12	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:01:07	0.00%	0	(0.00%)	\$0.00	(0.00%
2910.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Nepal+cultu re&go.x=0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	0.00%	23.00	00:44:43	0.00%	0	(0.00%)	\$0.00	(0.00%
2911.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Neuronal+Cl earance+of+Amyloid-β+by+Endoc ytic+Receptor+LRP1&go.x=15&g o.y=5	1	(0.00%)	0.00%	0	(0.00%)	0.00%	5.00	00:20:48	0.00%	0	(0.00%)	\$0.00	(0.00%
2912.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Neuronal+cl earance+of+amyloid-β+by+endoc ytic+receptor+LRP1&go.x=4&go.y =6	1	(0.00%)	0.00%	0	(0.00%)	0.00%	4.00	00:31:54	0.00%	0	(0.00%)	\$0.00	(0.00%
2913.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=new+approa ches+to+poe&go.x=0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	0.00%	6.00	00:02:26	0.00%	0	(0.00%)	\$0.00	(0.00%
2914.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=New+Engla nd+Journal+of+Medicine&go.x=0 &go.y=0	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
2915.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=New+Engla nd+precipitation+last+2000+years &go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	6.00	00:16:00	0.00%	0	(0.00%)	\$0.00	(0.00%
2916.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=new+englan d+quarterly+Candidate&go.x=0&g o.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	4.00	00:00:37	0.00%	0	(0.00%)	\$0.00	(0.00%
2917.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=new+york+c ity&go.x=5&go.y=12	1	(0.00%)	0.00%	0	(0.00%)	0.00%	3.00	00:00:19	0.00%	0	(0.00%)	\$0.00	(0.00%
2918.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=new+york+h erald&go.x=5&go.y=8	1	(0.00%)	100.00%	1	(0.01%)	0.00%	8.00	00:02:24	0.00%	0	(0.00%)	\$0.00	(0.00%
2919.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=New+York+t imes&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
2920.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=New+York+ Times&go.x=10&go.y=9	1	(0.00%)	100.00%	1	(0.01%)	0.00%	3.00	00:01:24	0.00%	0	(0.00%)	\$0.00	(0.00%
2921.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=new+york+ti mes&go.x=11&go.y=9	1	(0.00%)	100.00%	1	(0.01%)	0.00%	4.00	00:00:56	0.00%	0	(0.00%)	\$0.00	(0.00%
	/search?s fuffl=ContentTyne New													

2	922.	spaper+Article,t&s.q=new+yorker +magazine&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	0.00%	31.00	00:07:59	0.00%	0 (0.00%)	\$0.00 (0.00%
2	923.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=newsweek& go.x=-676&go.y=-217	1	(0.00%)	0.00%	0 (0.00%	0.00%	3.00	00:01:12	0.00%	0 (0.00%)	\$0.00 (0.00%
2	924.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=nfluences+o n+college+students'+capacities+f or+socially+responsible+leadershi p.+&go.x=14&go.y=3	1	(0.00%)	0.00%	0 (0.00%	0.00%	2.00	00:00:05	0.00%	0 (0.00%)	\$0.00 (0.00%
2	925.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=nfpa+2006& go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2	926.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=nfpa+31&go .x=6&go.y=6	1	(0.00%)	100.00%	1 (0.01%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2	927.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=NFPA+31&g o.x=8&go.y=7	1	(0.00%)	100.00%	1 (0.01%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2	928.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=NFPA+fire+ code&go.x=4&go.y=5	1	(0.00%)	100.00%	1 (0.01%	0.00%	7.00	00:02:43	0.00%	0 (0.00%)	\$0.00 (0.00%
2	929.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=nickle+and+ dimed&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	0.00%	3.00	00:02:50	0.00%	0 (0.00%)	\$0.00 (0.00%
2	930.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=nietzche&go .x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	0.00%	4.00	00:00:21	0.00%	0 (0.00%)	\$0.00 (0.00%
2	931.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Nitric+oxide, +iNOS,+and+inflammation+in+cy stic+fibrosis&go.x=9&go.y=3	1	(0.00%)	0.00%	0 (0.00%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2	932.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=noam+chom skey&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	0.00%	4.00	00:00:33	0.00%	0 (0.00%)	\$0.00 (0.00%
2	933.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Nobody's+b oy&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	0.00%	2.00	00:01:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2	934.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=nocturnal+tu be+feeds&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	0.00%	4.00	00:01:32	0.00%	0 (0.00%)	\$0.00 (0.00%
2	935.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Noe,+E.,+Al roe,+H.F.,+2005.+Combining+Lu hmann+and+actor-network+theor y+to+see+farm+enterprises+as+s elf-organising+systems.+Cyberne tics+and+Human+Knowing+13+(1),+34e48.&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	0.00%	4.00	00:35:20	0.00%	0 (0.00%)	\$0.00 (0.00%
2	936.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=nonlinear+fi nit+element&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	0.00%	4.00	00:00:35	0.00%	0 (0.00%)	\$0.00 (0.00%
2	937.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=nonlinear+fo cusing+wave+groups+on+current &go.x=-805&go.y=-218	1	(0.00%)	0.00%	0 (0.00%	0.00%	6.00	00:29:03	0.00%	0 (0.00%)	\$0.00 (0.00%
2	938.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=nonlinear+w ave&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	0.00%	13.00	00:30:43	0.00%	0 (0.00%)	\$0.00 (0.00%
2	939.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=norse+myth ology&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2	940.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=North+Amer ica+Birds+online&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2	941.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=northern+ga nnett	1	(0.00%)	100.00%	1 (0.01%	0.00%	8.00	00:21:39	0.00%	0 (0.00%)	\$0.00 (0.00%
2	942.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=northport+y acht+club&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	0.00%	10.00	00:09:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2	943.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=northrop+fry e&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	0.00%	2.00	00:00:37	0.00%	0 (0.00%)	\$0.00 (0.00%
2	944.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=not+cool+to +be+smart&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	0.00%	13.00	00:27:00	0.00%	0 (0.00%)	\$0.00 (0.00%

294	/search?s.fvf[]=ContentType,New 5. spaper+Article,t&s.q=Novelist&go .x=-508&go.y=-217	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
294	/search?s.fvf[]=ContentType,New 6. spaper+Article,t&s.q=novelist&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
294	/search?s.fvf[]=ContentType,New 7. spaper+Article,t&s.q=novelist+k-8 +plus&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
294	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=nternational 8. e+Vereinigung+fuer+Theoretische +und+Angewandte+Limnologie&g o.x=9&go.y=9	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:11:42	0.00%	0 (0.00%)	\$0.00 (0.00%
294	/search?s.fvf[]=ContentType,New 9. spaper+Article,t&s.q=number+the ory&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
295	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Numerical+ Computing+With+Modern+Fortra n&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
295	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Numerical+s imulations+using+momentum+so urce+wave-maker+applied+to+R ANS+equation+model&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
295	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Nunn+and+ climate-change+and+2012&go.x= 11&go.y=7	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
295	/search?s.fvf[]=ContentType,New 3. spaper+Article,t&s.q=nursing+articles&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
295	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=nursing+fac ulty+development&go.x=10&go.y =11	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:15:52	0.00%	0 (0.00%)	\$0.00 (0.00%
295	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=nursing+soc ial+networking&go.x=-647&go.y=- 217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
295	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=nutrient+ben efits+of+steaming+vegetables&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:03:04	0.00%	0 (0.00%)	\$0.00 (0.00%
295	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=nutrient+los s+cheese+production&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:08:29	0.00%	0 (0.00%)	\$0.00 (0.00%
295	/search?s.fvf[]=ContentType,New 8. spaper+Article,t&s.q=nutrition+eth ics&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:09:45	0.00%	0 (0.00%)	\$0.00 (0.00%
295	/search?s.fvf[]=ContentType,New 9. spaper+Article,t&s.q=Nye+1953& go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:40:00	0.00%	0 (0.00%)	\$0.00 (0.00%
296	/search?s.fvf[]=ContentType,New 0. spaper+Article,t&s.q=nystrom&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:03:46	0.00%	0 (0.00%)	\$0.00 (0.00%
296	/search?s.fvf[]=ContentType,New 1. spaper+Article,t&s.q=oakland&go. x=3&go.y=8	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:00:36	0.00%	0 (0.00%)	\$0.00 (0.00%
296	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=obesity,+die ts,+and+social+inequalities&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:03:34	0.00%	0 (0.00%)	\$0.00 (0.00%
296	/search?s.fvf[]=ContentType,New 3. spaper+Article,t&s.q=obesity,+die ts+and+social+&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:01:50	0.00%	0 (0.00%)	\$0.00 (0.00%
296	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=obesity:+a+ public+health+approach&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:01:09	0.00%	0 (0.00%)	\$0.00 (0.00%
296	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Obesity+an d+Health+System+Reform:+Priva te+vs.+Public+Responsibility&go. x=11&go.y=5	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:06:28	0.00%	0 (0.00%)	\$0.00 (0.00%

2966.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=obesity+trea tmeant+and+prevention&go.x=0& go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:05	0.00%	0 (0.00%)	\$0.00 (0.00%
2967.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Object+Orie nted+Design&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:01:29	0.00%	0 (0.00%)	\$0.00 (0.00%
2968.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=observed+v ariability+and+trends+in+extreme +climate+events&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:05:53	0.00%	0 (0.00%)	\$0.00 (0.00%
2969.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=ocean+at+th e+end+of+the+lane&go.x=0&go.y =0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:02:07	0.00%	0 (0.00%)	\$0.00 (0.00%
2970.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=oceanograp hy+sargasso+sea+region&go.x=-727&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:08	0.00%	0 (0.00%)	\$0.00 (0.00%
2971.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=of+rats+and +men&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:07	0.00%	0 (0.00%)	\$0.00 (0.00%
2972.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=official+met hods+of+analysis&go.x=0&go.y= 0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2973.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Olcture+Bri de&go.x=-634&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:04	0.00%	0 (0.00%)	\$0.00 (0.00%
2974.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=oil+pulling& go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2975.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=oil+spills&go .x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:11	0.00%	0 (0.00%)	\$0.00 (0.00%
2976.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=old+man+an d+the+sea&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:27:48	0.00%	0 (0.00%)	\$0.00 (0.00%
2977.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=older+adults &go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	19.00	00:59:49	0.00%	0 (0.00%)	\$0.00 (0.00%
2978.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=oliver grau	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:15	0.00%	0 (0.00%)	\$0.00 (0.00%
2979.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=olshansky+e t+al+1958&go.x=-610&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:02:25	0.00%	0 (0.00%)	\$0.00 (0.00%
2980.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=olson+Ange r+among+Allies&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2981.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=omycetes+c hemical&go.x=11&go.y=16	1	(0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:06:27	0.00%	0 (0.00%)	\$0.00 (0.00%
2982.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=On-line+real +time+soil+sensor&go.x=0&go.y= 0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:00:54	0.00%	0 (0.00%)	\$0.00 (0.00%
2983.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=on+boole&g o.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:09:33	0.00%	0 (0.00%)	\$0.00 (0.00%
2984.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=On+enhanc ed+non-linear+free+surface+flow +simulations+with+a+hybrid+LBM -VOF+model&go.x=14&go.y=6	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2985.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=on+line&go. x=17&go.y=11	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2986.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=On+the+Co gnitive+Interpretation+of+Perform ance+Assessment+Scores.&go.x =14&go.y=4	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
2987.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=On+the+Inte ractions+of+the+Hypothalamic-Pit uitary-Adrenal+(HPA)+Axis+and+ Sleep&go.x=16&go.y=12	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%

	2988.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=ON+THE+O RIGIN+OF+CANCER+CELLS&go .x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:18:36	0.00%	0 (0.00%)	\$0.00 (0.00%
:	2989.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=On+the+Poli tics+of+Climate+Knowledge:+Sir+ Giddens,+Sweden+and+the+Para dox+of+Climate+(In)Justice.&go.x =12&go.y=8	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
:	2990.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=on+truth+an d+lying&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:22:46	0.00%	0 (0.00%)	\$0.00 (0.00%
:	2991.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=one+man's+ meat&go.x=4&go.y=12	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
:	2992.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Onion+Deve lopment+and+Yield+in+Response +to+Manual+Cultivation,+Herbicid es,+or+Colored+Mulches&go.x=1 2&go.y=10	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
:	2993.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=onions+and +other+vegetable+alliums&go.x=- 489&go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
:	2994.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=online+cour ces&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:04:56	0.00%	0 (0.00%)	\$0.00 (0.00%
:	2995.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=operation+ir aqi+freedom+logistics&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
:	2996.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Optically+ac tive+thermosensitive+amphiphilic +polymer+brushes+based+on+he lical+polyacetylene:+preparation+through+"click"+onto+grafting+me thod+and+self-assembly&go.x=12 &go.y=9	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:32:18	0.00%	O (0.00%)	\$0.00 (0.00%
:	2997.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Optics,+Reti noscopy,+and+Refractometry&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:16:54	0.00%	0 (0.00%)	\$0.00 (0.00%
:	2998.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=optics+info+base&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	25.00	00:17:01	0.00%	0 (0.00%)	\$0.00 (0.00%
	2999.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Optimal+Me tocean+Design+of+Offshore+Tow er+Structures&go.x=12&go.y=8	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
;	3000.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Optimization +of+pasteurization+processes+for +a+sous+vide+product+in+rectan gular+thin+profile+forms.&go.x=1 3&go.y=9	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
;	3001.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Optimization +of+pasteurization+processes+for +a+sous+vide+product+in+rectan gular+thin+profile+forms.&go.x=8 &go.y=9	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
:	3002.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=oral+langua ge+and+interactive+read+aloud& go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	15.00	00:18:10	0.00%	0 (0.00%)	\$0.00 (0.00%
;	3003.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=organic+veg etable+production&go.x=13&go.y =15	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:06:16	0.00%	0 (0.00%)	\$0.00 (0.00%
į	3004.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Organizatio n+and+expression+analysis+of+t he+zebrafish+hepcidin+gene,+an +antimicrobial+peptide+gene+con served+among+vertebrates&go.x =7&go.y=8	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
	3005.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=organization al+theories&go.x=-639&go.y=-21	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:19:58	0.00%	0 (0.00%)	\$0.00 (0.00%

	7										
3006.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Organized+l abor+and+production&go.x=0&go .y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:03:36	0.00%	0 (0.00%)	\$0.00 (0.00%
3007.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Organomett allics+2007&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3008.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=orientalism& go.x=-637&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3009.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=orientalism& go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:08:52	0.00%	0 (0.00%)	\$0.00 (0.00%
3010.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=origin+of+te a&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3011.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=original+pla ce+of+skiing&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:06	0.00%	0 (0.00%)	\$0.00 (0.00%
3012.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=origins+and +mechanisms+of+miRNAs+and+ siRNAs&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:06:56	0.00%	0 (0.00%)	\$0.00 (0.00%
3013.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=orphans+of +versailles&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3014.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=OSGI+devel opment&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3015.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=osho&go.x= 0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:05	0.00%	0 (0.00%)	\$0.00 (0.00%
3016.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=osho&go.x= 12&go.y=5	1	(0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:02:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3017.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=osterberg&g o.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3018.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Otto+Warbu rg's+contributions+to+current+con cepts+of+cancer+metabolism&go. x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:29:08	0.00%	0 (0.00%)	\$0.00 (0.00%
3019.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Overcoming +TALE+DNA+Binding+Domain+S ensitivity+to+Cytosine+Methylatio n	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:02:19	0.00%	0 (0.00%)	\$0.00 (0.00%
3020.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=overdrive&g o.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3021.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=oxford+engli sh+dictionary&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:37	0.00%	0 (0.00%)	\$0.00 (0.00%
3022.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=oxford+engli sh+dictionary+electronic&go.x=-6 88&go.y=-218	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:08	0.00%	0 (0.00%)	\$0.00 (0.00%
3023.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=oxford+hand book+of+clinical+specialties&go.x =0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	10.00	00:05:14	0.00%	0 (0.00%)	\$0.00 (0.00%
3024.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Oxygen+18/ 16+variability+in+Greenland+sno w+and+ice+with+10-3-+to+105-y ear+time+resolution&go.x=4&go.y =2	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3025.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Oxygen+Diff usion++Rate+Relationships++und er+Three+So&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:46	0.00%	0 (0.00%)	\$0.00 (0.00%
3026.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Oyster+pres ervation+by+high-pressure+treat ment&go.x=6&go.y=4	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%

3027.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Ozone+appl ications:+From+farm+to+fork+and +from+A+to+Z++&go.x=14&go.y=	1	(0.00%)	100.00%	1 (0.0	1%) 0.009	6 2.00	00:05:32	0.00%	0 (0.00%)	\$0.00 (0.00%
3028.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Packaging+ of+ready-to-serve+and+retail-rea dy+meat,+poultry+and+seafood+ products.&go.x=8&go.y=7	1	(0.00%)	0.00%	0 (0.0	100.009	6 1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3029.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=pain+in+liter ature&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.0	0.009	6 27.00	00:31:17	0.00%	0 (0.00%)	\$0.00 (0.00%
3030.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Painfully+a ware:+The+effects+of+dissonanc e+on+attitudes+toward+factory+f arming.&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.0	0%) 100.009	6 1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3031.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Painfully+a ware:+The+effects+of+dissonanc e+on+attitudes+toward+factory+f arming.&go.x=7&go.y=2	1	(0.00%)	0.00%	0 (0.0	0.009	6 2.00	00:09:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3032.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=palazzo+pu blico&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.0	1%) 0.009	6 28.00	00:22:38	0.00%	0 (0.00%)	\$0.00 (0.00%
3033.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=pale+blue+d ot&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.0	1%) 100.009	6 1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3034.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=paleo+diet& go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.0	0.009	6 2.00	00:00:30	0.00%	0 (0.00%)	\$0.00 (0.00%
3035.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=paleo+india n+maine&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.0	1%) 100.009	6 1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3036.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=paleography &go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.0	1%) 0.009	6.00	00:01:45	0.00%	0 (0.00%)	\$0.00 (0.00%
3037.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Paper+Tow ns&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.0	1%) 0.009	6 2.00	00:01:25	0.00%	0 (0.00%)	\$0.00 (0.00%
3038.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=paramedicin e&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.0	1%) 0.009	6 13.00	00:13:37	0.00%	0 (0.00%)	\$0.00 (0.00%
3039.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=pardoner&g o.x=11&go.y=6	1	(0.00%)	100.00%	1 (0.0	1%) 0.009	6 2.00	00:00:44	0.00%	0 (0.00%)	\$0.00 (0.00%
3040.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=parent's+sti gmatizing+attitudes+toward+psyc hiatric+labels&go.x=-610&go.y=-2 17	1	(0.00%)	0.00%	0 (0.0	100.009	6 1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3041.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=parents+wh o+choose+to+have+more+than+3 +kids&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.0	0.009	6 2.00	00:00:15	0.00%	0 (0.00%)	\$0.00 (0.00%
3042.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=paris+biogra phy+of+a+city&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.0	1%) 0.009	6 5.00	00:04:43	0.00%	0 (0.00%)	\$0.00 (0.00%
3043.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Parkinsonia n+speech+disfluencies:+effects+o f+L-dopa-related+fluctuations.&go .x=10&go.y=4	1	(0.00%)	100.00%	1 (0.0	1%) 100.009	6 1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3044.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Participating +in+Emergent+Socio-Literate+Wo rlds"+by+Bazerman+&+Paul+Prio r=&go.x=8&go.y=12	1	(0.00%)	0.00%	0 (0.0	0.009	6 3.00	00:00:58	0.00%	0 (0.00%)	\$0.00 (0.00%
3045.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Pascal&go.x =0&go.y=0	1	(0.00%)	100.00%	1 (0.0	1%) 0.009	6 8.00	00:06:20	0.00%	0 (0.00%)	\$0.00 (0.00%
3046.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=patents	1	(0.00%)	100.00%	1 (0.0	1%) 100.009	6 1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3047.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=path+of+lea st+resistence+by+robert+fritz&go. x=11&go.y=10	1	(0.00%)	100.00%	1 (0.0	1%) 0.009	6 3.00	00:01:04	0.00%	0 (0.00%)	\$0.00 (0.00%
	/coarch2c fuffl=ContentTune New										

3048.	spaper+Article,t&s.q=patricia+bur nes&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	4.00	00:01:07	0.00%	0	(0.00%)	\$0.00	(0.00%
3049.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=patricia+c.+ phillip&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	6.00	00:17:03	0.00%	0	(0.00%)	\$0.00	(0.00%
3050.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Patrick+Wor mald&go.x=12&go.y=7	1	(0.00%)	0.00%	0	(0.00%)	0.00%	4.00	00:02:46	0.00%	0	(0.00%)	\$0.00	(0.00%
3051.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=pattern+rec ognition&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	4.00	00:10:00	0.00%	0	(0.00%)	\$0.00	(0.00%
3052.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=pattern+rec ognition+receptors+and+the+inna te+immune+response+to+viral+inf ection&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
3053.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=pauleena+m acdougall&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	3.00	00:01:56	0.00%	0	(0.00%)	\$0.00	(0.00%
3054.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Pax+360&g o.x=13&go.y=10	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
3055.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=PDMS&go.x =0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:00:22	0.00%	0	(0.00%)	\$0.00	(0.00%
3056.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=PDMS&go.x =9&go.y=12	1	(0.00%)	0.00%	0	(0.00%)	0.00%	4.00	00:12:11	0.00%	0	(0.00%)	\$0.00	(0.00%
3057.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=peace+and+ power&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
3058.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=peavey+feli ne+&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	5.00	00:07:34	0.00%	0	(0.00%)	\$0.00	(0.00%
3059.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=pediatric+inf ectious+disease+journal&go.x=0& go.y=0	1	(0.00%)	100.00%	1	(0.01%)	0.00%	4.00	00:03:16	0.00%	0	(0.00%)	\$0.00	(0.00%
3060.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=pediatric+uri nary+tract+infections&go.x=0&go. y=0	1	(0.00%)	100.00%	1	(0.01%)	0.00%	7.00	00:07:53	0.00%	0	(0.00%)	\$0.00	(0.00%
3061.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=peer review	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
3062.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Peer+review +versus+editorial+review+and+th eir+role+in+innovative+science&g o.x=6&go.y=10	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
3063.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Peer+Revie wed+EBP+autism+articles&go.x= 0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	0.00%	3.00	00:08:03	0.00%	0	(0.00%)	\$0.00	(0.00%
3064.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=PEG+amino lysis&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
3065.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=PEG+amino lysis&go.x=10&go.y=2	1	(0.00%)	0.00%	0	(0.00%)	0.00%	6.00	00:03:56	0.00%	0	(0.00%)	\$0.00	(0.00%
3066.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=PEG+in+chl oroform&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	4.00	00:09:17	0.00%	0	(0.00%)	\$0.00	(0.00%
3067.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=pemaquid+ messenger&go.x=5&go.y=11	1	(0.00%)	100.00%	1	(0.01%)	0.00%	2.00	00:01:20	0.00%	0	(0.00%)	\$0.00	(0.00%
3068.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=penechek&g o.x=0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	0.00%	4.00	00:03:31	0.00%	0	(0.00%)	\$0.00	(0.00%
3069.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Pennebaker &go.x=0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	0.00%	3.00	00:00:48	0.00%	0	(0.00%)	\$0.00	(0.00%
3070.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=penobscot+ man&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	7.00	00:10:41	0.00%	0	(0.00%)	\$0.00	(0.00%
	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Per+Se+Vio													

3071.	lations+in+Antitrust+Law:+Confus ing+Offenses+with+Defenses&go. x=11&go.y=7	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:14:32	0.00%	0	(0.00%)	\$0.00	(0.00%
3072.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=perception+ of+older+adults&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	10.00	00:24:42	0.00%	0	(0.00%)	\$0.00	(0.00%
3073.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Percy+Fawc ett&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:02:59	0.00%	0	(0.00%)	\$0.00	(0.00%
3074.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=perfectionis m&go.x=5&go.y=4	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:02:03	0.00%	0	(0.00%)	\$0.00	(0.00%
3075.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=perfoming+s ex&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:08	0.00%	0	(0.00%)	\$0.00	(0.00%
3076.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=performanc e+enhancing+drugs&go.x=0&go.y =0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:03:30	0.00%	0	(0.00%)	\$0.00	(0.00%
3077.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=performing+ femininities&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
3078.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Performing+ sex&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
3079.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Performing+ Sex&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
3080.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Performing+ sex&go.x=12&go.y=8	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
3081.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Performing+ sex&go.x=13&go.y=12	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
3082.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Performing+ sex&go.x=14&go.y=11	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
3083.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Performing+ sex&go.x=6&go.y=10	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
3084.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Performing+ sex&go.x=7&go.y=10	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
3085.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Performing+ sex&go.x=7&go.y=12	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
3086.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=periodicals& go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
3087.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=perpetuity& go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:28	0.00%	0	(0.00%)	\$0.00	(0.00%
3088.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Person-in-E nvironment+System&go.x=10&go .y=8	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:09:10	0.00%	0	(0.00%)	\$0.00	(0.00%
3089.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Perspective s+on+Linguistic+Structure&go.x= 0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:20:57	0.00%	0	(0.00%)	\$0.00	(0.00%
3090.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=perturbation +method+&go.x=13&go.y=12	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:38	0.00%	0	(0.00%)	\$0.00	(0.00%
3091.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=peter+berge r&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:01:35	0.00%	0	(0.00%)	\$0.00	(0.00%
3092.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=peter+groff man&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:08:14	0.00%	0	(0.00%)	\$0.00	(0.00%
3093.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Peter+Hamli n	1	(0.00%)	100.00%	1 (0.01%)	0.00%	12.00	00:49:15	0.00%	0	(0.00%)	\$0.00	(0.00%
	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Peterson,+ M.+L.+and+Mcllwraith,+C.+W.+(2 008)+Effect+of+track+maintenanc													
0004		4	/a aan/ \	400 000/	4 /		400.000/	4 00	00.00.00	0.000/	_ ^	(0.000/)	#A AA	10 0001

3094.	e+on+mecnanicai+properties++or +a+dirt+racetrack:+A+preliminary +study.+Equine+Veterinary+Jour nal,+40+(6):+602-605.+&go.x=0& go.y=0	1	(0.00%)	100.00%	T (0.01%)	100.00%	1.00	00:00:00	0.00%	U (0.00%)	\$0.00 (0.00%
3095.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=phantom+of +the+opera&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:13	0.00%	0 (0.00%)	\$0.00 (0.00%
3096.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Phase-chan ge+materials:+Towards+a+univer sal+memory?&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3097.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=phase+chan ge+memory+from+&go.x=0&go.y =0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3098.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=phenol+form aldehyde+resole+&go.x=0&go.y= 0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:22:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3099.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=phenomenol ogy&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:01:33	0.00%	0 (0.00%)	\$0.00 (0.00%
3100.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=phenomenol ogy+of+perception&go.x=0&go.y= 0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3101.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=pheonol-for malyhde&go.x=1&go.y=7	1	(0.00%)	100.00%	1 (0.01%)	0.00%	18.00	01:14:36	0.00%	0 (0.00%)	\$0.00 (0.00%
3102.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Philip+K.+Di ck&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:15:02	0.00%	0 (0.00%)	\$0.00 (0.00%
3103.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Philosophy+ of+Mahatma+Gandhi&go.x=9&go. y=7	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3104.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=phonologica I+awarenes&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	15.00	00:21:51	0.00%	0 (0.00%)	\$0.00 (0.00%
3105.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Phospholipa se+A2+inhibitors+from+marine+al gae&go.x=8&go.y=10	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3106.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Phosphoryla tion+of+the+Plasma+Membrane+ Calcium+Pump+at+High+ATP+C oncentration.+On+the+Mechanis m+of+ATP+Hydrolysis&go.x=0&g o.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3107.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=phrenology &go.x=-646&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:01:54	0.00%	0 (0.00%)	\$0.00 (0.00%
3108.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Phycologia+ Barbadensis&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3109.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=phyiscs+tod ay&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:23	0.00%	0 (0.00%)	\$0.00 (0.00%
3110.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Phys.+Che m.+Chem.+Phys.	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:02:53	0.00%	0 (0.00%)	\$0.00 (0.00%
3111.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=phys+rev+e &go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3112.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Physical+G eography:+Science+and+systems +of+the+human+environment&go .x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:19:23	0.00%	0 (0.00%)	\$0.00 (0.00%
3113.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=physics+lett ers+A&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:08:23	0.00%	0 (0.00%)	\$0.00 (0.00%
3114.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=physics+tod ay&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
	/search?s.fvf[]=ContentType,New spaper+Article.t&s.g=physiologica										

3115	i. I+response+to+professional+road +cycling:+climers+vs.+time+trialis ts&go.x=0&go.y=0	1 (0.00	0.00%	0 (0.00%)	0.00%	3.00	00:00:50	0.00%	0 (0.00%)	\$0.00 (0.00%
3116	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=phytophthor a+on+lowbush+blueberry&go.x=0 &go.y=0	1 (0.00	%) 0.00%	0 (0.00%)	0.00%	8.00	00:03:33	0.00%	0 (0.00%)	\$0.00 (0.00%
3117	/search?s.fvf[]=ContentType,New 5. spaper+Article,t&s.q=phytoplantk on&go.x=0&go.y=0	1 (0.00	%) 0.00%	0 (0.00%)	0.00%	2.00	00:00:03	0.00%	0 (0.00%)	\$0.00 (0.00%
3118	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=picasso's+la s+meninas&go.x=0&go.y=0	1 (0.00	%) 0.00%	0 (0.00%)	0.00%	8.00	00:03:08	0.00%	0 (0.00%)	\$0.00 (0.00%
3119	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=piloting+a+c ourse&go.x=0&go.y=0	1 (0.00	%) 0.00%	0 (0.00%)	0.00%	2.00	00:00:37	0.00%	0 (0.00%)	\$0.00 (0.00%
3120	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=pink+instituti on&go.x=0&go.y=0	1 (0.00	%) 100.00%	1 (0.01%)	0.00%	3.00	00:00:41	0.00%	0 (0.00%)	\$0.00 (0.00%
3121	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=pivot&go.x= 0&go.y=0	1 (0.00	%) 100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3122	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=pku&go.x=4 &go.y=8	1 (0.00	%) 100.00%	1 (0.01%)	0.00%	3.00	00:15:31	0.00%	0 (0.00%)	\$0.00 (0.00%
3123	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=plague&go.x =0&go.y=0	1 (0.00	%) 100.00%	1 (0.01%)	0.00%	3.00	00:01:52	0.00%	0 (0.00%)	\$0.00 (0.00%
3124	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=planet+new s&go.x=0&go.y=0	1 (0.00	%) 0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3125	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=plant+pathol ogy&go.x=0&go.y=0	1 (0.00	%) 0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3126	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=plant+propa gatopm+cherries&go.x=0&go.y=0	1 (0.00	%) 100.00%	1 (0.01%)	0.00%	3.00	00:00:27	0.00%	0 (0.00%)	\$0.00 (0.00%
3127	/search?s.fvf[]=ContentType,New '. spaper+Article,t&s.q=plato&go.x= -646&go.y=-217	1 (0.00	%) 0.00%	0 (0.00%)	0.00%	4.00	00:26:12	0.00%	0 (0.00%)	\$0.00 (0.00%
3128	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Plato&go.x= 4&go.y=6	1 (0.00	%) 100.00%	1 (0.01%)	0.00%	3.00	00:00:19	0.00%	0 (0.00%)	\$0.00 (0.00%
3129	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=play+museu m&go.x=0&go.y=0	1 (0.00	%) 0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3130	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=play+therap y&go.x=0&go.y=0	1 (0.00	%) 0.00%	0 (0.00%)	0.00%	6.00	00:02:13	0.00%	0 (0.00%)	\$0.00 (0.00%
3131	/search?s.fvf[]=ContentType,New . spaper+Article,t&s.q=Playground &go.x=11&go.y=8	1 (0.00	%) 0.00%	0 (0.00%)	0.00%	13.00	00:14:51	0.00%	0 (0.00%)	\$0.00 (0.00%
3132	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=playground+ injuries&go.x=0&go.y=0	1 (0.00	%) 100.00%	1 (0.01%)	0.00%	3.00	00:15:10	0.00%	0 (0.00%)	\$0.00 (0.00%
3133	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=playground+ safety&go.x=0&go.y=0	1 (0.00	%) 0.00%	0 (0.00%)	0.00%	8.00	00:18:19	0.00%	0 (0.00%)	\$0.00 (0.00%
3134	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=PLOS+Biolo gy+and+climate+change+and+risi ng+seas+&go.x=8&go.y=5	1 (0.00	%) 0.00%	0 (0.00%)	0.00%	7.00	00:17:59	0.00%	0 (0.00%)	\$0.00 (0.00%
3135	/search?s.fvf[]=ContentType,New i. spaper+Article,t&s.q=PloS+One& go.x=0&go.y=0	1 (0.00	%) 100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3136	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=plous:+psyc i. hological+mechanisms+in+the+h uman+use+of+animals&go.x=0&g o.y=0	1 (0.00	%) 0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3137	/search?s.fvf[]=ContentType,New . spaper+Article,t&s.q=plt+praxis&g o.x=0&go.y=0	1 (0.00	%) 100.00%	1 (0.01%)	0.00%	11.00	00:05:35	0.00%	0 (0.00%)	\$0.00 (0.00%
3138	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=plugin+cook book&go.x=0&go.y=0	1 (0.00	%) 0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%

31:	39.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=plunger+typ e+wavemakers+theory&go.x=0&g o.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:49	0.00%	0 (0.00%)	\$0.00 (0.00%
314	40.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=plyometrics &go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	15.00	00:02:38	0.00%	0 (0.00%)	\$0.00 (0.00%
314	41.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=plyometrics &go.x=5&go.y=5	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:02:28	0.00%	0 (0.00%)	\$0.00 (0.00%
314	42.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=plywood+bo nding&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	17.00	00:15:48	0.00%	0 (0.00%)	\$0.00 (0.00%
314	43.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=PNAS&go.x =-634&go.y=-217	1	(0.00%)	100.00%	1 (0.01%)	0.00%	10.00	00:02:12	0.00%	0 (0.00%)	\$0.00 (0.00%
314	44.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=pnas&go.x= -646&go.y=-217	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
314	45.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=podisus+nig rispinus&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:02:40	0.00%	0 (0.00%)	\$0.00 (0.00%
314	46.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=poe+and+fe minism&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:13	0.00%	0 (0.00%)	\$0.00 (0.00%
314	47.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Poe+and+w omen&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:11:22	0.00%	0 (0.00%)	\$0.00 (0.00%
314	48.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Poe+Burial+ motifs&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:04:47	0.00%	0 (0.00%)	\$0.00 (0.00%
314	49.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=poe+how+to +know+him&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
31	50.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=poeti&go.x= 0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:28	0.00%	0 (0.00%)	\$0.00 (0.00%
31	51.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Pogge,+"Er adicating+Systemic+Poverty"&go. x=8&go.y=7	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
31	52.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=poisson&go. x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:10:58	0.00%	0 (0.00%)	\$0.00 (0.00%
31	53.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=police+viole nce&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:02:39	0.00%	0 (0.00%)	\$0.00 (0.00%
31	54.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=policy+missi ng+persons	1	(0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:05:32	0.00%	0 (0.00%)	\$0.00 (0.00%
31	55.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Political-Ga me-Theory-Introduction-Analytical &go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:33	0.00%	0 (0.00%)	\$0.00 (0.00%
31	56.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=politics+lead +to+italian+immigration&go.x=0& go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:23	0.00%	0 (0.00%)	\$0.00 (0.00%
31	57.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=polya&go.x= 0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:24	0.00%	0 (0.00%)	\$0.00 (0.00%
31	58.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=polychaetes &go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
31	59.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=polychaetes +++salt+tolerance&go.x=13&go.y =8	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:05:51	0.00%	0 (0.00%)	\$0.00 (0.00%
310	60.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Polycythemi a+vera+and+essential+thrombocy themia:+new+developments+in+b iology+with+therapeutic+implicati on&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:25:32	0.00%	0 (0.00%)	\$0.00 (0.00%
310	61.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Polymer+sc affolds+for+hiomaterials+applicati	1	(0.00%)	0.00%	0 (0.00%)	0.00%	13.00	00:04:01	0.00%	0 (0.00%)	\$0.00 (0.00%

	ons&go.x=0&go.y=0									
3162.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=poplar+root +depth&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:11:16	0.00%	0 (0.00%)	\$0.00 (0.00%
3163.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Popovich,+ D.(2011).+30-second+head+to+to e+tool+in+pediatric+nursing:+Cult ivating+safety+in+hand-off+comm unication.+Pediatric+Nursing,+37(2),+55-60.&go.x=10&go.y=9	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:12:09	0.00%	0 (0.00%)	\$0.00 (0.00%
3164.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=popular+mu sic+and+society+&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	14.00	00:04:12	0.00%	0 (0.00%)	\$0.00 (0.00%
3165.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Population& go.x=12&go.y=7	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:48	0.00%	0 (0.00%)	\$0.00 (0.00%
3166.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=POS+369&g o.x=9&go.y=9	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3167.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=positioning+ patients+and+bed+sores&go.x=-6 43&go.y=-218	1 (0.00%)	100.00%	1 (0.01%)	0.00%	12.00	00:24:57	0.00%	0 (0.00%)	\$0.00 (0.00%
3168.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Possible+co nditions+and+process+of+the+ma ssive+blooms+of+Enteromorpha+prolifera+in+China+during+2008. +&go.x=-688&go.y=-218	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3169.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Possible+fo od+economies:+a+methodologica l+framework+for+exploring+food+ production-consumption+relation ships&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3170.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=post-pandor an+depression&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3171.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=postmoderni sm&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3172.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Potassium-a rgon/argon-argon+dating+method s&go.x=13&go.y=5	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:28:08	0.00%	0 (0.00%)	\$0.00 (0.00%
3173.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=potassium-a rgon+dating+of+sedimentary+roc ks&go.x=13&go.y=13	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3174.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=potato+leafr oll+virus&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:07:16	0.00%	0 (0.00%)	\$0.00 (0.00%
3175.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=potato+rese arch&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3176.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=potato+virus +y+&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3177.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Potential+R ole+of+Modifier+Genes+Influenci ng+Transforming+Growth+Factor-β1+Levels+in+the+Development+ of+Vascular+Defects+in+Endoglin +Heterozygous+Mice+with+Hered itary+Hemorrhagic+Telangiectasi a+&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	23.00	01:20:06	0.00%	0 (0.00%)	\$0.00 (0.00%
3178.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=poultry+scie nce&go.x=11&go.y=12	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:11:58	0.00%	0 (0.00%)	\$0.00 (0.00%
3179.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=poverty+in+ Maine&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:05:29	0.00%	0 (0.00%)	\$0.00 (0.00%
3180.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=poverty+ver sus+employment&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3181.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Power+Syst	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%

		em+Stability&go.x=0&go.y=0		(()						, ,		(
31	82.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=ppaca,+con stitutional&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	3.00	00:05:46	0.00%	0 ((0.00%)	\$0.00	(0.00%
31	83.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=ppaca&go.x =0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 ((0.00%)	\$0.00	(0.00%
31	84.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=PPACA&go. x=0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	0.00%	6.00	00:15:58	0.00%	0 ((0.00%)	\$0.00	(0.00%
31	85.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=PPIB+mutati on&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	3.00	00:02:15	0.00%	0 ((0.00%)	\$0.00	(0.00%
31	86.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Pragmatism :+A+Reader&go.x=8&go.y=13	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:00:32	0.00%	0 ((0.00%)	\$0.00	(0.00%
31	87.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Pratt&go.x= 15&go.y=11	1	(0.00%)	0.00%	0	(0.00%)	0.00%	4.00	00:00:32	0.00%	0 ((0.00%)	\$0.00	(0.00%
31	88.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Precipitation +Variation+in+the+Pacific+Northw est+(1675–1975)+as+Reconstruct ed+from+Tree+Rings&go.x=0&go .y=0	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0 ((0.00%)	\$0.00	(0.00%
31	89.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Precursors+ and+Consequences+of+Phonemi c+Length+Discrimination+Ability+ Problems+in+Children+With+Rea ding+Disabilities+and+Familial+Ri sk+for+Dyslexia&go.x=0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 ((0.00%)	\$0.00	(0.00%
31	90.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Predispositi ons+and+Plasticity+in+Music+an d+Speech+Learning:+Neural+Cor relates+and+Implications&go.x=-6 95&go.y=-217	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0 ((0.00%)	\$0.00	(0.00%
31	91.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Preface+An +Introduction+To+Dendroarchaeo logy+In+the+Southeastern+Unite d+States&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0 ((0.00%)	\$0.00	(0.00%
31	92.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Pregnancy+drugs+incarceration&go.x=-727&go.y=-218	1	(0.00%)	100.00%	1	(0.01%)	0.00%	5.00	00:35:12	0.00%	0 ((0.00%)	\$0.00	(0.00%
31	93.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=prelude+to+ revolution:++the+salem+gunpowd er+raid+1775&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	5.00	00:06:46	0.00%	0 ((0.00%)	\$0.00	(0.00%
31	94.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Preparing+E arly+Childhood+Special+Educator s+in+Appalachian+Kentucky&go. x=-576&go.y=-217	1	(0.00%)	100.00%	1	(0.01%)	0.00%	35.00	00:44:41	0.00%	0 ((0.00%)	\$0.00	(0.00%
31	95.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=prevalence+ and+correlates+of+fire-setting&go .x=6&go.y=5	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 ((0.00%)	\$0.00	(0.00%
31	96.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=price+fixing &go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	4.00	00:03:52	0.00%	0 ((0.00%)	\$0.00	(0.00%
31	97.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Price+Fixing &go.x=9&go.y=9	1	(0.00%)	0.00%	0	(0.00%)	0.00%	3.00	00:04:24	0.00%	0 ((0.00%)	\$0.00	(0.00%
31	98.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=primary+chr onicle&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	9.00	00:13:22	0.00%	0 ((0.00%)	\$0.00	(0.00%
31	99.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=princess+bri de&go.x=0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 ((0.00%)	\$0.00	(0.00%
32	200.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Prism&go.x =-508&go.y=-217	1	(0.00%)	100.00%	1	(0.01%)	0.00%	6.00	00:03:49	0.00%	0 ((0.00%)	\$0.00	(0.00%
32	201.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=prism&go.x= 0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0 ((0.00%)	\$0.00	(0.00%

3202.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=proactive+or ganizations&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:01:54	0.00%	0 (0.00%)	\$0.00 (0.00%
3203.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Problem-Sol ving+Methods+in+Artificial+Intelli gence&go.x=12&go.y=9	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:05:45	0.00%	0 (0.00%)	\$0.00 (0.00%
3204.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Proc.+Nat.+ Acad.+Sci.,+1996,+93,+196&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:03:52	0.00%	0 (0.00%)	\$0.00 (0.00%
3205.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Proceedings :+17th+Canadian+Symposium+o n+Remote+++Sensing&go.x=0&g o.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3206.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Proceedings +of+the+9th+International+Confer ence+on+Coastal+&+Estuarine+ Modeling=&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3207.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=process+he at+transfer&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:16:16	0.00%	0 (0.00%)	\$0.00 (0.00%
3208.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=productivity +paradox&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:34	0.00%	0 (0.00%)	\$0.00 (0.00%
3209.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Professing+ Literature.+An+Institutional+Histor y&go.x=4&go.y=5	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3210.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Professional +and+ethical+decision-making+a mong+health+science+students:+ A+call+to+action+about+critical+t hinking&go.x=10&go.y=8	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:30	0.00%	0 (0.00%)	\$0.00 (0.00%
3211.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Professional +development+for+teachers+on+ gender+equity+in+the+sciences:+ Initiating+the+conversation+D+Ba ttey,+Y+Kafai,+A+Nixon,+L+Kao+-+The+Teachers+College+Recor d,+2007+-+tcrecord.org&go.x=11 &go.y=10	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:16:26	0.00%	0 (0.00%)	\$0.00 (0.00%
3212.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Proglacial+I ake+sediment+records+of+Holoc ene+climate+change+in+the+wes tern+Cordillera+of+Peru&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3213.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Progress+a nd+prospects+of+community+for estry+in+developing+and++devel oped+countries&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:12:41	0.00%	0 (0.00%)	\$0.00 (0.00%
3214.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=progress+in +oceanography&go.x=-999&go.y =-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:47	0.00%	0 (0.00%)	\$0.00 (0.00%
3215.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=progress+in +oceanography&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3216.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Progressive +clinical+evaluation+tools+based +on+the+Quality+and+Safety+Ed ucation+in+Nursing+competencie s&go.x=7&go.y=3	1 (0.00%)	0.00%	0 (0.00%)	0.00%	21.00	01:00:56	0.00%	0 (0.00%)	\$0.00 (0.00%
3217.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=prohibition,+bangor,+me&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3218.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=projected+di esel+prices&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	14.00	00:10:18	0.00%	0 (0.00%)	\$0.00 (0.00%
3219.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Propaganda :+the+art+of+persuasion,+World+ War+II&go.x=-652&go.y=-217	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
	/search?s.fvf[]=ContentType,New									

3220.	spaper+Article,t&s.q=Propaganda +and+Intelligence+in+the+Cold+ War:+The+NATO+information+se rvice+(Studies+in+Intelligence)&g o.x=0&go.y=0	1 (0.009	0.00%	0 (0.00%)	0.00%	5.00	00:01:20	0.00%	0 (0.00%)	\$0.00 (0.00%
3221.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Propagating +Uncertainty+in+Plot-based+Esti mates+of+Forest+Carbon+Stock+ and+Carbon+Stock+Change&go. x=0&go.y=0	1 (0.009	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3222.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=propagation +of+roses&go.x=0&go.y=0	1 (0.00%	100.00%	1 (0.01%)	0.00%	8.00	00:56:11	0.00%	0 (0.00%)	\$0.00 (0.00%
3223.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=proposal+wr iting&go.x=0&go.y=0	1 (0.009	0.00%	0 (0.00%)	0.00%	2.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%
3224.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=proquest&g o.x=-654&go.y=-217	1 (0.009	6) 100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3225.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=ProQuest&g o.x=0&go.y=0	1 (0.009	6) 100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3226.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Prospective +Analysis+of+Laparoscopci+Vent ral+Hernia+Repair&go.x=0&go.y= 0	1 (0.009	6) 100.00%	1 (0.01%)	0.00%	4.00	00:00:21	0.00%	0 (0.00%)	\$0.00 (0.00%
3227.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=protein&go. x=-720&go.y=-217	1 (0.009	100.00%	1 (0.01%)	0.00%	8.00	00:04:39	0.00%	0 (0.00%)	\$0.00 (0.00%
3228.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=protein+evol ution:+innovative&go.x=12&go.y= 10	1 (0.009	6) 0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3229.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=protein+expr ession+vs+mRNA+expression&g o.x=0&go.y=0	1 (0.009	6) 0.00%	0 (0.00%)	0.00%	2.00	00:00:47	0.00%	0 (0.00%)	\$0.00 (0.00%
3230.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=protocol+de ath+penalty+addiction&go.x=0&g o.y=0	1 (0.009	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3231.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=pryor+moun tain+paper&go.x=8&go.y=8	1 (0.009	100.00%	1 (0.01%)	0.00%	8.00	00:05:18	0.00%	0 (0.00%)	\$0.00 (0.00%
3232.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Pseudophos phatases:+Methods+of+analysis+and+physiological+functions&go.x =0&go.y=0	1 (0.009	6) 0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3233.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=psyc+info&g o.x=0&go.y=0	1 (0.009	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3234.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=psych+info& go.x=0&go.y=0	1 (0.009	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3235.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=psych+info& go.x=16&go.y=8	1 (0.009	6) 0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3236.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=psych+infor &go.x=14&go.y=4	1 (0.009	100.00%	1 (0.01%)	0.00%	2.00	00:00:13	0.00%	0 (0.00%)	\$0.00 (0.00%
3237.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=psychiatric+ diagnosis:+impersonal,+imperfect ,+and+important&go.x=-581&go.y =-217	1 (0.009	6) 0.00%	0 (0.00%)	0.00%	3.00	00:24:34	0.00%	0 (0.00%)	\$0.00 (0.00%
3238.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=psychinfo&g o.x=-422&go.y=-217	1 (0.009	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3239.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=psychinfo&g o.x=-490&go.y=-217	1 (0.009	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3240.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=psychinfo&g o.x=-591&go.y=-217	1 (0.009	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3241	/search?s.fvf[]=ContentType,New snaper+Article t&s g=nsychinfo&g	1 (n nnº	0.00%	0 (0.00%)	100 00%	1 00	00.00.00	0 00%	0 (0.00%)	\$0.00 (0.00%

JZ T 1.	o.x=0&go.y=0	ı	(0.00 /8)	0.0070	0 (0	7.00 78)	100.0070	1.00	00.00.00	0.0070	0 (0.0	0 70)	ψ0.00	(0.00 //
3242.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=PsychInfo& go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0	0.01%)	0.00%	2.00	00:01:06	0.00%	0 (0.0	0%)	\$0.00	(0.00%
3243.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Psychinfo&g o.x=5&go.y=13	1	(0.00%)	0.00%	0 (0	0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.0	0%)	\$0.00	(0.00%
3244.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=psychingo& go.x=-643&go.y=-217	1	(0.00%)	0.00%	0 (0	0.00%)	0.00%	2.00	00:00:39	0.00%	0 (0.0	0%)	\$0.00	(0.00%
3245.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=psychoeduc ation+and+cognitive+behavioral+ strategies+&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0	0.01%)	0.00%	12.00	00:41:31	0.00%	0 (0.0	0%)	\$0.00	(0.00%
3246.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=psychology &go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0	0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.0	0%)	\$0.00	(0.00%
3247.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=psychology+ in+financial+literacy+curriculum& go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0	0.01%)	0.00%	2.00	00:00:33	0.00%	0 (0.0	0%)	\$0.00	(0.00%
3248.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Psychology +in+Schools&go.x=-801&go.y=-2 17	1	(0.00%)	0.00%	0 (0	0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.0	0%)	\$0.00	(0.00%
3249.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=psychology+ of+cupid+and+psyche+in+the+ae neid&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0	0.01%)	0.00%	4.00	00:01:09	0.00%	0 (0.0	0%)	\$0.00	(0.00%
3250.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=psychology+ of+monotheism&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0	0.00%)	0.00%	3.00	00:00:43	0.00%	0 (0.0	0%)	\$0.00	(0.00%
3251.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=psychology+ text	1	(0.00%)	100.00%	1 (0	0.01%)	0.00%	18.00	00:56:43	0.00%	0 (0.0	0%)	\$0.00	(0.00%
3252.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Psychometri c+properties+of+the+Barratt+Imp ulsiveness+Scale+in+a+sample+ of+the+city+of+Buenos+Aires&go .x=0&go.y=0	1	(0.00%)	0.00%	0 (0	1.00%)	0.00%	3.00	00:00:22	0.00%	0 (0.0	0%)	\$0.00	(0.00%
3253.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=psychosocia l+aspects+hearing+loss&go.x=0& go.y=0	1	(0.00%)	100.00%	1 (0	0.01%)	0.00%	14.00	00:09:49	0.00%	0 (0.0	0%)	\$0.00	(0.00%
3254.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=psychothera py+treatments+major+depressive +disorder&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0	0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.0	0%)	\$0.00	(0.00%
3255.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=psycinfo&go .x=0&go.y=0	1	(0.00%)	0.00%	0 (0	0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.0	0%)	\$0.00	(0.00%
3256.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=psycinfo&go .x=11&go.y=10	1	(0.00%)	0.00%	0 (0	0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.0	0%)	\$0.00	(0.00%
3257.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=psycinfo&go .x=5&go.y=9	1	(0.00%)	0.00%	0 (0	0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.0	0%)	\$0.00	(0.00%
3258.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=PTSD+in+c hildren&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0	0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.0	0%)	\$0.00	(0.00%
3259.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Public+Choi ce+Theory&go.x=11&go.y=6	1	(0.00%)	100.00%	1 (0	0.01%)	0.00%	2.00	00:00:45	0.00%	0 (0.0	0%)	\$0.00	(0.00%
3260.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=public+dom ain+images&go.x=-624&go.y=-21 7	1	(0.00%)	100.00%	1 (0	0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.0	0%)	\$0.00	(0.00%
3261.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Public+relati ons+design+for+college+career+c ounseling+services&go.x=9&go.y =10	1	(0.00%)	0.00%	0 (0	0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.0	0%)	\$0.00	(0.00%
3262.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=public+relati ons+quarterly&go.x=-676&go.y=-217	1	(0.00%)	0.00%	0 (0	0.00%)	0.00%	17.00	00:42:50	0.00%	0 (0.0	0%)	\$0.00	(0.00%

3263.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=publically&g o.x=12&go.y=2	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:18:54	0.00%	0 (0.00%)	\$0.00 (0.00%
3264.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Pubmed&go .x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3265.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=pugs&go.x= 6&go.y=12	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3266.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=purcell+and +runyan+1980&go.x=15&go.y=6	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:12	0.00%	0 (0.00%)	\$0.00 (0.00%
3267.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Purple+corn +anthocyanins+dampened+high-g lucose-induced+mesangial+fibrosi s+and+inflammation:+possible+re noprotective+role+in+diabetic+ne phropathy.&go.x=2&go.y=10	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3268.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=pushing+the +limits&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:21	0.00%	0 (0.00%)	\$0.00 (0.00%
3269.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=putable+pref erred+stock&go.x=-654&go.y=-21 7	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:10:13	0.00%	0 (0.00%)	\$0.00 (0.00%
3270.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=putting+flue ncy+on+a+fitness+plan&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:02:33	0.00%	0 (0.00%)	\$0.00 (0.00%
3271.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=pyrus+malu s&go.x=-812&go.y=-217	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:11:57	0.00%	0 (0.00%)	\$0.00 (0.00%
3272.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Pythagorea n+theorem&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:11:31	0.00%	0 (0.00%)	\$0.00 (0.00%
3273.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=python&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:27	0.00%	0 (0.00%)	\$0.00 (0.00%
3274.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Quadruplex +DNA:+sequence&go.x=10&go.y =8	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:15:22	0.00%	0 (0.00%)	\$0.00 (0.00%
3275.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Qualitative+ Research+&+Evaluation+Method s=&go.x=9&go.y=8	1 (0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:12:24	0.00%	0 (0.00%)	\$0.00 (0.00%
3276.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Quality+Ma nagement+of+Early+Childhood+P rograms&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:27	0.00%	0 (0.00%)	\$0.00 (0.00%
3277.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Quality+trait s+of+Mediterranean+mussels+(M ytilus+galloprovincialis)+and+valo rization+of+the+product+through+ sous+vide+technologies&go.x=12 &go.y=7	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3278.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=QUANTIFIC ATION+OF+THE+PHYSICAL,+C HEMICAL,+AND+SENSORY+MO DES+OF+DETERIORATION+IN+SOUS-VIDE+PROCESSED+SAL MON&go.x=3&go.y=6	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:45	0.00%	0 (0.00%)	\$0.00 (0.00%
3279.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Queen++An ne's+War&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	9.00	00:05:17	0.00%	0 (0.00%)	\$0.00 (0.00%
3280.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=queer+theor y&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3281.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=quiet+susan +cain&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3282.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=quinlan+coo rdinating+the+cognitive&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
	/search?s.fvf[]=ContentType,New									

3	283.	spaper+Article,t&s.q=R-book&go. x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01	%) 0.00%	3.00	00:05:38	0.00%	0 (0.00%)	\$0.00	(0.00%
3	284.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=r+graphics+ cookbook&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00	%) 100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
3	285.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=R+graphics +cookbook&go.x=8&go.y=6	1	(0.00%)	100.00%	1 (0.01	%) 100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
3	286.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=race+and+e conomics&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01	%) 0.00%	6.00	00:04:24	0.00%	0 (0.00%)	\$0.00	(0.00%
3	287.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=racehorse+i njuries&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00	%) 100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
3	288.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Racing+tho ughts:+Children+and+mental+illn ess.+(2010).+Films+On+Demand. +&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00	%) 100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
3	289.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Radical+Uni onism+in+the+Midwest,+1900-19 50&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00	%) 0.00%	6.00	00:17:27	0.00%	0 (0.00%)	\$0.00	(0.00%
3	290.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Radioresista nce+of+a+natural+population+of+ Drosophila+willistoni+living+in+a+ radioactive+environment.	1	(0.00%)	0.00%	0 (0.00	%) 0.00%	3.00	00:12:36	0.00%	0 (0.00%)	\$0.00	(0.00%
3	291.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Radium+girl s&go.x=-508&go.y=-217	1	(0.00%)	0.00%	0 (0.00	%) 0.00%	3.00	00:10:21	0.00%	0 (0.00%)	\$0.00	(0.00%
3	292.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Railroads+o f+the+Pine+Tree+State+Vol.+1,+ Four+Ways+West,+1999&go.x=0 &go.y=0	1	(0.00%)	0.00%	0 (0.00	%) 0.00%	5.00	00:05:31	0.00%	0 (0.00%)	\$0.00	(0.00%
3	293.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Rakaia&go. x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00	%) 0.00%	2.00	00:00:07	0.00%	0 (0.00%)	\$0.00	(0.00%
3	294.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Rakaia+Vall ey+New+Zealand&go.x=0&go.y= 0	1	(0.00%)	100.00%	1 (0.01	%) 100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
3	295.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Randall+Ch. +Kohl+S.+Ecos+de+"La+bamba". +Una+historia+etnomusicológica+ sobre+el+son++jarocho+de+Vera cruz,+1946-1959.+Xalapa:+Institu to+Veracruzano+de+Cultura,+200 7;++239+pp.&go.x=6&go.y=3	1	(0.00%)	0.00%	0 (0.00	%) 0.00%	10.00	00:08:38	0.00%	O (0.00%)	\$0.00	(0.00%
3	296.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=rapamyacin &go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00	%) 0.00%	2.00	00:00:04	0.00%	0 (0.00%)	\$0.00	(0.00%
3	297.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=rapunzel&g o.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01	%) 100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
3	298.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=rarefaction+ species+richness&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00	%) 0.00%	6.00	00:42:37	0.00%	0 (0.00%)	\$0.00	(0.00%
3	299.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=raspberry&g o.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00	%) 0.00%	4.00	00:06:27	0.00%	0 (0.00%)	\$0.00	(0.00%
3	300.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=raymond+ca rver&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00	%) 0.00%	3.00	00:00:20	0.00%	0 (0.00%)	\$0.00	(0.00%
3	301.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=raymond+ca rver+collected&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00	%) 0.00%	7.00	00:14:09	0.00%	0 (0.00%)	\$0.00	(0.00%
3	302.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=read+aloud +best+practices&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00	%) 0.00%	14.00	00:36:05	0.00%	0 (0.00%)	\$0.00	(0.00%
3	303.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=read+aloud +comprehension+strategies&go.x =0&go.y=0	1	(0.00%)	0.00%	0 (0.00	%) 0.00%	3.00	00:03:29	0.00%	0 (0.00%)	\$0.00	(0.00%
3	304.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=read+unbow	1	(0.00%)	100.00%	1 (0.01	%) 0.00%	6.00	00:08:46	0.00%	0 (0.00%)	\$0.00	(0.00%

	euago.x-s	αg∪.y−9													
33	05. spaper+Art	vf[]=ContentType,New icle,t&s.q=reading+as+ t&go.x=0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	0.00%	11.00	00:04:16	0.00%	0	(0.00%)	\$0.00	(0.00%
33	06. spaper+Art	vf[]=ContentType,New icle,t&s.q=Reading+dis o.x=-508&go.y=-217	1	(0.00%)	0.00%	0	(0.00%)	0.00%	7.00	00:28:17	0.00%	0	(0.00%)	\$0.00	(0.00%
33	07. spaper+Art	vf[]=ContentType,New icle,t&s.q=reading+dis o.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	3.00	00:00:13	0.00%	0	(0.00%)	\$0.00	(0.00%
33	spaper+Art 08. abilities+ar	vf[]=ContentType,New icle,t&s.q=reading+dis id+executive+functions ing-matched+controls&.y=5	1	(0.00%)	0.00%	0	(0.00%)	0.00%	28.00	00:23:07	0.00%	0	(0.00%)	\$0.00	(0.00%
33	09. spaper+Art	vf[]=ContentType,New icle,t&s.q=reading+dis x=-626&go.y=-217	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:03:08	0.00%	0	(0.00%)	\$0.00	(0.00%
33	10. spaper+Art	vf[]=ContentType,New icle,t&s.q=Reading+Di go.x=-524&go.y=-217	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:03:06	0.00%	0	(0.00%)	\$0.00	(0.00%
33	11. spaper+Art	vf[]=ContentType,New icle,t&s.q=reading+kat go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
33	12. spaper+Art	vf[]=ContentType,New icle,t&s.q=reading+rec =0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:00:14	0.00%	0	(0.00%)	\$0.00	(0.00%
33	spaper+Art 13. nt+of+the+	vf[]=ContentType,New icle,t&s.q=reassessme potential+sea-level+ris collapse&go.x=0&go.y	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
33	spaper+Art	vf[]=ContentType,New icle,t&s.q=Reauthoriza .WA+2004&go.x=0&go.	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
33	spaper+Art ate+and+ic West+Anta	vf[]=ContentType,New icle,t&s.q=Recent+clim icle,t&s.d=Recent+clim icle,sheet+changes+in+ irctica+compared+with icl,2,000+years&go.x=0&	1	(0.00%)	100.00%	1	(0.01%)	0.00%	12.00	00:31:54	0.00%	0	(0.00%)	\$0.00	(0.00%
33	spaper+Art 16. elopments	ivf[]=ContentType,New icle,t&s.q=Recent+Dev +in+Single+Parent+Ad trauss,+Kenneth&go.x	1	(0.00%)	100.00%	1	(0.01%)	0.00%	10.00	00:06:55	0.00%	0	(0.00%)	\$0.00	(0.00%
33	spaper+Art 17. ease+in+B ecorded+ir	or[]=ContentType,New icle,t&s.q=Recent+incr a+concentrations+as+r +a+South+Pole+ice+c 611&go.y=-217	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
33	spaper+Art 18. mes+in+th	vf[]=ContentType,New icle,t&s.q=Recent+The e+Environmental+Histo British+Empire&go.x=0	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
33	19. spaper+Art	vf[]=ContentType,New icle,t&s.q=Reclaiming+ ors&go.x=0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	0.00%	2.00	00:00:54	0.00%	0	(0.00%)	\$0.00	(0.00%
33	spaper+Art	vf[]=ContentType,New icle,t&s.q=Reclaiming+ cors+review&go.x=0&g	1	(0.00%)	100.00%	1	(0.01%)	0.00%	6.00	00:29:39	0.00%	0	(0.00%)	\$0.00	(0.00%
33	21. spaper+Art	vf[]=ContentType,New icle,t&s.q=recovery+aft go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:00:15	0.00%	0	(0.00%)	\$0.00	(0.00%
33		vf[]=ContentType,New icle,t&s.q=recycling&g go.y=-217	1	(0.00%)	0.00%	0	(0.00%)	0.00%	3.00	00:05:02	0.00%	0	(0.00%)	\$0.00	(0.00%
33		vf[]=ContentType,New icle,t&s.q=recycling+is =0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
33		vf[]=ContentType,New icle,t&s.q=red+oak+tre &go.y=3	1	(0.00%)	100.00%	1	(0.01%)	0.00%	3.00	00:02:58	0.00%	0	(0.00%)	\$0.00	(0.00%
33		vf[]=ContentType,New icle,t&s.q=redeployme &go.v=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	7.00	00:02:36	0.00%	0	(0.00%)	\$0.00	(0.00%

3326.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Reduction+i n+northward+incursions+of+the+ South+Asian+monsoon+since+□ 1400+AD+inferred+from+a+Mt.+E verest+ice+core&go.x=-611&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3327.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=reef+buildin g+organisms&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:18	0.00%	0 (0.00%)	\$0.00 (0.00%
3328.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=ref+works&g o.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3329.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=referenceus a&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:10:28	0.00%	0 (0.00%)	\$0.00 (0.00%
3330.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=reframing+o rganizations+bolman+and+deal& go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:00:41	0.00%	0 (0.00%)	\$0.00 (0.00%
3331.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=refworks&go .x=-587&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3332.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=refworks&go .x=-654&go.y=-219	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3333.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=refworks&go .x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:13:11	0.00%	0 (0.00%)	\$0.00 (0.00%
3334.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=refworks&go .x=8&go.y=14	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3335.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=regions+wit h+unreliable+electricity&go.x=0&g o.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:15:16	0.00%	0 (0.00%)	\$0.00 (0.00%
3336.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Regression +Models+for+Categorical+Depen dent+Variables+Using+Stata.&go. x=13&go.y=10	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3337.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=reiff+bawars hi+2011&go.x=-748&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:18:27	0.00%	0 (0.00%)	\$0.00 (0.00%
3338.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Relativistic+ kinematics+of+deformable+contin ua-I&go.x=12&go.y=7	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3339.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=reliability+an d+validity+of+comprehensive+tes t+of+phonological+processing&go .x=4&go.y=13	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:05:25	0.00%	0 (0.00%)	\$0.00 (0.00%
3340.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=religion,+rep roductive+rights&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	17.00	00:14:14	0.00%	0 (0.00%)	\$0.00 (0.00%
3341.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=religion+and +politics&go.x=8&go.y=11	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3342.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=religion+ver sus+empire?&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3343.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=religious+pr e+marital+sex&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	29.00	01:00:41	0.00%	0 (0.00%)	\$0.00 (0.00%
3344.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=reluctant+re aders&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:21	0.00%	0 (0.00%)	\$0.00 (0.00%
3345.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=remdedial+a nd+special+education&go.x=0&g o.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:04	0.00%	0 (0.00%)	\$0.00 (0.00%
3346.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=remediation +river+sediments+&go.x=0&go.y= 0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
	/search?s.fvf[]=ContentType,New										

3347.	spaper+Article,t&s.q=renaissance +linear+perspective&go.x=0&go.y =0	1	(0.00%)	100.00%	1 (0.01%	0.00%	5.00	00:27:21	0.00%	0 (0.00%)	\$0.00	(0.00%
3348.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=renaissance +linear+perspective&go.x=10&go. y=8	1	(0.00%)	100.00%	1 (0.01%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
3349.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=renate&go.x =0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	0.00%	2.00	00:02:37	0.00%	0 (0.00%)	\$0.00	(0.00%
3350.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Renewing+ The+Geography+of+Regions&go. x=9&go.y=13	1	(0.00%)	0.00%	0 (0.00%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
3351.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=renting+roo ms&go.x=8&go.y=7	1	(0.00%)	100.00%	1 (0.01%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
3352.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Research+i n+the+History+of+Economic+Tho ught+and+Methodology&go.x=-63 5&go.y=-217	1 ((0.00%)	0.00%	0 (0.00%	0.00%	3.00	00:02:06	0.00%	0 (0.00%)	\$0.00	(0.00%
3353.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Research+o n+and+Culture+of+Calcareous+G reen+Algae.&go.x=9&go.y=14	1	(0.00%)	0.00%	0 (0.00%	0.00%	2.00	00:29:34	0.00%	0 (0.00%)	\$0.00	(0.00%
3354.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Research+p rogress+on+dissolution+and+func tional+modification+of+cellulose+i n+ionic+liquids&go.x=10&go.y=10	1	(0.00%)	0.00%	0 (0.00%	0.00%	9.00	00:38:21	0.00%	0 (0.00%)	\$0.00	(0.00%
3355.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=reserve&go. x=-654&go.y=-217	1	(0.00%)	100.00%	1 (0.01%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
3356.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Reshaping+ genomes+using+the+TALE+prote ins+from+plant+pests	1	(0.00%)	0.00%	0 (0.00%	0.00%	5.00	00:00:48	0.00%	0 (0.00%)	\$0.00	(0.00%
3357.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Resolution+ of+the+1949+Congress+of+Indus trial+Organizat&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	0.00%	4.00	00:00:28	0.00%	0 (0.00%)	\$0.00	(0.00%
3358.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=respect&go. x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	0.00%	2.00	00:00:29	0.00%	0 (0.00%)	\$0.00	(0.00%
3359.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Responses+ to+Root-zone+Water+Content+of +Shrub+Congeners+from+Easter n+North+America+and+Mediterra nean+California&go.x=0&go.y=0	1 ((0.00%)	100.00%	1 (0.01%	0.00%	7.00	00:05:12	0.00%	0 (0.00%)	\$0.00	(0.00%
3360.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=restorative+j ustice&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
3361.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Rethinking+ communication&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	0.00%	2.00	00:00:23	0.00%	0 (0.00%)	\$0.00	(0.00%
3362.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=return+of+th e+king&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	0.00%	2.00	00:00:59	0.00%	0 (0.00%)	\$0.00	(0.00%
3363.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Reverse+G enetic+Studies+Using+Antisense +Morpholino+Oligonucleotides&g o.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	0.00%	15.00	01:18:49	0.00%	0 (0.00%)	\$0.00	(0.00%
3364.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=review+a+n ew+nation+of+goods&go.x=0&go. y=0	1	(0.00%)	0.00%	0 (0.00%	0.00%	4.00	00:16:28	0.00%	0 (0.00%)	\$0.00	(0.00%
3365.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=reviews+sou I+by+soul+johnson&go.x=13&go. y=9	1	(0.00%)	0.00%	0 (0.00%	0.00%	2.00	00:00:40	0.00%	0 (0.00%)	\$0.00	(0.00%
3366.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=rex+turner& go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
3367.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=REZA+ASL AN+&go.x=10&go.y=14	1	(0.00%)	0.00%	0 (0.00%	0.00%	2.00	00:20:49	0.00%	0 (0.00%)	\$0.00	(0.00%

	/search?s.fvf[]=ContentType,New										
3368.	spaper+Article,t&s.q=rhetoric+of+ failure&go.x=2&go.y=7	1	(0.00%)	0.00%	0 (0.00%	0.00%	3.00	00:03:21	0.00%	0 (0.00%)	\$0.00 (0.00%
3369.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=rhetorical+a gency+cooper&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3370.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=rhetorical+cr iticism+perspectives+in+action&g o.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	0.00%	3.00	00:00:48	0.00%	0 (0.00%)	\$0.00 (0.00%
3371.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=rich+kent&g o.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	0.00%	3.00	00:00:30	0.00%	0 (0.00%)	\$0.00 (0.00%
3372.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=richard+3&g o.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3373.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=richard+cary &go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	0.00%	5.00	00:27:14	0.00%	0 (0.00%)	\$0.00 (0.00%
3374.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=richard+Hick man&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3375.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Richard+III& go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3376.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=ricker+colle ge	1	(0.00%)	0.00%	0 (0.00%	0.00%	4.00	00:17:51	0.00%	0 (0.00%)	\$0.00 (0.00%
3377.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Riemann,+H ugo.+"Konius,+Georgij+Eduardow itsch."+Riemann+Musik+Lexicon: +Erganzungsband&go.x=12&go.y =10	1	(0.00%)	0.00%	0 (0.00%	0.00%	7.00	00:03:59	0.00%	0 (0.00%)	\$0.00 (0.00%
3378.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=riseup&go.x =0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3379.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=rita+mulcah y&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	0.00%	3.00	00:01:22	0.00%	0 (0.00%)	\$0.00 (0.00%
3380.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=river+resear ch+and+applications&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3381.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=RNA-Seq:+ a+revolutionary+tool+for+transcri ptomics.&go.x=-688&go.y=-218	1	(0.00%)	0.00%	0 (0.00%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3382.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Robert+200 1+isotopic+fractionation&go.x=0& go.y=0	1	(0.00%)	0.00%	0 (0.00%	0.00%	5.00	00:02:15	0.00%	0 (0.00%)	\$0.00 (0.00%
3383.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=robert+morri s&go.x=9&go.y=8	1	(0.00%)	100.00%	1 (0.01%	0.00%	4.00	00:01:10	0.00%	0 (0.00%)	\$0.00 (0.00%
3384.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=robert+musil +and+the+crisis+of+european+cu lture&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3385.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=robert+rauc hnberg&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	0.00%	5.00	00:00:20	0.00%	0 (0.00%)	\$0.00 (0.00%
3386.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=robert+sattel meyer&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3387.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Robust,+mic rofabricated+culture+devices+wit h+improved+control+over+the+so luble+microenvironment+for+the+culture+of+embryonic+stem+cells &go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3388.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=roche+2011 &go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	0.00%	19.00	00:10:18	0.00%	0 (0.00%)	\$0.00 (0.00%
3389.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=rockshelter+ archaeology&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%

3390.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=rocky+horro r+show+broadway&go.x=0&go.y= 0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3391.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=rocky+horro r+show+revival&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:59	0.00%	0 (0.00%)	\$0.00 (0.00%
3392.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=roland+bart hes&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:06:45	0.00%	0 (0.00%)	\$0.00 (0.00%
3393.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Role+of+die tary+polyphenols+and+inflammat ory+processes+on+disease+prog ression+mediated+by+the+gut+mi crobiota.&go.x=-697&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3394.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Role+of+va scular+endothelial+growth+factor +and+vascular+endothelial+growt h+factor+receptors+in+vascular+ development.&go.x=6&go.y=6	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:04:31	0.00%	0 (0.00%)	\$0.00 (0.00%
3395.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=ronald+john son&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3396.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=root+ingrowt h+cores&go.x=9&go.y=9	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:11:04	0.00%	0 (0.00%)	\$0.00 (0.00%
3397.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=rooted+cos mopolitanism&go.x=-730&go.y=-2 17	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:13	0.00%	0 (0.00%)	\$0.00 (0.00%
3398.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=rosalie+mac kenzie+poe&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3399.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=rosetta+ston e&go.x=-520&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:01:04	0.00%	0 (0.00%)	\$0.00 (0.00%
3400.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=rosetta+ston e&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	17.00	00:08:37	0.00%	0 (0.00%)	\$0.00 (0.00%
3401.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Rossmann, +M.+G.,+Moras,+D.+and+Olsen,+ K.+W.+(1974)+Chemical+and+bio logical+evolution+of+a+nucleotide -binding+protein.+Nature+259,+1 94–199&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:14:19	0.00%	0 (0.00%)	\$0.00 (0.00%
3402.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Routledge& go.x=11&go.y=9	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3403.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=rsq+nolen-h oeksema+&+morrow+1991=&go. x=9&go.y=11	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:17	0.00%	0 (0.00%)	\$0.00 (0.00%
3404.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=rsv&go.x=10 &go.y=6	1	(0.00%)	100.00%	1 (0.01%)	0.00%	21.00	00:10:19	0.00%	0 (0.00%)	\$0.00 (0.00%
3405.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Rule+of+Re ason&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3406.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Running+Sil ver&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3407.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=RUNX1+an d+NF-E2+upregulation+is+not+sp ecific+for+MPNs,+but+is+seen+in+polycythemic+disorders+with+au gmented+HIF+signaling&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:47	0.00%	0 (0.00%)	\$0.00 (0.00%
3408.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=rural+electrif ication+maine&go.x=3&go.y=9	1	(0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:02:04	0.00%	0 (0.00%)	\$0.00 (0.00%
3409.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=rural+mana ged+care&go.x=-560&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:08:57	0.00%	0 (0.00%)	\$0.00 (0.00%
	/search?s.fvf[]=ContentType,New										

34	410.	spaper+Article,t&s.q=rural+partici patory+action&go.x=-882&go.y=- 217	1	(0.00%)	0.00%	0	(0.00%)	0.00%	3.00	00:00:18	0.00%	0	(0.00%)	\$0.00	(0.00%
34	411.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Rural+touris m&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	3.00	00:04:50	0.00%	0	(0.00%)	\$0.00	(0.00%
34	412.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Rural+Touri sm&go.x=0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	0.00%	3.00	00:00:33	0.00%	0	(0.00%)	\$0.00	(0.00%
34	413.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=S+Rasmuss en+economies+of+scale+size&go .x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	4.00	00:02:02	0.00%	0	(0.00%)	\$0.00	(0.00%
34	414.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=safe+play+g rounds&go.x=0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	0.00%	4.00	00:19:39	0.00%	0	(0.00%)	\$0.00	(0.00%
34	415.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=SAFETY+A ND+QUALITY+IN+NURSING&go. x=-654&go.y=-217	1	(0.00%)	0.00%	0	(0.00%)	0.00%	8.00	00:27:53	0.00%	0	(0.00%)	\$0.00	(0.00%
34	416.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=sage+handb ook+of+social+netowkr+analysis& go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	3.00	00:12:50	0.00%	0	(0.00%)	\$0.00	(0.00%
34	417.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=salaries&go. x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	3.00	00:00:34	0.00%	0	(0.00%)	\$0.00	(0.00%
34	418.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=salary&go.x =13&go.y=7	1	(0.00%)	100.00%	1	(0.01%)	0.00%	3.00	00:14:34	0.00%	0	(0.00%)	\$0.00	(0.00%
34	419.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=salem+gunp owder+raid&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:00:09	0.00%	0	(0.00%)	\$0.00	(0.00%
34	420.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=salinity+toler ance+in+marine+invertabrate&go. x=6&go.y=17	1	(0.00%)	100.00%	1	(0.01%)	0.00%	5.00	00:01:48	0.00%	0	(0.00%)	\$0.00	(0.00%
34	421.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=salinity+toler ance+marine+invertabrates&go.x =0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	8.00	00:28:14	0.00%	0	(0.00%)	\$0.00	(0.00%
34	422.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=salinity+toler ance+marine+invertebrates&go.x =0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	3.00	00:00:11	0.00%	0	(0.00%)	\$0.00	(0.00%
34	423.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=sampe+tech nical&go.x=0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
34	424.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=sampling+in +qualitative+research&go.x=0&go .y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	6.00	00:18:03	0.00%	0	(0.00%)	\$0.00	(0.00%
34	425.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=sanborn	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
34	426.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=sanborn+ma ps&go.x=0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
34	427.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=sand,+ma+s oeur+jeanne&go.x=0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	0.00%	3.00	00:01:32	0.00%	0	(0.00%)	\$0.00	(0.00%
34	428.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=sand+tray& go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	3.00	00:08:30	0.00%	0	(0.00%)	\$0.00	(0.00%
34	429.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=sanford+sho reland+zoning&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:00:20	0.00%	0	(0.00%)	\$0.00	(0.00%
34	430.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=sanger,+dav id&go.x=0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	0.00%	2.00	00:00:20	0.00%	0	(0.00%)	\$0.00	(0.00%
34	431.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Sanger,+da vid&go.x=0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	0.00%	13.00	00:04:45	0.00%	0	(0.00%)	\$0.00	(0.00%
34	432.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Sanger,+Ma ry+Jo&go.x=10&go.y=12	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
3,	⊿ २२	/search?s.fvf[]=ContentType,New	1	(n nn%)	100 00%	1	/n n1%)	n nn%	3 00	00.00.30	0 00%	0	/n nn%\	\$0.00	/n nn%

0-100.	x=0&go.y=0	'	(0.0070)	100.00 /0	1 (0.0170)	0.0070	0.00	00.00.20	0.0070	0 (0.0070)	ψο.οο (ο.οο π
3434.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=saragasso+ sea+HNLC&go.x=-727&go.y=-21 7	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:10	0.00%	0 (0.00%)	\$0.00 (0.00%
3435.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=sat+study&g o.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:08:26	0.00%	0 (0.00%)	\$0.00 (0.00%
3436.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=satan&go.x= 0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	22.00	00:09:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3437.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=satanic+ver ses&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:03:27	0.00%	0 (0.00%)	\$0.00 (0.00%
3438.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=saturated+fa t+and+heart+disease&go.x=-645 &go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	0.00%	16.00	00:59:31	0.00%	0 (0.00%)	\$0.00 (0.00%
3439.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=saxitoxin+up take+by+mussels&go.x=0&go.y= 0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:35	0.00%	0 (0.00%)	\$0.00 (0.00%
3440.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Scale+relati onships+in+the+interactions+of+c limate,+ecosystems,+and+societi es&go.x=6&go.y=10	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:05:45	0.00%	0 (0.00%)	\$0.00 (0.00%
3441.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=scallops:+bi ology+ecology+and+aquaculture& go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:04:14	0.00%	0 (0.00%)	\$0.00 (0.00%
3442.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=scan+&go.x =0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3443.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=scholarly+jo urnal&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:16:28	0.00%	0 (0.00%)	\$0.00 (0.00%
3444.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=school nurs e communication challenges	1	(0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:45	0.00%	0 (0.00%)	\$0.00 (0.00%
3445.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=school+gard en+and+obesity&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	23.00	00:22:11	0.00%	0 (0.00%)	\$0.00 (0.00%
3446.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=schopenhau er&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:28	0.00%	0 (0.00%)	\$0.00 (0.00%
3447.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=schryer,+cre ating+discursive+order&go.x=0&g o.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3448.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=schwitters+r auschenberg&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:01:58	0.00%	0 (0.00%)	\$0.00 (0.00%
3449.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=sci+finder&g o.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3450.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Science,+20 09,+326,+1501,+1509.&go.x=0&g o.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3451.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Science,+20 09,+326,+1501&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3452.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Science+10 +August+2001:++Vol.+293+no.+5 532+pp.+1056-1058+DOI:10.112 6/science.1064051&go.x=0&go.y =0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3453.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Science+11 +December+2009:++Vol.+326+no .+5959+p.+1501&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:21	0.00%	0 (0.00%)	\$0.00 (0.00%
3454.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Science+an d+cycling:+current+knowledge+a nd+future+directions+for+researc h&go.x=9&go.y=14	1	(0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:06:11	0.00%	0 (0.00%)	\$0.00 (0.00%

3455.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=science+an d+music&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:01:33	0.00%	0 (0.00%)	\$0.00 (0.00%
3456.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=science+cita tion+index&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	11.00	00:02:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3457.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=science+dir ect&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3458.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=SciFinder+S cholar&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3459.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=scopus&go. x=14&go.y=13	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:07	0.00%	0 (0.00%)	\$0.00 (0.00%
3460.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Scrabooking &go.x=-634&go.y=-217	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:07	0.00%	0 (0.00%)	\$0.00 (0.00%
3461.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=sd&go.x=0& go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	37.00	00:42:46	0.00%	0 (0.00%)	\$0.00 (0.00%
3462.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Seabird+Isla nds&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3463.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=sean+patric k+shanley&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:00:31	0.00%	0 (0.00%)	\$0.00 (0.00%
3464.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=searsmont+ comprehensive+plan&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3465.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=searsport+la nd+use&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	14.00	00:25:06	0.00%	0 (0.00%)	\$0.00 (0.00%
3466.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Seasonal+a nd+interannual+variability+of+the +mineral+dust+cycle+under+pres ent+and+glacial+climate+conditio ns&go.x=-611&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:26:38	0.00%	0 (0.00%)	\$0.00 (0.00%
3467.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=second+am endment&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3468.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=second+lan guage+writing&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:02:28	0.00%	0 (0.00%)	\$0.00 (0.00%
3469.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=second+lan guagewriting&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3470.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=sedimentolo gical+analysis+of+the+western+k ennebec+river+paleodelta&go.x= 0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3471.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=selected+qu ality+characteristics+of+white+as h&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:05:11	0.00%	0 (0.00%)	\$0.00 (0.00%
3472.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Self-efficacy +and+education+and+instruction. &go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:41:45	0.00%	0 (0.00%)	\$0.00 (0.00%
3473.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Self-portrait, +Garth+Williams+&go.x=0&go.y= 0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:19	0.00%	0 (0.00%)	\$0.00 (0.00%
3474.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=self+assem bled+monolayer+in+antibiofouling &go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:21:42	0.00%	0 (0.00%)	\$0.00 (0.00%
3475.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=self+mutilati on	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3476.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Semen+and +women's+health&go.x=12&go.y =9	1	(0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:02:27	0.00%	0 (0.00%)	\$0.00 (0.00%

3477.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Sensational +placodes:+Neurogenesis+in+the +otic+and+olfactory+systems&go. x=9&go.y=5	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3478.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=september+ morning&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:21	0.00%	0 (0.00%)	\$0.00 (0.00%
3479.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=septic+tech nique+and+nursing&go.x=13&go. y=11	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:03:47	0.00%	0 (0.00%)	\$0.00 (0.00%
3480.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Serotonin+H ypothesis+of+Autism:+Implication s+for+Selective+Serotonin+Reupt ake+Inhibitor+Use+during+Pregn ancy&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3481.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=serpents+of +blissful&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:01:38	0.00%	0 (0.00%)	\$0.00 (0.00%
3482.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=serpents+of +blissful+bruce+pratt&go.x=10&g o.y=6	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:13	0.00%	0 (0.00%)	\$0.00 (0.00%
3483.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Set+theory& go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:03:08	0.00%	0 (0.00%)	\$0.00 (0.00%
3484.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=SETI&go.x= 0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:16	0.00%	0 (0.00%)	\$0.00 (0.00%
3485.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=severe+nee ds+assessment&go.x=-734&go.y =-217	1	(0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:22:14	0.00%	0 (0.00%)	\$0.00 (0.00%
3486.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=sevoflurane +mechanism+&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:29:39	0.00%	0 (0.00%)	\$0.00 (0.00%
3487.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=sex+around +the+world&go.x=0&go.y=13	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3488.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Sex+Differe nces+in+Attitudes+Toward+Homo sexual+Persons,+Behaviors,+and+Civil+Rights+A+Meta-Analysis&go.x=10&go.y=3	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3489.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=sex+trafficki ng&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3490.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=sex+trafficki ng+US&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:20	0.00%	0 (0.00%)	\$0.00 (0.00%
3491.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=sex+traffick ng&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:04	0.00%	0 (0.00%)	\$0.00 (0.00%
3492.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=SexualPreju dice+and+Gender&go.x=8&go.y= 6	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3493.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=sfljas;ldkf&g o.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:10	0.00%	0 (0.00%)	\$0.00 (0.00%
3494.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=shakeology &go.x=7&go.y=15	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3495.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=shakespear e+and+circles&go.x=-632&go.y=- 217	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:06	0.00%	0 (0.00%)	\$0.00 (0.00%
3496.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=sharks&go.x =0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3497.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=shaywitz+20 08&go.x=7&go.y=7	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3498	/search?s.fvf[]=ContentType,New spaper+Article t&s g=she's+not+t	1	(0.00%)	100 00%	1 (0.01%)	100 00%	1 00	00.00.00	0 00%	0 (0.00%)	\$0.00 (0.00%

J.	130.	here&go.x=0&go.y=0		(0.00 /8)	100.0070	I (0.0170)	100.00 /0	1.00	00.00.00	0.00 /0	0 (0.00%)	ψο.οο (ο.οο π
34	199.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=she's+not+t here&go.x=11&go.y=10	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
35	500.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=she+has+no +idea+the+effect+she+can+have &go.x=8&go.y=9	1	(0.00%)	0.00%	0 (0.00%)	0.00%	12.00	00:07:45	0.00%	0 (0.00%)	\$0.00 (0.00%
35	501.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=sheaves+in +geometry+and+logic&go.x=0&go .y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
35	502.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=sheet+resist ance&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:05:10	0.00%	0 (0.00%)	\$0.00 (0.00%
35	503.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=shell+diseas e+american+lobster&go.x=0&go.y =0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
35	504.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=shes+not+th ere:+a+life+in+two+genders&go.x =0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
35	505.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=shes+not+th ere&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:21	0.00%	0 (0.00%)	\$0.00 (0.00%
35	506.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Shining+Cit y+by+Colin+McPherson&go.x=8& go.y=10	1	(0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:02:50	0.00%	0 (0.00%)	\$0.00 (0.00%
35	507.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Ships+and+ Offshore+Structures&go.x=11&go .y=13	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
35	508.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Shoot+grow th+in+woody+plants&go.x=8&go.y=10	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
35	509.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Siberian+hig h+variability+and+its+teleconnecti ons+with+tropical+circulations+an d+surface+air+temperature+over +Saudi+Arabia&go.x=-725&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
35	510.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=sibling+relati onships+during+the+young+adult +years&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%
35	511.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=siblings+and +general+happiness&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	14.00	00:13:54	0.00%	0 (0.00%)	\$0.00 (0.00%
35	512.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=sicherman+ dice&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
35	513.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=sierra+leone	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:06	0.00%	0 (0.00%)	\$0.00 (0.00%
35	514.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=sight+words +autism+&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
35	515.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=silas+ratten &go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
35	516.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=silent+sprin g&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:00:26	0.00%	0 (0.00%)	\$0.00 (0.00%
35	517.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=silent+sprin g&go.x=10&go.y=5	1	(0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:15:09	0.00%	0 (0.00%)	\$0.00 (0.00%
35	518.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=silicon&go.x =0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:02:11	0.00%	0 (0.00%)	\$0.00 (0.00%
35	519.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Silicone+Chi p+Recreates+Cancer's+Microenvi ronment&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:48	0.00%	0 (0.00%)	\$0.00 (0.00%

3520.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=silk+road&g o.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3521.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Silvis,+A.,+ W.M.+Ford,+E.R.+Britzke,+N.R.+ Beane+and+J.B.+Johnson.+2012 .++Forest+succession+and+mate rnity+roost+selection+by+Myotis+ septentrionalis+in+a+mesophytic +hardwood+forest.++International +Journal+of+Forestry+doi:10.115 5/2012/148106.+8+p&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3522.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Simon+Weil &go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:38	0.00%	0 (0.00%)	\$0.00 (0.00%
3523.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Simplicity+a mid+Complexity&go.x=13&go.y=8	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3524.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Simulations +to+determine+the+variance+and +edge-effect+of+total+nearest+ne ighbor+distance&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3525.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Sinification& go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:00:32	0.00%	0 (0.00%)	\$0.00 (0.00%
3526.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=siRNA+and +mammalian+cells&go.x=0&go.y =0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	13.00	01:51:58	0.00%	0 (0.00%)	\$0.00 (0.00%
3527.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=sizing+water +service+line&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3528.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=skellig&go.x =0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3529.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Ski+and+Sn oN:+negative+regulators+of+TGF -beta+signaling.&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:09:49	0.00%	0 (0.00%)	\$0.00 (0.00%
3530.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=skunk+Jour nal+of+Mammalogy+1997	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:38	0.00%	0 (0.00%)	\$0.00 (0.00%
3531.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=slanket&go. x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	16.00	00:04:34	0.00%	0 (0.00%)	\$0.00 (0.00%
3532.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=sleep+&go.x = 0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:03:32	0.00%	0 (0.00%)	\$0.00 (0.00%
3533.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=sleep+depri vation&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3534.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=slouching+t owards+bethlehem&go.x=0&go.y =0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:24:43	0.00%	0 (0.00%)	\$0.00 (0.00%
3535.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=small+farme rs+journal&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3536.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=small+seism ic+anisotropy+importance&go.x=0 &go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:44	0.00%	0 (0.00%)	\$0.00 (0.00%
3537.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=smart+sulky &go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:25	0.00%	0 (0.00%)	\$0.00 (0.00%
3538.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Smith+story +of+a+pcikpocket&go.x=0&go.y= 0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:08	0.00%	0 (0.00%)	\$0.00 (0.00%
3539.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Smith+story +of+a+pickpocket&go.x=0&go.y= 0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:18	0.00%	0 (0.00%)	\$0.00 (0.00%
3540.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=smithsonian &go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:01:14	0.00%	0 (0.00%)	\$0.00 (0.00%

3541.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=snakehead+ rhabdovirus&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:00:51	0.00%	0 (0.00%)	\$0.00 (0.00%
3542.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=social+inter actions+in+beef+cattle&go.x=0&g o.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3543.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=social+learni ng+and+overall+happiness&go.x =0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:04:08	0.00%	0 (0.00%)	\$0.00 (0.00%
3544.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=social+netw orking&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:22:41	0.00%	0 (0.00%)	\$0.00 (0.00%
3545.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=social+netw orking&go.x=10&go.y=8	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:20	0.00%	0 (0.00%)	\$0.00 (0.00%
3546.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=social+netw orking&go.x=9&go.y=3	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:27:31	0.00%	0 (0.00%)	\$0.00 (0.00%
3547.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=social+netw orking&go.x=9&go.y=5	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:10	0.00%	0 (0.00%)	\$0.00 (0.00%
3548.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=social+origin s+of+depression&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3549.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=social+powe r&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:01:39	0.00%	0 (0.00%)	\$0.00 (0.00%
3550.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=social+secur ity+act&go.x=7&go.y=7	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:07:36	0.00%	0 (0.00%)	\$0.00 (0.00%
3551.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Social+Studi es+Journal&go.x=-640&go.y=-21 7	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3552.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=social+work &go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3553.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=social+work +practice+with+individuals+and+f amilies&go.x=14&go.y=10	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3554.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=society+nee ds&go.x=5&go.y=4	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:33:13	0.00%	0 (0.00%)	\$0.00 (0.00%
3555.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Sociocultura I+Heterogeneity+and+the+Comm ons.+Current+Anthropology&go.x =0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:16	0.00%	0 (0.00%)	\$0.00 (0.00%
3556.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=sociology+a nd+nuclear+weapons&go.x=0&go .y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:11:05	0.00%	0 (0.00%)	\$0.00 (0.00%
3557.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=sodium+laur yl+sulfate&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:10:09	0.00%	0 (0.00%)	\$0.00 (0.00%
3558.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Soft+Power: +The+Means+To+Success+In+W orld+Politics&go.x=3&go.y=9	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3559.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=soil+geoche mistry&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:02:27	0.00%	0 (0.00%)	\$0.00 (0.00%
3560.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=soil+salinity &go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:39	0.00%	0 (0.00%)	\$0.00 (0.00%
3561.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=soil+science &go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:00:24	0.00%	0 (0.00%)	\$0.00 (0.00%
3562.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=solar+cell+e fficiency&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:07:35	0.00%	0 (0.00%)	\$0.00 (0.00%
3563.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=solid+food+ at+7+months&ao.x=0&ao.v=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:02:12	0.00%	0 (0.00%)	\$0.00 (0.00%

		attrimonthoago.x oago.y o										
	3564.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Solubility+pr ofiles+of+poly(ethylene+glycol)/so lvent+systems.&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
	3565.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Solutions+fo r+a+cultivated+planet&go.x=0&go .y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:13:46	0.00%	0 (0.00%)	\$0.00 (0.00%
	3566.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Somalian+pi racy&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
	3567.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=something+ about+the+author&go.x=0&go.y= 0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
	3568.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=something+ more&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:43	0.00%	0 (0.00%)	\$0.00 (0.00%
	3569.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=sommers+a nd+saltz&go.x=-748&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:16:10	0.00%	0 (0.00%)	\$0.00 (0.00%
	3570.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Sones+Jaro chos+from+Veracruz,+and:+Los+ Camperos+de+Valles,+El+ave+d e+mi+Soñar:+Mexican+Sones+H uastecos,+and:+Arpex,i+Tierra+C aliente!+Music+from+the+Hotland s+&go.x=7&go.y=12	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
	3571.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=sons+&go.x =0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:10:14	0.00%	0 (0.00%)	\$0.00 (0.00%
	3572.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=sorenson&g o.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:23	0.00%	0 (0.00%)	\$0.00 (0.00%
	3573.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Soria,+K.,+Fink,+A.,+Lepkowski,+C.,+&+Sny der+L.+(2013).+Undergraduate+s tudent+leadership+and+ social+c hange.+Journal+of+College+and+Character,+14(3),+241–252.+doi:+10.1515/jcc-2013-0031=&go.x=10&go.y=5	1	(0.00%)	0.00%	0 (0.00%)	0.00%	12.00	00:04:40	0.00%	0 (0.00%)	\$0.00 (0.00%
	3574.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=soul+by+so ul&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
	3575.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Soul+By+So ul&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:01:59	0.00%	0 (0.00%)	\$0.00 (0.00%
	3576.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=source+boo k+partnership+returns&go.x=0&g o.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
	3577.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Sous+vide-tastes+great,+looks+greatwhy+is+everyone+so+afraid?&go.x=9&go.y=3	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
	3578.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Sous+vide:+ What\'s+all+the+excitement+abou t?&go.x=10&go.y=2	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:23:58	0.00%	0 (0.00%)	\$0.00 (0.00%
	3579.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Sous+vide/fr eezing+of+ready-meals&go.x=7& go.y=5	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:09:32	0.00%	0 (0.00%)	\$0.00 (0.00%
	3580.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Sovereignty: +Organized+Hypocrisy&go.x=0&g o.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
	3581.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=soy+protein +extraction&go.x=10&go.y=10	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
	3582.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=SPAT+II&go .x=7&go.y=13	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:47	0.00%	0 (0.00%)	\$0.00 (0.00%
T	2502	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Spatial+Eco	4	(0.000/)	100 000/	4 (0.040/)	400.000/	1.00	00.00.00	0.000/	0 (0.000()	60.00 (0.000)

	JJ0J.	nometrics:+Methods+and+Models &go.x=17&go.y=13	1	(0.00%)	100.00%	I (0.01%)	100.00%	1.00	00.00.00	0.00%	0 (0.00%)	\$0.00 (0.00%
3	3584.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Spatial+me mory:+how+egocentric+and+alloc entric+combine&go.x=14&go.y=8	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3	3585.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Spatially+ex plicit+integrated+population+mod els++++&go.x=9&go.y=12	1	(0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:23:38	0.00%	0 (0.00%)	\$0.00 (0.00%
3	3586.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=special+coll ections&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
	3587.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=special+edu cation+and+inclusion&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:35	0.00%	0 (0.00%)	\$0.00 (0.00%
	3588.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=special+ope rations+forces+medical&go.x=0& go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3	3589.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Spectra+of+ backscattered+light+from+the+se a+obtained+from+aircraft+as+a+ measure+of+chlorophyll+concentr ation&go.x=-603&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3	3590.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=speech+and +reading+disorders&go.x=0&go.y =0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:32	0.00%	0 (0.00%)	\$0.00 (0.00%
3	3591.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=speech+and +science+disorders&go.x=0&go.y =0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:58	0.00%	0 (0.00%)	\$0.00 (0.00%
3	3592.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=speech+pat hology&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3	3593.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Spice+trail+ video&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:02:17	0.00%	0 (0.00%)	\$0.00 (0.00%
3	3594.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=SPLENDA+ AND+SUCRALOSE&go.x=12&go .y=9	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3	3595.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=sporadic+hu man+prion+diseases&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3	3596.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=sports+nutrit ion+&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:08:13	0.00%	0 (0.00%)	\$0.00 (0.00%
3	3597.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Spreading+ Dead+Zones+and+Consequence s+for+Marine+Ecosystems&go.x= -688&go.y=-218	1	(0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:08:10	0.00%	0 (0.00%)	\$0.00 (0.00%
3	3598.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Spruce+bud worm+in+Maine:+Results+of+the +1982+project,+biological+conditi ons+in+1982+and+expected+infe station+conditions+for+1983&go.x =0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	O (0.00%)	\$0.00 (0.00%
3	3599.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=spss&go.x= 8&go.y=5	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3	3600.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=spufford&go .x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3	3601.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Sputum+ne utrophils+in+cystic+fibrosis+patie nts+display+a+reduced+respirato ry+burst&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3	3602.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=st.+johns+w ort+for+depression&go.x=0&go.y =0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:09	0.00%	0 (0.00%)	\$0.00 (0.00%

3603.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=st.+johns+w ort+used+for+depression&go.x=0 &go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3604.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=st.johns+wo rt+used+to+treat+depression&go. x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:01:41	0.00%	0 (0.00%)	\$0.00 (0.00%
3605.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=stable+isoto pe+ecology&go.x=4&go.y=10	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3606.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=stable+isoto pe+ecology&go.x=9&go.y=9	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3607.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=stacia+drey er&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3608.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=stacy+shafe r&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3609.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Standing+u p+Jane+Constance&go.x=-669&g o.y=-217	1	(0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:05:55	0.00%	0 (0.00%)	\$0.00 (0.00%
3610.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=State-of-the- art+review+of+floating+platform+c oncepts+for+offshore+wind+ener gy+generation&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3611.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=State+of+pl ay+in+amyotrophic+lateral+sclero sis+genetics&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:05:28	0.00%	0 (0.00%)	\$0.00 (0.00%
3612.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=State+of+pl ay+in+amyotrophic+lateral+sclero sis+genetics&go.x=16&go.y=1	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3613.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Statewide+ Assessment+of+Professional+De velopment+Needs+Related+to+E ducating+Students+With+Autism+ Spectrum+Disorder&go.x=-630&g o.y=-217	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3614.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=statistics&g o.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:34	0.00%	0 (0.00%)	\$0.00 (0.00%
3615.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=steel+manu al&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:50	0.00%	0 (0.00%)	\$0.00 (0.00%
3616.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=stem+the+ti de+reviews&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:19	0.00%	0 (0.00%)	\$0.00 (0.00%
3617.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=stepehn+ba xter&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:02:13	0.00%	0 (0.00%)	\$0.00 (0.00%
3618.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=stephen+kin g&go.x=6&go.y=5	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3619.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=stephen+mu mme&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:05:34	0.00%	0 (0.00%)	\$0.00 (0.00%
3620.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Steve+Wilso n&go.x=-651&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:02:11	0.00%	0 (0.00%)	\$0.00 (0.00%
3621.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=stewart+tho mpson+sea+level&go.x=0&go.y= 0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:32	0.00%	0 (0.00%)	\$0.00 (0.00%
3622.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Stiglitz,+Jos eph+E.+2006.+Making+Globalizat ion+Work.+London:+Allen+Lane. &go.x=5&go.y=11	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:21:04	0.00%	0 (0.00%)	\$0.00 (0.00%
3623.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Still+Alice&g o.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:11:20	0.00%	0 (0.00%)	\$0.00 (0.00%
	/search?s.fvf[]=ContentType,New										

3624.	Spaper+Article,t&s.q-Silin+Color-B lind?+The+Treatment+of+Race,+ Ethnicity,+Intersectionality,+and+ Sexuality+in+Sociological+Social +Psychology&go.x=12&go.y=8	1	(0.00%)	0.00%	0 (0.0	00%)	0.00%	8.00	00:04:19	0.00%	0 (0.00%)	\$0.00	(0.00%
3625.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=storage+unit &go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.0	01%)	0.00%	3.00	00:24:35	0.00%	0 (0.00%)	\$0.00	(0.00%
3626.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=stormlight&g o.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.0	00%)	0.00%	4.00	00:01:43	0.00%	0 (0.00%)	\$0.00	(0.00%
3627.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=stormwater &go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.0	00%)	0.00%	2.00	00:00:30	0.00%	0 (0.00%)	\$0.00	(0.00%
3628.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=streamflow+ seasonality&go.x=6&go.y=7	1	(0.00%)	100.00%	1 (0.0	01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
3629.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=streching&g o.x=15&go.y=7	1	(0.00%)	100.00%	1 (0.0	01%)	0.00%	4.00	00:21:01	0.00%	0 (0.00%)	\$0.00	(0.00%
3630.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=strength+an d+conditioning&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.0	01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
3631.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=strength+an d+condtioning&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.0	01%)	0.00%	5.00	00:01:43	0.00%	0 (0.00%)	\$0.00	(0.00%
3632.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=strengths+a nd+limitations+of+nursing+faculty &go.x=9&go.y=2	1	(0.00%)	0.00%	0 (0.0	00%)	0.00%	4.00	00:02:12	0.00%	0 (0.00%)	\$0.00	(0.00%
3633.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Streptococc us+equi++transmission&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.0	00%)	0.00%	7.00	00:23:33	0.00%	0 (0.00%)	\$0.00	(0.00%
3634.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Streptococc us+equi+subspecies+zooepidemi cus+meningitis—a+case+report+ and+review+of+the+literature&go. x=0&go.y=0	1	(0.00%)	0.00%	0 (0.0	00%)	0.00%	3.00	00:02:25	0.00%	0 (0.00%)	\$0.00	(0.00%
3635.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=stretch+shor tening+cycle+and+running	1	(0.00%)	0.00%	0 (0.0	00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
3636.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=stretching&g o.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.0	01%)	0.00%	2.00	00:00:19	0.00%	0 (0.00%)	\$0.00	(0.00%
3637.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=strobilurin+ mechanism+of+action&go.x=0&g o.y=0	1	(0.00%)	0.00%	0 (0.0	00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
3638.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Structure,+e mplacement+and+lateral+expansi on+of+the+San+Jos&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.0	00%)	0.00%	4.00	00:19:05	0.00%	0 (0.00%)	\$0.00	(0.00%
3639.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=structure+fo r+facilitating+student+reflection&g o.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.0	00%)	0.00%	2.00	00:22:18	0.00%	0 (0.00%)	\$0.00	(0.00%
3640.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Structure+of +a+presenilin+family+intramembr ane+aspartate+protease&go.x=0 &go.y=0	1	(0.00%)	100.00%	1 (0.0	01%)	0.00%	2.00	00:07:42	0.00%	0 (0.00%)	\$0.00	(0.00%
3641.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Struggle+for +the+American+Curriculum&go.x =0&go.y=0	1	(0.00%)	100.00%	1 (0.0	01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
3642.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Strum,+Terr y&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.0	01%)	0.00%	8.00	00:03:43	0.00%	0 (0.00%)	\$0.00	(0.00%
3643.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=stuart+davis &go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.0	00%)	0.00%	6.00	00:02:59	0.00%	0 (0.00%)	\$0.00	(0.00%
3644.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Student+sol utions+manual+for+Wackerly&go. x=15&go.y=13	1	(0.00%)	0.00%	0 (0.0	00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
	/search?s.fvf[]=ContentType,New												

364	spaper+Article,t&s.q=Students'+u nderstanding+of+external+repres entations+of+the+potassium+ion+ tchannel+protein,+part+I:+affordan ces+and+limitations+of+ribbon+di agrams,+vines,+and+hydrophobic /polar+representations.&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
364	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=students+as king+questions&go.x=11&go.y=1 2	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:17:04	0.00%	0 (0.00%)	\$0.00 (0.00%
364	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=studies+in+t he+land+northeast+corner&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
364	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Studies+on +irradiation+of+pre-packaged+pre pared+vegetables+and+improve ment+of+microbiological+safety+ of+some+sous-vide+meals+by+g amma+radiation&go.x=15&go.y=8	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
364	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Studies+on +the+Effects+of+Radiation+on+Li ving+Cells+in+Tissue+Culture:+l. +Radiosensitivity+of+Various+Im aginal+Discs+and+Organs+in+La rvae+of+Drosophila+melanogaste r&go.x=11&go.y=12	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:16:21	0.00%	0 (0.00%)	\$0.00 (0.00%
365	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=STUTTERI NG:+CONSIDERATIONS+IN+TH E+EVALUATION+OF+TREATME NT&go.x=13&go.y=7	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:32:13	0.00%	0 (0.00%)	\$0.00 (0.00%
365	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Subdivision +of+Holocene+glacial+deposits,+ Ben+Ohau+Range,+New+Zealan d,+using+relative-dating+methods &go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
365	/search?s.fvf[]=ContentType,New 52. spaper+Article,t&s.q=subversive+ fictions&go.x=4&go.y=4	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:24	0.00%	0 (0.00%)	\$0.00 (0.00%
365	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=such+pretty +things+would+soon+be+gone&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:00:55	0.00%	0 (0.00%)	\$0.00 (0.00%
365	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Sucralose:+I 54. ack+of+effects+on+sperm+glycol ysis+and+reproduction+in+the+ra t.&go.x=11&go.y=8	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
365	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Sugar+and+ Spice+But+Not+Always+Nice&go. x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:45	0.00%	0 (0.00%)	\$0.00 (0.00%
365	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=sullivan+gab or+rhabdovirus&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:43	0.00%	0 (0.00%)	\$0.00 (0.00%
365	/search?s.fvf[]=ContentType,New 57. spaper+Article,t&s.q=summer+ca mp&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	18.00	00:11:44	0.00%	0 (0.00%)	\$0.00 (0.00%
365	/search?s.fvf[]=ContentType,New 58. spaper+Article,t&s.q=summer+re gression&go.x=-646&go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:07:21	0.00%	0 (0.00%)	\$0.00 (0.00%
365	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Surfactant+ adsorbed+layer+structure+at+soli d/solution+interfaces:+impact+an d+implications+of+AFM+imaging+ studies&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:17:06	0.00%	0 (0.00%)	\$0.00 (0.00%
366	/search?s.fvf[]=ContentType,New 60. spaper+Article,t&s.q=surfcam&go .x=-727&go.y=-217	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:49	0.00%	0 (0.00%)	\$0.00 (0.00%
366	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Susan+Buc k-Morss,+"A+Global+Counter-Cul ture?"+in+Thinking+Past+Terror:+ Islamism+and+Critical+Theory+o n+the+Left.+London:+Verso,+200 3.&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:59	0.00%	0 (0.00%)	\$0.00 (0.00%

3662.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=susan+buck -morss&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:03:58	0.00%	0 (0.00%)	\$0.00 (0.00%
3663.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=sussman&g o.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:24	0.00%	0 (0.00%)	\$0.00 (0.00%
3664.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Sustainable +organic+waste+management&g o.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:04:23	0.00%	0 (0.00%)	\$0.00 (0.00%
3665.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=sustaining+t he+forest,+the+people,+the+spirt &go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:18	0.00%	0 (0.00%)	\$0.00 (0.00%
3666.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=sweden&go. x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3667.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Swelling+an d+dissolution+of+cellulose,+Part+ III:+plant+fibres+in+aqueous+syst ems&go.x=8&go.y=4	1	(0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:13:04	0.00%	0 (0.00%)	\$0.00 (0.00%
3668.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=sylvia+plath &go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:03:40	0.00%	0 (0.00%)	\$0.00 (0.00%
3669.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=syntactic+str uctuers&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:00:33	0.00%	0 (0.00%)	\$0.00 (0.00%
3670.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Synthesis+a nd+antioxidant+activity+evaluatio n+of+novel+cellulose+hydrogel+c on-+taining+trans-ferulic+acid&go .x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:10	0.00%	0 (0.00%)	\$0.00 (0.00%
3671.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Systemic+F ungicides:+Disease+Control,+Tra nslocation,+and+Mode+of+Action &go.x=-534&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:02:51	0.00%	0 (0.00%)	\$0.00 (0.00%
3672.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=T.+Colin+C ampbell&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:02:14	0.00%	0 (0.00%)	\$0.00 (0.00%
3673.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Taanit+Este r&go.x=14&go.y=12	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3674.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=tacit+knowle \dge&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3675.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=tacit+knowle dge+transfer&go.x=10&go.y=5	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:18	0.00%	0 (0.00%)	\$0.00 (0.00%
3676.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=tale+effector &go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3677.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=TALE+protei ns&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:05:26	0.00%	0 (0.00%)	\$0.00 (0.00%
3678.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=talen&go.x= 0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3679.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=tamora+pier ce&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:01:28	0.00%	0 (0.00%)	\$0.00 (0.00%
3680.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Tanakh&go. x=8&go.y=8	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3681.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Tao+of+Sex ology:+The+Book+of+Infinite+Wis dom&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3682.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=tape+record er&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3683.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=tartt&go.x=0 &go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:03:53	0.00%	0 (0.00%)	\$0.00 (0.00%

3684.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=taut+system +mooring+stiffnness+matrix&go.x =0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:04	0.00%	0 (0.00%)	\$0.00 (0.00%
3685.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=tax+anticipa tion+note&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	11.00	00:02:44	0.00%	0 (0.00%)	\$0.00 (0.00%
3686.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Tcp/ip&go.x =0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:09:45	0.00%	0 (0.00%)	\$0.00 (0.00%
3687.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=TCP/IP&go. x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:36	0.00%	0 (0.00%)	\$0.00 (0.00%
3688.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=TDP-43+is+i ntrinsically&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3689.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=TDP43&go. x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:36:15	0.00%	0 (0.00%)	\$0.00 (0.00%
3690.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=TDP43&go. x=14&go.y=6	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:29:38	0.00%	0 (0.00%)	\$0.00 (0.00%
3691.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=teachers+pe rceptions+of+student+diversity&g o.x=9&go.y=3	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:11:24	0.00%	0 (0.00%)	\$0.00 (0.00%
3692.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Teaching+m athematics+at+the+college+level: +International+TAs'+transitional+ experiences&go.x=11&go.y=8	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3693.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=teaching+str adegies+for+nurses&go.x=13&go.y=7	1	(0.00%)	0.00%	0 (0.00%)	0.00%	18.00	00:30:38	0.00%	0 (0.00%)	\$0.00 (0.00%
3694.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=teaching+wit h+public+art&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3695.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Technically+ speaking:+Why+all+Americans+n eed+to+know+more+about+techn ology&go.x=12&go.y=8	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3696.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=technology+ of+wood+bonding&go.x=0&go.y= 0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:15:37	0.00%	0 (0.00%)	\$0.00 (0.00%
3697.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Tempel+An neke&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3698.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=TEMPERAT URE+HEMOGLOBIN&go.x=0&go .y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:24:04	0.00%	0 (0.00%)	\$0.00 (0.00%
3699.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=temple+ann eke&go.x=14&go.y=7	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3700.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Temple+An neke&go.x=15&go.y=10	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3701.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Temporal+a nd+spatial+variability+of+phytopla nkton+biomass+in+the+Damarisc otta+River+estuary,+Maine,+USA &go.x=-655&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3702.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Temporal+r esponses+of+coastal+hypoxia+to +nutrient+loading+and+physical+ controls.&go.x=9&go.y=8	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:08:54	0.00%	0 (0.00%)	\$0.00 (0.00%
3703.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=terrorism+in +context&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:23:13	0.00%	0 (0.00%)	\$0.00 (0.00%
3704.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=terry+pratch et&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	13.00	00:05:07	0.00%	0 (0.00%)	\$0.00 (0.00%
3705	/search?s.fvf[]=ContentType,New spaper+Article t&s g=Terwilliner&	1	(n nn%)	100 00%	1 (0.01%)	n nn%	6 00	00.02.25	n nn%	0 (0.00%)	\$0.00 (0.00%

3703.	go.x=7&go.y=2	'	(0.00%)	100.00 /6	1 (0.01%)	0.00 /6	0.00	00.02.23	0.00 /6	0 (0.00%)	\$0.00 (0.00%
3706.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=test+driven+ javascript&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:13	0.00%	0 (0.00%)	\$0.00 (0.00%
3707.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=textual+carn ivals&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:00:21	0.00%	0 (0.00%)	\$0.00 (0.00%
3708.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Texture,+qu ality+and+safety+of+sous+vide/fr ozen+foods&go.x=8&go.y=8	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:06:18	0.00%	0 (0.00%)	\$0.00 (0.00%
3709.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Th+e+Effect iveness+of+Equine-Assisted+Exp eriential+Th+erapy:+Results+of+a n+Open+Clinical+Trial+Bradley+T .+Klontza&go.x=14&go.y=7	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:14	0.00%	0 (0.00%)	\$0.00 (0.00%
3710.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The Referen ce Interview by William C. Robins on	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:01	0.00%	0 (0.00%)	\$0.00 (0.00%
3711.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The++Happi ness+Trap+Russ&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:01:58	0.00%	0 (0.00%)	\$0.00 (0.00%
3712.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+a"MAZ E"ing+world+of+lung+specific+tra nsgenic+mice&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3713.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+Adoles cent+Risk-Taking+Questionnaire &go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3714.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+Advan ce&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:31	0.00%	0 (0.00%)	\$0.00 (0.00%
3715.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+ageing +systemic+milieu+negatively+reg ulates+neurogenesis+and+cogniti ve+function&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3716.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+alchemi st&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:57	0.00%	0 (0.00%)	\$0.00 (0.00%
3717.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+Artists +way+&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3718.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+austrian +mind&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3719.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+autism+ diagnostic+observation+schedule +-+generic&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3720.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+avoida nce+of+visual+considerations+in+ calculus+students&go.x=11&go.y =8	1	(0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:16	0.00%	0 (0.00%)	\$0.00 (0.00%
3721.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+behavio ur+and+ecology+of+the+zebrafis h,+Danio+rerio&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3722.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+behavi our+and+ecology+of+the+zebrafi sh,+Danio+rerio&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3723.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+Best+ Defense+for+Fracking+Is+a+Goo d+Offense.+By:+Barclay,+Richar d+A.,+Natural+Gas+&+Electricity, +15457893,+Sep2012,+Vol.+29,+ Issue+2=&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:20:32	0.00%	0 (0.00%)	\$0.00 (0.00%
3724.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+best+in terests+standard+for+incompeten t+or+incapacitated+persons+of+al l+ages	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
	/search?s.fvffl=ContentTvpe.New										

372	5. spaper+Article,t&s.q=The+biogeo chemistry+of+mercury&go.x=7&g o.y=8	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:13:12	0.00%	0 (0.00%)	\$0.00 (0.00%
372	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+blackwe ll+companion+to+social+moveme nts&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
372	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+blastoc oelic+fluid+of+sea+urchin+embry o+induces+exogastrulation&go.x= -648&go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:58	0.00%	0 (0.00%)	\$0.00 (0.00%
372	/search?s.fvf[]=ContentType,New 8. spaper+Article,t&s.q=the+blitheda le+romance&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
372	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+Blue+a 9. nd+Gray+in+Black+and+White:+ A+History+of+Civil+War+Photogr aphy&go.x=9&go.y=11	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:45	0.00%	0 (0.00%)	\$0.00 (0.00%
373	/search?s.fvf[]=ContentType,New 0. spaper+Article,t&s.q=the+book+th ief&go.x=2&go.y=11	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:06:23	0.00%	0 (0.00%)	\$0.00 (0.00%
373	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+bourne +identity&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	10.00	00:17:07	0.00%	0 (0.00%)	\$0.00 (0.00%
373	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+boys+i n+the+boat&go.x=-514&go.y=-21 7	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:03:57	0.00%	0 (0.00%)	\$0.00 (0.00%
373	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=THE+CANT ERBURY+TALES&go.x=16&go.y =8	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
373	/search?s.fvf[]=ContentType,New 4. spaper+Article,t&s.q=the+carbon +crunch&go.x=-697&go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
373	/search?s.fvf[]=ContentType,New 5. spaper+Article,t&s.q=the+cave&g o.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
373	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+changi ng+scene+of+amyotrophic+lateral +sclerosis.&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
373	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+Cherok 7. ee+Syllabary:+A+Writing+System +in+its+Own+Right&go.x=0&go.y =0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
373	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+Cherok 8. ee+Syllabary:+A+Writing+System +in+its+Own+Right&go.x=7&go.y =8	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:28	0.00%	0 (0.00%)	\$0.00 (0.00%
373	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+cheroke e+syllabary&go.x=-685&go.y=-21 7	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:07:04	0.00%	0 (0.00%)	\$0.00 (0.00%
374	/search?s.fvf[]=ContentType,New 0. spaper+Article,t&s.q=the+cheroke e+syllabary&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	10.00	00:06:23	0.00%	0 (0.00%)	\$0.00 (0.00%
374	/search?s.fvf[]=ContentType,New 1. spaper+Article,t&s.q=the+child+c alled+it&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
374	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+Childh 2. ood+Asthma+Management+Progr am+(CAMP):+Design,+Rationale, +and+Methods&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:08:56	0.00%	0 (0.00%)	\$0.00 (0.00%
374	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+chronicl e+of+higher+education&go.x=0& go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
374	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+chronicl e+of+higher+education&go.x=16 &go.y=13	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+Classr									

3745	oom+Observation+Protocol+for+ Undergraduate+STEM+(COPUS) &go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3746	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+commu nist+manifesto&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3747	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+Craft+ of+Research&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3748	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+Creatu re+from+Jekyll+Island:+A+Secon d+Look+at+the+Federal+Reserve &go.x=15&go.y=11	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:09	0.00%	0 (0.00%)	\$0.00 (0.00%
3749	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+current +status+of+systematic+desensitiz ation&go.x=-568&go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3750	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+Daily+ Masses&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:05:48	0.00%	0 (0.00%)	\$0.00 (0.00%
3751	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+death+ effector+domain+protein+family:+ regulators+of+cellular+homeostas is&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3752	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+develop ment+of+probiotics&go.x=0&go.y =0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	13.00	00:26:09	0.00%	0 (0.00%)	\$0.00 (0.00%
3753	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+develo pmental+activities+engaged+in+b y+elite+youth+soccer+players+wh o+progressed+to+professional+st atus+compared+to+those+who+di d+not.+-+See+more+at:+http://changingthegameproject.com/the-4t h-path-reinventing-us-youth-soccer-player-development/#sthash.a ZwXt42C.dpuf&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:21	0.00%	O (0.00%)	\$0.00 (0.00%
3754	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+diary+of +Anne+Franke&go.x=10&go.y=7	1 (0.00%)	100.00%	1 (0.01%)	0.00%	18.00	00:03:01	0.00%	0 (0.00%)	\$0.00 (0.00%
3755	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+dimens ions+of+perfectionism&go.x=4&g o.y=13	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:03:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3756	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+diverse +schools+dilemma&go.x=6&go.y =9	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3757	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+domina nt+Ulva+strain+of+the+2008+gre en-lalgal+bloom+in+the+Yellow+ Sea+was+not+detected+in+the+c oastal+waters+of+Qingdao+in+th e+following+winter&go.x=4&go.y=7	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:05:17	0.00%	0 (0.00%)	\$0.00 (0.00%
3758	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+econom ic+costs+of+poverty+in+the+unite d+states&go.y=-611&go.y=-217	1 (0.00%)	100.00%	1 (0.01%)	0.00%	10.00	00:03:58	0.00%	0 (0.00%)	\$0.00 (0.00%
3759	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+effect+ of+changes+in+light+availability+ caused+by+mixing+on+the+growt h+of+Anabaena+circinalis+(Nosto cales,+Cyanobacteria)+and+Aula coseira+sp.+(Centrales,+Bacillari ophyceae)&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:14:05	0.00%	O (0.00%)	\$0.00 (0.00%
3760	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+Effect+ of+Financial+Literacy+and+Finan cial+Education+on+Downstream+ Financial+Behaviors&go.x=0&go. y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3761	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+Effects +of+Work+on+Leadership+Devel opment+Among+First-Year+Colle ge+Students&go.x=12&go.y=8	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:23:01	0.00%	0 (0.00%)	\$0.00 (0.00%

37	762.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+effects +of+work+on+leadership+develop ment+among+first+year+college+ students.&go.x=13&go.y=10	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
37	763.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+Effects +of+Writing+Pedagogy+Educatio n+on+Graduate+Teaching+&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:15	0.00%	0 (0.00%)	\$0.00 (0.00%
37	764.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+Effects +of+Writing+Pedagogy+Educatio n+on+Graduate+Teaching+Assist ants'+Approaches+to+Teaching+ Composition&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:06:02	0.00%	0 (0.00%)	\$0.00 (0.00%
37	765.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+empire +project&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
37	766.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+empire +project&go.x=11&go.y=12	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
37	767.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+eurobo nd+diaries&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
37	768.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+evoluti on+of+a+community-based+appr oach+to+wildlife+management+at +Kunene,+Namibia&go.x=0&go.y =0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
37	769.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+Evoluti on+of+Crew+Resource+Manage ment+Training+in+Commercial+A viation&go.x=8&go.y=14	1 (0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:23:15	0.00%	0 (0.00%)	\$0.00 (0.00%
37	770.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+existent ial+theory+of+mind&go.x=-614&g o.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:21:24	0.00%	0 (0.00%)	\$0.00 (0.00%
37	771.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+expres sion+of+TIPE1+in+murine+tissue s+and+human+cell+lines&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
37	772.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+eye&go .x=-654&go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:08:46	0.00%	0 (0.00%)	\$0.00 (0.00%
37	773.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+Familia r+Face+of+Genocide:+Internalize d+Oppression+Among+American +Indians&go.x=-639&go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
37	774.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+Fe-Rh +(Iron-Rhodium)+system&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:13:19	0.00%	0 (0.00%)	\$0.00 (0.00%
37	775.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+Fire:+T he+Bombing+of+Germany&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:43	0.00%	0 (0.00%)	\$0.00 (0.00%
37	776.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+First+ World+War:+Germany+and+Aust ria-Hungary+1914-1918&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:05	0.00%	0 (0.00%)	\$0.00 (0.00%
37	777.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+french+baron+of+pentagoet&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:20	0.00%	0 (0.00%)	\$0.00 (0.00%
37	778.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+funda mental+theorem+of+calculus+for +a+matroid&go.x=6&go.y=8	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
37	779.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+Future +of+Political+Islam,&go.x=0&go.y =0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:24:42	0.00%	0 (0.00%)	\$0.00 (0.00%
37	780.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+genderi	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%

	ng+of+american+politics&go.x=0 &go.y=0	((,					(,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	
378	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+genetic +signature+of+rapid+range+expa nsion+by+flying+squirrels+in+res ponse+to+contemporary+climate +warming&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:03:33	0.00%	0 (0.00%)	\$0.00 (0.00%
378	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+Geome 2. try+of+Spacetime:+An+Introducti on+to+Special+and+General+Rel ativity&go.x=11&go.y=10	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:01:21	0.00%	0 (0.00%)	\$0.00 (0.00%
378	/search?s.fvf[]=ContentType,New 3. spaper+Article,t&s.q=the+god+ar gument&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:05:12	0.00%	0 (0.00%)	\$0.00 (0.00%
378	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+goldfinc h&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:02:39	0.00%	0 (0.00%)	\$0.00 (0.00%
378	/search?s.fvf[]=ContentType,New 5. spaper+Article,t&s.q=the+good+b ody&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
378	/search?s.fvf[]=ContentType,New 5. spaper+Article,t&s.q=the+good+b ody&go.x=15&go.y=11	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
378	nquisitor&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
378	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+Grotes que+(New+critical+idiom)&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:03:51	0.00%	0 (0.00%)	\$0.00 (0.00%
378	/search?s.fvf[]=ContentType,New 9. spaper+Article,t&s.q=the+haunted +hill+house&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:01:33	0.00%	0 (0.00%)	\$0.00 (0.00%
379	/search?s.fvf[]=ContentType,New 5. spaper+Article,t&s.q=the+hauntin g+hill&go.x=6&go.y=4	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
379	/search?s.fvf[]=ContentType,New 1. spaper+Article,t&s.q=The+history +teacher&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:07	0.00%	0 (0.00%)	\$0.00 (0.00%
379	/search?s.fvf[]=ContentType,New 2. spaper+Article,t&s.q=the+immune +system&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:17	0.00%	0 (0.00%)	\$0.00 (0.00%
379	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+Impact +of+Organizational+Context+and +Information+Technology+on+Em ployee+Knowledge-Sharing+Cap abilities&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
379	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+Import ance+of+Place+in+Indigenous+S cience+Education.+&go.x=12&go. y=9	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:06:14	0.00%	0 (0.00%)	\$0.00 (0.00%
379	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+influen ce+of+basin+morphometry+on+th e+regional+coherence+of+pattern s+of+diatom-+inferred+salinity+in +lakes+of+the+northern+Great+P lains+(USA)&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:27	0.00%	0 (0.00%)	\$0.00 (0.00%
379	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+Inside+ Track+to+Careers+in+Real+Estat e&go.x=-508&go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:09	0.00%	0 (0.00%)	\$0.00 (0.00%
379	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+interna tional+logistics+of+wood+pellets+ for+heating+and+power+producti on+in+Europe:+Costs,+energy-in put+and+greenhouse+gas+balan ces+of+pellet+consumption+in+It aly,+Sweden+and+the+Netherlan ds&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
379	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+Journal +of+Biological+Chemistry&go.x=0 &go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
	/search?s.fvf[]=ContentType,New									

3799.	+of+the+Acoustical+Society+of+A merica&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:50	0.00%	0 (0.00%)	\$0.00 (0.00%
3800.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+kings+t wo+bodies&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:00:31	0.00%	0 (0.00%)	\$0.00 (0.00%
3801.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+last+of+ the+just&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:21	0.00%	0 (0.00%)	\$0.00 (0.00%
3802.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+learning +portfolio&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3803.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+letter:+ an+american+town+and+the+so mali+invasion&go.x=12&go.y=8	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:21:15	0.00%	0 (0.00%)	\$0.00 (0.00%
3804.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+life+his tory+of+white+sharks+in+the+Nor theastern+Pacific.+In+Global+Per spectives+on+the+Biology+and+L ife+History+of+the+Great+White+ Shark,+ed&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:29	0.00%	0 (0.00%)	\$0.00 (0.00%
3805.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+Lord+o f+the+Rings&go.x=8&go.y=12	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3806.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+Manual +of+Bridge+Engineering&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3807.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+manuf actured+crisis:+Myths,+fraud,+an d+the+attack+on+America's+publi c+schools&go.x=7&go.y=11	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:03:40	0.00%	0 (0.00%)	\$0.00 (0.00%
3808.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+mathem atical+experience&go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3809.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+maze+r unner&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3810.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+maze+r unner+&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3811.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+mechan ism+of+ubihydroquinone&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:20:23	0.00%	0 (0.00%)	\$0.00 (0.00%
3812.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+mechan osensory+lateral+line&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3813.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+method +of+space-time+solution+conserv ation+element&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:22:35	0.00%	0 (0.00%)	\$0.00 (0.00%
3814.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+moral+ Mr.+Poe&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3815.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+Mortal +Sea&go.x=-488&go.y=-221	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3816.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+mortal +sea&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3817.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+mortal+ sea+Bolster&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3818.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+most+ powerful+Idea+in+the+world+&go .x=8&go.y=12	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3819.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+muscul ar+dystrophies&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:13:26	0.00%	0 (0.00%)	\$0.00 (0.00%
3820.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+music+ of+life&qo.x=0&qo.v=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%

	3821.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+Myth+ of+Marginality&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.	01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
	3822.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+myth+of +progress&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.	01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
:	3823.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+natural +gas+revolution&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.	00%)	0.00%	3.00	00:24:08	0.00%	0 (0.00%)	\$0.00	(0.00%
	3824.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+new+pa triotism&go.x=-517&go.y=-218	1	(0.00%)	100.00%	1 (0.	01%)	0.00%	4.00	00:13:25	0.00%	0 (0.00%)	\$0.00	(0.00%
	3825.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+new+s outh+creed&go.x=-508&go.y=-21 7	1	(0.00%)	100.00%	1 (0.	01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
	3826.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+new+so uth+creed&go.x=-517&go.y=-218	1	(0.00%)	100.00%	1 (0.	01%)	0.00%	2.00	00:22:04	0.00%	0 (0.00%)	\$0.00	(0.00%
	3827.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+oblong+box&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.	00%)	0.00%	16.00	00:55:31	0.00%	0 (0.00%)	\$0.00	(0.00%
	3828.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+onmivor es+dilemma&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.	00%)	0.00%	3.00	00:00:12	0.00%	0 (0.00%)	\$0.00	(0.00%
	3829.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+outerm ost+house&go.x=-546&go.y=-217	1	(0.00%)	0.00%	0 (0.	00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
	3830.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+outerm ost+house&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.	01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
	3831.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+Pacific +oyster+Crassostrea+gigas:+Part +I.+Feeding+behaviour+of+larvae +and+adults&go.x=9&go.y=7	1	(0.00%)	0.00%	0 (0.	00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
	3832.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+Party:+ The+Secret+World+of+China's+C ommunist+Rulers&go.x=0&go.y= 0	1	(0.00%)	100.00%	1 (0.	01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
	3833.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+Party& go.x=-669&go.y=-217	1	(0.00%)	0.00%	0 (0.	00%)	0.00%	2.00	00:00:13	0.00%	0 (0.00%)	\$0.00	(0.00%
	3834.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+Party+ System+in+the+State+of+Maine& go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.	00%)	0.00%	5.00	00:04:02	0.00%	0 (0.00%)	\$0.00	(0.00%
	3835.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+phenom enological+sense+of+John+Dewe y&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.	00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
	3836.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+physiol ogical+role+of+endoglin+in+the+c ardiovascular+system.&go.x=0&g o.y=0	1	(0.00%)	0.00%	0 (0.	00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
	3837.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+Place+ of+High-Technology+Art+in+the+ Contemporary+Art+Scene&go.x= 0&go.y=0	1	(0.00%)	0.00%	0 (0.	00%)	0.00%	2.00	00:21:25	0.00%	0 (0.00%)	\$0.00	(0.00%
	3838.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+place+o f+world+englishes+in+compositio n&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.	01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
	3839.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+potentia I+of+combined+mg/ca+and+&go. x=0&go.y=0	1	(0.00%)	0.00%	0 (0.	00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
	3840.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+powers +of+horror&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.	01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
	3841.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+presettl ement+forest+and+natural+distur bance+cycle+of+northeastern+m aine&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.	00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%

3	842.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+primac y+of+mediated+action+in+socioc ultural+studies&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3	843.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+quality +'turn'+and+alternative+food+pra ctices:+reflections+and+agenda.& go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3	844.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+R+Boo k&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3	845.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+rangers +aprentice&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:00:47	0.00%	0 (0.00%)	\$0.00 (0.00%
3	846.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+relation ship+between+dietary+fatty+acid s+in+the+pathology+ofmetabolic& go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	23.00	00:13:34	0.00%	0 (0.00%)	\$0.00 (0.00%
3	847.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+relative +efficacy+of+fluvial&go.x=0&go.y =0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:03:37	0.00%	0 (0.00%)	\$0.00 (0.00%
3	848.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+Renais sance+Soul:+How+to+Make+You r+Passions+Your+Life+-+A+Creat ive+and+Practical+Guide&go.x=1 3&go.y=12	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3	849.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+republic +of+men&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3	850.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+respons e+of+natural+ecosystems+to+the +rising+global+co2+levels&go.x=-646&go.y=-217	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3	851.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+return+ of+the+king&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3	852.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+Riddle +of+Amish+Culture&go.x=-646&g o.y=-217	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3	853.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+ring+of +fire&go.x=2&go.y=3	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:19	0.00%	0 (0.00%)	\$0.00 (0.00%
3	854.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+RNA-bi nding+protein+Fus+directs+transl ation+of+localized+mRNAs+in+A PC-RNP+granules&go.x=0&go.y= 0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3	855.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+Road+t o+Reunion+1865-1900&go.x=9&g o.y=6	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3	856.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+Road+ To+Seeing+by+Dan+Winters&go. x=12&go.y=8	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:50	0.00%	0 (0.00%)	\$0.00 (0.00%
3	857.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+role+of +beta+amyloid+in+Alzheimer's+di sease:+still+a+cause+of+everythi ng+or+the+only+one+who+got+c aught?&go.x=10&go.y=5	1	(0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:20:58	0.00%	0 (0.00%)	\$0.00 (0.00%
3	858.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+role+of +beta+amyloid+in+Alzheimer's+di sease:+still+a+cause+of+everythi ng+or+the+only+one+who+got+c aught?&go.x=12&go.y=9	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3	859.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+role+of +calcium+in+cell+death&go.x=0& go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
		/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+role+of										

3	860.	+thought-content+and+mood+in+t he+preparative+benefits+of+upw ard+counterfactual+thinking&go.x =0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.	.00%
3	861.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+salama nder+room&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:04:05	0.00%	0 (0.00%)	\$0.00 (0.	.00%
3	862.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+season al+cycle+of+the+planktonic+diato m+melosira&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:12	0.00%	0 (0.00%)	\$0.00 (0.	.00%
3	863.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+serpen ts+of+Blissfull&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.	.00%
3	864.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=THE+SEVE N+HABITS+OF+HIGHLY+EFFEC TIVE+PEOPLE&go.x=10&go.y=5	1	(0.00%)	100.00%	1 (0.01%)	0.00%	13.00	00:10:31	0.00%	0 (0.00%)	\$0.00 (0.	.00%
3	865.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+signific ance+of+surface+complexation+r eactions+in+hydrologic+systems: +a+geochemist's+perspective&go .x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.	.00%
3	866.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+skeleto n+in+the+hospital+closet+&go.x= 0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.	.00%
3	867.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+SLave +Ship&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.	.00%
3	868.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+south+c arolina+constitution+of+1895&go. x=12&go.y=9	1	(0.00%)	100.00%	1 (0.01%)	0.00%	13.00	00:21:09	0.00%	0 (0.00%)	\$0.00 (0.	.00%
3	869.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+Spiral+ Level:+Whjy+greater+inequality+ makes+societies+stronger&go.x= 0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	25.00	00:06:52	0.00%	0 (0.00%)	\$0.00 (0.	.00%
3	870.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+strand& go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.	.00%
3	871.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+strange +saga+of+little+albert&go.x=7&go .y=15	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.	.00%
3	872.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+strawb erry:+Composition,+nutritional+qu ality,+and+impact+on+human+he alth&go.x=-697&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.	.00%
3	873.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+structur e,+physical+and+chemical+prope rties+of+soybean+protein+glycini n+&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:13:50	0.00%	0 (0.00%)	\$0.00 (0.	.00%
3	874.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+structu re+of+protein+evolution+and+the +evolution+of+protein+structure	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.	.00%
3	875.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+swerve &go.x=-646&go.y=-217	1	(0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:08:30	0.00%	0 (0.00%)	\$0.00 (0.	.00%
3	876.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+Tale+o f+the+TALEs&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.	.00%
3	877.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+threat+ of+the+Yrmo:+The+political+ontol ogy+of+hunting+and+human-ani mal+sociality&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:06:10	0.00%	0 (0.00%)	\$0.00 (0.	.00%
3	878.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+tillman+ movement+in+south+carolina&go .x=9&go.y=10	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:02:43	0.00%	0 (0.00%)	\$0.00 (0.	.00%
3	879.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+Treatm ent+of+Psychopathic+and+Antiso cial+Personality+Disorders:+A+R	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.	.00%

	eviewago.x=-010ago.y=-217													
3880.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+Trial+o f+Tempel+Anneke:+Records+of+a+Witchcraft+Trial+in+Brunswick,+Germany+1663+&go.x=0&go.y=0	1 ((0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
3881.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+trial+of+ tempel+anneke&go.x=0&go.y=0	1 ((0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
3882.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+trial+of+tempel+anneke&go.x=14&go.y=6	1 ((0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
3883.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+true+st ory+of+the+three+little+pigs&go.x =0&go.y=0	1 ((0.00%)	0.00%	0	(0.00%)	0.00%	4.00	00:05:25	0.00%	0	(0.00%)	\$0.00	(0.00%
3884.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+truth+a bout+fracking&go.x=0&go.y=0	1 ((0.00%)	100.00%	1	(0.01%)	0.00%	7.00	00:12:12	0.00%	0	(0.00%)	\$0.00	(0.00%
3885.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+turn+of +the+screw&go.x=0&go.y=0	1 ((0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
3886.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+underst anding+and+treatment+of+betray al+trauma&go.x=-581&go.y=-217	1 ((0.00%)	0.00%	0	(0.00%)	0.00%	3.00	00:04:57	0.00%	0	(0.00%)	\$0.00	(0.00%
3887.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+use+of +gold+nanoparticles+in+diagnosti cs+and+detection&go.x=0&go.y= 0	1 ((0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
3888.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+Warbur g+effect+and+its+cancer+therape utic+implications&go.x=0&go.y=0	1 ((0.00%)	0.00%	0	(0.00%)	0.00%	3.00	00:02:25	0.00%	0	(0.00%)	\$0.00	(0.00%
3889.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=The+World+ and+Other+Places,+Jeanette+Wi nterson&go.x=0&go.y=0	1 ((0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
3890.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=the+zimmer man+telegram&go.x=0&go.y=0	1 ((0.00%)	100.00%	1	(0.01%)	0.00%	4.00	00:12:27	0.00%	0	(0.00%)	\$0.00	(0.00%
3891.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=themyth+of+ progress&go.x=0&go.y=0	1 ((0.00%)	100.00%	1	(0.01%)	0.00%	2.00	00:00:13	0.00%	0	(0.00%)	\$0.00	(0.00%
3892.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Theories+an d+Methods+of+Spatio-Temporal+ Reasoning+in+Geographic+Spac e&go.x=5&go.y=8	1 ((0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
3893.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=theory+in+bi osciences&go.x=-924&go.y=-218	1 ((0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
3894.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=therapeutic+ recreation&go.x=0&go.y=0	1 ((0.00%)	100.00%	1	(0.01%)	0.00%	2.00	00:00:32	0.00%	0	(0.00%)	\$0.00	(0.00%
3895.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Therapeutic +Recreation+Journal&go.x=0&go.y=0	1 ((0.00%)	0.00%	0	(0.00%)	0.00%	5.00	00:13:50	0.00%	0	(0.00%)	\$0.00	(0.00%
3896.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Thermo-res ponsive+ABA+triblock+copolymer +of+PVEA-b-PNIPAM-b-PVEA+s howing+solvent-tunable+LCST+in +a+methanol-water+mixture&go. x=10&go.y=9	1 ((0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
3897.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=thermohalin e+circulation+atlantic+temperatur e+rise&go.x=0&go.y=0	1 ((0.00%)	100.00%	1	(0.01%)	0.00%	4.00	00:04:05	0.00%	0	(0.00%)	\$0.00	(0.00%
3898.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=thesis&go.x =0&go.y=0	1 ((0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
3899.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=thesis+pare des&go.x=0&go.y=0	1 ((0.00%)	100.00%	1	(0.01%)	0.00%	6.00	00:01:07	0.00%	0	(0.00%)	\$0.00	(0.00%
	/search?s.fvffl=ContentTvpe.New													

	paper+Article,t&s.q=They+call+ ne+coach&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.0	01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
901. sp	search?s.fvf[]=ContentType,New paper+Article,t&s.q=they+say+i+ ay&go.x=13&go.y=14	1	(0.00%)	0.00%	0 (0.0	00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
902. sp	search?s.fvf[]=ContentType,New spaper+Article,t&s.q=things+to+d shin+providence&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.0	01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
903. sp	search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Thinking+ab sut+Sexuality+and+Gender+in+Vi enna+luft&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.0	00%)	0.00%	7.00	00:14:32	0.00%	0	(0.00%)	\$0.00	(0.00%
904. sp	search?s.fvf[]=ContentType,New paper+Article,t&s.q=thisse&go.x :0&go.y=0	1	(0.00%)	0.00%	0 (0.0	00%)	0.00%	6.00	00:42:43	0.00%	0	(0.00%)	\$0.00	(0.00%
905. sp	search?s.fvf[]=ContentType,New spaper+Article,t&s.q=thods+for+z sta-potential+determination&go.x sta-potential+determination&go.x	1	(0.00%)	0.00%	0.00	00%)	0.00%	5.00	00:15:42	0.00%	0	(0.00%)	\$0.00	(0.00%
906. sp	search?s.fvf[]=ContentType,New paper+Article,t&s.q=thomas+gris o+bindover&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.0	00%)	0.00%	2.00	00:01:15	0.00%	0	(0.00%)	\$0.00	(0.00%
907. sp	search?s.fvf[]=ContentType,New paper+Article,t&s.q=thompson+tr iium&go.x=-710&go.y=-217	1	(0.00%)	0.00%	0 (0.0	00%)	0.00%	3.00	00:00:45	0.00%	0	(0.00%)	\$0.00	(0.00%
908. sp	search?s.fvf[]=ContentType,New paper+Article,t&s.q=Thoreau+journal&go.x=-734&go.y=-217	1	(0.00%)	100.00%	1 (0.0	01%)	0.00%	3.00	00:03:18	0.00%	0	(0.00%)	\$0.00	(0.00%
909. sp	search?s.fvf[]=ContentType,New paper+Article,t&s.q=three+little+f sh+and+the+big+bad+shark&go. =0&go.y=0	1	(0.00%)	0.00%	0 (0.0	00%)	0.00%	6.00	00:06:46	0.00%	0	(0.00%)	\$0.00	(0.00%
910. sp	search?s.fvf[]=ContentType,New paper+Article,t&s.q=thugee&go. =0&go.y=0	1	(0.00%)	0.00%	0 (0.0	00%)	0.00%	2.00	00:00:04	0.00%	0	(0.00%)	\$0.00	(0.00%
911. sp	search?s.fvf[]=ContentType,New :paper+Article,t&s.q=tibitis&go.x= 1&go.y=14	1	(0.00%)	100.00%	1 (0.0	01%)	0.00%	3.00	00:00:36	0.00%	0	(0.00%)	\$0.00	(0.00%
sp 912. ng g-	search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Tidal+straining,+density+currents,+and+stirrinu+the+control+of+estuarine+st atification&go.x=-688&go.y=-218	1	(0.00%)	0.00%	0 (0.0	00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
913. sp	search?s.fvf[]=ContentType,New paper+Article,t&s.q=Tigers+on+t ails&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.0	00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
sr 914. +a dı	search?s.fvf[]=ContentType,New paper+Article,t&s.q=Time-series -analysis:A+comprehensive+intro luction+for+social+scientists&go. :=-552&go.y=-218	1	(0.00%)	0.00%	0 (0.0	00%)	0.00%	2.00	00:01:32	0.00%	0	(0.00%)	\$0.00	(0.00%
915. 19 w d- at	search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Time+series studies+of+vent+fluids+from+the -TAG+and+MARK+sites+(1986,+990)+Mid-Atlantic+Ridge:+a+ne v+solution+chemistry+model+an l+a+mechanism+for+Cu/Zn+zon tition+in+massive+sulphide+oreb idies&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.0	00%)	0.00%	7.00	00:16:46	0.00%	0	(0.00%)	\$0.00	(0.00%
916. sp	search?s.fvf[]=ContentType,New paper+Article,t&s.q=tiner+marsh kgo.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.0	00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
	search?s.fvf[]=ContentType,New paper+Article,t&s.q=TIPE1+	1	(0.00%)	0.00%	0 (0.0	00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
918. sp	search?s.fvf[]=ContentType,New spaper+Article,t&s.q=titanium+in+ nedicine&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.0	00%)	0.00%	8.00	00:32:17	0.00%	0	(0.00%)	\$0.00	(0.00%
919. sp	search?s.fvf[]=ContentType,New paper+Article,t&s.q=titanium+me lical&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.0	01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
920. sp	search?s.fvf[]=ContentType,New paper+Article,t&s.q=TNFAIP8&g .x=0&go.y=0	1	(0.00%)	0.00%	0 (0.0	00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
921. sp	search?s.fvf[]=ContentType,New paper+Article,t&s.q=to+kill+a+m ockingbird&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.0	01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
/s 919. sp di /s 920. sp o. /s 921. sp	nedicine&go.x=0&go.y=0 search?s.fvf[]=ContentType,New spaper+Article,t&s.q=titanium+me lical&go.x=0&go.y=0 search?s.fvf[]=ContentType,New spaper+Article,t&s.q=TNFAIP8&g b.x=0&go.y=0 search?s.fvf[]=ContentType,New spaper+Article,t&s.q=to+kill+a+m	1	(0.00%)	100.00%	1 (0.0 0 (0.0	01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.0	00

39	922.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=To+take+hol d+of+space:+isovists+and+isovist +fields&go.x=8&go.y=9	1 (0.0	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3!	923.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=toilet+postur es+&go.x=7&go.y=4	1 (0.0	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
39	924.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=tolkien+quot es&go.x=0&go.y=0	1 (0.0	0.00%	0 (0.00%)	0.00%	2.00	00:02:55	0.00%	0 (0.00%)	\$0.00 (0.00%
3!	925.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=toll+like+rec peotrs&go.x=0&go.y=0	1 (0.0	0.00%	0 (0.00%)	0.00%	4.00	00:00:36	0.00%	0 (0.00%)	\$0.00 (0.00%
39	926.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=tomato+eco nomy&go.x=0&go.y=0	1 (0.0	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
39	927.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=tomatoes&g o.x=0&go.y=0	1 (0.0	0.00%	0 (0.00%)	0.00%	8.00	00:13:58	0.00%	0 (0.00%)	\$0.00 (0.00%
39	928.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Tony+Hiller man&go.x=-634&go.y=-217	1 (0.0	0.00%	0 (0.00%)	0.00%	9.00	00:01:57	0.00%	0 (0.00%)	\$0.00 (0.00%
39	929.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=too+poor+to +be+green+consumers?&go.x=0 &go.y=0	1 (0.0	100.00%	1 (0.01%)	0.00%	16.00	00:20:29	0.00%	0 (0.00%)	\$0.00 (0.00%
39	930.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Tornado&go .x=-508&go.y=-217	1 (0.0	100.00%	1 (0.01%)	0.00%	2.00	00:00:22	0.00%	0 (0.00%)	\$0.00 (0.00%
39	931.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=total+immer sion&go.x=7&go.y=12	1 (0.0	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
39	932.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=towards+an +epistemology+of+physics&go.x= 0&go.y=0	1 (0.0	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
39	933.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=town+report &go.x=0&go.y=0	1 (0.0	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
39	934.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Townend+(2 006)&go.x=0&go.y=0	1 (0.0	0.00%	0 (0.00%)	0.00%	4.00	00:01:47	0.00%	0 (0.00%)	\$0.00 (0.00%
39	935.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Toxic+Touri sm:+Rhetorics+of+Pollution,+Trav el,+and+Environmental+Justice& go.x=-640&go.y=-217	1 (0.0	0.00%	0 (0.00%)	0.00%	4.00	00:09:45	0.00%	0 (0.00%)	\$0.00 (0.00%
39	936.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Toxicity+of+ conventional,+elemental+chlorine -free,+and+totally+chlorine-free+k raft-pulp+bleaching+effluents+ass essed+by+shortterm+lethal+and+ sublethal+bioassays&go.x=8&go.y=7	1 (0.0	0.00%	0 (0.00%)	0.00%	5.00	00:12:24	0.00%	0 (0.00%)	\$0.00 (0.00%
39	937.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Toyota,+T., +S.+Takatsuji,+and+M.+Nakayam a+(2006),+Characteristics+of+sea +ice+floe+size+distribution+in+th e+seasonal+ice+zone&go.x=-732 &go.y=-217	1 (0.0	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
39	938.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Traditional+ crafts+and+craftsmanship+in+Am erica++.+Sink,+Susan.&go.x=0 &go.y=0	1 (0.0	0.00%	0 (0.00%)	0.00%	6.00	00:15:31	0.00%	0 (0.00%)	\$0.00 (0.00%
39	939.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=traditional+e cological+knowledge&go.x=0&go.y=0	1 (0.0	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
39	940.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=TRANCEND ENTALISM+AND+RACE&go.x=0 &go.y=0	1 (0.0	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
39	941.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Transcranial +Magnetic+Stimulation+and+Cog nitive+Neuroscience.&go.x=-616& go.y=-217	1 (0.0	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%

3942.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Transformat ion+of+the+Nitrogen+Cycle:+Rec ent+Trends,+Questions,+and+Pot ential+Solutions&go.x=12&go.y=1 6	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3943.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Transformin g+rural+hunters+into+conservatio nists:+an+assessment+of+comm unity-based+wildlife+managemen t+programs+in+Africa&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3944.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=translation& go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:03:13	0.00%	0 (0.00%)	\$0.00 (0.00%
3945.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=translinguali sm&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3946.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Transmissio n+electron+microscopy,+Williams +D+B&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3947.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Transmissio n+of++Streptococcus+equi+Subs pecies++zooepidemicus+Infection ++from+Horses+to+Humans+&go .x=3&go.y=2	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:10:14	0.00%	0 (0.00%)	\$0.00 (0.00%
3948.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=transparenc y+of+zebrafish&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3949.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=transportatio n+natural+gas&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:10	0.00%	0 (0.00%)	\$0.00 (0.00%
3950.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=trauma+info rmedenvironments&go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:48	0.00%	0 (0.00%)	\$0.00 (0.00%
3951.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=traumatic+br ain+injury&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	14.00	00:25:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3952.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=travellione& go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3953.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=treasury+bill &go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	9.00	00:09:04	0.00%	0 (0.00%)	\$0.00 (0.00%
3954.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=treasury+of +the+true+dharma+eye&go.x=0& go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3955.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=treaties+of+t he+new+frontier+launching+laws +in+space&go.x=5&go.y=3	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3956.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=treatise+on+ geochemistry&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3957.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=treatment+o f+depression+with+st.+johns+wor t&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:07	0.00%	0 (0.00%)	\$0.00 (0.00%
3958.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=treatment+o f+the+mentally+ill&go.x=0&go.y= 0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	17.00	00:14:59	0.00%	0 (0.00%)	\$0.00 (0.00%
3959.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=treatment+pl anning&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	19.00	00:11:45	0.00%	0 (0.00%)	\$0.00 (0.00%
3960.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=treaty+of+ro me&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:20	0.00%	0 (0.00%)	\$0.00 (0.00%
3961.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Tree+crown +segmentation+based+on+a+geo metric+tree+crown+model+for+pr ediction+of+forest+variables&go.x =0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:01:33	0.00%	0 (0.00%)	\$0.00 (0.00%

3962.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Tree+rings+ prove+that+cabin+wasn't+Lincoln' s&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:27:12	0.00%	0 (0.00%)	\$0.00 (0.00%
3963.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Trends+and +Future+Challenges+for+U.S.+N ational+Ocean+and+Coastal+Poli cy&go.x=-528&go.y=-217	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3964.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=triathletes+a nd+supplement+intake&go.x=0&g o.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	21.00	00:37:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3965.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=triclosan&go .x=8&go.y=2	1	(0.00%)	0.00%	0 (0.00%)	0.00%	15.00	01:02:13	0.00%	0 (0.00%)	\$0.00 (0.00%
3966.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Trío+Zarava l&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:06:55	0.00%	0 (0.00%)	\$0.00 (0.00%
3967.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Trompenaar s'+Model+of+National+Culture+Di fferences&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	15.00	00:57:36	0.00%	0 (0.00%)	\$0.00 (0.00%
3968.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Trophy+Hun ting+and+Wildlife+Conservation+i n+Zambia&go.x=-590&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	0.00%	24.00	01:52:39	0.00%	0 (0.00%)	\$0.00 (0.00%
3969.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=trophy+hunti ng+conservation&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	8.00	00:40:34	0.00%	0 (0.00%)	\$0.00 (0.00%
3970.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=trophy+hunti ng+in+the+namibian+economy&g o.x=10&go.y=12	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:25	0.00%	0 (0.00%)	\$0.00 (0.00%
3971.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=troubling+vi olence&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:05:51	0.00%	0 (0.00%)	\$0.00 (0.00%
3972.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Troy's+Alma nac&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:03:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3973.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=trp+channel s&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3974.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=tructural+Tr ansformation+of+the+Amyloidoge nic+Core+Region+of+TDP-43+Pr otein+Initiates+Its+Aggregation+a nd+Cytoplasmic+Inclusion&go.x= 5&go.y=7	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:04	0.00%	0 (0.00%)	\$0.00 (0.00%
3975.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=truth+and+ method&go.x=15&go.y=10	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3976.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=tuckett&go.x =0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:42	0.00%	0 (0.00%)	\$0.00 (0.00%
3977.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=tundra&go.x =0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3978.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Tundra&go. x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3979.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=tundras,+gr asslands+and+deserts&go.x=0&g o.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:04:11	0.00%	0 (0.00%)	\$0.00 (0.00%
3980.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=turpie,+davi d&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:01:23	0.00%	0 (0.00%)	\$0.00 (0.00%
3981.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=twenty+mile s&go.x=14&go.y=6	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3982.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=tyler+franck e&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3983.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=type+2+diab etes,+exercise+and+glycemic+co	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:02:52	0.00%	0 (0.00%)	\$0.00 (0.00%

	ntrol&go.x=0&go.y=0										
3984.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=uav+archae ology&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3985.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Ubelaker,+D .+(2006)+Bones:+A+Forensic+De tectives+Casebook.+M.+Evens+& +Company.+=&go.x=-688&go.y=- 218	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3986.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Ugalde+JA, +Chang+BSW,+Matz+MV:+Evolut ion+of+coral+pigments+recreated .+Science+2004,+305:1433.&go.x =0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:42:31	0.00%	0 (0.00%)	\$0.00 (0.00%
3987.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=ulrich&go.x= 0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:06:19	0.00%	0 (0.00%)	\$0.00 (0.00%
3988.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Ultrasound-Microwave+Assisted+Extraction+ and+Separation+of+Ricinus+com munis+Allergen+from+Castor+Be an+Meal&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3989.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=umaine+fogl er&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3990.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=umaine+gm ail&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3991.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Un+printem ps+rouge+et+noir+&go.x=12&go.y=13	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3992.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Under+pres sure:+Cooking+sous+vide&go.x= 11&go.y=11	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3993.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=undergradu ate+student+leaders+mental+hea lth&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:22	0.00%	0 (0.00%)	\$0.00 (0.00%
3994.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=undersea+c ables+africa&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:03:43	0.00%	0 (0.00%)	\$0.00 (0.00%
3995.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=understandi ng+and+changing+the+social+wo rld&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3996.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=understanding+earth&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3997.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=understanding+earth&go.x=8&go.y=14	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
3998.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=understandi ng+post+traumatic+stress+william s+&+joseph=&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:07:21	0.00%	0 (0.00%)	\$0.00 (0.00%
3999.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Understandi ng+the+role+of+gut+microbes+an d+probiotics+in+obesity:+How+far +are+we?&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4000.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=unintended+ pregnancy&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4001.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=union+town &go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:12	0.00%	0 (0.00%)	\$0.00 (0.00%
4002.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=unit+operati ons+in+chemical+engineerning&g o.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	27.00	00:44:55	0.00%	0 (0.00%)	\$0.00 (0.00%
4003.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=United+Stae s+American+History&go.x=8&go. y=2	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%

4004	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=united+state s+and+european+union+future&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4005	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=university+o f+maine+salary&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:01:15	0.00%	0 (0.00%)	\$0.00 (0.00%
4006	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=university+o f+maine+yearbooks&go.x=0&go.y =0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4007	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=university+p arking+statistics&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:03:01	0.00%	0 (0.00%)	\$0.00 (0.00%
4008	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=unreliable+e lectricity+regions+of+the+world&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4009	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Updated+str eamflow+reconstructions+for+the +Upper+Colorado+River+Basin& go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4010	/search?s.fvf[]=ContentType,New spaper+Article;t&s.q=uplift+peru& go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:54	0.00%	0 (0.00%)	\$0.00 (0.00%
4011	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=upper+st.+jo hn+watershed&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4012	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=urban+wildlif e+management&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	34.00	01:27:34	0.00%	0 (0.00%)	\$0.00 (0.00%
4013	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=urinary+tract +infections&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:21	0.00%	0 (0.00%)	\$0.00 (0.00%
4014	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=urinary+tract +infections+pediatrics&go.x=0&go .y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:15:48	0.00%	0 (0.00%)	\$0.00 (0.00%
4015	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=us+census+ trade+data&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4016	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=US+history+ &go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4017	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=us+online+g ambling+ban&go.x=-654&go.y=-2 17	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:30	0.00%	0 (0.00%)	\$0.00 (0.00%
4018	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=us+sex+traff icking&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:26:10	0.00%	0 (0.00%)	\$0.00 (0.00%
4019	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=usability+tes ts&go.x=9&go.y=7	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4020	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Uses+of+pl ant+food-medicines+in+the+Wab anaki++bioregions+of+the+Northe ast;+a+cultural+assessment+of+b erry+harvesting++practices+and+ customs&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4021	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=USING+DA TA+ANALYSIS+TO+DISCOVER+ THE+FUNDAMENTAL+THEORE M+OF+CALCULUS&go.x=0&go.y =0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:44:12	0.00%	0 (0.00%)	\$0.00 (0.00%
4022	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Using+micro fluidic+chip+to+form+brain-derive d+neurotrophic+factor+concentrat ion+gradient+for+studying+neuro n+axon+guidance.&go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:09:54	0.00%	0 (0.00%)	\$0.00 (0.00%
4023	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=vaccination+ against+enteric+redmouth+diseas e&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:01:27	0.00%	0 (0.00%)	\$0.00 (0.00%

4024.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=vaccines&g o.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:13	0.00%	0 (0.00%)	\$0.00 (0.00%
4025.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=valeriano&g o.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:05:04	0.00%	0 (0.00%)	\$0.00 (0.00%
4026.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=valueline&g o.x=7&go.y=13	1	(0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:00:45	0.00%	0 (0.00%)	\$0.00 (0.00%
4027.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Valuing+Gre at+Lakes+Beach+Recreation:+An +Economic+Assessment+of+the+ Recreational+Value+of+Freshwat er+Beaches&go.x=1&go.y=4	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4028.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Valuing+the +social+benefits+of+avoiding+lan dscape+degradation+from+overh ead+power+transmission+lines:+ Do+underground+cables+pass+th e+benefit-cost+test?&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4029.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=vanderbroec k&go.x=14&go.y=11	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4030.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Various+Po sitions&go.x=2&go.y=2	1	(0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:03:06	0.00%	0 (0.00%)	\$0.00 (0.00%
4031.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Varnished+t ruth&go.x=-508&go.y=-217	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4032.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=VE-cadherin -CreERT2+transgenic+mouse:+a +model+for+inducible+recombinat ion+in+the+endothelium.&go.x=0 &go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4033.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Vegetation, +lake+levels,+and+climate+in+ea stern+North+America+for+the+pa st+18,000+years&go.x=9&go.y=8	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:39	0.00%	0 (0.00%)	\$0.00 (0.00%
4034.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=vegetation+ class+dependent+errors+in+lidar +ground+elevation+and+canopy+ height&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:20	0.00%	0 (0.00%)	\$0.00 (0.00%
4035.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=venus+in+fu rs&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:02:37	0.00%	0 (0.00%)	\$0.00 (0.00%
4036.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Vertical+inte gration+and+antitrust+policy&go.x =7&go.y=9	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4037.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=vibrant+matt er&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4038.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=vibrio+and+ sheep&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:02:34	0.00%	0 (0.00%)	\$0.00 (0.00%
4039.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Vickery+fam ily+unity&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4040.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=victorian+er a&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	15.00	00:20:35	0.00%	0 (0.00%)	\$0.00 (0.00%
4041.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Victorians+a t+War+Beckett&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4042.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Video+gam es+and+reading&go.x=1&go.y=6	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4043.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=video+game s+in+education&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4044.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=viete&go.x= 0&ao.v=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:09	0.00%	0 (0.00%)	\$0.00 (0.00%

4045.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=View-Based +Cognitive+Mapping+and+Path+ Planning&go.x=10&go.y=9	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4046.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=vince+flynn &go.x=0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	0.00%	4.00	00:02:10	0.00%	0	(0.00%)	\$0.00	(0.00%
4047.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=viral+innate +immunity&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:00:19	0.00%	0	(0.00%)	\$0.00	(0.00%
4048.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=viruses&go. x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	3.00	00:01:33	0.00%	0	(0.00%)	\$0.00	(0.00%
4049.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=viruses+in+ zebrafish+model&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4050.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Visualizatio n+of+Dynamics+of+Single+Endo genous+mRNA+Labeled+in+Live +Mouse&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4051.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Visualizatio n+of+Dynamics+of+Single+Endo genous+MRNA+Labeled+in+Live +Mouse&go.x=0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4052.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=vitamin+A+a nd+immunity&go.x=0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4053.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Vitamin+A+f ortification&go.x=-645&go.y=-217	1	(0.00%)	0.00%	0	(0.00%)	0.00%	10.00	00:12:18	0.00%	0	(0.00%)	\$0.00	(0.00%
4054.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=vitiligo&go.x =0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4055.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=vitruvius&go .x=0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	0.00%	5.00	00:02:49	0.00%	0	(0.00%)	\$0.00	(0.00%
4056.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=vitruvius&go .x=4&go.y=2	1	(0.00%)	100.00%	1	(0.01%)	0.00%	12.00	00:05:19	0.00%	0	(0.00%)	\$0.00	(0.00%
4057.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=vocal+healt h&go.x=0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	0.00%	3.00	00:04:52	0.00%	0	(0.00%)	\$0.00	(0.00%
4058.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=vocational+r ehabilitation/down+syndrome&go. x=6&go.y=13	1	(0.00%)	100.00%	1	(0.01%)	0.00%	21.00	00:15:40	0.00%	0	(0.00%)	\$0.00	(0.00%
4059.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=voices+in+t he+park&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	6.00	00:01:57	0.00%	0	(0.00%)	\$0.00	(0.00%
4060.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=volcanic+er uptions+50+mya&go.x=15&go.y= 13	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:00:32	0.00%	0	(0.00%)	\$0.00	(0.00%
4061.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=volumetrics &go.x=0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4062.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=von+jagow& go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	6.00	00:05:56	0.00%	0	(0.00%)	\$0.00	(0.00%
4063.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Voorhies,+J ames&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4064.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=vygotsky+& go.x=10&go.y=13	1	(0.00%)	0.00%	0	(0.00%)	0.00%	5.00	00:03:40	0.00%	0	(0.00%)	\$0.00	(0.00%
4065.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=waldo+ralph +emerson&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	16.00	00:39:09	0.00%	0	(0.00%)	\$0.00	(0.00%
4066.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=walk&go.x= 0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	0.00%	9.00	00:03:54	0.00%	0	(0.00%)	\$0.00	(0.00%
4067.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=walter+rich+ 1929&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	3.00	00:01:35	0.00%	0	(0.00%)	\$0.00	(0.00%

406	/search?s.fvf[]=ContentType,New 3. spaper+Article,t&s.q=wamit+exter nal+damping&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
406	/search?s.fvf[]=ContentType,New	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
407	/search?s.fvf[]=ContentType,New 9. spaper+Article,t&s.q=war+of+181 2&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:15:00	0.00%	0 (0.00%)	\$0.00 (0.00%
407	/search?s.fvf[]=ContentType,New 1. spaper+Article,t&s.q=war+with+h annibal&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
407	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=wareness+a 2. nd+perceived+value+of+economi c+information+in+controlling+som atic+cell+count&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
407	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=waste+man agement+central+america&go.x= 0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	9.00	00:24:35	0.00%	0 (0.00%)	\$0.00 (0.00%
407	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=water+and+ wastewater+engineering&go.x=0 &go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
407	/search?s.fvf[]=ContentType,New 5. spaper+Article,t&s.q=water+resea rch&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
407	/search?s.fvf[]=ContentType,New 5. spaper+Article,t&s.q=Water+supp ly+practices&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	13.00	00:12:28	0.00%	0 (0.00%)	\$0.00 (0.00%
407	/search?s.fvf[]=ContentType,New 7. spaper+Article,t&s.q=water+wave +mechanics&go.x=9&go.y=7	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
407	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Watersheds ,+Bays,+and+Bounded+Seas&go. x=10&go.y=6	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
407	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=watersheds, +bays+and+bounded+seas&go.x =0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
408	/search?s.fvf[]=ContentType,New 3. spaper+Article,t&s.q=wavelet+tra nsform&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:08:50	0.00%	0 (0.00%)	\$0.00 (0.00%
408	/search?s.fvf[]=ContentType,New 1. spaper+Article,t&s.q=Wavelet+tra nsforms+intro&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	12.00	00:14:37	0.00%	0 (0.00%)	\$0.00 (0.00%
408	/search?s.fvf[]=ContentType,New 2. spaper+Article,t&s.q=wayne+thie baud&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:50	0.00%	0 (0.00%)	\$0.00 (0.00%
408	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=weak+select ion+and+protein+evolution&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:05:32	0.00%	0 (0.00%)	\$0.00 (0.00%
408	/search?s.fvf[]=ContentType,New 4. spaper+Article,t&s.q=wearable+fa shion	1 (0.00%)	100.00%	1 (0.01%)	0.00%	6.00	00:01:01	0.00%	0 (0.00%)	\$0.00 (0.00%
408	/search?s.fvf[]=ContentType,New 5. spaper+Article,t&s.q=wearable+te chnology	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:19	0.00%	0 (0.00%)	\$0.00 (0.00%
408	/search?s.fvf[]=ContentType,New 5. spaper+Article,t&s.q=web+of+sci ence&go.x=13&go.y=10	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
408	/search?s.fvf[]=ContentType,New 7. spaper+Article,t&s.q=web+of+sci ence&go.x=14&go.y=12	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
408	/search?s.fvf[]=ContentType,New 8. spaper+Article,t&s.q=web+of+sci ence&go.x=4&go.y=8	1 (0.00%)	100.00%	1 (0.01%)	0.00%	20.00	00:36:42	0.00%	0 (0.00%)	\$0.00 (0.00%
408	/search?s.fvf[]=ContentType,New 9. spaper+Article,t&s.q=web+of+sci ence&go.x=8&go.y=11	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:19	0.00%	0 (0.00%)	\$0.00 (0.00%
409	/search?s.fvf[]=ContentType,New 3. spaper+Article,t&s.q=web+of+sci ence&go.x=9&go.y=3	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%

4091.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=web+of+sci ences&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4092.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=weber+funct ions&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:12:16	0.00%	0 (0.00%)	\$0.00 (0.00%
4093.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=welfare+syst em+in+france&go.x=-647&go.y=-217	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4094.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=West+Atlant ic+abyssal+circulation+during+the +past+120,000+years&go.x=0&g o.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:52	0.00%	0 (0.00%)	\$0.00 (0.00%
4095.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=wgs+101&g o.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4096.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=WGS+401& go.x=6&go.y=4	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4097.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=whales&go. x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4098.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=What+Make s+People+Participate+in+Cooper atives?+Towards+a+Theoretical+ Model&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4099.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=What+the+B est+College+Teachers+Do&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:11	0.00%	0 (0.00%)	\$0.00 (0.00%
4100.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=when a man loves a woman	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4101.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=When+Peer +Review+Produces+Unsound+Sc ience&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:10:38	0.00%	0 (0.00%)	\$0.00 (0.00%
4102.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=When+We+ Were+the+Kennedys&go.x=10&g o.y=5	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4103.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=where's+wal do&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	0.00%	39.00	00:22:41	0.00%	0 (0.00%)	\$0.00 (0.00%
4104.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Where+are+ Cultural+and+Social+in+Ecosyste m+Services?+A+Framework+for+ Constructive+Engagement&go.x= 0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:11:33	0.00%	0 (0.00%)	\$0.00 (0.00%
4105.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=where+is+th e+mango+princess&go.x=0&go.y =0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4106.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Where+is+t he+Mango+Princess&go.x=0&go.y=0	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4107.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=where+is+th e+mango+princess&go.x=10&go. y=7	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4108.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=where+is+th e+mango+princess&go.x=7&go.y =11	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4109.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Where+the+ River+Ends:+Contested+Indigene ity+in+the+Mexican+Colorado+De Ita&go.x=0&go.y=0	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4110.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=wheres+the +mango+princess&go.x=0&go.y= 0	1 (0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:03:30	0.00%	0 (0.00%)	\$0.00 (0.00%
	/search?s.fvf[]=ContentType,New									

4111.	spaper+Article,t&s.q=Wherever+Y ou+Go,+There+You+Are:+Mindful ness+Meditation+in+Everyday+Lif e+&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4112.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=White+hake +(Urophycis+tenuis)+in+the+Gulf +of+Maine:+Population+structure +insights+from+the+1920s&go.x= 0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4113.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=white+smok ers+plate+tectonics&go.x=0&go.y =0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	4.00	00:00:21	0.00%	0	(0.00%)	\$0.00	(0.00%
4114.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=white+teeth &go.x=0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4115.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=whiteflight& go.x=12&go.y=2	1	(0.00%)	100.00%	1	(0.01%)	0.00%	7.00	00:05:05	0.00%	0	(0.00%)	\$0.00	(0.00%
4116.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Why+do+ca ncers+have+high+aerobic+glycol ysis?&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	6.00	00:18:58	0.00%	0	(0.00%)	\$0.00	(0.00%
4117.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=why+does+t he+world+exist&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4118.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Why+place+ matters:+geography,+identity+an d+civic+lif+in+moder+america&go .x=-647&go.y=-217	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:00:17	0.00%	0	(0.00%)	\$0.00	(0.00%
4119.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Why+the+c omplex+nature+of+integrated+&g o.x=13&go.y=12	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4120.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=why+we+fig ht&go.x=0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4121.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Why+Zebra s+Don't+Get+Ulcers:+The+Acclai med+Guide+to+Stress,+Stress-R elated+&go.x=16&go.y=11	1	(0.00%)	100.00%	1	(0.01%)	0.00%	4.00	00:01:29	0.00%	0	(0.00%)	\$0.00	(0.00%
4122.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=wilbur+day& go.x=0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	0.00%	5.00	00:23:41	0.00%	0	(0.00%)	\$0.00	(0.00%
4123.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Wild+Crop+ Relatives:+Genomic+and+Breedi ng+Resources:+Vegetables&go.x =0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	0.00%	6.00	00:04:09	0.00%	0	(0.00%)	\$0.00	(0.00%
4124.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Wild+relativ es+of+the+eggplant&go.x=-731& go.y=-217	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4125.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Wiley+Black well&go.x=-647&go.y=-217	1	(0.00%)	0.00%	0	(0.00%)	0.00%	6.00	00:01:06	0.00%	0	(0.00%)	\$0.00	(0.00%
4126.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=wiley+black well+social+movements&go.x=-6 47&go.y=-217	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4127.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=william+c+w icken&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	3.00	00:01:30	0.00%	0	(0.00%)	\$0.00	(0.00%
4128.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=William+M.& go.x=0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	0.00%	4.00	00:00:11	0.00%	0	(0.00%)	\$0.00	(0.00%
4129.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=william+moe bius&go.x=0&go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	20.00	00:04:18	0.00%	0	(0.00%)	\$0.00	(0.00%
4130.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=william+wick en&go.x=0&go.y=0	1	(0.00%)	100.00%	1	(0.01%)	0.00%	2.00	00:00:57	0.00%	0	(0.00%)	\$0.00	(0.00%
4131.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=wilson+and +pygospio+and+asexual+&go.x=0 &go.y=0	1	(0.00%)	0.00%	0	(0.00%)	0.00%	3.00	00:00:55	0.00%	0	(0.00%)	\$0.00	(0.00%

4132.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=wind+energ y+explained&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4133.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Wind+Energ y+Overview&go.x=12&go.y=10	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4134.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=wind+policy +Maine&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4135.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=windmills&g o.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:19	0.00%	0 (0.00%)	\$0.00 (0.00%
4136.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=windows+1. 0&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4137.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=wisdom+sits +in+places&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4138.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=wle+230&go .x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4139.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=WLE+230& go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4140.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=wolff's+anat omy+of+the+eye+and+orbit	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:16	0.00%	0 (0.00%)	\$0.00 (0.00%
4141.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=wolrd+war+ one&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:03:13	0.00%	0 (0.00%)	\$0.00 (0.00%
4142.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=women's+ri ghts+china&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	11.00	00:24:22	0.00%	0 (0.00%)	\$0.00 (0.00%
4143.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=women+and +gender+in+islam&go.x=0&go.y= 0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:06:17	0.00%	0 (0.00%)	\$0.00 (0.00%
4144.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=women+and +school+reform&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	9.00	01:20:32	0.00%	0 (0.00%)	\$0.00 (0.00%
4145.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=women+and +school+reform&go.x=9&go.y=5	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:23	0.00%	0 (0.00%)	\$0.00 (0.00%
4146.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=women+can 't+divorce+because+of+financial+ dependence&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4147.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=women+in+ chemirty&go.x=-687&go.y=-218	1	(0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:00:36	0.00%	0 (0.00%)	\$0.00 (0.00%
4148.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=wood+bondi ng&go.x=7&go.y=11	1	(0.00%)	100.00%	1 (0.01%)	0.00%	5.00	00:05:30	0.00%	0 (0.00%)	\$0.00 (0.00%
4149.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=wood+carvi ng&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:37	0.00%	0 (0.00%)	\$0.00 (0.00%
4150.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Woodbury& go.x=15&go.y=8	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:09	0.00%	0 (0.00%)	\$0.00 (0.00%
4151.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=wooden+toy s&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:00:35	0.00%	0 (0.00%)	\$0.00 (0.00%
4152.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=wordpress& go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:31	0.00%	0 (0.00%)	\$0.00 (0.00%
4153.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=wordpress+ cookbook&go.x=7&go.y=4	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4154.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=wordpress+ developer&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4155.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=wordpress+ developer&go.x=8&go.y=5	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:52	0.00%	0 (0.00%)	\$0.00 (0.00%
	/search?s.fvffl=ContentTvpe.New										

4	156.	spaper+Article,t&s.q=wordpress+ development&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.0	.00%
4	157.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=wordpress+ meta&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	0.00%	3.00	00:30:00	0.00%	0 (0.00%)	\$0.00 (0.0	.00%
4	158.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=wordpress+ plugin+development&go.x=0&go. y=0	1	(0.00%)	0.00%	0 (0.00%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.0	.00%
4	159.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=wordpress+ plugin+development&go.x=12&go .y=7	1	(0.00%)	0.00%	0 (0.00%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.0	.00%
4	160.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=wordpress+ plugin+development&go.x=8&go. y=8	1	(0.00%)	0.00%	0 (0.00%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.0	.00%
4	161.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=wordpress+ plugin+development&go.x=9&go. y=6	1	(0.00%)	0.00%	0 (0.00%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.4	.00%
4	162.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=wordpress+ pluginn+development&go.x=6&go .y=9	1	(0.00%)	0.00%	0 (0.00%	0.00%	2.00	00:00:12	0.00%	0 (0.00%)	\$0.00 (0.0	.00%
4	163.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=wordpress+ plugins&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	0.00%	3.00	00:26:20	0.00%	0 (0.00%)	\$0.00 (0.0	.00%
4	164.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=workers+control+in+america&go.x=-579&go.y =-217	1	(0.00%)	0.00%	0 (0.00%	0.00%	6.00	00:13:59	0.00%	0 (0.00%)	\$0.00 (0.0	.00%
4	165.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=World+healt h+organization+global+burden+of +disease&go.x=-508&go.y=-217	1	(0.00%)	0.00%	0 (0.00%	0.00%	8.00	00:12:58	0.00%	0 (0.00%)	\$0.00 (0.0	.00%
4	166.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=World+healt h+organization+global+burden+of +disease&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.4	.00%
4	167.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Wound+car e:+principles+&go.x=7&go.y=8	1	(0.00%)	100.00%	1 (0.01%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.0	.00%
4	168.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=wound+care :+principles+of+aseptic+techniqu e&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.4	.00%
4	169.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Wrangham, +Richard,+2004,+Killer+Species. +Daedalus,+Fall+issue,+pp.25-35 .&go.x=11&go.y=8	1	(0.00%)	0.00%	0 (0.00%	0.00%	5.00	00:04:38	0.00%	0 (0.00%)	\$0.00 (0.4	.00%
4	170.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=writing&go.x =0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	0.00%	13.00	00:07:31	0.00%	0 (0.00%)	\$0.00 (0.0	.00%
4	171.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=writing+a+di ssertation&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.0	.00%
4	172.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=writing+conv entions&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	0.00%	3.00	00:00:27	0.00%	0 (0.00%)	\$0.00 (0.0	.00%
4	173.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=writing+degr ee+zero&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.0	.00%
4	174.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=writing+in+t he+father's+house&go.x=0&go.y= 0	1	(0.00%)	0.00%	0 (0.00%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.0	.00%
4	175.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=wurr,+adrian &go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%	0.00%	2.00	00:01:38	0.00%	0 (0.00%)	\$0.00 (0.0	.00%
4	176.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=www.gmail. maine.edu&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.0	.00%
		/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=X-ray+cryst al+structure+of+the+passenger+d omain+of+plasmid+encoded+toxi											
4	177	small or plasting chooses toxi	1	/በ በበ%ነ	n nn%	n /n nn%	0.00%	2 00	∩∩·∩∩·51	n nn%	U (0 00%)	\$0.00 (n)	nn%

4 177.	n(Pet),+an+autotransporter+enter otoxin+from+enteroaggregative+E scherichia+coli+(EAEC)&go.x=0& go.y=0	•	(0.00%)	0.00 /6	0 (0.00%)	0.00 /6	2.00	00.00.01	0.0078	0 (0.00%)	\$0.00 (0.00%
4178.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=x++&go.x=0 &go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:01:51	0.00%	0 (0.00%)	\$0.00 (0.00%
4179.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=xenpous+be havior+&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:03:16	0.00%	0 (0.00%)	\$0.00 (0.00%
4180.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=xperiential,+ autonomic,+and+respiratory+corr elates+of+CO2+reactivity+in+indi viduals+with+high+and+low+anxi ety+sensitivity&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:05	0.00%	0 (0.00%)	\$0.00 (0.00%
4181.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Yoon+bubbl e&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:13	0.00%	0 (0.00%)	\$0.00 (0.00%
4182.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=yosef+mani k&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:06	0.00%	0 (0.00%)	\$0.00 (0.00%
4183.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=You're+not+ a+dirty+mexican&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4184.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Younger+Dr yas&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4185.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=yu+guangzh ong&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4186.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=zamora&go. x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	7.00	00:02:01	0.00%	0 (0.00%)	\$0.00 (0.00%
4187.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Zanzotto,+A .;+Szita,+N.;+Boccazzi,+P.;+Less ard,+P.;+Sinskey,+A.+J.;+Jensen, &go.x=9&go.y=14	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4188.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=zarankiewic z&go.x=-748&go.y=-217	1	(0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:08:51	0.00%	0 (0.00%)	\$0.00 (0.00%
4189.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Zebrafish:+ An+Animal+Model+for+Toxicologi cal+Studies&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:31	0.00%	0 (0.00%)	\$0.00 (0.00%
4190.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=zebrafish+a nd+pigment&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4191.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Zebrafish+a s+a+new+model+for+phenotype- based+screening+of+melanogeni c+regulatory+compounds&go.x=0 &go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:03:40	0.00%	0 (0.00%)	\$0.00 (0.00%
4192.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=zeitschrift+f ur+physik&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4193.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Zen+and+th e+Art+of+Motorcycle+Maintenanc e&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4194.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=zeph&go.x= 7&go.y=7	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:47	0.00%	0 (0.00%)	\$0.00 (0.00%
4195.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=zero+coupo n+bonds&go.x=0&go.y=0	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:42	0.00%	0 (0.00%)	\$0.00 (0.00%
4196.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=zinc+and+c olds&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:05:45	0.00%	0 (0.00%)	\$0.00 (0.00%
4197.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=Zoo*+AND+ Euthanasia+&go.x=0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	13.00	00:17:06	0.00%	0 (0.00%)	\$0.00 (0.00%
4198.	/search?s.fvf[]=ContentType,New spaper+Article,t&s.q=zorn&go.x= 0&go.y=0	1	(0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:02:37	0.00%	0 (0.00%)	\$0.00 (0.00%
	Jacobski G. F. FILLET HIT and the co for										

419	99.	fvf[]=IsPeerReviewed,true,f&s.q= marine+salt+tolerance	1	(0.00%)	0.00%	0 (0.00	0.00%	3.00	00:02:11	0.00%	0 (0.00%)	\$0.00	(0.00%
420	00.	/search?s.fvf[]=Library,University of Maine,f&s.q=The Moral Mr. Po e	1	(0.00%)	100.00%	1 (0.01)	0.00%	17.00	00:22:04	0.00%	0 (0.00%)	\$0.00	(0.00%
420	01.	/search?s.fvf[]=Library,University+ of+Maine,f&s.fvf[]=ContentType,N ewspaper+Article,t&s.light=t&s.q= turmeric&s.cmd=addFacetValueG roupFilter(SubjectTerms,or,chemi stry,medical,medicinal+plants,me dicine,plants+medicinal)	1	(0.00%)	0.00%	0 (0.00)	6) 0.00%	2.00	00:05:32	0.00%	0 (0.00%)	\$0.00	(0.00%
420	02.	/search?s.fvf[]=Library,University+ of+Maine,f&s.q=The+critical+histo ry+of+Poe's+Pym	1	(0.00%)	0.00%	0 (0.00)	0.00%	3.00	00:03:15	0.00%	0 (0.00%)	\$0.00	(0.00%
420	03.	/search?s.fvf=ContentType,News paper+Article,t&s.light=t&s.q=psy chology+today	1	(0.00%)	100.00%	1 (0.01)	0.00%	6.00	00:02:35	0.00%	0 (0.00%)	\$0.00	(0.00%
420	04.	/search?s.fvf=ContentType,News paper+Article,t&s.light=t&s.q=urin ary+tract+infections+pediatrics&s. cmd=setRangeFilter(PublicationD ate,2008-01-01:2014-03-16)	1	(0.00%)	0.00%	0 (0.00	%) 100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
420	05.	/search?s.fvf=IsScholarly,true,f&s. light=t&s.pn=2&s.q=homosexual+ parenting&s.cmd=setRangeFilter(PublicationDate,2008:*)	1	(0.00%)	0.00%	0 (0.00	0.00%	7.00	00:03:02	0.00%	0 (0.00%)	\$0.00	(0.00%
420	06.	/search?s.light=t&s.q=Developme ntal+psychopathology+Perspectiv es+on+adjustment,+risk,+and+dis order.&s.cmd=addFacetValueFilte rs(Library,University+of+Maine)	1	(0.00%)	0.00%	0 (0.00	0.00%	2.00	00:00:17	0.00%	0 (0.00%)	\$0.00	(0.00%
420	07.	/search?s.light=t&s.q=Direct+and +indirect+cellular+effects+of+asp artame+on+the+brain.&s.cmd=set RangeFilter(PublicationDate,2009 :*)	1	(0.00%)	0.00%	0 (0.00	6) 0.00%	12.00	00:38:23	0.00%	0 (0.00%)	\$0.00	(0.00%
420	08.	/search?s.light=t&s.q=environmen tal+factors+of+phytoplankton+blo om&s.cmd=addFacetValueFilters(ContentType,Book+Review)	1	(0.00%)	0.00%	0 (0.00)	6) 0.00%	3.00	00:00:19	0.00%	0 (0.00%)	\$0.00	(0.00%
420	09.	/search?s.light=t&s.q=Genetics+fr om+genes+to+genomes&s.cmd= setRangeFilter(PublicationDate,2 008:2008)	1	(0.00%)	0.00%	0 (0.00	0.00%	4.00	00:15:26	0.00%	0 (0.00%)	\$0.00	(0.00%
42	10.	/search?s.light=t&s.q=oryx and cr ake&s.cmd=addFacetValueFilters (ContentType,Audio Recording,B ook / eBook:t,Book Chapter:t,Boo k Review:t,Conference Proceedin g:t,Journal Article:t,Magazine Arti cle:t,Newspaper Article:t,Referenc e:t)	1	(0.00%)	100.00%	1 (0.01)	6) 0.00%	3.00	00:00:16	0.00%	0 (0.00%)	\$0.00	(0.00%
42	11.	/search?s.q="Generalized+Lorent z+transformation"	1	(0.00%)	0.00%	0 (0.00	6) 0.00%	8.00	00:00:54	0.00%	0 (0.00%)	\$0.00	(0.00%
42	12.	/search?s.q="human+dissection"+ "church"&s.rf=PublicationDate,17 00:1800	1	(0.00%)	0.00%	0 (0.00	(4) 100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
42	13.	/search?s.q="Kronenberg+2006+ creep	1	(0.00%)	0.00%	0 (0.00	%) 0.00%	5.00	00:29:59	0.00%	0 (0.00%)	\$0.00	(0.00%
42	14.	/search?s.q="money+messages"	1	(0.00%)	0.00%	0 (0.00	%) 0.00%	25.00	00:59:52	0.00%	0 (0.00%)	\$0.00	(0.00%
42	15.	/search?s.q="Polycythemia vera a nd essential thrombocythemia ne w developments in biology with th erapeutic implications"	1	(0.00%)	100.00%	1 (0.01)	6) 0.00%	4.00	00:25:15	0.00%	0 (0.00%)	\$0.00	(0.00%
42	16.	/search?s.q=+A+single+plant+resi stance+gene+promoter+engineer ed+to+recognize+multiple+TAL+e ffectors+from+disparate+pathoge ns	1	(0.00%)	0.00%	0 (0.00	6) 100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
42	17.	/search?s.q=+eutrophication+in+ Mississippi+River	1	(0.00%)	0.00%	0 (0.00	%) 0.00%	6.00	00:13:37	0.00%	0 (0.00%)	\$0.00	(0.00%
42	18.	/search?s.q=+Goldman,+A.S.+et. +al.+"Immunology+Overview."	1	(0.00%)	0.00%	0 (0.00	%) 0.00%	8.00	00:02:58	0.00%	0 (0.00%)	\$0.00	(0.00%
42	19.	/search?s.q=11q	1	(0.00%)	100.00%	1 (0.01	%) 0.00%	10.00	00:17:21	0.00%	0 (0.00%)	\$0.00	(0.00%
42:	20.	/search?s.q=A mulicomponent ex ercise program for institutionalize	1	(0.00%)	100.00%	1 (0.01)	6) 0.00%	2.00	00:00:05	0.00%	0 (0.00%)	\$0.00	(0.00%

	d older adults: effects on depressi on and quality of life		,		,						
4221.	/search?s.q=A-MuLV+and+murin e+cells	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4222.	/search?s.q=A+chicken+ovalbumi n+upstream+promoter+transcripti on+factor+I+(COUP-TFI)+comple x+represses+expression+of+the+ gene+encoding+tumor+necrosis+ factor+alpha-induced+protein+8	1	(0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:36:34	0.00%	0 (0.00%)	\$0.00 (0.00%
4223.	/search?s.q=A+device+for+high-t hroughput+anticancer+drug+scre ening+more+accurately+simulate s+the+blood+circulation+system+ bordering+a+tumor	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4224.	/search?s.q=A+Flexible+Instrume ntal+Variable+Approach	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4225.	/search?s.q=A+guinea+pig's+hist ory+of+biology	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:13:38	0.00%	0 (0.00%)	\$0.00 (0.00%
4226.	/search?s.q=a+historical+guide+p oe+kennedy	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:02	0.00%	0 (0.00%)	\$0.00 (0.00%
4227.	/search?s.q=A+Lipoprotein+Rece ptor+Cluster+IV+Mutant+Preferen tially+Binds+Amyloid-β+and+Reg ulates+Its+Clearance+from+the+ Mouse+Brain	1	(0.00%)	0.00%	0 (0.00%)	0.00%	12.00	01:39:27	0.00%	0 (0.00%)	\$0.00 (0.00%
4228.	/search?s.q=A+Method+for+Obtai ning+Defined+End+Groups+of+P olymethacrylates+Prepared+by+t he+RAFT+Process+during+Amin olysis	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4229.	/search?s.q=A+novel+method+for +collection+and+preservation+of+ faeces+for+genetic+studies	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4230.	/search?s.q=A+Randomized+Con trolled+Trial+of+Resistance+Exer cise+Training+to+Improve+Glyce mic+Control+in+Older+Adults+Wit h+Type+2+Diabetes	1	(0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:28:04	0.00%	0 (0.00%)	\$0.00 (0.00%
4231.	/search?s.q=A+study+of+cleaning +procedures+used+for+foraminife ral+Mg/Ca+paleothermometry	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4232.	/search?s.q=abortion+economy	1	(0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:42:16	0.00%	0 (0.00%)	\$0.00 (0.00%
4233.	/search?s.q=academic+achievem ent+	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4234.	/search?s.q=adaptive+immunity	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4235.	/search?s.q=aerobic+and+resista nce+exercise+in+type+2+diabete s	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:41	0.00%	0 (0.00%)	\$0.00 (0.00%
4236.	/search?s.q=affects+of+low+pH+ on+gills	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4237.	/search?s.q=Afre+Reggae	1	(0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:15:19	0.00%	0 (0.00%)	\$0.00 (0.00%
4238.	/search?s.q=american+journal+of +physical+anthropology	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4239.	/search?s.q=anime	1	(0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:07:21	0.00%	0 (0.00%)	\$0.00 (0.00%
4240.	/search?s.q=antioxidants+and+at hletes	1	(0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:03:26	0.00%	0 (0.00%)	\$0.00 (0.00%
4241.	/search?s.q=aoac+official+metho ds	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:16:05	0.00%	0 (0.00%)	\$0.00 (0.00%
4242.	/search?s.q=arctic+ocean+geolog y+review	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:47	0.00%	0 (0.00%)	\$0.00 (0.00%
4243.	/search?s.q=ASTM	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4244.	/search?s.q=athletes+and+comm on+protein+supplements	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:04:03	0.00%	0 (0.00%)	\$0.00 (0.00%
4245.	/search?s.q=AU+Optronics+Fined +\$500+Million+in+Price-Fixing+C ase	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4246.	/search?s.q=autism,+pre-school+ strategies	1	(0.00%)	0.00%	0 (0.00%)	0.00%	17.00	00:38:01	0.00%	0 (0.00%)	\$0.00 (0.00%
4247.	/search?s.q=basquiat	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:31	0.00%	0 (0.00%)	\$0.00 (0.00%
1710	/acarah?a a=haytar ±atanhan	4	(0.000/)	0 000/	0 (0.000()	0 000/	4.00	00.00.50	0.000/	0 (0.000()	CO OO (0 000)

44	248.	/searcn?s.q=baxter,+stepnen	1	(0.00%)	0.00%	0	(0.00%)	0.00%	4.00	00:00:50	0.00%	U (0.00%)	\$0.00	(0.00%
42	249.	/search?s.q=Beaty,+J	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:00:24	0.00%	0 (0.00%)	\$0.00	(0.00%
4:	250.	/search?s.q=biochem journal 200 9	1	(0.00%)	100.00%	1	(0.01%)	0.00%	2.00	00:00:19	0.00%	0 (0.00%)	\$0.00	(0.00%
42	251.	/search?s.q=Biochemistry	1	(0.00%)	0.00%	0	(0.00%)	0.00%	14.00	00:14:58	0.00%	0 (0.00%)	\$0.00	(0.00%
4:	252.	/search?s.q=biology+of+salinity+t olerance+	1	(0.00%)	0.00%	0	(0.00%)	0.00%	3.00	00:09:04	0.00%	0 (0.00%)	\$0.00	(0.00%
42	253.	/search?s.q=biotic+soil+crusts	1	(0.00%)	0.00%	0	(0.00%)	0.00%	3.00	00:00:41	0.00%	0 (0.00%)	\$0.00	(0.00%
4:	254.	/search?s.q=biotic+soil+crusts+bi omass	1	(0.00%)	0.00%	0	(0.00%)	0.00%	3.00	00:00:48	0.00%	0 (0.00%)	\$0.00	(0.00%
4:	255.	/search?s.q=biparian+strips	1	(0.00%)	0.00%	0	(0.00%)	0.00%	3.00	00:01:35	0.00%	0 (0.00%)	\$0.00	(0.00%
4:	256.	/search?s.q=Breaking+the+Code +of+DNA+Binding+Specificity+of+ TAL-Type+III+Effectors	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
42	257.	/search?s.q=burial practices and r eligions in the 1800's	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
42	258.	/search?s.q=cat+and+the+hat	1	(0.00%)	0.00%	0	(0.00%)	0.00%	13.00	00:02:52	0.00%	0 (0.00%)	\$0.00	(0.00%
4:	259.	/search?s.q=Cellulose+Functional ization+via+ATRP+grafting+of+Gl ycidyl+Methacrylate+for	1	(0.00%)	0.00%	0	(0.00%)	0.00%	8.00	00:21:17	0.00%	0 (0.00%)	\$0.00	(0.00%
42	260.	/search?s.q=Charleston+news+a nd+courier	1	(0.00%)	0.00%	0	(0.00%)	0.00%	7.00	00:04:21	0.00%	0 (0.00%)	\$0.00	(0.00%
42	261.	/search?s.q=chet+and+bernie	1	(0.00%)	100.00%	1	(0.01%)	0.00%	2.00	00:00:12	0.00%	0 (0.00%)	\$0.00	(0.00%
42	262.	/search?s.q=Chilean+Lake+Distri ct&t.AuthorCombined=Kaiser&s.rf =PublicationDate,2004:2005	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
42	263.	/search?s.q=climate change in th e arctic	1	(0.00%)	100.00%	1	(0.01%)	0.00%	2.00	00:00:14	0.00%	0 (0.00%)	\$0.00	(0.00%
42	264.	/search?s.q=Closing+the+Food+ Gap	1	(0.00%)	0.00%	0	(0.00%)	0.00%	3.00	00:00:47	0.00%	0 (0.00%)	\$0.00	(0.00%
4:	265.	/search?s.q=coccidiosis+manage ment+goats	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:01:26	0.00%	0 (0.00%)	\$0.00	(0.00%
42	266.	/search?s.q=cochlear+implants+i ndependence	1	(0.00%)	0.00%	0	(0.00%)	0.00%	4.00	00:05:31	0.00%	0 (0.00%)	\$0.00	(0.00%
42	267.	/search?s.q=cognitive+therapy	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
42	268.	/search?s.q=cognitive+therapy+tr eatments+major+depressive+diso rder	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:20:27	0.00%	0 (0.00%)	\$0.00	(0.00%
42	269.	/search?s.q=collaborative+resilien ce	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
42	270.	/search?s.q=Color+discrimination +in+carriers+of+color+deficiency	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
42	271.	/search?s.q=Communication	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
4:	272.	/search?s.q=Concept of Care, Ca ring Expectations, and Caring Fru strations of the Elderly Suffering fr om Chronic Illness	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
42	273.	/search?s.q=Constraints+on+the+ ocean+oxygen+isotopic+enrichm ent+between+the+Last+Glacial+ Maximum+and+the+Holocene:+P aleoceanographic+implications	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
4:	274.	/search?s.q=containerboard+pric e-fixing	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
42	275.	/search?s.q=Controlling+morpholi no+experiments:+don't+stop+mak ing+antisense	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:05:29	0.00%	0 (0.00%)	\$0.00	(0.00%
42	276.	/search?s.q=Controls on leaching from coniferous forest floor microc osms	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
42	277.	/search?s.q=coral+reefs+and+oc ean+acidification	1	(0.00%)	0.00%	0	(0.00%)	0.00%	14.00	00:29:28	0.00%	0 (0.00%)	\$0.00	(0.00%
42	278.	/search?s.q=CORPORATE PAY	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00	(0.00%
42	279.	/search?s.q=Corvasce,+M.,+Zsol nay,+A.,+D'Orazio,+V.,+Lopez,+R .,+Miano,+T.,+2006.+Characteriz ation+of+water+extractable+orga	1	(0.00%)	0.00%	0	(0.00%)	0.00%	16.00	00:14:58	0.00%	0 (0.00%)	\$0.00	(0.00%

	nic+matter+in+a+deep+soil+profil e												
4280	. /search?s.q=crispr	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.009	\$0.0	0.00%
4281	/search?s.q=Crystal+structure+of +TIPE2+provides+insights+into+i mmune+homeostasis	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.009	5) \$0.0	00 (0.00%
4282	/search?s.q=Cutting to cope – a modern adolescent phenomenon	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.009	\$0.0	0.00%
4283	/search?s.q=Cytokines+in+cancer +pathogenesis+and+cancer+ther apy	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%	5) \$0.0	00 (0.00%
4284	/search?s.q=dairy+cow+herd+beh avior	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:00:35	0.00%	0 (0.009	5) \$0.0	0.00%
4285	/search?s.q=Datation+de+quelqu es+sédiments+tourbeux+holocèn es+et+oscillations+glaciaires+aux +iles+Kerguelen.	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.009	5) \$0.0	00 (0.00%
4286	. /search?s.q=david+rosenfelt	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:00:09	0.00%	0 (0.009	\$0.0	0.00%
4287	/search?s.q=dead+zones+econo mic+impact	1	(0.00%)	0.00%	0	(0.00%)	0.00%	12.00	00:21:49	0.00%	0 (0.009	5) \$0.0	00 (0.00%
4288	. /search?s.q=deadly+feasts	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.009	\$0.0	0.00%
4289	/search?s.q=Deep+Souths:+Delta ,+Piedmont,+and+Sea+Island+So ciety+in+the+Age+of+Segregation +	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%	\$0.0	0.00%
4290	. /search?s.q=deming+philosophy	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.009	\$0.0	0.00%
4291	/search?s.q=democracy+moveme nt+1989	1	(0.00%)	0.00%	0	(0.00%)	0.00%	3.00	00:00:42	0.00%	0 (0.009	\$0.0	00 (0.00%
4292	/search?s.q=democracy+moveme nt+china	1	(0.00%)	0.00%	0	(0.00%)	0.00%	3.00	00:01:21	0.00%	0 (0.009	5) \$0.0	00 (0.00%
4293	/search?s.q=diabetes+exercise+a nd+glycemic+control	1	(0.00%)	0.00%	0	(0.00%)	0.00%	5.00	00:08:57	0.00%	0 (0.009	\$0.0	00 (0.00%
4294	/search?s.q=dimanov+and+drese n	1	(0.00%)	0.00%	0	(0.00%)	0.00%	6.00	00:30:24	0.00%	0 (0.009	\$0.0	00 (0.00%
4295	/search?s.q=Diversity+and+equity +in+science+education:+Theory,+ research,+and+practice	1	(0.00%)	0.00%	0	(0.00%)	0.00%	12.00	00:01:40	0.00%	0 (0.009	\$0.0	0.00%
4296	/search?s.q=Diversity+within+the +Amidohydrolase+Superfamily	1	(0.00%)	0.00%	0	(0.00%)	0.00%	3.00	00:04:55	0.00%	0 (0.009	5) \$0.0	00 (0.00%
4297	/search?s.q=DNA+quadruplex+py ridostatin	1	(0.00%)	0.00%	0	(0.00%)	0.00%	3.00	00:00:19	0.00%	0 (0.009	\$0.0	00 (0.00%
4298	. /search?s.q=doctoroff+1995	1	(0.00%)	0.00%	0	(0.00%)	0.00%	47.00	02:10:40	0.00%	0 (0.009	\$0.0	0.00%
4299	/search?s.q=Does+education+aff ect+happiness?+Evidence+for+S pain	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.009	\$0.0	0.00%
4300	. /search?s.q=eccentric	1	(0.00%)	0.00%	0	(0.00%)	0.00%	4.00	00:27:09	0.00%	0 (0.00%	\$0.0	0.00%
4301	/search?s.q=Edgar+allan+poe+m orailty	1	(0.00%)	0.00%	0	(0.00%)	0.00%	14.00	01:09:43	0.00%	0 (0.009	5) \$0.0	00 (0.00%
4302	/search?s.q=Edward Said Oedipu s Bloom	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.009	5) \$0.0	00 (0.00%
4303	/search?s.q=Effect+of+long+term . +intake+of+aspartame+on+antioxi dant+defense+status+in+liver	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:04:32	0.00%	0 (0.00%	5) \$0.0	00 (0.00%
4304	/search?s.q=Eighteenth-century+I ife	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.009	5) \$0.0	00 (0.00%
4305	/search?s.q=Emotion+and+Early+ Interaction	1	(0.00%)	0.00%	0	(0.00%)	0.00%	6.00	00:16:36	0.00%	0 (0.009	5) \$0.0	00 (0.00%
4306	/search?s.q=Encyclopaedia Britan nica	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.009	5) \$0.0	00 (0.00%
4307	. /search?s.q=ender's+game	1	(0.00%)	0.00%	0	(0.00%)	0.00%	3.00	00:00:15	0.00%	0 (0.009	\$0.0	0.00%
4308	/search?s.q=environmental+com munication	1	(0.00%)	0.00%	0	(0.00%)	0.00%	24.00	02:06:34	0.00%	0 (0.009	\$0.0	00 (0.00%
4309	/search?s.q=environmental+engin eering	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.009	5) \$0.0	00 (0.00%
4310	/search?s.q=environmental+requi rements+of+the+fresh-water+plan kton+algae	1	(0.00%)	0.00%	0	(0.00%)	0.00%	5.00	00:16:19	0.00%	0 (0.009	\$0.0	00 (0.00%

4311.	/search?s.q=ephedra+and+athlet es	1	(0.00%)	0.00%	0	(0.00%)	0.00%	15.00	00:49:07	0.00%	0	(0.00%)	\$0.00	(0.00%
4312.	/search?s.q=Equal+sweetener	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:00:06	0.00%	0	(0.00%)	\$0.00	(0.00%
4313.	/search?s.q=ESDM	1	(0.00%)	0.00%	0	(0.00%)	0.00%	11.00	00:16:01	0.00%	0	(0.00%)	\$0.00	(0.00%
4314.	/search?s.q=evenson+quin	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:00:28	0.00%	0	(0.00%)	\$0.00	(0.00%
4315.	/search?s.q=evolutionary+rescue	1	(0.00%)	0.00%	0	(0.00%)	0.00%	7.00	00:21:02	0.00%	0	(0.00%)	\$0.00	(0.00%
4316.	/search?s.q=exercise+and+diabet es	1	(0.00%)	0.00%	0	(0.00%)	0.00%	6.00	00:09:25	0.00%	0	(0.00%)	\$0.00	(0.00%
4317.	/search?s.q=exercise+and+type+ 2+diabetes	1	(0.00%)	0.00%	0	(0.00%)	0.00%	17.00	00:42:34	0.00%	0	(0.00%)	\$0.00	(0.00%
4318.	/search?s.q=exercise+treatment+ major+depressive+disorder	1	(0.00%)	0.00%	0	(0.00%)	0.00%	5.00	00:25:51	0.00%	0	(0.00%)	\$0.00	(0.00%
4319.	/search?s.q=expressoin+of+tdp-4 3+c-terminal+fragments+in+vitro+ recapitulates	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:00:09	0.00%	0	(0.00%)	\$0.00	(0.00%
4320.	/search?s.q=F.+Berkes+Tradition al+ecological+knowledge+in+pers pective	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:00:36	0.00%	0	(0.00%)	\$0.00	(0.00%
4321.	/search?s.q=feral+pig	1	(0.00%)	0.00%	0	(0.00%)	0.00%	11.00	00:56:35	0.00%	0	(0.00%)	\$0.00	(0.00%
4322.	/search?s.q=Fine-scale+spatial+g enetic+structure+and+dispersal+a mong+spotted+salamander+(Amb ystoma+maculatum)+breeding+p opulations.	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4323.	/search?s.q=Finger+print+scanne rs	1	(0.00%)	0.00%	0	(0.00%)	0.00%	5.00	00:00:35	0.00%	0	(0.00%)	\$0.00	(0.00%
4324.	/search?s.q=firefighter+heart+dis ease	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4325.	/search?s.q=Food+insecurity+in+ Maine	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4326.	/search?s.q=food+neophobia+ma rketing+new+foods	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:03:38	0.00%	0	(0.00%)	\$0.00	(0.00%
4327.	/search?s.q=Food+Processing+O perations+Modeling:+Design+and +Analysis	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4328.	/search?s.q=freud+and+hysteria	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:12:06	0.00%	0	(0.00%)	\$0.00	(0.00%
4329.	/search?s.q=fruit flies and alcohol &t.AuthorCombined=&t.TitleComb ined=&t.isbn=&t.issn=&t.publicatio ntitle=&t.volume=&t.issue=&s.rf= &s.fvf[]=&s.cmd[]=&s.cmd[]=&s.c md[]=&s.cmd[]=	1	(0.00%)	100.00%	1	(0.01%)	0.00%	4.00	00:01:40	0.00%	0	(0.00%)	\$0.00	(0.00%
4330.	/search?s.q=Functional+Macroph age+Cell+Lines+Transformed+by +Abelson+Leukemia+Virus	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4331.	/search?s.q=further+observations +on+the+seasonal+cycle+of+mel osira+italica	1	(0.00%)	0.00%	0	(0.00%)	0.00%	3.00	00:02:57	0.00%	0	(0.00%)	\$0.00	(0.00%
4332.	/search?s.q=Garcia+and+Stokes +Great+Basin	1	(0.00%)	0.00%	0	(0.00%)	0.00%	16.00	00:33:26	0.00%	0	(0.00%)	\$0.00	(0.00%
4333.	/search?s.q=Gene+expression+af ter+freshwater+transfer+in+gills+ and+opercular+epithelia+of+killifis h:+insight+into+divergent+mecha nisms+of+ion+transport.	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4334.	/search?s.q=Generation+of+a+m ouse+line+harboring+a+bi-transg ene+expressing+luciferase+and+t amoxifen-activatable+CreERT2+r ecombinase+in+cartilage.	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:07:45	0.00%	0	(0.00%)	\$0.00	(0.00%
4335.	/search?s.q=Genomic+and+struct ural+aspects+of+protein+evolutio n.	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:02:39	0.00%	0	(0.00%)	\$0.00	(0.00%
4336.	/search?s.q=Gill+membrane+rem odeling+with+softwater+acclimati on+in+Zebrafish+(Danio+rerio)	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4337.	/search?s.q=gis+power+lines	1	(0.00%)	0.00%	0	(0.00%)	0.00%	4.00	00:00:38	0.00%	0	(0.00%)	\$0.00	(0.00%
4338.	/search?s.q=Graft+polymerization :+grafting+poly(styrene)+from+cel lulose+via+reversible+addition-fra	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%

	gmentation+chain+transfer+(RAF T)+polymerization										
4339	/search?s.q=Health+bene®ts+an d+nutritional+properties+of+Nori.	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:21:26	0.00%	0 (0.00%)	\$0.00 (0.00%
4340	/search?s.q=heidegger+origins+of +art	1	(0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:05:44	0.00%	0 (0.00%)	\$0.00 (0.00%
434	/search?s.q=Henrissate,+B.+Stru ctural+and+sequence-based+clas sification+of+glycoside+hydrolase s	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:08:26	0.00%	0 (0.00%)	\$0.00 (0.00%
4342	/search?s.q=herbivorous+copepo d+prey+selectivity	1	(0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:20:52	0.00%	0 (0.00%)	\$0.00 (0.00%
4343	s. /search?s.q=HERDA+(test*)	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4344	/search?s.q=HERDA+Poco+Buen o	1	(0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:03:19	0.00%	0 (0.00%)	\$0.00 (0.00%
434	. /search?s.q=hewitt+and+flet	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4346	. /search?s.q=HIV+zinc+finger	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4347	/search?s.q=Hobson+K.A.,+H.L.+ Gibbs,+and+M.L.+Gloutney.+199 7.+Preservation+of+blood+and+ti ssue+samples+for+stable-carbon +and+stable-nitrogen+isotope+an alysis.+Can+J+Zool+75:1720–17 23.	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4348	/search?s.q=homosexual+parenti ng	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:26	0.00%	0 (0.00%)	\$0.00 (0.00%
4349	/search?s.q=How+education+enh ances+happiness:+comparison+o f+mediating+factors+in+four+east +asian+countries	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4350	. /search?s.q=Hughes+2010	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
435	/search?s.q=Hunter+syndrome+e nzyme	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4352	/search?s.q=hydroclimate+of+the +western+united+stated+based+o n	1	(0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:24:30	0.00%	0 (0.00%)	\$0.00 (0.00%
4350	/search?s.q=Hyperkalemic+Perio dic+Paralysis+(equine+law*)	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:08:54	0.00%	0 (0.00%)	\$0.00 (0.00%
4354	. /search?s.q=HYPP laws (equine)	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4358	/search?s.q=Hyson 2003 designin g courses in personnel preparatio n early childhood special educatio n	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:17	0.00%	0 (0.00%)	\$0.00 (0.00%
4356	/search?s.q=l.+Prislin,+R.D.+Belv ins,+J.E.+Halkyard,+Viscous+da mping+and+added+mass+of+soli d+square+plates,+in:+17th+Intern ational+Conference+on+Offshore +Mechanics+and+Arctic+Enginee ring	1	(0.00%)	0.00%	O (0.00%)	0.00%	4.00	00:01:59	0.00%	O (0.00%)	\$0.00 (0.00%
4357	/search?s.q=ldentification+of+a+ molecular+signaling+network+tha t+regulates+a+cellular+necrotic+c ell+death+pathway	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:08:43	0.00%	0 (0.00%)	\$0.00 (0.00%
4358	/search?s.q=Identification+of+sev en+differentially+displayed+transc ripts+in+human+primary+and+ma tched+metastatic+head+and+nec k+squamous+cell+carcinoma+cell +lines:+implications+in+metastasi s+and/or+radiation+response	1	(0.00%)	0.00%	O (0.00%)	0.00%	2.00	00:08:53	0.00%	O (0.00%)	\$0.00 (0.00%
4359	/search?s.q=IDEXX+lyme+test+fe line	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:11:04	0.00%	0 (0.00%)	\$0.00 (0.00%
4360	/search?s.q=immigration+in+swe den	1	(0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:38:26	0.00%	0 (0.00%)	\$0.00 (0.00%
436	/search?s.q=implementation+scie nce+early+intervention	1	(0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:08:14	0.00%	0 (0.00%)	\$0.00 (0.00%
4362	/search?s.q=implications+for+tea ching+a+child+with+autism+in+th e+classroom	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4363	/search?s.q=In+vivo+genome+edi ting+using+a+high-efficiency+TAL EN+system	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%

4364.	/search?s.q=industrialization+in+t he+American+South	1	(0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:03:41	0.00%	0 (0.00%)	\$0.00 (0.00%
4365.	/search?s.q=infection+control+nur sing&t.publicationtitle=journal+of+ advanced+nursing&s.fvf[]=Conten tType,Newspaper+Article,f&s.fvf[] =ContentType,Newspaper+Article ,t	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4366.	/search?s.q=innate+immunity:+an +overview	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4367.	/search?s.q=Integrated+modelling +of+functional+and+structural+co nnectivity+of+river+corridors+for+ European+otter+recovery	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:10:40	0.00%	0 (0.00%)	\$0.00 (0.00%
4368.	/search?s.q=Interferons+and+viru ses:+an+interplay+between+indu ction,+signaling	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4369.	/search?s.q=International+Buildin g+Code	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:04	0.00%	0 (0.00%)	\$0.00 (0.00%
4370.	/search?s.q=ISO+13099-1:2012	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4371.	/search?s.q=isotope+mammoth+t usk	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:08:58	0.00%	0 (0.00%)	\$0.00 (0.00%
4372.	/search?s.q=john+godfrey+saxe+ blind+men+and+the+elephant	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4373.	/search?s.q=Jonathan+Coopersm ith+Technology+Porn	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4374.	/search?s.q=jonathan+swift+a+m odest+proposal	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:01	0.00%	0 (0.00%)	\$0.00 (0.00%
4375.	/search?s.q=jorge+aladro+font	1	(0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:22:38	0.00%	0 (0.00%)	\$0.00 (0.00%
4376.	/search?s.q=journal of hydraulic e ngineering	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4377.	/search?s.q=journal of school nur sing	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:29	0.00%	0 (0.00%)	\$0.00 (0.00%
4378.	/search?s.q=JOurnal+of+Internati onal+Migration+and+Integration	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:01:20	0.00%	0 (0.00%)	\$0.00 (0.00%
4379.	/search?s.q=kennard, 1975	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:03:19	0.00%	0 (0.00%)	\$0.00 (0.00%
4380.	/search?s.q=kevlar properties	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4381.	/search?s.q=Kögel-Knabner,+I.,+ 2002.+The+macromolecular+orga nic+composition+of+plant+and+m icrobial+residues+as+inputs+to+s oil+organic+matter.+Soil+Biol.+Bi ochem.+34,+139e162.	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:05:29	0.00%	0 (0.00%)	\$0.00 (0.00%
4382.	/search?s.q=lago+argentino&t.Aut horCombined=Douglass&s.rf=Pu blicationDate,2006-01-01:2006-12 -31	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:26	0.00%	0 (0.00%)	\$0.00 (0.00%
4383.	/search?s.q=Lateglacial+patagoni a	1	(0.00%)	0.00%	0 (0.00%)	0.00%	8.00	01:11:37	0.00%	0 (0.00%)	\$0.00 (0.00%
4384.	/search?s.q=law as discourse	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4385.	/search?s.q=law+as+discourse+in +critical+legal+studies	1	(0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:22:32	0.00%	0 (0.00%)	\$0.00 (0.00%
4386.	/search?s.q=leaf+stomata+as+bio indicators+of+environmental+cha nge	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4387.	/search?s.q=leonardo+and+lucreti us	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4388.	/search?s.q=lion+management+af rica	1	(0.00%)	0.00%	0 (0.00%)	0.00%	15.00	00:45:44	0.00%	0 (0.00%)	\$0.00 (0.00%
4389.	/search?s.q=lobster+histology	1	(0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:20:41	0.00%	0 (0.00%)	\$0.00 (0.00%
4390.	/search?s.q=lobster+testes	1	(0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:02:13	0.00%	0 (0.00%)	\$0.00 (0.00%
4391.	/search?s.q=Localization+of+matr ix+metalloproteinase+MMP-2+to+ the+surface+of+invasive+cells+by +interaction+with+integrin+alpha+ v+beta+3.	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4392.	/search?s.q=Mackrell	1	(0.00%)	0.00%	0 (0.00%)	0.00%	17.00	00:32:49	0.00%	0 (0.00%)	\$0.00 (0.00%
4393.	/search?s.q=major depressive dis	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%

	order treatment		(,		- (,						()		(
4394	/search?s.q=Making an American Festival	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4395	/search?s.q=male+self+esteem	1	(0.00%)	0.00%	0 (0.00%)	0.00%	22.00	01:10:05	0.00%	0	(0.00%)	\$0.00	(0.00%
4396	/search?s.q=Market+Failure+for+t he+Treatment+of+Animals	1	(0.00%)	0.00%	0 (0.00%)	0.00%	27.00	01:13:22	0.00%	0	(0.00%)	\$0.00	(0.00%
4397	/search?s.q=measure+of+experie ntial+avoidance	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4398	/search?s.q=measuring+attitudes +toward+adult+sibling+relationshi ps:+the+lifespan+sibling+relations hip+sclae	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4399	/search?s.q=Mendel+in+the+kitch en	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:06:28	0.00%	0	(0.00%)	\$0.00	(0.00%
4400	/search?s.q=Mesenchymal+Stem +Cells+Promote+Matrix+Metallop roteinase+Secretion+by+Cardiac +Fibroblasts+and+Reduce+Cardi ac+Ventricular+Fibrosis+After+My ocardial+Infarction	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:19	0.00%	0	(0.00%)	\$0.00	(0.00%
4401	/search?s.q=mexican+governmen t+policies+coastal+areas+top-do wn	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:25	0.00%	0	(0.00%)	\$0.00	(0.00%
4402	/search?s.q=microfluidic devices	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4403	/search?s.q=micromanagement	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:23	0.00%	0	(0.00%)	\$0.00	(0.00%
4404	/search?s.q=microsatellite+polym orphism+dna+	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:06:24	0.00%	0	(0.00%)	\$0.00	(0.00%
4405	/search?s.q=Mitchell+Chang	1	(0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:28:57	0.00%	0	(0.00%)	\$0.00	(0.00%
4406	/search?s.q=Modeling+Juvenile+ Atlantic+cod+and+yellowtail+floun der+abundance+on+Georges+Ba nk+and+in+the+Gulf+of++Maine+ using+2-stage+generalized+additi ve+models	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4407	/search?s.q=Modularly+assemble d+designer+TAL+effector+nuclea ses+for+targeted+gene+knockout +and+gene+replacement+in+euk aryotes	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:45	0.00%	0	(0.00%)	\$0.00	(0.00%
4408	/search?s.q=monoterm+extinction	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:05	0.00%	0	(0.00%)	\$0.00	(0.00%
4409	/search?s.q=motivation+in+anima Is	1	(0.00%)	0.00%	0 (0.00%)	0.00%	12.00	00:21:56	0.00%	0	(0.00%)	\$0.00	(0.00%
4410	/search?s.q=Murder+Act+1751	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:15:32	0.00%	0	(0.00%)	\$0.00	(0.00%
4411	/search?s.q=Mystery+Interval&t.A uthorCombined=Denton&s.rf=Pub licationDate,1960-01-01:2014-12- 31	1	(0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:23:07	0.00%	0	(0.00%)	\$0.00	(0.00%
4412	/search?s.q=new+playgrounds\	1	(0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:31:55	0.00%	0	(0.00%)	\$0.00	(0.00%
4413	/search?s.q=nitrogen+isotope+tee th	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:01:26	0.00%	0	(0.00%)	\$0.00	(0.00%
4414	/search?s.q=norborene+attached +to+glass	1	(0.00%)	0.00%	0 (0.00%)	0.00%	13.00	01:09:10	0.00%	0	(0.00%)	\$0.00	(0.00%
4415	/search?s.q=norborene+attached +to+substrate	1	(0.00%)	0.00%	0 (0.00%)	0.00%	13.00	00:38:49	0.00%	0	(0.00%)	\$0.00	(0.00%
4416	/search?s.q=Nsubuga+AM,+Robb ins+MM,+Roeder+AD,+Morin+PA ,+Boesch+C,+et+al.+(2004)+Fact ors+affecting+the+amount+of+ge nomic+DNA+extracted+from+ape +faeces+and+the+identification+o f+an+improved+sample+storage+ method.+Mol+Ecol+13:+2089–20 94.	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4417	/search?s.q=number+of+siblings, +family+background,+and+the+pr ocess+of+educational+attainment	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4418	/search?s.q=nutrients+plankton+s ize	1	(0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:16:56	0.00%	0	(0.00%)	\$0.00	(0.00%
4419	/search?s.q=Ocean+Eutrophicatio n	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:06:05	0.00%	0	(0.00%)	\$0.00	(0.00%
	/search?s.q=older adult and life a													

4420.	nd satisfaction&s.cmd[]=addFacet ValueFilters(IsFullText,true)&s.cm d[]=addFacetValueFilters(IsSchol arly,true)	1	(0.00%)	100.00%	1	(0.01%)	0.00%	12.00	00:31:50	0.00%	0	(0.00%)	\$0.00	(0.00%
4421.	/search?s.q=On+the+advantages +of+flocking	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4422.	/search?s.q=onions+used+as+a+ slug+repellent	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:20:40	0.00%	0	(0.00%)	\$0.00	(0.00%
4423.	/search?s.q=Optimization+of+extr action+conditions+for+improving+ solubility+of+peanut+protein+con centrates+by+response+surface+ methodology	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4424.	/search?s.q=Organized labor and production by Philip Murray	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4425.	/search?s.q=Origin+and+domesti cation+of+the+Brinjal+egg-plant	1	(0.00%)	0.00%	0	(0.00%)	0.00%	9.00	00:04:23	0.00%	0	(0.00%)	\$0.00	(0.00%
4426.	/search?s.q=origin+of+almond	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:00:20	0.00%	0	(0.00%)	\$0.00	(0.00%
4427.	/search?s.q=path+through+a+net work+of+nodes	1	(0.00%)	0.00%	0	(0.00%)	0.00%	5.00	00:01:38	0.00%	0	(0.00%)	\$0.00	(0.00%
4428.	/search?s.q=pathogen+recognitio n+and+innante+immunity	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:00:05	0.00%	0	(0.00%)	\$0.00	(0.00%
4429.	/search?s.q=pathological+records +on+rainfall	1	(0.00%)	0.00%	0	(0.00%)	0.00%	4.00	00:27:21	0.00%	0	(0.00%)	\$0.00	(0.00%
4430.	/search?s.q=pattern+recognition+ 2012+++acoustic+emission	1	(0.00%)	0.00%	0	(0.00%)	0.00%	22.00	00:13:09	0.00%	0	(0.00%)	\$0.00	(0.00%
4431.	/search?s.q=Pattern+recognition+ receptors+and+the+innate+immu ne+response+to+viral+infection	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4432.	/search?s.q=pattern+recognition+ receptors+Thompson	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:00:17	0.00%	0	(0.00%)	\$0.00	(0.00%
4433.	/search?s.q=peer+influence+and +sex	1	(0.00%)	0.00%	0	(0.00%)	0.00%	33.00	01:02:57	0.00%	0	(0.00%)	\$0.00	(0.00%
4434.	/search?s.q=Per+Se+violations	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:02:36	0.00%	0	(0.00%)	\$0.00	(0.00%
4435.	/search?s.q=perceptions+of+older +adults	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4436.	/search?s.q=personal+responsibil ity+of+diabetes	1	(0.00%)	0.00%	0	(0.00%)	0.00%	23.00	00:59:22	0.00%	0	(0.00%)	\$0.00	(0.00%
4437.	/search?s.q=Phenyl+nitrene.+Fla sh+photolytic+investigation+of+th e+reaction+with+secondary+amin es	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4438.	/search?s.q=Phosphofructokinase :+Structure+and+Control+[and+Di scussion]	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4439.	/search?s.q=Photochemical+prot ein+fixation+on+polymer+surface s+via+derivatized+phenyl+azido+ group	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4440.	/search?s.q=Physiological+and+B iomechanical+Correlates+of+Mus cle+Function:+Effects+of+Muscle +Structure+and+Stretch-Shorteni ng+Cycle+on+Force+and+Speed	1	(0.00%)	0.00%	0	(0.00%)	0.00%	3.00	00:26:10	0.00%	0	(0.00%)	\$0.00	(0.00%
4441.	/search?s.q=Physiological+and+b iomechanical+factors+associated +with+elite+endurance+cycling+p erformance	1	(0.00%)	0.00%	0	(0.00%)	0.00%	5.00	00:10:30	0.00%	0	(0.00%)	\$0.00	(0.00%
4442.	/search?s.q=play+museum+abori ginal	1	(0.00%)	0.00%	0	(0.00%)	0.00%	3.00	00:02:07	0.00%	0	(0.00%)	\$0.00	(0.00%
4443.	/search?s.q=playground+design	1	(0.00%)	0.00%	0	(0.00%)	0.00%	5.00	00:15:52	0.00%	0	(0.00%)	\$0.00	(0.00%
4444.	/search?s.q=playground+ideas	1	(0.00%)	0.00%	0	(0.00%)	0.00%	4.00	00:02:58	0.00%	0	(0.00%)	\$0.00	(0.00%
4445.	/search?s.q=Playgrounds	1	(0.00%)	0.00%	0	(0.00%)	0.00%	17.00	00:43:45	0.00%	0	(0.00%)	\$0.00	(0.00%
4446.	/search?s.q=plugin+development	1	(0.00%)	0.00%	0	(0.00%)	0.00%	5.00	00:03:27	0.00%	0	(0.00%)	\$0.00	(0.00%
4447.	/search?s.q=plyometric+training	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:22:41	0.00%	0	(0.00%)	\$0.00	(0.00%
4448.	/search?s.q=pmp	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:04:05	0.00%	0	(0.00%)	\$0.00	(0.00%
4449.	/search?s.q=poe	1	(0.00%)	0.00%	0	(0.00%)	0.00%	4.00	00:06:58	0.00%	0	(0.00%)	\$0.00	(0.00%
4450.	/search?s.a=poe+reliaion	1	(0.00%)	0.00%	0	(0.00%)	0.00%	8.00	00:06:54	0.00%	0	(0.00%)	\$0.00	(0.00%

445	/search?s.q=Polypeptide+compon 1. ents+of+telomere+nucleoprotein+ complex	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
445	2. /search?s.q=polyploidy+and+the+ evolution+of+domestic+plants	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:37	0.00%	0 (0.00%)	\$0.00 (0.00%
445	3. /search?s.q=post+normal+scienc e	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:06:58	0.00%	0 (0.00%)	\$0.00 (0.00%
445	4. /search?s.q=Potassium argon dati ng	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
445	/search?s.q=Poverty+and+obesity 5. :+the+role+of+energy+density+an d+energy+costs	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:06:51	0.00%	0 (0.00%)	\$0.00 (0.00%
445	6. /search?s.q=praxis+biology	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
445	/search?s.q=Praying+fo+r+Droug ht:+Persistent+Vulnerability+and+ the+Politics+of+Patronage+in+Ce ará,+Northeast+Brazi	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:08	0.00%	0 (0.00%)	\$0.00 (0.00%
445	8. /search?s.q=preferred+stock+put +options	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
445	/search?s.q=Preservation+of+gla ciochemical+time-series+in+snow +and+ice+from+the+Penny+Ice+ Cap,+Baffin+Island	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:06:41	0.00%	0 (0.00%)	\$0.00 (0.00%
446	/search?s.q=Preservice+Professi onal+Preparation+and+Teachers' 0. +Self-Efficacy+Appraisals+of+Nat ural+Environment+and+Inclusion +Practices	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:33	0.00%	0 (0.00%)	\$0.00 (0.00%
446	/search?s.q=prevalence+of+obesi ty+and+trends+in+the+distribution +of+body+mass+index+among+U S+adults	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
446	/search?s.q=Puerto+del+Hambre &t.AuthorCombined=Heusser&s.f 2. vf[]=ContentType,Newspaper+Arti cle,f&s.fvf[]=ContentType,Newspa per+Article,t	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
446	3. /search?s.q=put+the+elderly+in+j ail	1	(0.00%)	0.00%	0 (0.00%)	0.00%	19.00	01:08:37	0.00%	0 (0.00%)	\$0.00 (0.00%
446	4. /search?s.q=Putnam+Rakaia	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
446	5. /search?s.q=q+cycle	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
446	/search?s.q=R.+Jinda,+S.M.+Cra 6. mer,+J.+Chromatogr.+A+1044+(2 004)+277.	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:04:25	0.00%	0 (0.00%)	\$0.00 (0.00%
446	7. /search?s.q=rao+mechanical+vibr ations	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
446	8. /search?s.q=Rape+South+Africa+ TitleCombined:(Marital)	1	(0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:37:51	0.00%	0 (0.00%)	\$0.00 (0.00%
446	/search?s.q=Rapid+Reductions+i n+North+Atlantic+Deep+Water+D uring+the+Peak+of+the+Last+Int erglacial+Period	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
447	0. /search?s.q=raymond+wood	1	(0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:00:46	0.00%	0 (0.00%)	\$0.00 (0.00%
447	/search?s.q=Reclaiming+the+anc 1. estors:+decolonizing+a+taken+pr ehistory+of+the+far+Northeast	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:01	0.00%	0 (0.00%)	\$0.00 (0.00%
447	2. /search?s.q=recycling	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
447	3. /search?s.q=Recycling	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
447	/search?s.q=Red+Delta:+Fighting 4. +for+Life+at+the+End+of+the+Co lorado+River	1	(0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:35:35	0.00%	0 (0.00%)	\$0.00 (0.00%
447	5. /search?s.q=relationship+committ ment	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:33	0.00%	0 (0.00%)	\$0.00 (0.00%
447	6. /search?s.q=religious+abstinence	1	(0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:29:48	0.00%	0 (0.00%)	\$0.00 (0.00%
447	7. /search?s.q=Reproductive+biolog y+in+the+Maloideae+(Rosaceae).	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:05:24	0.00%	0 (0.00%)	\$0.00 (0.00%
447	8. /search?s.q=resilience+in+childre n+adolescents+and	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
	/search?s.a=Response+of+Cvclot										

4479.	ella+species+to+nutrients+and+in cubation+depth+in+Arctic+lakes	1	(0.00%)	0.00%	0 (0	.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4480.	/search?s.q=Results+of+life+span +carcinogenicity+bioassay+on+S prague-Dawley+rats+exposed+to +aspartame+since+foetal+life	1	(0.00%)	0.00%	0 (0	.00%)	0.00%	5.00	00:09:06	0.00%	0	(0.00%)	\$0.00	(0.00%
4481.	/search?s.q=Rethinking+the+fore st-science+mosaic.+Colonial+scie nce+and+its+relics+in+West+Afri ca.+In+The+Lie+of+the+Land.+C hallenging+Received+Wisdom+o n+the+African+Environment	1	(0.00%)	0.00%	0 (0	.00%)	0.00%	2.00	00:02:03	0.00%	0	(0.00%)	\$0.00	(0.00%
4482.	/search?s.q=Rhizomes+and+othe r+uncountables	1	(0.00%)	0.00%	0 (0	.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4483.	/search?s.q=Robert wood foundat ion, nursing	1	(0.00%)	100.00%	1 (0	.01%)	0.00%	10.00	00:10:05	0.00%	0	(0.00%)	\$0.00	(0.00%
4484.	/search?s.q=Role+of+discrepant+ questioning+leading+to+model+el ement+modification.	1	(0.00%)	0.00%	0 (0	.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4485.	/search?s.q=rrrsq+nolen-hoekse ma	1	(0.00%)	0.00%	0 (0	.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4486.	/search?s.q=Saving+Slash-and-B urn+to+Save+Biodiversity	1	(0.00%)	0.00%	0 (0	.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4487.	/search?s.q=Scallops+Biology+Ec ology+and+Aquaculture	1	(0.00%)	0.00%	0 (0	.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4488.	/search?s.q=Science,+2009,+326 ,+1501,	1	(0.00%)	0.00%	0 (0	.00%)	0.00%	4.00	00:03:04	0.00%	0	(0.00%)	\$0.00	(0.00%
4489.	/search?s.q=Sea-level-induced+s eismicity+and+submarine+landsli de+occurrence	1	(0.00%)	0.00%	0 (0	.00%)	0.00%	2.00	00:18:11	0.00%	0	(0.00%)	\$0.00	(0.00%
4490.	/search?s.q=Sex-related+differen ces+in+chromatic+sensitivity	1	(0.00%)	0.00%	0 (0	.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4491.	/search?s.q=sex+expoitation	1	(0.00%)	0.00%	0 (0	.00%)	0.00%	3.00	00:00:13	0.00%	0	(0.00%)	\$0.00	(0.00%
4492.	/search?s.q=Shortages+in+Profes sions+Working+with+Young+Chil dren+with+Disabilities+and+Their +Families	1	(0.00%)	0.00%	0 (0	.00%)	0.00%	3.00	00:00:58	0.00%	0	(0.00%)	\$0.00	(0.00%
4493.	/search?s.q=Si+Nanowires+Fores t-Based+On-Chip+Biomolecular+ Filtering	1	(0.00%)	0.00%	0 (0	.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4494.	/search?s.q=Sibling+relationships +during+the+young+adult+years: +an+analysis+of+closeness	1	(0.00%)	0.00%	0 (0	.00%)	0.00%	3.00	00:01:48	0.00%	0	(0.00%)	\$0.00	(0.00%
4495.	/search?s.q=Simmons+Librarians +as+Disciplinary+discourse+medi ators	1	(0.00%)	0.00%	0 (0	.00%)	0.00%	3.00	00:05:43	0.00%	0	(0.00%)	\$0.00	(0.00%
4496.	/search?s.q=sizing+water+service	1	(0.00%)	0.00%	0 (0	.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4497.	/search?s.q=snowpack+phosphat e	1	(0.00%)	0.00%	0 (0	.00%)	0.00%	10.00	00:33:56	0.00%	0	(0.00%)	\$0.00	(0.00%
4498.	/search?s.q=social movements	1	(0.00%)	100.00%	1 (0	.01%)	0.00%	2.00	00:00:25	0.00%	0	(0.00%)	\$0.00	(0.00%
4499.	/search?s.q=social+discounting	1	(0.00%)	0.00%	0 (0	.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4500.	/search?s.q=social+networking+ti ps	1	(0.00%)	0.00%	0 (0	.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4501.	/search?s.q=Solubility+profiles+of +poly(ethylene+glycol)/solvent+sy stems.+II.+Comparison+of+therm odynamic+parameters+from+visc osity+measurements	1	(0.00%)	0.00%	0 (0	.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4502.	/search?s.q=SOME+THOUGHTS +ON+SIBLING+RELATIONSHIP S	1	(0.00%)	0.00%	0 (0	.00%)	0.00%	42.00	00:50:55	0.00%	0	(0.00%)	\$0.00	(0.00%
4503.	/search?s.q=South+America&t.Au thorCombined=Heusser&s.rf=Pub licationDate,2000-01-01:2000-12- 31	1	(0.00%)	0.00%	0 (0	.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4504.	/search?s.q=south+America+&t.A uthorCombined=Harberton	1	(0.00%)	0.00%	0 (0	.00%)	0.00%	3.00	00:01:06	0.00%	0	(0.00%)	\$0.00	(0.00%
4505.	/search?s.q=Soybean+(Glycine+ max)+allergy+in+Europe:+Gly+m +5+(β-conglycinin)+and+Gly+m+6 +(glycinin)+are+potential+diagnos tic+markers+for+severe+allergic+	1	(0.00%)	0.00%	0 (0	.00%)	0.00%	2.00	00:26:00	0.00%	0	(0.00%)	\$0.00	(0.00%

	reactions+to+soy+											
4506.	/search?s.q=spar+damping+matri x+morrison	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:27:26	0.00%	0 (0.00%)	\$0.00 (0.00	0%
4507.	/search?s.q=Stages+in+the+deve lopment+of+a+model+organism+ as+a+platform+for+mechanistic+ models+in+developmental+biolog y:+Zebrafish,+1970–2000	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:18:27	0.00%	0 (0.00%)	\$0.00 (0.00	0%
4508.	/search?s.q=Streptococcus+equi+ Infections+in+Horses:+Guidelines +for+Treatment,+Control,+and++ Prevention+of+Strangles	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00	0%
4509.	/search?s.q=Streptococcus+equi+ to+zoo	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00	0%
4510.	/search?s.q=suchman+	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:09	0.00%	0 (0.00%)	\$0.00 (0.00	0%
4511.	/search?s.q=sumer	1	(0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:18:41	0.00%	0 (0.00%)	\$0.00 (0.00	0%
4512.	/search?s.q=summer+loss	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00	0%
4513.	/search?s.q=synopsis of the laws protecting cultural heritage	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00	0%
4514.	/search?s.q=tale+of+TALE+proteins	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:21	0.00%	0 (0.00%)	\$0.00 (0.00	0%
4515.	/search?s.q=TBA+gene	1	(0.00%)	0.00%	0 (0.00%)	0.00%	6.00	00:43:55	0.00%	0 (0.00%)	\$0.00 (0.00	0%
4516.	/search?s.q=teaching+young+chil dren+with+austism	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:02:39	0.00%	0 (0.00%)	\$0.00 (0.00	0%
4517.	/search?s.q=technology+integrati on+adaptive+challenge	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:10:45	0.00%	0 (0.00%)	\$0.00 (0.00	0%
4518.	/search?s.q=Terwilliger, Caryn	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00	0%
4519.	/search?s.q=the canterbury tales	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:32	0.00%	0 (0.00%)	\$0.00 (0.00	0%
4520.	/search?s.q=The Electrical Union s and the Cold War	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00	0%
4521.	/search?s.q=The tragedy of Richa rd the Third, shakespeare	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:28	0.00%	0 (0.00%)	\$0.00 (0.00	0%
4522.	/search?s.q=the+book+thief	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00	0%
4523.	/search?s.q=the+dangers+of+sup plements+for+athletes	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:32	0.00%	0 (0.00%)	\$0.00 (0.00	0%
4524.	/search?s.q=The+Declining+'equit y'+of+higher+education	1	(0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:14:30	0.00%	0 (0.00%)	\$0.00 (0.00	0%
4525.	/search?s.q=The+effect+of+2450 +Mc.+radiation+on+the+develop ment+of+the+chick	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00	0%
4526.	/search?s.q=the+effects+of+medi caid+coverage+	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:11:04	0.00%	0 (0.00%)	\$0.00 (0.00	0%
4527.	/search?s.q=the+immune+system	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:46	0.00%	0 (0.00%)	\$0.00 (0.00	0%
4528.	/search?s.q=the+impact+of+traini ng+modalities+on+the+clinical+be nefits+of+exercise+intervention+i n+patients+with+cardiovascular+ disease+or+type+2+diabetes+mel litus	1	(0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:02:49	0.00%	0 (0.00%)	\$0.00 (0.00	0%
4529.	/search?s.q=The+influence+on+cl imate+forcing+of+mineral+aeroso ls+from+disturbed+soils	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00	0%
4530.	/search?s.q=The+local+food+sect or:+a+preliminary+assessment+of +its+form+and+impact+in+Glouce stershire.	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:01:50	0.00%	0 (0.00%)	\$0.00 (0.00	0%
4531.	/search?s.q=the+old+man+and+t he+sea	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:06:06	0.00%	0 (0.00%)	\$0.00 (0.00	0%
4532.	/search?s.q=the+rake+the+pirate	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00	0%
4533.	/search?s.q=the+relational+found ations+of+inequality	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:42:58	0.00%	0 (0.00%)	\$0.00 (0.00	0%
4534.	/search?s.q=The+Rise+and+Fall+ of+Plains+Indian+Horse+Cultures	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00	0%
4535.	/search?s.q=the+rites+of+assent: +transformations+in+the+symboli c+construction+of+america	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00	0%
	/search?s.q=The+Role+of+Indige											_

4536.	nous+Burning+in+Land+Manage ment	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4537.	/search?s.q=The+study+of+hydro philic+characteristics+of+ethylene +glycol	1	(0.00%)	0.00%	0 ((0.00%)	0.00%	4.00	00:21:09	0.00%	0	(0.00%)	\$0.00	(0.00%
4538.	/search?s.q=The+Tale+of+the+T ALEs	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4539.	/search?s.q=The+tragedy+of+Ric hard+the+Third,+shakespeare	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4540.	/search?s.q=the+truth+about+frac king	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:14:55	0.00%	0	(0.00%)	\$0.00	(0.00%
4541.	/search?s.q=Think+Small:+Zebraf ish+as+a+Model+System+of+Hu man+Pathology+	1	(0.00%)	0.00%	0 ((0.00%)	0.00%	6.00	00:12:24	0.00%	0	(0.00%)	\$0.00	(0.00%
4542.	/search?s.q=TNFAIP8:+a+new+ef fector+for+Galpha(i)+coupling+to +reduce+cell+death+and+induce +cell+transformation	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4543.	/search?s.q=tourism+impacts+on +hawaiian+natives	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4544.	/search?s.q=Transformation+of+t he+Nitrogen+Cycle+Recent+Tren ds,+Questions,+and+Potential+S olutions	1	(0.00%)	0.00%	0 ((0.00%)	0.00%	5.00	00:01:46	0.00%	0	(0.00%)	\$0.00	(0.00%
4545.	/search?s.q=treagus+modelling+b ulk+viscosity+clast+chape+2002	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:03:05	0.00%	0	(0.00%)	\$0.00	(0.00%
4546.	/search?s.q=treatment+self+mutil ation	1	(0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:05:18	0.00%	0	(0.00%)	\$0.00	(0.00%
4547.	/search?s.q=trophy hunting in the namibian economy: an assessme nt	1	(0.00%)	100.00%	1 ((0.01%)	0.00%	2.00	00:00:33	0.00%	0	(0.00%)	\$0.00	(0.00%
4548.	/search?s.q=trpv4+	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4549.	/search?s.q=tube+feedings	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4550.	/search?s.q=type+2+diabetes,+ex ercise,+and+glycemic+control	1	(0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:18:09	0.00%	0	(0.00%)	\$0.00	(0.00%
4551.	/search?s.q=US+Sex+Trafficking, +Women's+Human+Rights+and+t he+Politics+of+Representation	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:21	0.00%	0	(0.00%)	\$0.00	(0.00%
4552.	/search?s.q=UV-Vis+PEG	1	(0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:45:30	0.00%	0	(0.00%)	\$0.00	(0.00%
4553.	/search?s.q=viscous+damping+ef fects+on+each+degree+of+freedo m	1	(0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:32:11	0.00%	0	(0.00%)	\$0.00	(0.00%
4554.	/search?s.q=Vitamin+A+AND+iro n&t.AuthorCombined=Palafox,+N. A.,+Gamble,+M.V.,+Dancheck,+B ,.+Ricks,+M.O.,+Briand,+K.,+and +Semba,+R.D.&t.publicationtitle= Nutrition&t.volume=19&t.issue=5 &s.ff=PublicationDate,2003-01-01 :2003-12-31&s.fvf[]=ContentType, Newspaper+Article,t&s.cmd[]=set HoldingsOnly(false)	1	(0.00%)	0.00%	0 ((0.00%)	0.00%	5.00	00:07:36	0.00%	0	(0.00%)	\$0.00	(0.00%
4555.	/search?s.q=water+supply+analys is	1	(0.00%)	0.00%	0 (0.00%)	0.00%	13.00	00:15:42	0.00%	0	(0.00%)	\$0.00	(0.00%
4556.	/search?s.q=wayne+thiebaud+aw ards	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4557.	/search?s.q=wayne+thiebaud+bio graphy	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4558.	/search?s.q=what+is+natural+gas +composed+of	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4559.	/search?s.q=Without+a+Net	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:23	0.00%	0	(0.00%)	\$0.00	(0.00%
4560.	/search?s.q=words+of+radiance	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4561.	/search?s.q=world+war+1	1	(0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:14:17	0.00%	0	(0.00%)	\$0.00	(0.00%
4562.	/search?s.q=Wrangham,+Richard ,+2004,+Killer+Species.+Daedalu s,+Fall+issue,+pp.25-35.	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4563.	/search?s.q=yearbooks	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:05:35	0.00%	0	(0.00%)	\$0.00	(0.00%
4564.	/search?s.q=yoko+tawada	1	(0.00%)	0.00%	0 (0.00%)	0.00%	12.00	00:16:27	0.00%	0	(0.00%)	\$0.00	(0.00%
4565	/search?s g=Yoon bubble column	1	(0.00%)	0 00%	0 (0 00%)	100 00%	1 00	00.00.00	0.00%	0	(0 00%)	\$0.00	(0.00%

1000.	roomoniona roombassio oolaniii		(0.0070)	0.0070	(0.0070)	10010070		00.00.00	0.0070	0 (0.0070)	40.00 (0.00 //
4566.	/search?s.q=YOUR+FUNCTIONI NG+BLOOD+VESSELS	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:10:33	0.00%	0 (0.00%)	\$0.00 (0.00%
4567.	/search?s.q=zebrafish+fluorescen ce	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4568.	/search?s.q=zhang+1998\	1	(0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:06:39	0.00%	0 (0.00%)	\$0.00 (0.00%
4569.	/search?s.q=zinc+finger+nucleas e	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4570.	/search?s.q=zoloft+major+depres sive+disorder	1	(0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:20:08	0.00%	0 (0.00%)	\$0.00 (0.00%
4571.	/search?s.q=zooplankton+size+sp ectrum	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:45	0.00%	0 (0.00%)	\$0.00 (0.00%
4572.	/search?s.q= α -L-iduronidase+defi ciency	1	(0.00%)	0.00%	0 (0.00%)	0.00%	9.00	00:09:02	0.00%	0 (0.00%)	\$0.00 (0.00%
4573.	/search?s.rf=PublicationDate,198 0:*&s.fvf[]=Library,University+of+ Maine,f&s.q=visual+acuity	1	(0.00%)	0.00%	0 (0.00%)	0.00%	16.00	00:20:08	0.00%	0 (0.00%)	\$0.00 (0.00%
4574.	/search?s.rf=PublicationDate,201 2:*&s.fvf[]=ContentType,Journal+ Article,f&s.fvf[]=SubjectTerms,stu dies,f&s.fvf[]=ContentType,Newsp aper+Article,t&s.q=drosophila+me lanogaster+radiation	1	(0.00%)	0.00%	0 (0.00%)	0.00%	11.00	00:18:03	0.00%	0 (0.00%)	\$0.00 (0.00%
4575.	/search?s.sort=PublicationDate:d esc&s.fvf[]=ContentType,Journal+ Article,f&s.q=gabor+eilers+mckni ght+fierer+anderson	1	(0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:06:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4576.	/search?t.AuthorCombined=Cathe rine+Craft&t.TitleCombined=An+A udience+of+Artists	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4577.	/search?t.AuthorCombined=FBI&t .TitleCombined=CIO&s.fvf[]=Cont entType,Newspaper+Article,f&s.fv f[]=ContentType,Newspaper+Artic le,t	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:04	0.00%	0 (0.00%)	\$0.00 (0.00%
4578.	/search?t.AuthorCombined=Feder al Bureau of Investigation&t.TitleC ombined=CIO	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:39	0.00%	0 (0.00%)	\$0.00 (0.00%
4579.	/search?t.AuthorCombined=gordo n,+susan&s.fvf[]=ContentType,Ne wspaper+Article,f&s.fvf[]=Content Type,Newspaper+Article,t	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:09:26	0.00%	0 (0.00%)	\$0.00 (0.00%
4580.	/search?t.AuthorCombined=Hans en-Bristow	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:21	0.00%	0 (0.00%)	\$0.00 (0.00%
4581.	/search?t.AuthorCombined=MacD onald&t.TitleCombined=Monitorin g+exercise-induced+changes&s.rf =PublicationDate,2006-01-01:*	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4582.	/search?t.AuthorCombined=McCu lloch&s.rf=PublicationDate,2005-0 1-01:2005-12-31	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:43	0.00%	0 (0.00%)	\$0.00 (0.00%
4583.	/search?t.TitleCombined=National Standards in American Education	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:02:59	0.00%	0 (0.00%)	\$0.00 (0.00%
4584.	/search?t.TitleCombined=Potentia l+changes+in+tree+species+richn ess++and+forest+community+typ es+following+climate+change	1	(0.00%)	0.00%	0 (0.00%)	0.00%	8.00	00:46:21	0.00%	0 (0.00%)	\$0.00 (0.00%
4585.	/search?t.TitleCombined=Tempor al+accumulation+and+ablation+p atterns+of+the+seasonal+snowpa ck+in+forests+in+varying+stages +of+growth	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:00:18	0.00%	0 (0.00%)	\$0.00 (0.00%
4586.	/sec/default.asp	1	(0.00%)	0.00%	0 (0.00%)	0.00%	22.00	01:10:18	100.00%	1 (0.02%)	\$0.00 (0.00%
4587.	/sec/people.htm	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:02:20	0.00%	0 (0.00%)	\$0.00 (0.00%
4588.	/social/bonnet/Geography.htm	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4589.	/social/business_law5.htm	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:02:29	0.00%	0 (0.00%)	\$0.00 (0.00%
4590.	/social/companies2.htm	1	(0.00%)	0.00%	0 (0.00%)	0.00%	3.00	00:15:19	0.00%	0 (0.00%)	\$0.00 (0.00%
4591.	/social/education_curr_data.htm	1	(0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:03:27	100.00%	1 (0.02%)	\$0.00 (0.00%
4592.	/social/education_diversity.htm	1	(0.00%)	0.00%	0 (0.00%)	0.00%	7.00	00:21:22	0.00%	0 (0.00%)	\$0.00 (0.00%
4593.	/social/education_reference.htm	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:24	0.00%	0 (0.00%)	\$0.00 (0.00%

4594.	/social/entrepreneurship7.htm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:11	0.00%	0 (0.00%)	\$0.00 (0.00%
4595.	/social/fadel/econ.htm	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:03:52	0.00%	0 (0.00%)	\$0.00 (0.00%
4596.	/social/fadel/econ2.htm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:21:29	0.00%	0 (0.00%)	\$0.00 (0.00%
4597.	/social/industries2.htm	1 (0.00%)	0.00%	0 (0.00%)	0.00%	10.00	00:07:53	0.00%	0 (0.00%)	\$0.00 (0.00%
4598.	/social/industries5.htm	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4599.	/social/internataffairs.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4600.	/social/investment5.htm	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4601.	/social/ImcCanBib.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4602.	/social/Imcnativam.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4603.	/social/NAS.htm	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4604.	/social/screencasts/bookreq/defau lt.asp	1 (0.00%)	100.00%	1 (0.01%)	0.00%	4.00	00:03:19	0.00%	0 (0.00%)	\$0.00 (0.00%
4605.	/social/uslaw.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4606.	/social/yalit.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4607.	/speccoll/archives.htm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:01:48	0.00%	0 (0.00%)	\$0.00 (0.00%
4608.	/speccoll/default.htm	1 (0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:08	0.00%	0 (0.00%)	\$0.00 (0.00%
4609.	/speccoll/FindingAids/AllenCharle sE.htm	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4610.	/speccoll/FindingAids/AmesFamil yinventory.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4611.	/speccoll/FindingAids/aubg.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4612.	/speccoll/FindingAids/BakerGrego ryinventory.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4613.	/speccoll/FindingAids/BaumannE unice.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4614.	/speccoll/FindingAids/Beardear.ht m	1 (0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4615.	/speccoll/FindingAids/Bicentennial Communities.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4616.	/speccoll/FindingAids/BlaisdellFa mily.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4617.	/speccoll/FindingAids/BussellFami lypapers.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4618.	/speccoll/FindingAids/CampbellBo okstore.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4619.	/speccoll/FindingAids/Cazden.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4620.	/speccoll/FindingAids/Chadbourn eAva.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4621.	/speccoll/FindingAids/Chamb.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4622.	/speccoll/FindingAids/ColwellMiria m.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4623.	/speccoll/FindingAids/DAR.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4624.	/SpecColl/FindingAids/DemerittD wightJr.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4625.	/speccoll/FindingAids/Dingley.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4626.	/speccoll/FindingAids/Dotycspa.ht m	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4627.	/speccoll/FindingAids/DyerHarold. htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4628.	/speccoll/FindingAids/EngelW.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4629.	/speccoll/FindingAids/FellowsOF. htm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:03:35	0.00%	0 (0.00%)	\$0.00 (0.00%
4630.	/speccoll/FindingAids/Freehand.ht m	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4631.	/speccoll/FindingAids/Freeman.ht m	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:02:36	0.00%	0 (0.00%)	\$0.00 (0.00%
4620	/anaccall/EindingAids/Crindlef htm	4 (0.000/)	100 000/	1 (0.049/)	100 000/	1.00	00.00.00	0 000/	0 (0.000()	¢0.00 (0.000/

	632.	/speccoli/FindingAlds/Grindler.ntm	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	U (0.00%)	\$0.00 (0.00%
4	633.	/speccoll/FindingAids/HakolaJohn papers.htm	1	(0.00%)	0.00%	0 (0.00%)	0.00%	2.00	00:00:29	0.00%	0 (0.00%)	\$0.00 (0.00%
4	634.	/speccoll/FindingAids/HenryAndD avisFamily.htm	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4	635.	/speccoll/FindingAids/HenryHarrie tpapers.htm	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4	636.	/speccoll/FindingAids/HertzbergR uth.htm	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4	637.	/speccoll/FindingAids/HonorsThes es.htm	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4	638.	/speccoll/FindingAids/HowlettDun canpapers.htm	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4	639.	/speccoll/FindingAids/IrelandCharl esR.htm	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4	640.	/speccoll/FindingAids/KatahdinIro nWorksrecords.htm	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4	641.	/speccoll/FindingAids/KelloggThe aterPrograms.htm	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4	642.	/speccoll/FindingAids/KennedyJo hnFVisit.htm	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4	643.	/speccoll/FindingAids/Larrabee.ht m	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4	644.	/speccoll/FindingAids/LionLocomo tive.htm	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4	645.	/speccoll/FindingAids/MaineField Naturalistbirdsightings.htm	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4	646.	/speccoll/FindingAids/MaineGover nors.htm	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4	647.	/speccoll/FindingAids/MartinonLu mberinventory.htm	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4	648.	/speccoll/FindingAids/McChesney Earlrecords.htm	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4	649.	/speccoll/FindingAids/Packard_Wi Iliam.htm	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4	650.	/speccoll/FindingAids/Phippenc.ht m	1	(0.00%)	0.00%	0 (0.00%)	0.00%	5.00	00:16:45	0.00%	0 (0.00%)	\$0.00 (0.00%
4	651.	/speccoll/FindingAids/ShermanLu mberCompany.htm	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4	652.	/speccoll/FindingAids/SpectatorCl ub.htm	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4	653.	/speccoll/FindingAids/SteinSong.h tm	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4	654.	/speccoll/FindingAids/Sweetser.ht m	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4	655.	/speccoll/FindingAids/TownerWay land.htm	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4	656.	/speccoll/FindingAids/TracyHerbe rtrecords.htm	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4	657.	/speccoll/FindingAids/UMaineCen terMarineStudies_DarlingCenter.h tm	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4	658.	/speccoll/FindingAids/UMaineStu dentPoliticalActivity.htm	1	(0.00%)	0.00%	0 (0.00%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4	659.	/speccoll/FindingAids/UMaineWar Records.htm	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4	660.	/speccoll/FindingAids/UnitedBapti stChurch.htm	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4	661.	/speccoll/FindingAids/Valleeru.ht m	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4	662.	/speccoll/FindingAids/Whitneyville Agencyinventory.htm	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4	663.	/speccoll/mainecol.htm	1	(0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:20:17	0.00%	0 (0.00%)	\$0.00 (0.00%
4	664.	/speccoll/univcol.htm	1	(0.00%)	100.00%	1 (0.01%)	0.00%	3.00	00:00:29	0.00%	0 (0.00%)	\$0.00 (0.00%
4	665.	/staff/daigle.htm	1	(0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
	666	/staff/dafault htm	4	(0.000/)	0.00%	0 (0.000/)	0.00%	5 00	00.01.41	0.00%	0 (0.00%)	\$0.00 (0.000/

4000.	/Stan/deladit.htm	ı	(0.00%)	0.0076	U	(0.00%)	0.00 /6	3.00	00.01.41	0.00 %	U	(0.00%)	φυ.υυ	(0.00%
4667.	/staff/fitzgerald.htm	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4668.	/staff/googleanalytics/default.htm	1	(0.00%)	0.00%	0	(0.00%)	0.00%	3.00	00:05:33	0.00%	0	(0.00%)	\$0.00	(0.00%
4669.	/staff/links2ejournals.htm	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4670.	/staff/lund.htm	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4671.	/staff/permissiontable.htm	1	(0.00%)	100.00%	1	(0.01%)	0.00%	2.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4672.	/staffinfo/AbsoluteLInksInfo.htm	1	(0.00%)	0.00%	0	(0.00%)	0.00%	2.00	00:01:25	0.00%	0	(0.00%)	\$0.00	(0.00%
4673.	/techserv/Cataloging/DetectiveBo oks.htm	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4674.	/techserv/Cataloging/HonTheses_ prelim.htm	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4675.	/techserv/Cataloging/Kirtas/Books canEditor.htm	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4676.	/techserv/Cataloging/Kirtas/TIFF2 PDF.htm	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4677.	/techserv/Cataloging/LMC_Downl oad.htm	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4678.	/techserv/Cataloging/ThesesRetro .htm	1	(0.00%)	100.00%	1	(0.01%)	0.00%	2.00	00:00:13	0.00%	0	(0.00%)	\$0.00	(0.00%
4679.	/techserv/Serials/orders/freq-code s.htm	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4680.	/techserv/Serials/Processing/767ti tlechange.htm	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4681.	/techserv/Serials/Processing/Ebsc olReports.htm	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4682.	/techserv/Serials/Processing/MAR C4Closed_Serials.htm	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4683.	/techserv/Serials/Processing/new _periodicals.htm	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4684.	/techserv/Serials/Processing/standing_orders.htm	1	(0.00%)	100.00%	1	(0.01%)	0.00%	3.00	00:01:45	0.00%	0	(0.00%)	\$0.00	(0.00%
4685.	/techserv/xlinking.htm	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4686.	/tr-url/en-ru.ru/www.library.umaine .edu/theses/index.htm	1	(0.00%)	100.00%	1	(0.01%)	0.00%	2.00	00:00:04	0.00%	0	(0.00%)	\$0.00	(0.00%
4687.	/translate_c?depth=1&hl=es&prev =/search?q=alice+y+edith+por+d orothy+clarke+wilson+resumen+d el+libro&biw=1024&bih=509&rurl =translate.google.com.do&sl=en& u=http://www.library.umaine.edu/s peccoll/FindingAids/Wilson1.htm& usg=ALkJrhhUZMV7Ay_byYMpZ OK4v-L9GZRhiw	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4688.	/translate_c?depth=1&hl=es&prev =/search?q=umaine+library&espv =210&es_sm=93&rurl=translate.g oogle.com.mx&sl=en&u=http://libr ary.umaine.edu/&usg=ALkJrhizU Qx7GvVC_hN_FszDjWfLxYPt-g	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4689.	/translate_c?depth=1&hl=km⪯ v=/search?q=example+of+subject +encyclopedias&biw=1366&bih=5 95&rurl=translate.google.com.kh& sl=en&u=http://www.library.umain e.edu/general/research3.htm&usg =ALkJrhhKme21hZCDhy2hmosgJ loc8W8lAw	1	(0.00%)	0.00%	0	(0.00%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4690.	/translate_c?depth=1&hl=ru&prev =/search?q=Vaughan's+Seed+Co mpany+1936&newwindow=1&clie nt=safari&rls=en&rurl=translate.g oogle.ru&sl=en&u=http://library.u maine.edu/speccoll/FindingAids/S eedCatalogs1930s.htm&usg=ALk JrhgNSFbW-y3NUO06_w2imMc4 5Dme-g	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
4691.	/virtualref/default.asp	1	(0.00%)	0.00%	0	(0.00%)	0.00%	5.00	00:00:45	0.00%	0	(0.00%)	\$0.00	(0.00%
4692.	/virtualref/edref.htm	1	(0.00%)	100.00%	1	(0.01%)	0.00%	5.00	00:01:03	0.00%	0	(0.00%)	\$0.00	(0.00%
4693.	/virtualref/healthinsurance14.htm	1	(0.00%)	100.00%	1	(0.01%)	100.00%	1.00	00:00:00	0.00%	0	(0.00%)	\$0.00	(0.00%
	/web/20140208001543/http://libra									l				

4694.	ry.umaine.edu/default.asp	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4695.	/yearbooks/default.htm	1 (0.00%)	0.00%	0 (0.00%)	0.00%	4.00	00:07:52	0.00%	0 (0.00%)	\$0.00 (0.00%
4696.	/yearbooks/fifties.htm	1 (0.00%)	0.00%	0 (0.00%)	0.00%	26.00	01:11:41	0.00%	0 (0.00%)	\$0.00 (0.00%
4697.	/yearbooks/Teens.htm	1 (0.00%)	100.00%	1 (0.01%)	0.00%	2.00	00:00:28	0.00%	0 (0.00%)	\$0.00 (0.00%
4698.	/yearbooks/thirties.htm	1 (0.00%)	0.00%	0 (0.00%)	0.00%	15.00	00:07:42	0.00%	0 (0.00%)	\$0.00 (0.00%
4699.	/yearbooks/twenties.htm	1 (0.00%)	100.00%	1 (0.01%)	100.00%	1.00	00:00:00	0.00%	0 (0.00%)	\$0.00 (0.00%
4700.	/yearbooks/Twenties.htm	1 (0.00%)	0.00%	0 (0.00%)	0.00%	19.00	00:09:56	0.00%	0 (0.00%)	\$0.00 (0.00%

Rows 1 - 4700 of 4700